15:12:17 OCA PAD AMENDMENT - PROJECT HEADER INFORMATION 06/11/91 Active Project #: E-20-835 Cost share #: Rev #: 4 Center # : T5202-0A0 Center shr #: OCA file #: 90 Work type : PUB SER Contract#: TASK ORDER 17/BOA DTD 871109 Mod #: LTR DTD 910604 Document : TO Prime #: Contract entity: GTRC Subprojects ? : Y CFDA: Main project #: PE #: Project unit: CIVIL ENGR Unit code: 02.010.116 Project director(s): BARKSDALE R D CIVIL ENGR (404)894-6225 Sponsor/division names: GA DEPT OF TRANSPORTATION 1 / 035 Sponsor/division codes: 300 Award period: 890103 to 911003 (performance) 911003 (reports) Sponsor amount Total to date New this change 133,216.00 Contract value 0.00 0.00 Funded 133,216.00 Cost sharing amount 0.00 Does subcontracting plan apply ?: N Title: EVALUATION OF AGGREGATE PROPERTIES OF RUTTING & FATIGUE OF ASPHALT CONCRETE.. **PROJECT ADMINISTRATION DATA** OCA contact: Brian J. Lindberg 894-4820 Sponsor technical contact Sponsor issuing office PETER MALPHURS LAMAR CAYLOR (404)363-7537 (404)363-7510 GA DOT - OFF OF MATERIALS & RESEARCH GA DOT - OFF OF MATERIALS & RESEARCH 15 KENNEDY DRIVE **15 KENNEDY DRIVE** FOREST PARK, GEORGIA 30050-2599 FOREST PARK, GEORGIA 30050-2599 . Security class (U,C,S,TS) : U ONR resident rep. is ACO (Y/N): N Defense priority rating : N/A N/A supplemental sheet / Equipment title vests with: Sponsor X GIT HOWEVER, NONE PROPOSED OR ANTICIPATED. Administrative comments -LETTER DATED 6/4/91 FROM PETER MALPHURS AUTHORIZES EXTENSION OF PROJECT THROUGH OCTOBER 3, 1991.

GEORGIA INSTITUTE OF TECHNOLOGY OFFICE OF CONTRACT ADMINISTRATION

4

.

.

NOTICE OF PROJECT CLOSEOUT

<u>гу</u>			
Closeo	out Notice	Date	09/08/92
Project No. E-20-835 C	enter No.	T5202	-0A0
Project Director BARKSDALE R D S	chool/Lab	CIVIL	ENGR
Sponsor GA DE PT OF TRAN SPORTATI ON/			
Contract/Grant No. TASK ORDER 17/BOA DTD 871109 C	ontract E	ntity	GTRC
Prime Contract No			
Title EVALUATION OF AGGREGATE PROPERTIES OF RUTTING	& FATIGUE	OF AS	PHALT CONCRE
Effective Completion Date 911003 (Performance) 91100	3 (Report	5)	
Closeout Actions Required:		Y/N	Date Submitted,
Final Invoice or Copy of Final Invoice		, Y	
Final Report of Inventions and/or Subcontracts		Ϋ́	
Government Property Inventory & Related Certific	ate	N	• • • • • • • • • • • • • • • • • • •
Classified Material Certificate Release and Assignment		ุ N - N	
Other		N	
Comments			
Subproject Under Main Project No			
Continues Project No			
Distribution Required:			
Project Director	Y		
Administrative Network Representative	Y		
GTRI Accounting/Grants and Contracts	Y		
Procurement/Supply Services	Y		
Research Property Managment	Y Al		
Research Security Services	NV		
Reports Coordinaton (80A) *	1		
Reports Coordinator (OCA) # GIRC	Ŷ		
Reports Coordinator (OCA) \$ GTRC Project File	Y		
Reports Coordinator (OCA) GTRC Project File Other	Y Y		

NOTE: Final Patent Questionnaire sent to PDPI.

GEORGIA INSTITUTE OF TECHNOLOGY OFFICE OF CONTRACT ADMINISTRATION

NOTICE OF PROJECT CLOSEOUT (SUBPROJECTS)

	Closeout Notice Date 09/08/92
Project No. E-20-835	Center No. T5202-0A0
Project Director BARKSDALE R D	School/Lab CIVIL ENGR
Sponsor GA DEPT OF TRANSPORTATION/	
Project # G-35-810 PD POLLARD C O J	VR Unit 02.010.140 T
TO # TASK ORDER 17/BOA DT MO	D# MEMO DTD 900814E & A SCI *
Ctr # T5202-0A1 Main proj # E-20-835	OCA CO BJL
Sponsor-GA DEPT OF TRANSPORT /	300/035
EVALUATION OF AGGREG	
Start 890103 End 901002 Funded 28,24	4.00 Contract 28,244.00

LEGEND

- 1. * indicates the project is a subproject.
- 2. I indicates the project is active and being updated.
- 3. A indicates the project is currently active.
- 4. T indicates the project has been terminated.
- 5. R indicates a terminated project that is being modified.

RESEARCH PROJECT PROGRESS REPORT	
DEPARTMENT OF TRANSPORTATION	
STATE OF GEORGIA	

Report	No.	1	Date:	7/7
--------	-----	---	-------	-----

/89

Report Period: from Jan. 3, 1989 to June 30, 1989

• oject No. -835/GDOT8812	Project Title Evaluation of the	Effects	of Aggi	regate Properties	s on Rutting and Fatigue
<pre>search Agency(s)</pre>			Project Director: of Asphalt Concrete		
eorgia Institute of Technology :lanta, Georgia 30332			Richard D. Barksdale School of Civil Engineering; Georgia Inst. of Technology		
arting Date lary 3, 1989	Completion Date October 2, 1990	Total 21	Months	Time Expend	led: months, percentage 6 29%
Inding Sources(s) Funds Authorized Total			Funds Report Period	Expended Totai	
HPR	\$133,216			\$17,800	\$17,800

oject Objectives, Status, Progress

<u>jectives</u>

- To determine the basic properties of aggregates from a number of different 1. quarries. Properties to be determined include aggregate shape, surface area, free mica, surface roughness, and petrographic analysis. The aggregates are to be classified and generalized relations between aggregate characteristics and density determined.
- Develop optimum asphalt mix designs for each aggregate class selected. Surface, 2. binder and bare mixes are to be included in the study. Both rutting and fatigue are to be considered in developing the mix designs.

:atus

The aggregate shape, surface area, free mica and petrographic studies are almost complete. Surface roughness measurements are presently underway.

ogress This Report Period

Aggregate Shape and Surface Area - A digitalizing technique has been developed for measuring the aggregate shape and surface area. The technique uses a digitalizer tablet and an IBM-XT computer. A spreadsheet is used for analyzing the data and making Typical results are included for examination. The method used to estimate plots. surface area has been found to agree reasonably well with a more precise method based on sterology.

Free Mica - A new technique is being developed to separate the free mica from the other minerals. This approach involves the use of an electromagnetic separator developed by the minerals extraction industry. Since the electro magnetic separator removes all magnetic materials, corrections have to be made to the results. A visual comparison coject Objectives, Status, Progress (Continued)

will be made of the percent of non-mica in the magnetic portion. Also a special chemical has been obtained from Germany that separates the fractions based on specific gravity. This technique will be experimented with hopefully to provide a further positive refinement to the quantification of free mica.

<u>Surface Roughness</u> - All aggregate samples have been cast in epoxy and sections through them cut with a diamond saw. The sections have been photographed. The photographs are presently being used to measure the surface roughness. Surface roughness at a magnification of about 20 times is planned to be used. It is felt that a lower magnification is not sufficient, while a higher magnification would emphasize minute surface roughness features to too great of a degree.

<u>Petrographic Examination</u> - Thin sections have been prepared and examinations of all aggregates submitted (except four) have been performed. In addition to the thin section specimens, a hand specimen has also been performed. X-ray diffraction tests will be performed on the very fine grained samples such as the limestones; these specimens are considered too fine-grained to give a meaningful petrographic analysis.

Final Design and Recommendations - No activity

Implementation - No activity

Final Report - No activity

ork Planned for Next Report Period

<u>Aggregate Property Tests</u> - Complete the basic aggregate property tests and lassify aggregates by groups

Mix Design - Begin the asphalt mix design phase of the study

<u>Implementation</u> - No activity scheduled

Final Report - No activity scheduled

<u>ecommendations</u>

None at this time

<u>coblems</u> - None

Richard D. Barksdale Project Director

WORK PLAN SCHEDULE

Evaluation of the Effects of Aggregate Properties on Rutting and Fatigue of Asphalt Concrete

GTRI Project No. E20-835



APPI SCHI

APPROVED SCHEDULE

WORK COMPLETE SCHEDULE

APPENDIX

.

Petrographic Examination Examples

Aggregate Shape and Surface Area Examples

ROCK DESCRIPTIONS

Sample Descriptions

Description

<u> 1ple #</u>

1-57A Light colored medium grained granite with biotite disseminated throughout. Quartz and feldspars predominate although percentages vary. Quartz grains <5mm, Feldspars <10mm. Rare reddish brown rounded grains, possible garnet. Muscovite generally not distinguishable in hand specimen.

Rock Type: Muscovite Biotite Granite

 4-57A-1 Quartz 38% - Fractured grains ranging from U.1-5mm.
 Feldspar 29% - Large, irregularly shaped grains up to 6 mm.

Plagioclase 18% - Grains smaller than feldspars, 2-3 mm and less irregularly shaped.

Biotite 10% - Occurs in clusters of crystals 1-2 mm in size. Little or no foliation noted.

Muscovite 5% - Associated with the biotite clusters though not as common. Also occurs as very fine grained sericite associated with alteration of plagioclases.

4-57A-2 Quartz 18% - Occurs as very coarse grains, approximately
 5 mm or much smaller grains of 0.5-1 mm. Large grains are often highly fractured.

Feldspar 23% - Few grains present but those that are are relatively large, 3-4 mm.

Plagioclase 50% - Medium to coarse grains, 1-5 mm, showing moderate alteration and some zonation. Biotite 8% - Medium grained, 1-2 mm, occuring in a few

relatively large clusters. Muscovite 1% - Very highly ercded crystals approximately

1 mm in size associated with biotite.

4-57A-3

Quartz 41% - Highly fractured medium to large grains 1-6 mm.

Feldspar 17% - Anhedral crystals, few in number but relatively large 3-5 mm. Perioline twinning predominates with some Carlsbad.

Plagioclase 33% - 2-3 mm crystals showing Albite twinning, often altered to sericite. Alteration concentrated in centers of crystals indicating some zoning of crystals.

Biotite 9% - Crystals approximately 0.5 mm occur in clusters throughout the sample. Very small amounts of muscovite associated with these clusters along with some sericite.

-57B Light colored medium grained with biotite throughout. Some samples show relatively high biotite content > There is some very light green staining possibly 10%. from the biotite weathering. Muscovite is present only in very small amounts.

Rock Type: Muscovite Biotite Granite

Dark gray to black, dark minerals > 60%, fine grained, thinly foliated. Foliation not perfect. Hornblende and biotite dominate.

kock Type: Biotite Hornblende Amphibolite

- -57B-1 Quartz 46% - Crystals range from 0.05-5 mm but avg 2-3 mm. Fracturing less intense than 014-57A but still present throughout.
 - Feldspar 21% Occurs as small, irregular grains with occasional larger grains up to 2 mm.
 - Plagioclase 21% Anhedral grains, 1-2 mm, showing zoned crystals whose centers are frequently fractured and altered to sericite along cleavage planes.
 - Biotite 6% Crystals, <1 mm, occur in clusters sometimes associated with larger 2-3 mm muscovite and accessory calcite and hornblende.
 - Muscovite 4% Larger crystals, 2-3 mm often associated with biotite clusters.

Epidote 1% - Occurs as single grains distributed sparsely throughout.

- Opaque Trace
- 1 57B 2Quartz 30% - Unfractured grains up to 0.2 mm but usually <0.1 mm. Size varies somewhat with location in sample, larger grains toward center.
 - Plagioclase 3% Very small grains <2 mm dispersed throughout sample.
 - Hornblende 56% Anhedral to euhedral crystals 0.02-0.5 mm. Some foliation defined by larger crystals in center of sample. Biotite 11% - Crystals up to 0.5 mm help define foliation along with hornblende.
- 5-57A Light colored fine to medium grained. Biotite content varies widely within sample from < 5% to about 15%. High biotite samples exhibit good foliation and schistose texture, low biotite samples show no foliation and granitic texture. Hornblende content varies between 0-20%. Substantial muscovite content in several samples. Some samples show contact between

rock types. Rock Type: Biotite Granite Biotite Hornblende Granite Biotite Schist -57A - 1Quartz 38% - Anhedral, unfractured grains <1 mm. Feldspar 24% - Anhedral grains showing polysynthetic twinning, up to 2mm located primarily at one end of sample Plagioclase 27% - Small to medium size grains 0.5-2 mm, albite twinned, present throughout sample. Biotite 4% - Present throughout sample in very small laths, <0.5 mm. Museovite 7% - Uncommon but relatively large grains. 1-2 mm, with some embayed grains present. -57A-2 Quartz 45% - Anhedral, unfractured grains <1 mm, similar to 015-57A-1 but with higher percentage of er grains. Feldspar 20% - Irregularly shaped grains disseminated throughout showing polysynthetic twinning. Plagioclase 28% - Small to medium sized grains 0.5-2 mm showing pericline twinning and less ordered albite twinning. Biotite 7% - More abundant and slightly larger grains than 015-57A-1 but with very rare muscovite. Epidote Trace. -57A-3 Quartz 36% - More common on one half of slide, <1 mm rounded grains. Plagioclase 30% - Small to medium sized grains 0.5-2 mm showing albite twinning. Hornblende 20% - Present throughout but much more common in dark half of slide. Small to medium grains 0.5-2 mm. Biotite 11% - Present throughout but concentrated along with the hornblende. Opaques 3% - Fine grained 0.05-0.5 mm present primarily in dark half of sample. 5-57BLight colored fine to medium grained quartz rich with some accessory pyrite and garnet. Biotite content varies considerably from 1-10%. Biotite rich samples show some foliation. One biotite rich sample contained approximately 5% of a light green glassy mineral, possibly epidote. Others show same as rare grains. Some samples contain significant hornblende, up to 20%.

Rock Type: Biotite Granite Biotite Hornblende Granite

AGGREGATE SHAPE AND SURFACE AREA

Florida Rock Industries (GADOT Quarry No. 015)

A Sample

-1/2 to +3/8 Size

Aggregate



.

NUMBER OF OCCURRENCES



SP HERICITY





P = 0/4 DITAN NUTANULA

AGGREGATE SHAPE AND SURFACE AREA

Florida Rock Industries (GADOT Quarry No. 015)

A Sample

-No. 4 to +No. 8

Aggregate





SPHERICITY HISTOGRAM

NUMBER OF OCCURRENCES



THREE DIMENSIONAL SHAPE CATEGORIZATION F = p/q1 ū חב m 0.8 Ð ۵ ۵ 0.8 ٥ P = 0/4 UITAN NOTAULU ۵ 0.7 606 8 80 8 0.8 Г þ գ Ľ 0.5 Н D ٥d ٥ 0.4 D пD Þ ۵ 0.3 ۵ Ъ ۵ 0.2 0.1 0 -0.2 ۵ 0.4 0.8 0.8 1 1.2 FLATHESS RATIO o/b = p

RESEARCH PROJECT PROGRESS REPORT DEPARTMENT OF TRANSPORTATION STATE OF GEORGIA

Report	No.	2	Dat
--------	-----	---	-----

e: 1/11/90

Report Period: from July 1, 1989 to Jan. 31, 1990

b ject No. 35/GaDOT 8812	Project Title Evaluation of the Effects of Aggregate on Rutting and Fatigue of Asphalt Concrete

search Agency(s)

Georgia Institute of Technology Atlanta, Georgia 30332 Project Director: Richard D. Barksdale School of Civil Engineering Georgia Tech

arting Date anuary 3, 1989	Completion Date October 2, 1990	Total Months 21	Time Expende 12 months;	d: months, percentage 57%
nding Sources(s)	<u>Funds</u> Auth Tota	norized	Funds E Report Period	xpended Totai
HPR	\$133,216		\$39,277	\$57,077 (43%)

oject Objectives, Status, Progress

jectives

- 1. To determine the basic properties of aggregates from a number of different quarries. Properties to be determined include aggregate shape, surface area, free mica, surface roughness, and petrographic analysis. The aggregates are to be classified and generalized relations between aggregate characteristics and density determined.
- 2. Develop optimum asphalt mix designs for each aggregate class selected. Surface, binder and bare mixes are to be included in the study. Both rutting and fatigue are to be considered in developing the mix designs.

<u>itatus</u>

The aggregate shape, surface area, free mica and petrographic studies are now complete. Significant progress has been made on determining the lalbot gradation (n-value) that gives maximum dry density. Tests are being performed on selected aggregates from each tentative grouping for both the surface and base mix sizes.

A general Lotus macro has been developed for analyzing all data for placing each quarry into a grouping. General grouping requirements were established at the September 7 meeting with the Georgia DOT. Free mica work was just completed in late December and this data is now being prepared for input into the macro.

The sliding plate, wheel tracking rutting device is now operational and works very well. Molds have been fabricated and procedures developed to prepare 3-1/2 in. thick, 5 in. wide by 10 in. long specimens. Routine testing of beams in rutting is now ready to begin.

Progress This Report Period

<u>Aggregate Shape and Surface Area</u> - Measurements were completed for all size ranges and the results put into a macro written for Lotus 1-2-3. Variability of shape and surface area results was found to be greater for the two finer aggregate sizes.

<u>Free Mica</u> - The original mica contents originally determined by magnetic separation have now been corrected. Glass slides were made of representative samples from both the magnetic and nonmagnetic portions of separated material. Counts were then made to determine the percent minerals in each fraction which should not be present. Considering only actual totally free mica in the two coarse sizes will give significantly smaller percent mica than originally reported.

<u>Surface Roughness</u> - Surface roughness measurements were completed during this report period.

<u>Petrographic Examination</u> - The petrographic examination was completed during this report period. These results will be given to the Georgia DOT at the next meeting.

<u>Maximum Density</u> - The gradation which gives maximum density is being determined using primarily a vibrating table. Optimum Talbot's nvalues have been developed for aggregates from most of the projected groups for surface mix gradations. The Talbot n-value is typically between 0.4 and 0.50. A few type aggregates, however, appear to have optimum n-values less than 0.4 which result in a gradation with a quite high fines content.

<u>Rutting Test</u> - The rutting apparatus has been developed and sample preparation procedures established. Production work will begin on rutting early in January, 1990.

<u>Fatigue Test</u> - A computer program was written to predict the fatigue behavior of each asphalt mix.

<u>Diametral Test</u> - The apparatus was developed during this report period and the electronics are presently being installed.

Final Design and Recommendations - No Activity.

Final Report - Significant work was accomplished in getting the aggregate properties data into a form suitable for the final report.

Work Planned for Next Report Period

<u>Group Quarries</u> - Finish the classification system and place each quarry in a group. A meeting with the Georgia DOT will be held as soon as this is completed. <u>Rutting Tests</u> - Begin the production wheel tracking rutting tests. Develop optimum gradation for rut resistance from rut test results.

 <u>Diametral Tests</u>
 - Begin production testing for resilient modulus.

 <u>Fatigue Tests</u>
 - Begin fatigue tests for selected materials and gradations.

 <u>Implementation</u>
 - No Activity Scheduled.

 <u>Final Report</u>
 - No Activity Scheduled.

 <u>Recommendations</u>

None at this time

Problems

No significant problems to report at this time.

-

Richard D. Barksdale Project Director

WORK PLAN SCHEDULE

Evaluation of the Effects of Aggregate Properties on Rutting and Fatigue of Asphalt Concrete

GTRI Project No. E20-835



TIME

APPROVED SCHEDULE

WORK COMPLETE SCHEDULE

RESEARCH PROJECT PROGRESS REPORT DEPARTMENT OF TRANSPORTATION STATE OF GEORGIA			Report No. 3 Date: 7/3/90 Report Period: from Jan. 1, 1990 to June 30, 1990		
search Agency(s)		Project	⊦ Di	rector: Richard I). Barksdale
rgia Institute of Technology anta, Georgia 30332				School of Georgia 1	Civil Engineering Sech
arting Date . 3, 1989	Completion DateTotal MontOct. 2, 199021		S	Time Expended: 18 months;	months, percentage 86%
nding Sources(s)	Funds Authorized Total		Funds Expended Report Period Totai		ended Totai
HPR	\$133,216			\$19,005	\$76,113 (57%)

oject Objectives, Status, Progress

Objectives

- 1. To determine the basic properties of aggregates from a number of different quarries. Properties to be determined include aggregate shape, surface area, free mica, surface roughness, and petrographic analysis. The aggregates are to be classified and generalized relations between aggregate characteristics and density determined.
- 2. Develop optimum asphalt mix designs for each aggregate class selected. Surface, binder and base mixes are to be included in the study. Both rutting and fatigue are to be considered in developing the mix designs.

<u>Status</u>

The focus of work on the project shifted during this report period from measuring aggregate properties to evaluating rutting of asphalt mixes. Approximately 54 beam specimens were tested for rutting during this semi-annual report period.

<u>Rutting Resistance</u> - Almost all of the rutting tests were performed on specimens prepared using the standard Georgia DOT mix design gradations. Comparisons with "improved" gradations were made only for base mixes for White and Kennesaw material. Both the coarser and finer improved White base mixes performed significantly better than did the standard Georgia DOT mix design (Table 1). The finer improved gradation mix for Kennesaw, however, did not do as well as for the standard gradation. Rutting tests on the coarser improved mix will be performed as soon as more Kennesaw large size aggregate is received.

<u>Fatigue Resistance</u> - The microcomputer program for calculating fatigue life was made operational. This program is written in BASIC language and uses the methods of the Asphalt Institute and the University of Nottingham for predicting fatigue life. For the White base mix, the coarse and fine improved gradation mixes both had fatigue lives reasonably close to the standard Georgia DOT mix as summarized in Table 2. The coarse improved gradation, as previously discussed, showed a marked improvement in rut resistance. Probably great difficulty would be encountered in developing a mix with improved rut resistance that at the same time has better fatigue resistance. The very small reduction in fatigue life of the coarse gradation, improved White mix compared to the standard mix is not considered to be significant.

The fatigue resistance value given above is the fatigue life in terms of repetitions of load for an applied strain of 200×10^{-6} in./in. These numbers are the average of four theoretically calculated values using (1) two different theoretically calculated stiffness values and (2) two different methods for predicting fatigue life. Theoretical fatigue lives for most of the asphalt mix design received from the Georgia DOT have now been calculated. A limited number of laboratory fatigue tests are also being conducted.

<u>Diametral Test</u> - The diametral test apparatus was calibrated and put into routine operation during this report period. Resilient moduli are now being evaluated for the mixes.

Planned Work Next Quarter

- 1. Continue testing for rut resistance standard Georgia DOT mix designs. Begin testing routinely the improved gradation mixes. To accomplish this we will have to be supplied with improved mix designs more rapidly than in the past.
- 2. Continue to perform diametral tests on a routine basis. Also perform a limited series of fatigue tests to compare theory with laboratory performance.

WORK PLAN SCHEDULE

Evaluation of the Effects of Aggregate Properties on Rutting and Fatigue of Asphalt Concrete

GTRI Project No. E20-835





APPROVED SCHEDULE



WORK COMPLETE SCHEDULE

	Base Source Gradation		Wheel Load Tester Rutting Avg. of 2 or 3 tests (load repetition)
1.	White	Standard GA DOT	0.138
		Improved Coarse	0.070
		Improved Fine	0.072
2.	Kennesaw	Standard GA DOT	. 0.094
		Improved Fine	0.133

Table 1. Comparison of Rutting Performance for Standard Georgia DOT Mix Design with Trial Improved Gradations

Table 2. Theoretical Fatigue Resistance

Base Mix	Gradation	Average Fatigue Life (inches)
White	GA DOT Improved Coarse Improved Fine	1,209,000 1,064,000 994,000

Appendix A

.

Selected Rutting Test Results

.





WHITE BASE MIX #3 (TOP)

LOAD REPETITIONS



WHITE BASE I1 #2 (TOP)







WHITE BASE 12 #1 (TOP)



WHITE BASE 12 #2 (TOP)









KENNESAW BASE IMP. (FINER) #1 (TOP)



RESEARCH PROJECT PROGRES DEPARTMENT OF TRANSPOR STATE OF GEORGIA

DECT PROGRESS REPORT	Report No. 4	Date: 1/16/91		
E OF GEORGIA	Report Period: from July 1, 19	Report Period: from July 1, 1990 to Dec. 30, 1990		
Project Title Evaluation of the Effects Concrete	of Aggregate on Ruttir	ng and Fatigue of Asphalt		
of Technology Project	t Director: Richard I	D. Barksdale		

Georgia Institute of Technology Atlanta, Georgia 30332

roject No. 835/GaDOT 8812

esearch Agency(s)

Richard D. Barksdale School of Civil Engineering Georgia Tech

tarting Date anuary 3, 1989	Completion Date June 2, 1991	Total Months 29	Time Expended 24 montl	d: months, percentage
unding Sources(s)	<u>Funds Authorized</u> Total		Funds Expended	
			Report Period	Totai
HPR	\$133,216		\$23,518	\$100,633
		1		•

roject Objectives, Status, Progress

Objectives

- 1. To determine the basic properties of aggregates from a number of different quarries. Properties to be determined include aggregate shape, surface area, free mica, surface roughness, and petrographic analysis. The aggregates are to be classified and generalized relations between aggregate characteristics and density determined.
- 2. Develop optimum asphalt mix designs for each aggregate class selected. Surface, binder and base mixes are to be included in the study. Both rutting and fatigue are to be considered in developing the mix designs.

Status

General. Essentially all of the standard Georgia DOT E, F binder, and base mixes have now been tested in the wheel tracking machine. Also, essentially all of the improved base mixes have also been tested. The rate at which rut tests are performed during the next period will be dependent upon obtaining improved mix designs for the E and binder mixes since essentially all the standard mixes are finished. All diametral test samples have been tested, and fatigue life has been calculated of the mixes for which mix designs are available.

Diametral Test. The diametral test equipment is working very well and good results are being obtained. An attempt is being made to correlate resilient modulus with other variables. Correlations with Marshall stability, flow, and stability/flow are shown in Figures 1, 2 and 3. From these figures flow appears to give the best correlation. However, a statistical analysis will be performed to evaluate interactions and attempts to develop a predictive model.
<u>Theoretical Fatigue Prediction</u>. A computer program has been developed, verified, and is being used to predict fatigue life. Some typical results are tabulated in Table 1 for base mixes. As can be seen in the table, the slightly coarser gradation used in the improved mix gives, as expected, a slightly reduced fatigue life partly because of the use of a lower asphalt content in the mix. The computer simulation developed to model fatigue life has proved to be a very useful tool in evaluating new mix designs.

Rutting. An interesting summary of rutting obtained from the wheel tracking tests is given in Table 2 for 7 base mixes. Use of the coarser mix reduced rutting by 12 to 49% in 5 out of the 7 mixes. For the Kennesaw mix, both a coarser and finer mix than presently used resulted in an increase in rut depth of about 50%. Use of a slightly coarser Norcross base mix resulted in about the same rut depth as the standard mix. A more complete summary of rutting test data is given in Table 3. All of these data are presently being put in a similar form as given in Table 2.

A statistical analysis is currently being made to determine the parameters that affect the rutting potential of base mixes. Base mixes are being studied at the present time because both the standard GaDOT mixes and improved mixes have been essentially completed. Other mixes will be included in the statistical study later. The parameters included in the analysis are: roughness classification, surface area classification, percent air voids in the mix, shape classification, density of the mix, mica content, overall quarry classification, asphalt content and density of the unbound aggregate. Preliminary results show that the density of the asphalt mix is the most important factor affecting the rutting behavior of asphalt base mixes. Results also show that the combined average shape classification and adjusted surface area of material passing the No. 8 sieve and retained on the No. 120 sieve are not correlated to the rutting potential. The other variables appear to have a relatively low correlation with the rutting behavior of asphalt base. The most accurate relationship used to explain the observed rutting behavior use: density, roughness, mica content, and surface area. The coefficient of determination (r^2) of this relationship is about 53.9%. Plots showing relationships between rutting and density is shown in Figure 4 and between rutting and classification in Figure 5.

Planned Work Next Period

- 1. Complete all rutting and diametral tests.
- 2. Perform statistical analyses to develop, if possible, predictive models for rutting and resilient modulus.
- 3. Prepare the project report.

WORK PLAN SCHEDULE

Evaluation of the Effects of Aggregate Properties on Rutting and Fatigue of Asphalt Concrete

GTRI Project No. E20-835





APPROVED SCHEDULE



WORK COMPLETE SCHEDULE

Table 1.	Summary	of Typica	1 Calcula	ted Fatig	gue Life
	Results	for Selec	ted Stand	ard and I	Improved
	Base Miz	kes.			

•

•

	Fatigue Life (1)								
	Standar	d Mix	Improved	Mix					
Quarry	Method 1	lethod 1 Method 2		Method 2					
White	995,500	1,590,000	874,400	1,390,000					
Kennesaw	1.437.000	2,479,000	1.029.000	1,950,000					
	1,457,000	_,,	±,0=>,000	_ ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,					
Stockbridge	1,548,000	2,345,000	1,227,000	2,258,000					
Lithonia	1 118 000	1 797 000	882 830	1 788 000					
LICHONIA	1,110,000	1,77,000	002,000	1,700,000					
Norcross	1,298,000	2,367,000	870,200	1,660,000					

.

Note: (1) Coarse Mix

Table 2.	Wheel Track Test Rutting Results: Comparison of
	Standard Georgia DOT Mixes with Improved Mixes -
	Base.

Quarry	Standard DOT Design(1) ^Ô average (in.)	Coarse Mix Improved Design ⁽¹⁾ ^ô average (in.)	Fine Mix Improved Design ^S average (in.)
White	0.1379	0.0699 (-49.31%) (2)	0.0724 (-47.49%)
Lithonia	0.14405	0.12625 (-12.36%)	0.09785 (-32.07%)
Kennesaw	0.0938	0.1409 (+50.21%)	0.14575 (+55.38%)
Barin	0.18445	0.14685 (-20.38%)	-
Palmer Station	0.212167	0.1147 (-45.94%)	_
Norcross	0.1835	0.1792 (- 2.34%)	-
Stockbridge	0.1562	0.1310 (- 16.1%)	-

Notes: 1. Average of two tests 2. The numbers in parentheses indicate the percent reduction in rutting compared to the standard Georgia DOT gradation.

•

						M	AIX	TYPI	Ξ.				
QUARRY		F	ΜΙΧ	BASE	MIX	BASE	IMP.	BASE IN	AP. (F)	BINDE	r mix	E	MIX
	10	TOP	BOTT.	TOP	BOTT.	TOP	BOTT.	TOP	BOTT.	TOP	BOTT.	TOP	BOTT.
	1	.3121	.3491										
	2	.3090	.2894										
DDGE	3	.3375	.4090										
· •	rvg	.3195	.3492										
	1	.0934	.0792	.1243	.1402	.0735	.0905	.0777	.0602	.1151	.1487		
	2	.0736	.1879	.1685	.3322	.0663	.0847	.0670	.0529	.1096	.1208		
WHITE	3			.1209	.0900								
	avg	.0835	.1336	.1379	.1875	.0699	.0876	.0724	.0566	.1124	.1348		
	1	.1225	.1321	.1826	2559	.1634				.1424	.2765	.1421	.2020
	2	.2113	.2352	.1863	.2636	.1303				.1958	.2257	.3107	.4659
BARIN	3											.2181	.3860
	avg	.1669	.1837	.1845	.2598	.1469				.1691	.2511	.2236	.3513
	1			.1012	.1041	.1630		.1333		.1627	.1955	.1740	.2293
KENNES.	2			.0864	.1256	.1188		.1582		.1472	.1917	.1249	.1930
	avş	3		.0938	.1149	.1409		.1458		.1550	.1936	.1495	2112
	1			.1243	.2374					.1657	.2029	.1201	.1839
STOCKBRI.	2		·	.1881	.1181					.1728		.1461	.1945
	avg	;	·	.1562	.1778					.1693		.1331	.189
	1			.1414		.1083		.0740		2169		.2637	
LITHONIA	2			.1467		.1442		.1217		.1601		.1414	
	=~7	3	_	1.1441		.1263		.0979`	_	.1885		2026	
	1			.1537		.2034				.2136		.1962	
NORCROS	5 2	-		2133		.1550				.2144		.1910	
	av	8		.1835		.1792				.2140		.1936	
PALMER	1	L L		.2604		.1270				.2318		A 817	
STATION		2		.1644		.1024				.1786		A636	
	-	78		2124		.1147			<u> </u>	2052		A727	<u> </u>
BATT		1		.1681	·	.1701	. 092	7		.1810	>	.0832	
GROUNT	, ²	2		.0948	•	.0519	.032	20	Į	.207	וי	.1554	
	- a	vel		.1315	5	.1109	.062	24	1	.194	0	.1155	

.

Table 3. Summary of Rutting Test Results - 8,000 Load Repetitions.

Table 3 (continued).	Summary of Rutting Test Results - 8,000 Load	
	Repetitions.	

SA		MIX	נ	TYPE
QUARRI	NO.	BASE	IMP. BASE	BINDER
ATHENS	1 2 AVG	.1464 .2361 .1913		.1814 .2329 .2072
CANDLER	1 2 AVG	TOP BOTTOM .1274 .1201 .1612 .1897 .1443 .1549	.2274 .1937 .2105	.2616 .2424 .2520
MT VIEW	1 2 AVG	TOP BOTTOM .1161 .2240 .1700	TOP BOTTOM .1433 .1104 .2260 .1961 .1846 .1532	.1558 .1922 .1740
TYRONE	1 2 AVG	TOP TOP BOTTOP .1950 .2473 .2639 .2050 .1998 .2754 .2000 .2236 .2696	.1909 .1369 .1639	.2191 .2268 .2230
BUFORD	1 2 AVG	.1900 .1968 .1934	.1370 .0630 .1902 .1300	.1847 .1268 .1558
CUMMING	1 2 AVC	.1710 .1286 ; .1498		.3702 .3067 .3385

.

Table 3 (continued). Summary of Rutting Test Results - 8,000 Load Repetitions.

T

QUARRY	SA.	MIX		TYPE
	NO.	BASE	IMP. BASE	BINDER
GRIFFIN	1 2 AVG	.1760 .2199 .1980		.1930 .1670 .1800
DAN	1 2 AVG	TOP BOTTOM .2273 .0598 .1511 .1163 .1892 .088	.1165 .1511 .1338	.1913 .1401 .1657
RUBY	1 2 AVG	.1521 .1090 .1306		.1128 .1218 .1173
DALTON	1 2 3 AVG	.1021 .1346 .1184		.1290 .0708 .0901 .0966
LITHIA SPR	1 · 2 AVG		.1201 .1825 .1513	TOP BOTTOM .2023 .1355 .2470 .1494 .2246
POSTELL	1 2 AVG			.2240 .1425 .2511 .1950 .2231

.

.



Figure 1. Resilient Modulus as a Function of Stability for All Quarries and Mixes.



Figure 2. Resilient Modulus as a Function of Flow for All Quarries and Mixes.



Figure 3. Resilient Modulus as a Function of Stability/Flow for All Quarries and Mixes.



Figure 4. Rut Depth as a Function of Density for Base Mix.



Figure 5. Rut Depth as a Function of Classification for Base Mix.

RESEARCH PR	ROJECT PROGRESS REP	Report No.5 Date: 7/23/91							
ST/	ATE OF GEORGIA		Report Period: from Jan. 1, 1991 to June 30, 1991						
Project No. D-835/GADOT 8812	Project Title Evaluation of the Concrete	e Effects of Ag	gregate on Rutting	and Fatigue of Asphal					
Research Agency(s)									
Georgia Institute Atlanta, Georgia	of Technology 30332	Project Direc	tor: Richard D. Ba School of Civ Georgia Tech	rksdale il Engineering					
Starting Date	Completion Date	Total Month	s Time Expende	d: months, percentage					
January 3, 1989	October 3, 1991	33	30 months	91%					
Funding Sources(s)	<u>Funds Aut</u> Tota	horized 1	Funds E Report Period	xpended Totai					
HPR	\$133,216	5	\$28,694 \$132,43						

Project Objectives, Status, Progress

Objectives

1. To determine the basic properties of aggregates from a number of different quarries. Properties to be determined include aggregate shape, surface area, free mica, surface roughness, and petrographic analysis. The aggregates are to be classified and generalized relations between aggregate characteristics and density determined.

I

2. Develop optimum asphalt mix designs for each aggregate class selected. Surface, binder and base mixes are to be included in the study. Both rutting and fatigue are to be considered in developing the mix designs.

Status

The project is in the final stages of completion with only tests on the E-mixes (both DOT and improved mixes to be prepared and tested at the same time) to be completed. Also, a few additional diametral tests will be performed as specimens are obtained from the DOT. A large number of rutting tests (two series) have been performed on the B-mix and improved B-mix (the base mix was used) looking for a more rut resistant B-mix. The most recent series of tests involved comparing the standard GaDOT B-mix with the coarser GaDOT base mix. Specimens (2 each) for each mix were prepared from aggregate sieved at the same time and the resulting blended material split. The results show that on the average the B-mix is as rut resistant as the GaDOT base mix as shown on the attached table. The overall difference in the two mixes was only +4% neglecting the Lithonia mix. This overall finding is in agreement with the earlier findings clearly indicating the currently used B-mix is a good one which is relatively rut resistant. A limited amount of additional work will be conducted to try and find an improved B-mix.

Work Next Quarter

All testing will be completed and work will begin in August on preparing the final report.

Comparison Standard Georgia DOT Base Mixes with Standard B-Mixes

.

		BASI	Ξ	BIND	ER	PERCEN	ITAGE		
QUARRY	SAMPLE	Stand. DOT Mix		Stand. DC	DT Mix	of Base			
NAME	No	(in)		(in)		(%)			
		TOP	BOTTO	TOP	BOTTO	TOP	BOTTO		
CUMMING	1	0.2884		0.3978					
	2	0.3776		0.3378					
	AVG	0.3330		0.3678		-10.5			
DAN	1	0.1785		0.1413	1.5 Ave. (b.) 10. 1				
	2	0.1792		0.1596					
	AVG	0.1789		0.1505		15.9			
GRIFFIN	1	0.1943		0.2135					
	2	0.2235		0.2216					
	AVG	0.2089		0.2176	and an	-4.1			
LITH, SP	1	0.2471							
	2	0.2773							
	AVG	0.2622							
LITHONIA	1	0.1937		0.4208					
	2	0.1786		0.2896					
	AVG	0.1862		0.3552		-90.8			
MT. VIEW	1	0.2263		0.2786					
	2	0.2723		0.3209					
	AVG	0.2493		0.2998		-20.2			
NORCROSS	1	0.2701		0.1468					
	2	0.2482		0.1998					
	AVG	0.2592		0.1733		33.1			
PALMER	1	0.2147		0.1996					
STATTION	2	0.2560		0.2185	and an an an				
	AVG	0.2354		0.2091		11.2			

٩.

•

and a state of the s State of the state of

·

. .

.

Drais Espont

Grongia 201 Drožade 6111 Gallech I. (sot 111-135

EMANDARION OF THE RECEIPT OF CONSIDER OF SUB-LINE CONTROL OF ALFAIRE

> ا هما دارسی از آن ایرانی در ایند. استان دارد استان از ایرانی در از

Of spill Bayerra and S. Transportation

÷.,

Cichard C. Indivisia Professor (1997) (2007) The first Staff Station Electric Englisher (2007) (Contering on a core Charles (21 and))

> الم رواند. منابع

States No. No. Could to take States and alcose (Permathy Graduess 1. actain Assubtent)

Cohool of Rivill Confidenting Coordina Institutes of Coordinatory

Estrator, 1992

THOM OF CONTINUES

<u>Pere</u>

ACUUD	LEDGEMENTS		•	•	•	•	,			iii
CHADT	2R 1									
	ITTRODUCTION . GEFETTIVIS ON PROPERIO STUDI.	•	•	•	•	•		•		1 2
022										
	TUTAL HINTAL ASSAUDTED DOVEL STILLS	. j	0	.220	، درموس مدر مدار					
	CAARACTIRE DIDES			• • • • •	•	• • • • • •	•	•		5 6 7 9 19 23 23 20 30
	CONCLUSIONS	•	•	,	, •	•	•	•	•	
بېږد ديېن باغه داغه	21. 3									
	MIASTILINING OF FRUE TROU CONDUM UND OPPOTION	•	•		•	•	•	· · · · · · · · · · · · · · · · · · ·	•	1440 553 1440 402
سیب به کاماند که										
	RUTTING AND PATTONT FUNDINGS. 1. CODUCTION NUT DESTS DESULTS CTATISTICAL DUITING CORVELATIONS FUCKOUT LIVE SHOURAL FUCCUOTION SUCCENT.	- - - -	•	•	•	• • • • •		•		60 60 69 69 12 86 80
CHAPT	ER 5									
	der dialog bestehnt ich die die Diar Diar Best.									୨୨

TALL OF CONTRACTS (CONSIDER G)

i

1073

ARE MULTIN - SEADNEMENT OF STATISTICS, STATE, SCHWORT ARTS, UPD SUNFALL FOR HELSS Storen - Norres scare 3-1 **5-**6 ton dign proclama

A DER COLLEGALISTE

Mill Lee computation given in the Georgia Labartment of Transports to m personnel, is nemerous to aclassifiedge insividually, is greatfully appreciated. Special televoledgements as given to Mr. Pete Malphurs, form a State Materials and Research Engineer, and to Mr. Ronald Collins, the new State Materials and Research Engineer, for their part in initiating and carrying cat this research and to Loron Jaylor who carefully monitered the study. Special oppresideion is unterfed to the Goorgia Crushed Ston. Association for the Simulat support pro itsef for Dill Shaffield. Gastril ligh travifus support for The Flegel to conduct the statistical enclyses. Approxiation is also expresses to Bill Sheffield, With Near, The Miroche, and Jen Joang who will worked on the project as Clafusle Research Assistants. Dr. Lynn Follard and Anno Lutler performed ine : lea alaiteath atritice inlie professed the chin contine words. All of the geological work was performed under the immediate cinaction of Dr. Bolland.

> . مد مد د

Chapter 1 Currenereday

Attailt concrete surface, binder and hase clarses are critical components of a fighible pavement. Therefore, rutting and cracking of these layers must be limited to a tolerable level. To must impling means, the coordin Dipartment of light posterion uses surface, bindow, and bree anybalt concrete mines in fights be pavement construction. An recent years greater two pressures and higher temporatures have, in some instances, reculted in tubling provides in these mines.

. To endly, sin cosign, are repared continent, productily the influence of the sophale content, research colis, advand. filler, and the choose winterforded of riture vibinder. References, and provides experience also show, however, aggregies where observations also definence the behavior of the min (1-5) aggregies wordeledes of importance appear to include the rest epotesision, there wordeledes of importance appear to include the rest epotesision, the second rest of the other of the angularity of the content, in show each rest of the other, and the angularity of the second rest of the second of the second of the second of solidion let be a solution of the body of the second of the angularity production of rephase of rest with the and/or mutting prodominate of rephase operation with

init:remabuly, ory luctuarization intolving the effect of quantifier is aggregate characteristics has been conduced on asphelt mintared in grad of in proceedic those wood in Seorgia. Conthermore, asphalt mixes are presently often designed using about the same gradetion spaceless of aggregate characteristics.

On numbers in brackets indicate toferences given at the and of this report.

Charles of Marked Stor

The excell persons of this pendy is to determine the role that aggregate characteristics play in the rutking of asphalt concrete mixes and to develop more rut resistant asphalt concrete curface, binder, and base mixes for use in Georgia. The resultion min destinament by durable, have applying resistance to rucking under high time processes and temperatures, and also show measurable good fintigue is lawler.

Spacific dijective of this project to an fillers:

- Devolos islachie test methods and control partsint characteric des effectives for first first cost d'entraies.
 ggrogete proportanes activited incluse shape, sordiate mas, confine toriture minister of synchrice, diese mica controle, call gendation-dense or characterictics.
- Catagorization the appropriate from the quarterist traced for Sebuga metrysper leased an arafar shyrolooli distance to the tata.
- 1. Recalled new (valuations because via decigns an electricities to emissions class. Courses inside particular, Sectors, and musiliant interview with outseing with designs. Perfore, bullet, and base almost are all studied and g The Locded Wheel Tester to evaluate rutering. Providually developed therestical impressions are used to containly probable coulgue henevier.
- Develop asphalt mix designs for each aggregate and type min. Thus designs are to obtimize rutting

÷.

and fatigue properties.

Charlen al landfin Larranta Tarana e Dadiucei in Study

Appropriates churchen from the Cl quarried surmarized in Unblue 1 mare included in this study. Nore detailed according was purformed on appregate from primary quarries, which are indicated in the table by an istorisk; the manufolds once are designated as recondery quarries. Creative gamess iggregate comprised 76 percent of the Clabrant oppregate courses included at the study. A specific breakness by publicate appropriate classification is is follows: granite gamess (16 courses). Lineart we (3 courses), injected quartuite (1 source), clauriel and and gravel (1 source). Cotali det relations of the tests performed huming this study are given in a series of Nectors of the tests performed huming this study are given in a series : 1

A CARL AND A CARTAGE A

Chuginally, L conterny ditigns come to be performed as a part of this study. Hereway, chaing the scarse of the court, the joint decision who take between The Grouple Decompose of Transportation and Georgia Tech thes decigue teste would not be conferred. The read, a theorytical metal forskeet and the form of a computer or give work use estimate fatigue life. This modifiest on the the protect of periodect comestical metal for obsymbly the ration, be the protect of the scale comestical scale offert enclosed controls and the scale of the protect of the scale constrate fatigue

Final Report

Georgia DOT Project 8812 GaTech Project E20-835

EVALUATION OF THE EFFECTS OF AGGREGATE ON RUTTING AND FATIGUE OF ASPHALT

Prepared for

Georgia Department of Transportation

by

N

Richard D. Barksdale Professor

Charles O. Pollard Associate Professor

Tim Siegel Staff Engineer Bhate Engineering (Formerly Graduate Research Assistant)

and

Steve Moeller Staff Engineer Golder Associates (Formerly Graduate Research Assistant)

School of Civil Engineering Georgia Institute of Technology

February, 1992

Disclaimer: The contents of this report reflects the views of the authors who are responsible for the facts and accuracy of the data presented herein. The contents do not necessarily reflect the official views or policies of the Department of Transportation of Georgia nor the Federal Highway Administration. This report does not constitute a standard, specification or regulation.

TABLE OF CONTENTS

٢

ACKNOWLEDGEMENTS	•	• •	•	•	•	iii
CHAPTER 1 - INTRODUCTION	•	• •	•	•	•	1
OBJECTIVES OF PROPOSED STUDY	•	• •	•	•	•	2
CHAPTER 2 - FUNDAMENTAL AGGREGATE PROPERTIES	AND	COMP	ACTTO	N		
CHARACTERISTICS		• •	•	•	•	5
TNTRODUCTION						5
	•	• •	•	•	•	5
DOUDING TEST ACCDECATE CUADACTEDIZATIO	• •	•••	•	•	•	7
SUDFACE ADEA	. NN	• •	•	•	•	0
SURFACE AREA	•	• •	•	•	•	3
THE MICH CONTENT	•	• •	. •	•	•	19
FREE MICA CONTENT.	•	• •	•	•	•	26
MARSHALL MIX DESIGN VARIABLES	•	• •	•	•	•	20
INDIRECT TENSION TEST RESULTS	•	• •	•	•	•	30
LABORATORY INDEX DENSITY	•	• •	•	•	•	38
CONCLUSIONS	•	• •	•	•	•	48
						10
CHAPTER 3 - MEASUREMENT OF FREE MICA CONTENT		• •	•	•	•	49
					•	10
	•	• •	•	•	•	49
RESULTS	•••	• •	•	•	•	49
ELECTROMAGNETIC SEPARATION	• •	• •	•	•	•	50
FINE AND VERY FINE FRACTIONS - PETROGR	RAPHI	C MIC	ROSC	OPE		
METHOD			•	•	•	51
MEDIUM AND COARSE FRACTIONS - STEREOMI	CROS	COPE	METH	OD		52
VISUAL METHOD OF ANALYSIS						57
~						
CHAPTER 4 - RUTTING AND FATIGUE FINDINGS	• •	• •	•	•	•	60
INTRODUCTION		• •	•	•	•	60
RUT TESTS RESULTS			•		•	61
STATISTICAL RUTTING CORRELATIONS	• •				•	69
FATIGUE LIFE			•		•	86
GENERAL DISCUSSION					•	93
SUMMARY						101
				-		
CHAPTER 5 - CONCLUSIONS AND RECOMMENDATIONS.					•	102

Page

-

۰.

TABLE OF CONTENTS (continued)

		<u>Page</u>
REFERENCES .		106
APPENDIX A -	MEASUREMENT OF PARTICLE, SHAPE, SURFACE AREA, AND SURFACE ROUGHNESS	
	INTRODUCTION	A-1 A-1
	OF VERY FINE AGGREGATE SAMPLES	A-7
ì	CONCLUSIONS	A-27
APPENDIX B -	POURING TEST	B-2
APPENDIX C -	RUTTING TESTS	
	INTRODUCTION	C-2 C-2 C-6 C-8 C-12
APPENDIX D -	FATIGUE LIFE PREDICTION	
-	INTRODUCTION	D-2 D-2 D-6 D-7 D-10
APPENDIX E -	THIN SECTION AND X-RAY SAMPLE DESCRIPTIONS	E-1

÷

ţ.

.

,

٠.

ACKNOWLEDGMENTS

The fine cooperation given by the Georgia Department of Transportation personnel, too numerous to acknowledge individually, is gratefully appreciated. Special acknowledgement is given to Mr. Pete Malphurs, former State Materials and Research Engineer, and to Mr. Ronald Collins, the present State Materials and Research Engineer, for their part in initiating and carrying out this research and to Lamar Caylor who carefully monitered the study. Special appreciation is extended to the Goergia Crushed Stone Association for the financial support provided for Bill Sheffield. Georgia Tech provided support for Tim Siegel to conduct the statistical analyses. Appreciation is also expressed to Bill Sheffield, Mike Kemp, Tim Mirocha, and Jon Sheng who all worked on the project as Graduate Research Assistants. Dr. Lynn Pollard and Anna Butler performed the mica content studies while Steve Foley performed the thin section work. All of the geological work was performed under the immediate direction of Dr. Charles Pollard. Jim Hubbard supervised the actual microscope work associated with determining aggregate shape, surface area, and surface roughness. All other work associated with the project was supervised by Dick Barksdale.

iii

Chapter 1

INTRODUCTION

Asphalt concrete surface, binder and base courses are critical components of a flexible pavement. Therefore, rutting and cracking of these layers must be limited to a tolerable level. To meet varying needs, the Georgia Department of Transportation uses surface, binder, and base asphalt concrete mixes in flexible pavement construction. In recent years greater tire pressures and higher temperatures have, in some instances, resulted in rutting problems in these mixes.

Presently, mix designs are prepared considering primarily the influence of the asphalt content, percent voids, mineral filler, and the characteristics of bitumen binder. Laboratory tests and previous experience also show, however, aggregate characteristics also influence the behavior of the mix [1-5]¹. Aggregate variables of importance appear to include mineral composition, shape, surface area, surface texture, and angularity. Mica content, in the both free and bound states, and the presence of silica may have serious detrimental effects on the fatigue and/or rutting performance of an asphalt concrete mix.

Unfortunately, very little research involving the effect of quantifiable aggregate characteristics has been conducted on asphalt mixtures in general and in specific those used in Georgia. Furthermore, asphalt mixes are presently often designed using about the same gradation regardless of aggregate characteristics.

¹ The numbers in brackets indicate references given at the end of this report.

OBJECTIVES OF PROPOSED STUDY

The overall purpose of this study is to determine the role that aggregate characteristics play in the rutting of asphalt concrete mixes and to develop more rut resistant asphalt concrete surface, binder, and base mixes for use in Georgia. The resulting mix design must be durable, have optimum resistance to rutting under high tire pressures and temperatures, and also show reasonably good fatigue behavior.

Specific objectives of this project are as follows:

- Develop suitable test methods and measure pertinent characteristics of aggregate from 21 selected quarries. Aggregate properties studied include shape, surface area, surface texture, mineral composition, free mica content, and gradation-density characteristics.
- Categorize the aggregates from the quarries tested for design purposes based on their physical characteristics.
- 3. Develop new gradations/asphalt mix designs as alternates to existing ones. Compare their rutting, fatigue, and resilient behavior with existing mix designs. Surface, binder, and base mixes are all studied using The Loaded Wheel Tester to evaluate rutting. Previously developed theoretical expressions are used to quantify probable fatigue behavior.
- Develop asphalt mix designs for each aggregate and type mix. These designs are to optimize rutting and fatigue properties.

Quarries and Specific Aggregate Properties Included In Study

Aggregates obtained from the 21 quarries summarized in Table 1 were included in this study. More detailed testing was performed on aggregate from primary quarries, which are indicated in the table by an asterisk; the remaining ones are designated as secondary quarries. Granite gneiss aggregate comprised 76 percent of the different aggregate sources included in the study. A specific breakdown by geologic aggregate classification is as follows: granite gneiss (16 sources), limestone (3 sources), injected quartzite (1 source), alluvial sand and gravel (1 source). Detailed descriptions of the tests performed during this study are given in a series of Masters Special Research Problem reports [6-12].

Originally, laboratory fatigue tests were to be performed as a part of this study. However, during the course of the work, the joint decision was made between The Georgia Department of Transportation and Georgia Tech that laboratory fatigue tests would not be performed. Instead, a theoretical model developed in the form of a computer program was used to estimate fatigue life. This modification to the research program permitted concentrating more effort on studying the rutting behavior of the asphalt concrete mixes.

Table 1. List of Quarries and Aggregate Types

Studied.

мŝ

Quarry	Type of Aggregate	Quarry No. (Crs/Fine)					
1. Athens, GA	Granite Gneiss	23/NA					
2. Ball Ground, GA	Limestone	112/NA					
3. Barin, GA	Granite Gneiss	44/NA					
4. Buford, GA	Limestone	102/NA					
5. Candler, GA	Granite Gneiss	24/40					
6. Cummings, GA	Granite Gneiss	38/99					
7. Dalton, GA	Limestone	13/88					
8. Dan, GA	Injected Quartz	41/NA					
9. Dixie (Chattanooga, TN)	Alluvial	NA/31					
10. Griffin, GA	Granite Gneiss	77/NA					
11. Kennesaw, GA	Granite Gneiss	46/NA					
12. Lithia Springs, GA	Granite Gneiss	47/135					
13. Lithonia, GA	Granite Gneiss	11/17					
14. Mountain View, GA	Granite Gneiss	15/NA					
15. Norcross, GA	Granite Gneiss	48/107					
16. Palmer Station, GA	Granite Gneiss	17/29					
17. Postell, GA	Granite Gneiss	28/NA					
18. Ruby, GA ~	Granite Gneiss	54/NA					
19. Stockbridge, GA	Granite Gneiss	50/106					
20. Tyrone, GA	Granite Gneiss	14/30					
21. White, GA	Limestone	67/NA					

.

+

٠.

ن-

CHAPTER 2

FUNDAMENTAL AGGREGATE PROPERTIES AND COMPACTION CHARACTERISTICS

INTRODUCTION

Rutting in asphalt concrete is a function of many factors including the Marshall mix design characteristics, type and amount of mineral filler, aggregate gradation, and aggregate characteristics. This chapter summarizes the aggregate and mix design characteristics measured for the 21 quarries included in the investigation. The aggregate characterization tests used in this study are described more fully in Appendix A, B, and in a series of Masters Special Research Problem reports [6-12]. The results given in Chapter 4 establishes the importance of these factors on rutting for usually encountered variations in mix design parameters.

Overview of Results

<u>Measured Characteristics.</u> The summary aggregate characteristic tables and figures referred to in this section are presented in later sections of this chapter. Tables 2 through 8 summarize the basic aggregate characteristics measured as a part of this study. Measured aggregate properties summarized include specific rugosity, surface area, shape classification, surface roughness, and free mica content. Modern digitizing techniques, described in Appendix A, were used to measure shape and surface roughness taking advantage of a micro-computer. Asphalt mix design characteristics are given in Tables 9 through 16.

<u>Pouring Test</u>. The pouring test, which is described in Appendix B, is a simple to perform test for measuring the macro- and micro surface characteristics of aggregates. The pouring test compares the packing

characteristics of spherical beads with similar size aggregate particles. As shown in Chapter 4, aggregate surface characteristics determined from the pouring test are related to rutting and also mica content. <u>Index Density</u>. The aggregate gradation which gives maximum density can, as an approximation, be defined by the exponent n in Talbot's equation $P = (d/D)^n$ which is discussed in the last section of this chapter.

A larger value of n indicates a coarser aggregate gradation. The typical n-value used in practice is 0.45 with this value seldom exceeding 0.5. Compacted unbound (dry) aggregate density, as a function of gradation, is determined for selected aggregate sources and a range of gradations that bound those that might be used by the Georgia Department of Transportation for E and base asphalt concrete mixes. Results for the E mixes are given in Table 17 and Figure 3; results for base mixes are given in Table 18 and Figure 4. These results indicate that maximum index density for an unbound aggregate mix is usually achieved for n-values less than 0.45. For a few aggregate sources, the index density was not significantly affected by a variation in n from 0.4 to 0.5. Index density was determined using a standard ASTM vibration test. The influence of nvalue on density is very likely related to the specific test method used; the effect of test method was not investigated in this study.

AGGREGATE GRADATION

The specific aggregate gradations for E, F, B binder, and base mixes were used to weight several measured aggregate characteristics. Weighted aggregate characteristics calculated were specific rugosity, macro surface voids, micro surface voids, mica content, shape class, and surface area. In addition, the aggregate gradation's coefficient of uniformity, maximum

size of aggregate, and percent fines were also tabulated and later used in the study of factors influencing rutting of asphalt concrete mixes.

The equation for the coefficient of uniformity, C_u is defined as:

$$C_u = D_{60}/D_{10}$$
 (1)

In equation (1) D_{60} is the grain size diameter corresponding to 60 percent of the material passing the U.S. No. 60 sieve size; D_{10} is the grain size diameter for which 10 percent of the material is finer.

AGGREGATE CHARACTERIZATION USING THE POURING TEST

Introduction

The pouring test, described sometime ago by Ishai and Gelber [13], offers a reasonably simple, easy to perform test for evaluating surface aggregate characteristics. The pouring test consists of comparing the packing characteristics of aggregate with similar size spherical beads. In the pouring test both the aggregate and similar size spherical beads are rained into a container. Both macro- and micro surface properties are evaluated from the results of the pouring test as well as their combined effects which is called specifc rugosity.

Basic Concepts

The specific rugosity represents the geometric irregularity of an aggregate including volume, shape, angularity, and surface texture or roughness. Specific rugosity is the volumetric portion of surface voids including the micro- and macro surface voids. For example, a specific rugosity of approximately zero indicates a very smooth, uniform particle such as a glass bead. Aggregates with specific rugosity greater than zero, therefore, have some surface voids or irregularities. Figure 1 illustrates the concept of micro surface voids (s_{mi}), macro surface voids (s_{ma}), and packing membrane volume (V_p).



Figure 1. Packing Volume Membrane Concept.





Figure 2. Example Determination of Weighting Factors.

The micro surface voids are the capillary voids on the surface of the aggregate that affect the absorbed moisture or asphalt in a mix. The macro surface voids are the peaks and dips on the surface of the aggregate. Specifically, the macro surface voids determine aggregate interlock. Aggregate interlock greatly influences the strength, workability, and stability, as well as the rutting resistance of asphalt concrete mixes. Determination of Specific Rugosity

The specific rugosity was determined using the pouring test described in Appendix B. The pouring test was performed on six ranges of aggregate particle sizes. The six particle size ranges were 1 1/4 in. to 7/8 in., 5/8 in. to 7/16 in., 1/4 in No.4, No.12 to No.16, No.20 to No.30, No.30 to No.40, and No.45 to No.60. The details of the test such as pouring height, container, diameter, etc. are summarized in Appendix B.

The weighting factors used for each aggregate gradation were calculated based upon the relative amount of aggregate present in each size range for a specific mix. Figure 2 shows the relation between the gradation and the weighting factors applied to the values for specific rugosity, macro surface, and micro surface voids. Both the specific rugosity, macro surface voids, and micro surface void values for each aggregate size and the weighted values are given in Table 2, 3, and 4, respectively.

SURFACE AREA

Introduction

The surface area for four grain size ranges was calculated by Kemp [7] using the method of Aschenbrenner [19]. Following this approach a particle is modeled as a tetrakaidekahedron (TKH model) and the surface area (SA) calculated using the following formula:

′9

Table 2. Aggregate Specific Rugosity - Pouring Test.

								Base (DOT)		Coarse Base		Firm Base		Binder (DOT)		FMx (DOT)		E Max (DOT)		Coarse E Mix	
CO LADION	DITE DET	0	0-	Gen	8.00	6 mi	\$r*	Weight Factor	Sry"W.F.	Weight Factor	Sry*W.F.	Weight Factor	SIX W.F.	Weight Factor	SIX W.F.	Weight Factor	SIT W.F.	Weight Factor	BLY W.F.	Weight Factor	BLY W.E.
SAPERU	MAL HEL		2.72	2.69	21.24	1 28	32.60	0.160	5 218	0.150	4,890	0.150	4.890	0.110	3.586	0.200	6.520	0.180	5.868	0.150	4.890
Amens		1.04	2.73	2.00	30.39	1 25	31.50	0.040	1 260	0.040	1,260	0.030	0.945	0.040	1.260	0.060	1.890	0.080	1,890	0.050	1.890
Amens		1.07	2.73	2.00	30.22	1.24	39.30	0.050	1410	0.050	1.592	0.050	7,410	0.050	1.410	0.050	1.692	0.040	1.128	0.050	1,410
Athens	30	1.90	2.73	2.00	20.07	1.41	24.54	0.100	2 4 5 4	0 0 70	1.718	0.120	2.945	0.100	2.454	0.180	4.418	0.200	4.905	0.140	3.436
Athens		2.00	2,73	2.00	23.13		21.61	0.200	4 322	0.180	3,890	0,190	4.106	0.200	4.322	0.400	8.645	0.250	5.403	0.250	5.403
Amena		2.14	2.73	2.00	15 67	1.54	17.22	0.350	1 026	0.400	6.886	0.210	3.615	0.450	7.747	0.100	1.722	0.250	4.304	0.350	6,026
Amens	7/16	2.20	2.73	2.00	10.07	1.83	12.45	0.000	1 245	0.100	1.245	0,250	3.114	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.000
Amena	110	2.38	4.73	2.00	10.02	1.05	16.45	But weighted -	21.03	Sty watchted a	21.58	Sev.weighted	21.03	Siv.weighted	20.78	Srv,weighted	24.89	3rv,weighted -	23.50	3rv,weighted •	23.05
								0. 1, 4 6 ig. 100 -													
D.11 D			0.70	9.76	23.27	1 10	24 37	0.140	3412	0.150	3.666	0.150	3.658	0.130	3.168	0.000	0.000	0.150	3.656	0.150	3.655
Den Ground		2.11	2.19	2.75	23.21	1.10	29.07	0.040	0.948	0.040	0.946	0.030	0.710	0.030	0.710	0.000	0.000	0.050	1.183	0.050	1,419
Bell Ground	40	2.13	2.79	2.75	22.00	0.00	23.00	0.050	1 018	0.060	2 301	0.050	1.918	0.050	2.301	0.000	0.000	0.060	2.301	0.050	1,918
Ball Ground		1.72	2.73	4.75	31.43	1.00	25.45	0.120	3.054	0.070	1.781	0.120	3.054	0,130	3,308	0.000	0.000	0.140	3.563	0.140	3.563
Ball Ground	10	2.08	2.78	2.75	10.07	1.00	20.42	0.250	5 108	0 180	3 677	0.190	3.862	0.250	5.108	0.000	0.000	0.300	6.129	0.250	5.108
Ball Ground		2.22	2.79	2.75	10.55	1.17	10.71	0.300	5 914	0.400	7 885	0.210	4,140	0.380	7.491	0 000	0.000	0.250	4,928	0.350	6.900
Gell Ground	116	2.24	2.79	2.75	10.55	1.00	14.02	0.000	1 103	0 100	1 183	0.250	2.957	0.020	0.237	0.000	0.000	0.000	0.000	0.000	0.000
Ball Ground	118	2,40	2.19	2.75	10.55	1.20	11.03	Six weighted -	21.53	Bry weighted a	21 43	Srv.weichted	20.32	Srv.weighted .	22.32	Srv,weighted +	•	Srv, weighted +	21.76	Srv,weighted	22.56
								are,weighted -	L 1,30	si t, a biginta											
			0.70		78.50	1 76	37.04	0 190	5 309	0 150	4.191	0.150	4.191	0.170	4,750	0.220	8.147	0.220	6.147	0.150	4,191
Barin		1.90	2.72	2.07	20.39	1.30	26.74	0.050	1 297	0.040	1 029	0.030	0.772	0.050	1.287	0.070	1.801	0.050	1.287	0.060	1,544
Batin		2.02	2.72	2.07	24.34	1.30	24.83	0.040	0.085	0.050	1 4 78	0.050	1,232	0.050	1.232	0.040	0.985	0.060	1.478	0.050	1.232
Barin	- 30	2.05	2.12	2.07	20.07	1.46	22.03	0 120	2 6 91	0.070	1.570	0.120	2.691	0.080	1.794	0.170	3.813	0.220	4.934	0.140	3.140
Barin	10	2.11	2.12	2.07	20.97	1.41	22.40	0.150	3 8 35	0 180	4 4 74	0 190	4.680	0.250	6.158	0.300	7,390	0.380	9.360	0.250	6.158
Barin		2.05	2.72	2.67	23.22	1.50	24.03	0.260	5.025	0.300	4 522	0.210	3 165	0.370	5.577	0.200	3.015	0.070	1.055	0.350	5.276
Barm	//18-	2.31	2.72	2.07	13.48	1.59	15.07	0.330	1 1 78	0.000	1 1 76	0 250	2.941	0.030	0.353	0.000	0.000	0.000	0.000	0.000	0.000
Barin	7/8-	2.40	2.12	2.87	10.11	1.03	11.76	C. 100	20.42	Sty weighted a	19.40	Sry weighted	19.57	Bry weighted +	21.15	Brv.weighted +	23.15	3rv,weighted +	24.26	Srv,weighted	21.54
								are, weighted -	20.42	311, Weighter -	10.40	51 (fale)gillet									
-						1 40	24.01	0 1 1 0	3 641	0.150	3 501	0.150	3.601	0,160	3.841	0.210	5.042	0.000	0.000	0.150	3.601
Butord		2.01	2.05	2.01	22.99	0.02	26.01	0.000	2 3 3 1	0.040	1.036	0.030	0.777	0.040	1.036	0.030	0.777	0.000	0.000	0.060	1,554
Butord	#40	1.90	2.05	2.01	24.90	1.00	25.90	0.030	1.006	0.060	1 509	0.050	1.257	0.040	1.005	0.050	1.509	0.000	0.000	0.050	1.257
BUTOPO	.30	1.90	2.05	2.01	29.19	1.00	23.14	0.110	2.559	0.070	1 628	0.120	2.790 7	0,110	2.558	0.200	4.650	0.000	0.000	0.140	3.255
Butord	10	2.03	2.03	2.01	22.24	1.03	23.23	0.200	3 904	0.180	3 505	0 190	3.699	· 0.250	4.868	0.500	9.735	0.000	0.000	0.250	4.969
Butord	* 4	2.13	2.00	2.01	18.59	1.00	17.47	0.250	B 153	0.400	7 032	0.210	3.692	0.350	8.153	0.000	0.000	0.000	0.000	0.350	6,153
Butord	7/16	2.18	2.03	2.01	13.40	1.15	14.66	0.100	1.455	0 100	1.455	0.250	3.639	0.050	0.728	0.000	0.000	0.000	0.000	0.000	0.000
Butora	118	2.20	2.00	2.01	13.41	1.13	14.50	Srv weighted #	20.04	Bry.weighted	19.77	Srv.weighted	19.46	Srv,weighted •	20.19	Srv, weighted	21.71	3rv,weighted =	•	3rv,weighted •	20.69
								er tracignite													
Candor	**0	2.05	2 64	2 6 1	21 48	0.89	22 35	0.200	4.470	0.150	3.352	0.150	3.352	0.170	3.799	0.150	3.352	0.230	5.140	0.150	3.352
Candra		2.03	2.64	2.61	22.61	0.88	23 48	0.050	1.174	0.040	0.939	0.030	0.705	0.030	0.705	0.030	0.705	0.050	1,174	0.060	1.409
Candler	400	1 00	2.04	2.61	23 75	0.87	24 82	0.030	0.739	0.060	1.477	0.050	1.231	0.030	0.739	0.060	1.477	0.050	1.231	0.050	1.231
Candian	416	2.01	2.64	2.61	22 99	0.88	23.86	0.080	1.909	0.070	1.670	0.120	2.864	0.100	2.386	0.220	5.250	0.160	3.810	0.140	3.341
Cender	44	2.09	2.64	2.61	20.31	0.91	21.21	0.190	4.030	0.180	3,818	0.190	4.030	0.270	5.727	0 440	9.333	0.270	5.727	0.250	5.303
Candler	7/16	2.22	2.64	2.61	14.94	0.97	15.91	0.230	3.659	0.400	6.364	0.210	3.341	0.320	5.091	0.100	1.591	0.240	3.818	0.350	5.560
Candier	7/8*	2 30	2.64	2.61	8.43	1.04	9.47	0.220	2.083	0.100	0.94Z	0.250	2.357	0.080	0.758	0.000	0.000	0.000	0.000	0.000	0.000
Calloren	110	2.00			0.45			Srv, weighted	18.06	Brv,weighted ·	18.57	Srv,weighted	17.89	Brv,weighted •	19.20	3rv,weighted •	21.71	3rv,weighted •	20.91	3rv,weighted •	20.20
										-											4
Cummone	460	1.94	2.66	2.58	24.81	2.26	27.07	0.150	4.060	0,150	4.050	0.150	4.050	0,160	4.331	0.000	0.000	0.000	0.000	0.150	4,080
Cummous	#40	1.93	2.68	2.58	25.19	2.25	27.44	0.050	1.372	0.040	1.098	0.030	0.823	0.060	1.647	0.000	0.000	0.000	0.000	0.060	1.047
Cummings	# 30	1 97	2.66	2.58	23.64	2.30	25.94	0.040	1.038	0.050	1,556	0.050	1.297	0.060	1.556	0.000	0.000	0.000	0.000	0.050	1.297
Cummoon	#16	2.08	2.55	2.58	19.38	2.42	21.80	0.110	2.398	0.070	1.526	0.120	2.617	0.120	2.617	0.000	0.000	0.000	0.000	0.140	3.053
Cummings		2.22	2.76	2.71	18.09	1,48	19.57	0.180	3.130	0.180	3.522	0,190	3.717	0.200	3.913	0.000	0.000	0.000	0.000	0.250	4.091
Cumminae	7/16*	2.00	2.78	2.71	26.20	1.34	27.54	0.290	7.986	0.400	11.014	0.210	5.783	0.350	9.638	0.000	0.000	0.000	0.000	0.350	9.630
Cummings	7/8*	2.12	2.75	2.71	21.77	1.42	23.19	0.150	3.478	0.100	2.319	0.250	5.797	0.050	1.159	0.000	0.000	0.000	0.000	D.000	0.000
								Srv, weighted	23.46	3rv,weighted •	25.10	Srv,weighted •	24.09	Srv,weighted •	24.86	Brv.weighted ·	•	srv,weighted •		ata'aeiGureo .	24,59
																		0.000	0.000	0.150	3 107
Datton	\$60	2.14	2.75	2.68	20.15	2.03	22.18	0.130	2.884	0.150	3.327	0.150	3,327	0.110	2.440	0.000	0.000	0.000	0.000	0.150	1.30#
Delton	#40	2.11	2.75	2.68	21.27	2.00	23.27	0.040	0.931	0.040	0.931	0.030	0.698	0.030	0.699	0.000	0.000	0.000	0.000	0.080	1.395
Delton	# 30	2.14	2.75	2.68	20.15	2.03	22.18	0.060	1.931	0.060	1.331	0.050	1.109	0.040	0.887	0.000	0.000	0.000	0.000	0.050	2.760
Datton	#15	2.09	2.75	2.68	22.01	1.99	24.00	0.140	3.350	0.070	1.690	0.120	2.680	0.210	5.040	0.000	0.000	0.000	0.000	0.140	5.360
Delton		2.11	2.74	2.71	22.14	0.85	22.99	0.190	4.139	0.180	4,139	0.190	4.369	0.260	5.978	0.000	0.000	0.000	0.000	0.250	5.643
Datton	7/16*	2.22	2.74	2.71	18.08	0.90	18.98	0.370	7.022	0.400	7.591	0.210	3.985	0.300	5.693	0.000	0.000	0.000	0.000	0.330	0.042
Delton	7/8*	2.34	2.74	2.71	13.65	0.95	14.50	0.180	2.628	0.100	1.460	0.250	3.650	0.05	0.730	0.000	0.000	0.000	0.000	D.UUU	0.000
		-				-		Srv,weighted -	22.29	3rv,weighted +	20.46	Srv,weighted	20.02	Srv, weighted	21.47	srv,weighted +	•	pre,weighted .	-	are,weiGureg .	21.58
																	0.000	0.000	0.000	0 150	4 182
Den	#60	1.94	2.69	2.64	28.52	1.37	27.88	0.140	3.903	0.150	4.182	0.150	4.182	0.130	3.625	0.000	0.000	0.000	0.000	0.050	1 605
Den	#40	1.93	2.89	2.64	26.89	1.36	28.25	0.050	1.413	0.040	1.130	0.030	0.848	0.040	1,130	0.000	0.000	0.000	0.000	0.050	1 282
Den	#30	2.00	2.69	2.84	24.24	1,41	25.65	0.090	2.309	0.060	1.539	0.050	1.283	0.050	1.283	0.000	0.000	0.000	0,000	0.140	3 383
Den	#18	2.04	2.69	2.64	22.73	1.44	24.16	0.120	2.900	0.070	1.691	0.120	2.900	0.130	3,141	0.000	0.000	0.000	0.000	0.250	5 5 7#
Den	#4	2.09	2.69	2.64	20.83	1.47	22.30	0.200	4.461	0.180	4.015	0.190	4.238	0.250	5.576	0.000	0.000	0.000	0.000	0 350	6 6 36
Den	7/16	2.18	2.69	2.64	17.42	1.53	18.96	0.250	4.740	0.400	7.584	0.210	3.981	0.350	6.636	0.000	0.000	0.000	0.000	0.000	0.000
Den	7/8	2.34	2.69	2.64	11.36	1.65	13.01	0.150	1.952	0.100	1.301	0.250	3.253	0.050	0.021	0.000	N'AAA	Zra wardstad -	*****	Bra weighted	22.75
								Srv,weighted =	21.68	3rv,weighted +	21.44	srv,weighted	50.69	PLA' MEIGUING .	22.04	a-r,weignied -		21 2, Worginted •			

Ċ
Table 2. Aggregate Specific Rugosity - Pouring Test (continued).

CLIMBRY	817F RFT	œ	Gen	Gen	Stor	8 mi	Srv	Base (DOT) Weicht Factor	Str.W.F.	Coarse Base Weight Factor	Scr.W.E.	Fine Bese Weight Factor	SUT W.F.	Binder (DOT) Weight Fastor	Sty W.F.	F Mix (DOT) Weight Eactor	Bry W.F.	E Mix (DOT) Weight Factor	BLY"W.F.	Coarse E Mix Weight Eactor	BLITW.F.
Dixie	160	-	2.64	2.57														0.000	0.000	0 210	
Dixie	#40	1.82	2 64	2.57	29.18	1.88	31.05	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.180	0.007	0.000	0.000	0.050	1 591
Dixie	# 30	1.80	2.64	2.57	29.95	1,86	31.82	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.070	8 212	0.000	0.000	0.140	4.348
Dixie	#16	1.82	2.64	2.57	29.18	1.68	31.06	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.550	13,958	0.000	0.000	0.600	15.227
Ð:sie	#4	1.97	2.64	2.57	23.35	2.03	25.38	0.000	0.000	0.000	D. OAM	0.000		0.000							
Dixie	7/16*		2.64	2.57																	
17.818	//0		₹.04	6.91				Brv.weighted -	•	Srv,weighted i	•	Srv,weighted •	•	3rv,weighted +	•	Brv, weighted +	27.99	Bry,weighted +	•	3rv,weighted •	27.69
~							20.00		4.005	0.150	4 380	0 150	4.389	0.140	4.096	0.120	3.511	0.170	4.974	0.150	4,389
Grittin	850	1.91	2.70	2.00	27.92	1.33	29.20	0.050	1 380	0.040	1.111	0.030	0.833	0.040	1,111	0.050	1.389	0.040	1.111	0.060	1.667
Grittin		1.90	2.70	2.00	24.15	1.40	25.56	0.050	1.278	0.050	1.533	0.050	1.278	0.060	1.533	0.050	1.278	0.060	1.533	0.050	1.278
Griffin	115	2.09	2.70	2.65	21.13	1.46	22.59	0,110	2.485	0.070	1,581	0.120	2.711	0.110	2.485	0.230	5.196	0.180	4.067	0.140	3,183
Guttin	14	2.15	2.70	2.65	18.87	1.50	20.37	0.200	4.074	0.180	3.667	0.190	3.870	0.300	6.111	0.400	9,148	0.300	6,111	0.250	5.093
Griffin	7/16*	2 28	2.70	2.65	13.96	1.59	15.56	0.350	5.444	0.400	6.222	0.210	3.267	0.340	5.289	0.100	1.556	0.250	3.889	0.000	0.000
Griffin	7/8*	2.46	2.70	2.65	7.17	1.72	8.89	0.100	0.889	0.100	0.889	0.250	2.222	0.010	0.099	0.000	21.00	Riv weighted -	21.69	Rev weighted a	21.03
								Srv, weighted #	19.66	Sr#,weighted +	19.39	Ria'Asiõuteo +	18.57	siv,weighted	20.71	a r,weighted -	21.00	51112418-102	-		
		* * *	2 02	0.70	22.74	1.04	24 82	0 170	4 220	0 150	3.723	0.150	3,723	0.160	3.972	0.000	0.000	0.180	4,458	0.150	3,723
Kennessw	440	2.72	2.02	2 78	20.86	1 12	21.99	0.040	0.879	0.040	0.879	0.030	0.660	0.040	0.879	0.000	0.000	0.050	1.099	0.060	1.319
Keiniesaw	#30	2 13	2.92	2 78	23.38	1 10	24 47	0.050	1,223	0.060	1.468	0.050	1.223	0.040	0.979	0.000	0.000	0.070	1.713	0.050	1.223
Vennessw	#15	2 16	2.82	2.78	22.30	1.10	23.40	0.120	2.809	0.070	1,638	0.120	2.809	0.110	2.574	0.000	0.000	0.150	3.511	0.140	3.2//
Kennessw	44	2.19	2.82	2.79	21.22	1,12	22.34	0.170	3.798	0.180	4.021	0.190	4.245	0.190	4.245	0.000	0.000	0.300	6.702	0.250	3.585
Kennessw	7/18*	2.36	2.82	2.78	15.11	1,20	15.31	0.320	5.220	0.400	8.525	0.210	3.426	0.420	6.851	0.000	0.000	0.250	4.078	0.350	0.000
Kennessw	7/8"	2.43	2.82	2.78	12.59	1.24	13.83	0.130	1.798	0.100	1.383	0.250	3.457	0.040	0.553	0.000	0.000	See weighted a	21 57	Bry warehted .	20.84
								Srv,weighted =	19.95	3rv,weighted •	19.64	Srv,weighted	19.54	srv, weighted *	20.05	Stv,weighteo •		3/4,48191104 -		Si ti Polgittus	
		1 00	2.64	2 4 1	23 76	0.87	24 82	0.130	3.201	0,150	3.693	0.150	3.693	0,150	3.693	0.000	0.000	0.000	0.000	0.150	3.693
Limis Springs	#40	2.04	2.04	2.01	21 84	0.07	22.73	0.030	0.682	0.040	0.909	0.030	0.682	0.030	0.682	0.000	0.000	0.000	0.000	0.060	1.364
Lithia Springs	# 30	2 07	2.64	2.61	20.69	0.90	21.59	0.050	1,295	0.060	1.295	0.050	1.080	0.050	1.080	0.000	0.000	0.000	0.000	0.050	1.080
the Springt	#18	2.09	2.64	2.61	19.92	0.91	20.83	0.100	2.083	0.070	1.458	0.120	2.500	0.150	3.125	0.000	0.000	0.000	0.000	0.140	4.017
Lithia Springe	#4	2.19	2.64	2.61	16.09	0.95	17.05	0.280	4.773	0.180	3.068	0.190	3,239	0.220	3.750	0.000	0.000	0.000	0.000	0.250	5 568
Lithia Springs	7/18*	2.22	2.64	2.61	14.94	0.97	15.91	0.380	6.045	0.400	6.364	0.210	3,341	0.250	3.977	0.000	0.000	0.000	0.000	0.000	0.000
Littina Springe	7/8*	2.31	2.84	2.61	11.49	1.01	12.50	0.020 Srv,weighted =	18.33	0.100 Srv,weighted •	1,259	0.250 Srv,weighted •	17.66	3rv,weighted +	18.18	3rv,weighted +		Srv,weighted -	÷	3rv,weighted	18.99
							20 83	0.160	3 333	0 150	3 125	0.150	3,125	0.160	3.333	0.000	0.000	0.200	4.157	0.150	3.125
Lithonia		2.09	2.04	2.61	19.92	0.01	20.03	0.760	0.833	0.040	0.833	0.030	0.625	0.040	0.833	0.000	0.000	0.070	1.458	0.080	1.250
Limonia	40	2.09	2.04	2.01	10.02	0.91	20.83	0.040	1.042	0.050	1.250	0.050	1.042	0.040	0.833	0.000	0.000	0.060	1.250	0.050	1.042
Limonia	#16	2.09	2.64	2.01	21.07	0.90	21.97	0.120	2.636	0.070	1.530	0.120	2.636	0.110	2.417	0.000	0.000	0.150	3.295	0.140	3.075
Lithonie	#4	2 08	2.64	2.60	20.00	1.21	21.21	0.150	3.182	0.180	3.818	0.190	4.030	0.190	4.030	0.000	0.000	0.270	5.727	0.260	5.303
Lithonia	7/16*	2.28	2.64	2.60	12.31	1.33	13.64	0.480	6.545	0.400	5.455	0.210	2.864	0.460	6.273	0.000	0.000	0.250	0.000	0.350	0.000
Lithonia	7/8*	2.37	2.64	2.60	8.85	1,38	10.23	0.100	1.023	0.100	1.023	0.250	2.557	0.040	0.409	0.000	0.000	Bre weighted .	10.31	Bry watchted +	18.57
								Srv,weighted =	18.59	3re,weighted -	17.04	Brv,weighted •	16.88	ALA'MeiGureg .	18,13	574,waigineo -				0.160	4 000
Mt View	#80	t.98	2.70	2.66	25.58	1.10	28.67	0.180	4.800	0.150	4.000	0.150	4.000	0.160	4.267	0.000	0.000	0.220	0.800	0.150	1 600
Mt View	#40	1 98	2.70	2.66	25.56	1.10	26 67	0.040	1.067	0.040	1.087	0.030	0.800	0.030	0.800	0.000	0.000	0.050	1.556	0.050	1,298
Mit View	# 30	5.00	2.70	2.66	24.81	1.11	25.93	0.060	1.558	0.060	1.556	0.050	1.296	0.040	1.03/	0.000	0.000	0.190	4 785	0.140	3.526
Mr View	#16	2.02	2.70	2.66	24.06	1.13	25.19	0.120	3.022	0.070	1.763	0.120	4 202	0.120	5.648	0.000	0.000	0.300	6,778	0.250	5.848
Mt View	#4	2.09	2.70	2.66	21.43	1,16	22.59	0.200	4.519	0.180	4.007	0.190	3 344	0.250	5.574	0.000	0.000	0.200	8.185	0.350	5.574
Mt View	7/16	2.27	2.70	2.55	14,86	1.26	15.93	0.250	1.667	0.400	1 111	0.250	2.778	0.050	0.556	0.000	0.000	0.000	0.000	0.000	0.000
MI VIEW	7/8-	2.40	2.70	2.00	9.77	1.34	• • • • •	Srv,weighted -	20.61	3rv,weighted •	19.93	Srv, weighted	19.53	3rv,weighted +	20.90	Srv, weighted	•	3rv,weighted -	22.97	3rv,weighted •	21.64
Noteroes		2.05	8 72	2.69	23.42	0.84	24.26	0.170	4,125	0,150	3.640	0.150	3.640	0.170	4.125	0.000	0.000	Q.210	5.096	0.150	9.540
Norsrose	#40	2.08	2.72	2.69	22.68	0.85	23.53	0.060	1.412	0.040	0.941	0.030	0.708	0.040	0.941	0.000	0.000	0.090	2,118	0.060	1.412
Norcross	#30	2.11	2.72	2 69	21 56	0.87	22.43	0.040	0.897	0.060	1.346	0.050	1.121	0.040	0.897	0.000	0.000	0.040	0.897	0.050	1.121
Norcross	#16	2.12	2.72	2.69	21.19	0.87	22.08	0.130	2.868	0.070	1.544	0.120	2.647	0.120	2.647	0.000	0.000	0.100	3.528	0.140	4 121
Norcross	**	2.28	2.73	2.69	15.24	1.24	16.48	0.200	3.297	0.180	2,967	0.190	3.132	0.200	3.297	0.000	0.000	0.250	3 1 14	0.250	4 359
Norcross	7/18*	2.39	2.73	2.69	11.15	1.30	12.45	0.250	3.114	0.400	4.982	0.210	2.615	0.350	4,359	0.000	0.000	0.000	0.000	0.000	0.000
Norcross	7/8°	2.34	2.73	2.69	13.01	1.27	14.29	0.150	2.143	0.100	1.429	0.250	3.571	0.080	17.41	Are weighted a	M. M.M.M.	Bry,weighted +	18.87	3rv,weighted	17.74
								Sr¥, weighted =	17.85	srv,weighted •	16.85	ars,weighted +	13.80	317, WEIGHTERS *	10.41		0.000	0.220		0.150	3,825
Palmer Sta	#80	2.04	2.69	2.65	23.02	1,14	24,18	0.170	4.108	0.150	3.625	0.150	3.625	0,180	4.349	0.000	0.000	0.230	1 405	0.080	1.405
Pelmer Sta	#40	2.08	2.69	2.65	22.26	1.16	23.42	0.050	1.171	0.040	0.937	0.030	0.703	0.040	0.937	0.000	0.000	0.080	1.844	0.050	1.152
Palmer Sta	#30	2.07	2.69	2.65	21.89	1.16	23.05	0.050	1.152	0.050	1.383	0.050	1.152	0.040	2412	0.000	0.000	0.130	2.851	0,140	3.071
Paimer Sta	16	2.10	2.69	2.45	20.75	1.18	21.93	0.110	2,413	0.070	1.000	0.120	3 320	0 230	4.019	0.000	0.000	0.250	4.368	0.250	4.368
Pelmer Sta	#4	2.22	2.69	2.65	10.23	1.20	12 27	0.220	3.044	0.100	4.907	0.210	2.576	0.350	4,294	0.000	0.000	0.250	3.087	0.350	4 294
Palmer Sta	7/9*	2 47	2.69	2.00	6.70	1.30	8,18	0,150	1,227	0.100	0.818	0.250	2.045	0.05	0.409	0.000	0.000	0.000	0.000	0.000	0.000
- an inter - 214		×		2.00				Srv, weighted =	16.98	3rv, weighted	16.35	Srv, weighted	18.05	3rv,weighted •	17.34	3rv,weighted ·	•	3rv,weighted +	19.09	SIA Meighted	37,91

-

~

.

Table 2. Aggregate Specific Rugosity - Pouring Test (continued).

ж .

Ł

								Barry (TYNT)		Course Base		Fine Beee		Binder (DOT)		E Mix (DOT)		E Max (DOT)		Coarse E Mrx	
		-			-		•	Dase (UOT)	0	Marchit Caster	Cruth E	Wwahi Factor	SUPTIN E	Warcht Factor	SIMWE	Weight Factor	Sty*W F	Weight Factor	SerW.F.	Weight Factor	Str W.F.
CLARK	SIZE HEL	Go	Gap	Gac	5 mg	<u>s mi</u>	217	Megnt Factor	SIT TIP.	Treight Facio	4136	0 150	4 128	0.140	3 860	0.000	0.000	0.000	0.000	0.150	4.136
Postell	460	1.97	2.72	2.63	25,10	2.48	27.57	0.150	4,130	0.150	4,130	0.150	A 816	0.030	0.016	0.000	0.000	0.000	0.000	0.060	1.632
Postell	#40	1.99	2.72	2.63	24,71	2.49	27.21	0.040	1.088	0.040	1.000	0.030	1 34 2	0.050	1 94 2	0.000	0.000	0.000	0.000	0.050	1.342
Postell	#30	1.99	2.72	2.63	24.33	2.50	26.84	0.040	1.074	0.060	1.610	0.050	1,392	0.000	1.342	0.000	0.000	0.000	0.000	0.140	3 603
Postell	#16	2.02	2.72	2.63	23.19	2.54	25.74	0.120	3.088	0.070	1.801	0.120	3.088	0,180	4.0.32	0.000	0.000	0.000	0.000	0.250	5.600
Postell	# 4	2.10	2.72	2.63	20.15	2.64	22.79	0.200	4.559	0.180	4,103	0.190	4.331	0.200	4.339	0.000	0.000	0.000	0.000	0.250	8 920
Postell	7/18*	2.19	2.72	2.63	16.73	2.75	19.49	0.250	4.871	0.400	7.794	0.210	4.092	0.300	5.845	0.000	0.000	0.000	0.000	0.000	0.020
Postell	7/8*	2.35	2.72	2.63	10.65	2.96	13.60	0.020	0.272	0.100	1.360	0.250	3.401	0.100	1.369	0.000	0.000	0.000	4.444	Sev monthead a	21 22
								Srv, weighted	19.09	3rv,weighted •	21.89	Srv,weighted .	\$1.51	sr*,weighted •	22.42	Srv,weighted +		Siv,weighted •		art,waighted -	23.23
Deter	#40	2'00	3.76	2 73	28.74	0.80	27.54	6 130	3 580	0.150	4,130	0.150	4,130	0,140	3.855	0.180	4,957	0.200	5.507	0.150	4.130
Pristory .		2.00	3 70	3.73	28 74	0.00	27 54	0.030	d 926	0.040	1,101	0.030	0.826	0.030	0.825	0.050	1.377	0.030	0.825	0.060	1.652
Pluby D		2.00	2.70	2.73	20.74	0.80	20.46	0.040	1.059	0.060	1 587	0.050	1.322	0.050	1.322	0.070	1.951	0.070	1.851	0.050	1.322
Huby	4.30	2.03	2.70	2.73	25.04	0.01	20.45	0.040	3 804	0.070	1 775	0.120	3.043	0.130	3,297	0.200	5.072	0.200	5.072	0.140	3.551
HUDY		2.06	2.70	2.73	24.54	0.02	25.50	0.750	4 203	0.070	3 743	0.100	3 003	0 200	4 203	0 400	8.406	0.250	5.254	0.250	5.254
Huby	4	2.18	2.76	2.73	20.15	0.87	21.01	0.200	4.203	0.160	7 071	0.210	4 195	0.450	8 967	0.100	1.993	0.250	4,982	0.350	6.975
Huby	7/16-	2.21	2.76	2.73	19.05	0.88	19.93	0.300	3.970	0.400	1.011	0.210	3 361	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.000
Ruby	7/8*	2.39	2.76	2.73	12.45	0.95	13.41	0.150	2.011	0.100	21.60	Researched a	20 45	Six weighted +	22 47	Sre weighted .	23.66	Srv.weighted	23.49	Bry,weighted	22.88
								Srv, weighted =	21.40	3rv,weighted +	21.09	arv, weighted	20.00	si,waigineu -	22.47	311, Weighted -	20.00	a traciginad	20.40		
Stockbudge	100	2.03	2.65	2.61	22.22	1.17	23.40	0.170	3.977	0.150	3.509	0.150	3.509	0.150	3.509	0.000	0.000	0.210	4.913	0.150	3.509
Stockbudge	640	2 01	2.65	2.51	22.99	1.16	24.15	0.050	1.208	0.040	0.966	0.030	0.725	0.030	0.725	0.000	0.000	0.040	0.955	0.060	1,449
Stockbudge	• 30	2.03	2.65	2.61	22.22	1.17	23.40	0.050	1,170	0.060	1.404	0.050	1,170	0.050	1.170	0.000	0.000	0.060	1,404	0.050	1.170
Stockbudge	#18	2.05	2.65	2.61	21.46	1 19	22.64	0.130	2.943	0.070	1,585	0.120	2.717	0.170	3.849	0.000	0.000	0.170	3.849	0.149	3,170
Stockbudge		2 25	2.65	2 80	13.46	1.63	15.09	0.200	3.019	0,180	2.717	0,190	2.958	0.250	3.774	9.000	0.000	0.270	4.075	0.250	3.774
Stockbudge	7118*	2.24	2.65	2.60	13.85	1.43	15 47	0.300	4.642	0.400	6,189	0.210	3.249	0.300	4.842	0.000	0.000	0.250	3.868	0.350	5.415
Blockbridge	7(0*	0.00	2.05	2.00	9 08	1 73	0.81	0.100	0 081	0 100	0.961	0.250	2.453	0.05	0.491	0.000	0.000	0.000	0.000	0.000	0.000
ancennuge	110	2.50	2.00	1.00	0.00	1.10	0.07	Srv,weighted =	17.94	3rv,weighted +	17.35	Brv,weighted +	15.69	3rv,weighted •	18.15	3rv,weighted +	•	Brv,weighted -	19.08	3rv,weighted •	18.49
-												0.160	7.018	0.130	9 906	0 220	5 748	0 220	5.746	0.150	3.918
Tyrone		1.98	2.68	2.64	25.00	1.12	20.12	0.130	3.396	0.150	3.910	0.130	0.750	0.040	1,000	0.040	1 000	0.040	1.000	0.060	1.500
Tyrone	#40	2.01	2.68	2.64	23.86	1.14	25.00	0.040	1,000 (0.040	1.000	0.030	0.750	0.040	1.000	0.040	1 693	0.070	1 503	0.050	1.138
Tyrone	# 30	2.07	2.68	2.64	21.59	1.17	22.76	0.050	1.365	0.060	1.300	0.050	1.130	0.000	2.300	0.070	4 179	0.170	3 552	0.140	2 925
Tyrone	#16	2.12	2.68	2.64	19.70	1.20	20.90	0.150	3.134	0.070	1.463	0.120	2.507	0,130	2.710	0.200	7 0 6 3	0,000	4 740	0.250	4 740
Tyrone		2.18	2.69	2.65	17.74	1.22	18.96	0.200	3.792	0.180	3,413	0.190	3.602	0.200	3.192	0.420	0.818	0.250	4 099	0.350	5 725
Tyrone	7/16	2.25	2.69	2.65	15.09	1.26	16.36	0.220	3.599	0.400	6.543	0.210	3.435	0.400	0.343	0.050	0.010	0.000	0.000	0.000	0.000
Tyrona	7/8*	2.37	2.69	2.65	10.57	1.33	11.90	0.200	2.379	0.100	1.199	0.250	2.8/4	0.040	0.476	0.000	0.000	2 m weighted -	20 70	are would be a	10.05
								Srv,weighted =	18.67	Srv,weighted •	18.89	Srv,weighted	18.32	Srv, weighted +	19.29	214*meidureo •	21.30	Sid weighted	20.72	Siv, weighted .	10.00
White		2.09	2.74	2 71	22.88	0.84	23.72	0.110	2.609	0.150	3.558	0.150	3.558	0.120	2.947	0.120	2.847	0.000	0.000	0.150	3.558
White	#40	2 11	2 74	2.71	22.14	0.85	22.99	0.040	0,920	0.040	0.920	0.030	0.690	0.020	0.460	0.050	1.150	0.000	0.000	0.060	1.380
White	4 30	2 15	2 74	2 71	20.64	0.87	21.53	0.060	1.292	0.060	1,292	0.050	1.077	0.200	4.307	0.250	5.383	0.000	0.000	0.050	1.077
Miniter .	#16	2 10	2 74	2 71	10 10	0.88	20.07	0 190	3.814	0.070	1.405	0.120	2.409	0.160	3.212	0.250	5.018	0.000	0.000	0.140	2.810
Marte .		2.14	2.74	2 71	17.34	0.01	18.25	0.200	3.650	0.180	3,285	0,190	3.467	0.240	4.380	0.300	5.474	0.000	0.000	D.250	4.552
SPOTT P		0.00	3.74	2.71	14.03	0.04	14.08	0.300	4 4 8 9	0.400	5.985	0.210	3.142	0.320	4.788	0.200	2.993	0.000	0.000	0.350	5.237
	7/0*	2.33	2.74	2.71	11 44	0.07	12 41	0.100	1 241	0.100	1.241	0.250	3,102	0.080	0.993	0.000	0.000	0.000	0.000	0.000	0.000
	,,,,	£.40				4.31		Srv,weighted =	18.01	Brv, weighted	17.69	Srv,weighted .	17.45	Srv,weighted .	20.99	Srv,weighted •	22.86	3rv,weighted •	•	Srv,weighted +	18.62

. •

a.

۲

Table 3. Macro Surface Voids - Pouring Test.

					•														
	917F DFT	0 0	Gen	ġ	See	Base (DOT) Weight Eactor	Sme*W.F.	Coarse Base Weight Factor	Sma*W.F.	Fine Base Weight Factor	Sma*W.F.	Binder (DOT) Weight Factor	Sma*W.F.	FM+x (DOT) Weight Factor	Sma*W.F.	E Mix (DOT) Weight Factor	8ma*W.E.	Coarse E Mix Weight Factor	Sma*W.F.
Athens	#60	1.84	2.73	2.68	31.34	0.160	5.015	0.150	4.701	0.150	4.701	0.110	3.448	0.200	6.259	0.180	5.642	0.150	4.701
Athens	#40	1.87	2.73	2.68	30.22	0.040	1.209	0.040	1.209	0.030	0.907	0.040	1.209	0.060	1.013	0.060	1,813	0.060	1.813
Athens	# 30	1.96	2.73	2.68	26.87	0.050	1.343	0.060	1.612	0.050	1.343	0.050	1.343	0.060	1.612	0.040	1.075	0.050	1.343
Athens	#16	2.06	2.73	2.68	23.13	0.100	2.313	0 070	1.619	0.120	2.770	0.100	4 030	0.180	9.104	0.200	5.037	0.250	5.037
Athens	7118*	2.14	2.73	2.68	20.15	0.200	4.030	0.100	5.259	0.210	3.291	0.450	7.052	0 100	1.567	0.250	3.918	0.350	5.485
Athens	7/8*	2.39	2.73	2.68	10.82	0.100	1.082	0,100	1.082	0.250	2.705	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.000
		2.00	<i>:</i>			Sma,weighted .	20.48	Sma,weighted -	20.12	Sme,weighted =	19.55	Sme,weighted +	19.40	Sms,weighted =	23.49	Sms,weighted =	22.11	Ints, weighted	21.62
Ball Ground	.60	2.11	2.79	2.75	23.27	0.140	3.258	0.150	3.491	0.150	3.491	0.130	3.025	0.000	0.000	0.150	3.491	0.150	3.491
Bail Ground	40	2.13	2.79	2.75	22.55	0.040	0.902	0.040	0.902	0.030	0.676	0.030	0.0/0	0.000	0.000	0.050	2 247	0.060	1 973
Ball Ground	• 30	1.72	2.79	2.75	37.45	0.050	1.873	0.080	1 705	0.120	2.924	0.130	3.167	0.000	0.000	0.140	3.411	0.140	3.411
Ball Ground		2.00	2.79	2.75	19 27	0.250	4.818	0.180	3.469	0.190	3.662	0.250	4.818	0.000	0.000	0.300	5.782	0.250	4.818
Ball Ground	7/16	2.24	2.79	2.75	18.55	0.300	5.564	0.400	7.418	0.210	3.895	0.380	7.047	0.000	0.000	0.250	4.636	0.350	6.491
Bail Ground	7/8*	2.45	2.79	2.75	10.55	0.100	1.055	0.100	1.055	0.250	2.636	0.020	0.211	0.000	0.000	0.000	0.000	0.000	0.000
						Sms,weighted +	20.39	Sme, weighted	20.29	Sma, weighted +	19,15	Sma,weighted =	21.19	Sme,weighted =	•	Sms,weighted =	20.59	Ims, weighted	21.44
Barin	#60	1.96	2.72	2.67	28.59	0.190	5.052	0.150	3.989	0.150	3.989	0.170	4.521	0.220	5.850	0.220	5.850	0.150	3.989
Berin	40	2.02	2.72	2.67	24.34	0.050	1.217	0.040	1 203	0.030	1 161	0.050	1 161	0.040	0.929	0.050	1.393	0.050	1.161
Barin	# 30 # 1 #	2.05	2.12	2.07	20.07	0.120	2.517	0.070	1.468	0.120	2.517	0.080	1.678	0.170	3.566	0.220	4.614	0.140	2.936
Berin	14	2.05	2.72	2.67	23.22	0.150	3.483	0.180	4.180	0.190	4,412	0.250	5.805	0.300	6.965	0.380	8.824	0.250	5.805
Barin	7/16*	2.31	2.72	2.67	13.48	0.350	4.719	0.300	4.045	0.210	2.831	0.370	4.989	0.200	2.697	0.070	0.944	0.350	4.719
Barin	7/8"	2.40	2.72	2.67	10.11	0.100	1.011	0.100	1.011	0.250	2.528	0.030	0.303	0.000	0.000	0.000	0.000	0.000	0.000
						Sma,weighted =	18.93	Sma,weighted -	17 06	Sma,weighted =	18.17	Smot,weighted ×	19.67	Sma,weighted =	21.71	tsms,weighted +	22.04	∍m∎,waign wiα .	20.07
Buford	#60	2.01	2.65	2.61	22.99	0.110	2.529	0.150	3.448	0.150	3.448	0.160	3.678	0.210	4.828	0.000	0.000	0.150	3.448
Buford	#40	1.96	2.65	2.61	24.90	0.090	2.241	0.040	0.996	0.030	0.747	0.040	0.996	0.030	0.747	0.000	0.000	0.060	1.494
Buford	# 30	1.98	2.65	2.61	24.14	0.040	0.966	0.060	1,448	0.050	2.687	0.110	2 444	0.060	4 444	0.000	0.000	0.140	3,111
Buford	• 16	2.03	2.65	2.61	18 20	0.110	2.444	0.070	3,310	0.190	3.494	0.250	4.598	0.500	9,195	0.000	0.000	0.250	4.598
Buford	7/16*	2.18	2.65	2.61	16.48	0.350	5.765	0.400	6,590	0.210	3.460	0.350	5.766	0.000	0.000	0.000	0.000	0.350	5.766
Butord	7/8*	2.26	2.65	2.61	13.41	0,100	1.341	0.100	1.341	0.250	3.352	0.050	0.670	0.000	0.000	0.000	0.000	0.000	0.000
						Sma, weighted =	18.97	Sms,weighted -	18.69	Sma,weighted +	18.39	6ma,werghted =	19.12	8ms,weighted -	20.66	Sms,weighted =	•	3ms,weighted 1	19.62
Candler	#60	2.05	2.64	2.61	21.48	0.200	4.291	0.150	3.210	0.150	3.218	0.170	3.648	0.150	3.218	0.230	4.935	0.150	3.218
Candler	#40	2.02	2.64	2.61	22.61	0.050	1.130	0.040	0.904	0.030	0.679	0.030	0.678	0.030	0.678	0.050	1.130	0.060	1.356
Candler	# 30	1.99	2.64	2.61	23.75	0.030	0.713	0.050	1.425	0.050	1.189	0.030	0.713	0.060	1.425	0.050	1.188	0.050	3 218
Candler	16	2.01	2.64	2.61	22.99	0.090	1,839	0.070	1.609	0.120	2.759	0.270	5.483	0.220	8.935	0.270	5.483	0.250	5.077
Candler	71.14*	2.08	2.04	2.01	14 04	0.230	3 4 3 7	0 400	5 977	0.210	3.138	0.320	4,782	0,100	1,494	0.240	3.586	0.350	5.230
Candler	7/8*	2.39	2.64	2.61	8.43	0.220	1.854	0.100	0.843	0.250	2.107	0.080	0.674	0.000	0.000	0.000	0.000	0.000	0.000
00.000						Sma, weighted -	17.12	Sma,weighted =	17.63	Sma, weighted =	16.95	Sms,weighted -	18.28	Sms,weighted =	20.81	8ma,weighted =	20.00	ima, weighted	19.29
Cummings	#60	1.94	2.55	2.58	24.81	0.150	3.721	0.150	3.721	0.150	3.721	0.160	3.969	0.000	0.000	0.000	0.000	0.150	3.721
Cummings	#40	1.93	2.66	2.58	25.19	0.050	1.260	0.040	1.008	0.030	0.756	0.060	1.512	0.000	0.000	0.000	0.000	0.050	1.182
Cummings	#30	1.97	2.66	2.58	23.64	0.040	0.940	0.080	1.419	0.030	2 326	0.000	2 326	0.000	0.000	0.000	0.000	0.140	2.713
Cummings		2.00	2.00	2.30	18.08	0.160	2 893	0.180	3.255	0,190	3.435	0.200	3.616	0.000	0.000	0.000	0.000	0.250	4.520
Cumming	7/18*	2.00	2.76	2.71	26.20	0.290	7.598	0.400	10.480	0.210	5.502	0.350	9.170	0.000	0.000	0.000	0.000	0.350	9.170
Cummings	7/8*	2.12	2.78	2.71	21.77	0.150 Sma.weichted =	3.255 21.81	0.100 Smoe,weighted =	2.177 23.42	0.250 Sma,weighted =	5.443 22.36	0.050 Sms,weighted =	1.089 23.10	0.000 Sma,weighted =	0.000 .	0.000 Sms,weighted +	0.000	0.000 3ms,weighted	0.000 22.82
						0.100	2 4 10	0 150	3 0 2 2	0 150	3.022	0 110	2 218	0.000	0.000	0.000	0.000	0.150	3.022
Delton	60	2.14	2.75	2.68	20.15	0.130	2.019	0.150	0.851	0.020	0.638	0.030	0.638	0.000	0.000	0.000	0.000	0.060	1.276
Datton	#30	2.11	2.75	2.00	20.15	0.060	1.209	0.050	1,209	0.050	1.007	0.040	0.806	0.000	0.000	0.000	0.000	0.050	1.007
Delton	#18	2.09	2.75	2.68	22.01	0.140	3.082	0.070	1.541	0.120	2.642	0.210	4.623	0.000	0.000	0.000	0.000	0.140	3.082
Oalton	14	2.11	2.74	2.71	22.14	0.180	3.985	0.180	3.985	0.190	4.207	0.260	5.756	0.000	0.000	0.000	0.000	0.250	5.535
Datton	7/18	2.22	2.74	2.71	18.08	0.370	6.690	0.400	7.232	0.210	3.797	0.300	5.424	0.000	0.000	0.000	0.000	0.350	0.000
Delton	7/8*	2.34	2.74	2.71	13.65	0.180 Sms,werghted =	20.89	Sma,weighted =	19.21	Sma,weighted =	18.73	Sma,weighted -	20.15	Sms,weighted =	0.000	Sma,weighted +	•	3ms,weighted	20.25
Dec		1.94	2.69	2.64	26.52	0.140	3.712	0.150	3.977	0,150	3.977	0.130	3.447	0.000	0.000	0.000	0.000	0.150	3.977
0en	#40	1.93	2.69	2.64	26.89	0.050	1.345	0.040	1.076	0.030	0.807	0.040	1.076	0.000	0.000	0.000	0.000	0.060	1.614
Den	# 30	2.00	2.69	2.64	24.24	0.090	2.182	0.060	1.455	0.050	1.212	0.050	1.212	0.000	0.000	0.000	0.000	0.050	1.212
Den	#16	2.04	2.69	2.64	22.73	0.120	2.727	0.070	1.591	0.120	2.727	0.130	2.955	0.000	0.000	0.000	0.000	0.140	5 208
Den	#4	2.09	2.69	2.64	20.83	0.200	4,167	0.180	3.750	0.190	a.958 3.659	0.250	6.098	0.000	0.000	0.000	0.000	0.350	8.098
0en	7/8*	2.10	2.60	2.64	11.36	0.150	1,705	0.100	1,196	0.250	2,841	0.050	0.568	0.000	0.000	0.000	0.000	0.000	0.000
						Sme, weighted =	20.19	Sme, weighted +	19.95	Sma, weighted =	19.18	Sms,weighted =	20.58	Sms,weighted +	•	Sms,weighted +	-	3ma weighted	21,29

•

Table 3. Macro Surface Voids - Pouring Test (continued).

-

						Base (DOT)		Coarse Base		Fine Base		Binder (DOT)		F Mix (DOT)		E Mx (DOT)		Coarse E Mix	-
CLARKY	SIZE RET	œ	Gab	Geg	Sma	Weight Factor	Sma W.F.	Weight Factor	Sma'W.F.	Weight Factor	Sma*W.F.	Weight Factor	Sma*W.F.	Weight Factor	Sma W.F.	Weight Factor	Sma'W.F.	Weight Factor	Smarw.E.
Dixie	●60 ●60	1.00	2.64	2.57	30.18	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0,180	5.253	0.000	0.000	0.210	6.128
Dixie	410	1.82	2.04	2.57	29.10	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0 000	0.070	2.097	0.000	0.000	0.050	1.498
Dixie	#16	1.80	2.64	2.57	20 18	0.000	0.000	0.000	0.000	0.000	D.000	0.000	0.000	0.200	5.837	0.000	0.000	0.140	4,086
Dine	44	1.97	2.64	2.57	23.35	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.550	12.840	0.000	0.000	0.600	14.008
Dixie	7/16*		2.64	2.57															
Dixie	7/8*		2.64	2.57		See washind -		Sma weighted a		Sma weighted =		Sma.weighted =		Sma, weighted =	26.03	Sma, weighted -	•	Ime, weighted	25.72
						une, engines -		ente, norgeneral								•			
Gottin	#60	1.91	2.70	2.55	27.92	0.140	3.909	0.150	4.189	0.150	4.189	0.140	3.909	0.120	3.351	D.170	4,747	0.150	4.189
Griffin	#40	1.95	2.70	2.65	25.42	0.050	1.321	0.040	1.057	0.030	0.792	0.040	1.057	0.050	1.321	0.040	1.057	0.050	1 208
Goffin	# 30	2.01	2.70	2.65	24,15	0.050	1.208	0.080	1.449	0.050	2.536	0.110	2 925	0.230	4 860	0.160	3.804	0.140	2,958
Griffin	10	2.09	2.70	2.00	18.87	0.110	3 774	0.190	3.396	0.190	3.585	0.300	5.660	0.400	7.547	0.300	5.660	0.250	4.717
Gutten	7/18"	2.10	2.70	2.85	13.98	0.350	4.887	0.400	5.585	0.210	2.932	0.340	4.747	0.100	1.396	0.250	3.491	0.350	4.887
Guffin	7/8*	2.48	2.70	2.65	7.17	0.100	0.717	0.100	0.717	0.250	1.792	0.010	0.072	0.000	0.000	0.000	0.000	0.000	0.000
G (1)(1)						Sma, weighted -	18.14	Sma, weighted =	17.87	Sms, weighted =	17.03	Sma,weighted =	19.22	Sma,weighted =	19.68	Smal, weighted -	20.21	Ims, weighted	19.54
Kannessw	#50	2.12	2.82	2.78	23.74	0.170	4.036	0.150	3.561	0.150	3.561	0.160	3.799	0.000	0.000	0.180	4.273	0.150	3.561
Kennessw	#40	2.20	2.82	2.79	20.95	0.040	0.835	0.040	0.835	0.030	0.626	0.040	0.835	0.000	0.000	0.050	1.043	0.050	1.252
Kennesaw	# 30	2.13	2.82	2.78	23.38	0.050	1.169	0.050	1.403	0.050	1,189	0.040	0.935	0.000	0.000	0.070	1.637	0.050	1.169
Kennessw	#15	2.16	5.95	2.78	22.30	0.120	2.676	0.070	1.561	0.120	2.676	0.110	2.453	0.000	0.000	0.150	2.345	0.140	3.122
Kennesaw	14	2.19	2.82	2.78	21.22	0.170	3.600	0.180	3.820	0.190	4.032	0.190	4.032	0.000	0.000	0.300	6,367	0.250	5.306
Kenneşaw	7/18	2.36	2.82	2.78	15.11	0.320	4.835	0.400	6.043	0.210	3.173	0.420	0.340	0.000	0.000	0.250	0.000	0.000	0.000
Kennesaw	7/8-	2.43	2.82	2.78	12.59	0.130 Smet,weighted =	18.79	8ma,weighted =	18.48	5mat,weighted ⊨	18.38	Sma,weighted +	18.90	Sma,weighted +		Sma,weighted +	20.44	šma,weighted	19.70
Lub		1 00	3.84	2 61	23.76	0 130	3 068	0 150	3.563	0.150	3.563	0.150	3.563	0.000	0.000	0.000	0.000	0.150	3.563
Lithis Spring	440	2.04	2.64	2.61	21.84	0.030	0.655	0.040	0.874	0.030	0.655	0.030	0.655	0.000	0.000	0.000	0.000	0.060	1.310
Lithe Spring	130	2.07	2.64	2.61	20.69	0.080	1.241	0.060	1.241	0.050	1.034	0.050	1.034	0.000	0.000	0.000	0.000	0.050	1.034
Lithie Spring	116	2.09	2.64	2.61	19.92	0.100	1.992	0.070	1.395	0.120	2.391	0.150	5.888	0.000	0.900	0.000	0.000	0.140	2.789
Lithia Spring	5 F A	2.19	2.64	2.51	16.09	0.280	4.506	0.180	2.897	0.190	3.057	0.220	3.540	0.000	0.000	0.000	0.000	0.250	4.023
Lithia Spring	7/16*	2.22	2.64	2.61	14.94	0.390	5.678	0.400	5.977	0.210	3.138	0.250	3.736	0.000	0.000	0.000	0.000	0.350	0.000
Lithia Spring	7/8	2.31	2.64	2,61	11.49	0.020 Sma,weighted +	0.230	0.100 Sma,weighted	17.10	0.250 Sma,weighted =	16.71	Sma,weighted =	17.24	8ma,weighted =	0.000	Sma,weighted -	*****	3ma,weighted -	17.95
1.00.00.0	440	2 00	2 64	2.61	10 02	0.160	3 198	0.150	2.969	0.150	2,989	0.160	3,188	0.000	0.000	0.200	3.985	0.150	2.989
Lithogue	#40	2.09	2.64	2.61	19.92	0.040	0.797	0.040	0.797	0.030	0.598	0.040	0.797	0.000	0.000	0.070	1.395	0.050	1,195
Lithonie	#30	2.09	2.84	2.61	19.92	0.050	0.996	0.060	1.195	0.050	0.996	0.040	0.797	0.000	0.000	0.060	1,195	0.050	0.996
Lithonia	#16	2.05	2.84	2.61	21.07	0.120	2.529	0.070	1.475	0.120	2.629	0.110	2.318	0.000	0.000	0.150	3,161	0.140	2.950
Lithonia	14	2.08	2.64	2.60	20.00	0.150	3.000	0.100	3.500	0.190	3.800	0.190	3,800	0.000	0.000	0.270	5.400	0.250	5.000
Lithonia	7/16*	2.28	2.64	2.60	12.31	0.460	5.908	0.400	4.923	0.210	2.585	0460	5.662	0.000	0.000	0.250	3.077	0.350	0.000
Lithonia	7/8*	2.37	2.64	2.60	8.85	0.100 Sma,weighted =	17.30	0.100 Smit,weighted =	15.86	0.250 Sma,weighted ≠	15.71	Sma,weighted •	16.92	Sme,weighted =	2.202	Sma,weighted -	18.21	Ima, weighted	17.44
		1.09	2 70	2.88	25.58	0 180	4 602	0 150	3 835	0.150	3.835	0.160	4.090	0.000	0.000	0.220	5.624	0.150	3.835
Mit View	440	1.98	2.70	2.66	25.56	0.040	1.023	0.040	1.023	0.030	0.767,	0.030	0.767	0.000	0.000	0.030	0.767	0.080	1.534 -
Mt View	# 30	2.00	2.70	2.66	24.81	0.060	1.489	0.060	1.489	0.050	1.241	0.040	0.992	0.000	0.000	0.060	1.489	0.050	1.241
Mit View	#18	2.02	2.70	2.66	24.05	0.120	2.867	0.070	1.884	0.120	2.887	0.120	2.887	0.000	0.000	0.190	4.571	0.140	3.368
Mit View	14	2.09	2,70	2.66	21.43	0.200	4.286	0.180	3.857	0.190	4.071	0.250	5.357	0.000	0.000	0.300	6.429	0.250	5.357
Mt View	7/18	2.27	2.70	2.65	14.66	0.250	3.665	0.400	5.865	0.210	3.079	0.350	5.132	0.000	0.000	0.200	2.932	0.000	0.000
Mt View	7/8*	2.40	2.70	2.66	9.77	0.150 Sma,weighted =	19.42	0.100 Sma,weighted =	18 73	9.250 8ma,weighted =	18.32	9ms,weighted =	19 71	Sine, weighted =	0.000	Sma, weighted =	21.81	Ime, waighted	20.47
N		2.04	2 73	3 60	29.42	0 170	3 081	0.150	3 5 1 3	0 150	3.513	0.170	3.981	0.000	0.000	0.210	4,918	0.150	3.513
Noterot	#40	2.00	2 72	2.89	22.68	0.060	1.361	0.040	0.907	0.030	0.680	0.040	0.907	0.000	0.000	0.090	2.041	0.080	1.361
Borcross	#30	2.11	2.72	2.69	21.56	0.040	0.862	0.060	1.294	0.050	1.078	0.040	0.862	0.000	0.000	0.040	0.862	0.050	1.078
Norcross	#16	2.12	2.72	2.69	21.19	0.130	2.755	0.070	1.483	0.120	2.543 -	0.120	12.543	0.000	0.000	0.160	3.390	0.140	2.967
Norcross		2.28	2.73	2.69	15.24	0.200	3.048	0.180	2.743	0.190	2.896	0.200	3.048	0.000	0.000	0.250	3.810	0.250	3.810
Norcross	7/18*	2.39	2.73	2.69	11,15	0.250	2.788	0.400	4.461	0.210	2.342	0.350	3.903	0.000	0.000	0.250	2.788	0.350	3.903
Norcross	7/8*	2.34	2.73	2.69	13.01	0.150	1.952	0.100	1.301	0.250	3.253	0.080	1.041	0.000	0.000	0.000	17.91	0.000	18.63
						Sma, weighted =	16.75	sma,weighted +	15.70	ams, weighted =	13.05	ania,weign ted =	10.29	ons, wargnied =		Sund an Guing a	17.01	wates Aug.	
Paimer Sta	#60	2.04	2.69	2.65	23.02	0.170	3.913	0.150	3.453	0.150	3.453	0.180	4,143	0.000	0.000	0.230	5.294	0.150	3.453
Painter Sta	#40	2.08	2.69	2.65	22.25	0.050	1,113	0.040	0.891	0.030	0.668	0.040	0.891	0.000	0.000	0.050	1.336	0.060	1.336
Paimer Sta	# 30	2.07	2.59	2.65	21.89	0.050	1.094	0.050	1 313	0.050	1.094	0.040	0.875	0.000	0.000	0.090	1./51	0.050	2 006
Paimer Sta	#15	2.10	2.69	2.65	20.75	0.110	2.283	0.070	1.453	0.120	2.491	0.110	2.203	0.000	0.000	0.150	4.057	0.250	4.057
Palmer Sta	4	2.22	2.69	2.65	10.23	0.220	3.5/0	0.180	4 377	0.190	2 298	0.250	3.830	0.000	0.000	0.250	2.736	0.350	3,830
Palmer Sta	7/8"	2.30	2.09	2.00	6 70	0.150	1.019	0.100	0.679	0.250	1.898	0.05	0.340	0.000	0.000	0.000	0.000	0.000	0.000
	113	2.71	2.00	e.03		Sma, weighted =	15.73	Sma, weighted =	15.09	Sma, weighted -	14.78	Sma,weighted -	16.09	Sma,weighted -	•	Sma,weighted -	17.87	Ima, weighted	16.58

14

2

n

Table 3. Macro Surface Voids - Pouring Test (continued).

a

•

						Beer (DOT)		Contras Bass		Eine Rese		Binder (DOT)		F Mix (DOT)		E Mix (DOT)		Coarse E Mix	
		~	-			Dame (DOT)	0	Guarge Dage	Constant C	Weight Easter	Sma*WE.	Weight Factor	Sme*W.F.	Weight Eactor	Sma*W.F.	Weight Factor	8ma*W.F.	Weight Eactor	Sma*W.F.
CLIMIN	SIZE HEI	u⊅_	Gian	640	SIDE	Weight Facio	STR. W.F.	TVBCTIL PACTOR	2 764	0.150	3 784	0 140	3.513	0.000	0.000	0.000	0.000	0,150	3.764
Postell	660	1.97	2.72	2.63	25.10	0.150	3.704	0.150	3.704	0.130	0.741	0.030	0.741	0.000	0.000	0.000	0.000	0.060	1.483
Postell	#40	1.98	2.72	2.63	24.71	0.040	0.989	0.040	1.460	0.050	1 217	0.050	1.217	0.000	0.000	0.000	0.000	0.050	1.217
Postell	030	1.99	2.72	2.63	24.33	0.040	0.973	0.060	1.460	0.030	2 783	0.180	4 175	0.000	0.000	0.000	0.000	0.140	3.247
Postell	#16	2.02	2.72	2.63	23.19	0.120	2.783	0.070	1.024	0.120	2.703	0.000	4.030	0.000	0.000	0.000	0.000	0.250	5.038
Postell	#4	2,10	2.72	2.63	20,15	0.200	4.030	0.180	3.627	0.190	3.029	0.200	5.010	0.000	0.000	0.000	0.000	0.350	5 856
Posteli	7/16*	2.19	2.72	2.63	16.73	0.250	4.183	0.400	6.692	0.210	3.513	0.300	1.046	0.000	0.000	0.000	0.000	0.000	0,000
Posteli	7/8*	2.35	2.72	2.63	10.65	0.020	0.213	0.100	1.062	0.250	2.002	0.100	10.36	Pres www.shind -	A-422.8	firm watchind a		tme weighted -	20.60
						Sma, weighted +	16.94	Sme, weighted •	19.22	awaraeidu uso -	10.51	Duar, wei Gried -	13.70	ome, reignau -		ama, amg 100 -			
fh tw	460	2.00	2.75	2.73	26.74	0.130	3.⊄76	0,150	4.011	0.150	4.011	0.140	3.744	0.180	4.813	0.200	5.348	0.150	4.011
Buby	#40	2.00	2.75	2.73	26.74	0.030	0.802	0.040	1.070	0.030	0.802	0.030	0.802	0.050	1.337	0.030	0.802	0.060	1.604
Buby	130	2.03	2.76	2 73	25.64	0.040	1.026	0.050	1.538	0.050	1.282	0.050	1.282	0.070	1.795	0.070	1.795	0.050	1.282
Buby	415	2.05	2 76	2 73	24 54	0.150	3.691	0.070	1.718	0.120	2.945	0.130	3.190	0.200	4.908	0.200	4.908	0.140	3.436
Buby		2 18	2 76	2 73	20.15	0 200	4.029	0.180	3,626	0.190	3.828	0.200	4.029	0.400	8.059	0.250	5.037	0.250	5.037
Debu	7/16*	2 21	2.76	2 73	19.05	0.300	5 714	0.400	7.619	0.210	4.000	0.450	8.571	0.100	1.905	0.250	4.752	0.350	6.667
Ruby	7/9*	2.20	2.76	2 73	12.45	0.150	1.868	0.100	1.245	0.250	3.114	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.000
nacy	110	2.05	2.10	2.70	12.45	Sma,weighted +	20.60	Sma,weighted •	20.83	Sma,weighted +	19.98	8ma,weighted •	21.62	8ms.weighted =	22.82	Sma, weighted =	22.65	3ma,weighted	22.04
										6 150	2 2 2 2 2	0 160	3 333	0.000	0.000	0.210	4.667	0,150	3,333
Stockbridge	#60	2.03	2.65	2.61	22.22	0.170	3.778	0.150	3.333	0.150	3.333	0.090	0.690	0.000	0.000	0.040	0.920	0.050	1.379
Stockbridge	#40	2.01	2.65	2.61	25.88	0.050	1.149	0.740	0.920	0.030	0.090	0.030	1 111	0.000	0.000	0.060	1 333	0.050	1.111
Stockbridge	# 30	2.03	2.65	2.61	22.22	0.050	1.111	0.060	1,333	0.050	2.676	0.030	3 648	0.000	0.000	0 170	3.648	0.140	3.004
Stockbridge	#16	2.05	2.65	2.61	21.46	0.130	2.789	0.070	1,502	0.120	2.573	0.170	3,040	0.000	0.000	0.270	3 635	0.250	3.365
Stockbridge	#4	2.25	2.65	2.60	13.46	0.200	2.692	0.180	2.423	0.190	2.558	0.250	3.305	0.000	0.000	0.250	3 462	0.350	4.845
Stockbridge	7/15	2.24	2.65	2.60	13.85	0.300	4.154	0.400	5.538	0.210	2.908	0.300	a, 13a	0.000	0.000	0.000	0.000	0 000	0.000
Stockbridge	7/8*	2.39	2.65	2.60	0.08	0.100	0.808	0,100	0.808	0.250	2.019	0.05	V.4V4	Sma weighted a		See weather -	17.66	Ima weighted	17.04
						Sma, weighted =	16.48	Sime, weighted -	15.85	Sma, weighted =	15.19	sma,weighted =	16.70	9.041 #erginted =		ania, weighted -	11.00		
twone	***	1 08	2.68	2.64	25.00	0 130	3 250	0 150	3.750	0.150	3.750	0.130	3.250	0.220	5.500	0.220	5.500	0.150	3,750
Turone	#40	2.01	2 68	2.64	23.86	0.040	0.955	0.040	0.955	0.030	0.716	0.040	0.955	0.040	0.955	0.040	0.955	0.060	1.432
Turant	420	2.07	2.69	2.64	21.50	0.060	1 295	0.060	1.295	0.050	1.080	0.050	1.295	0.070	1.511	0.070	1,511	0.050	1.080
Turone	418	2.12	2.00	2.64	19.70	0.150	2 955	0 070	1.379	0.120	2.364	0.130	2.561	0.200	3.939	0.170	3.348	0.140	2.758,
Turone		2 19	2.80	2.65	17 74	0.200	3 547	0 180	3,192	0.190	3.370	0.200	3.547	0.420	7,449	0.250	4,434	0.250	4.434
Timeter	7/14*	2.06	2.00	2.05	75.00	0.200	3 321	0.400	6.038	0.210	3.170	0.400	6.038	0.050	0.755	0.250	3.774	0.350	5.283
Timone	7/0*	2.23	2.60	2.00	10.67	0.200	2 113	0.100	1.057	0.250	2.642	0.040	0.423	0.000	0.000	0.000	0.000	0.000	0.000
Tyrone	118	2.37	2.09	2.00	10.57	Sma, weighted •	17.44	Sma,weighted -	17.67	Sma,warghted =	17.09	Sms,weighted -	18.07	Sma, weighted +	20.11	Sma,weighted =	19.52	3ma, weighted	18.74
													0 745	0.100	9 745	0.000	0.000	0.150	3.432
White	.50	2.09	2.74	2.71	22.88	0.110	2.517	0.150	3,432	0.150	9.432	0.120	2.745	0.120	1.107	0.000	0.000	0.080	1 328
White	#40	2.11	2.74	2.71	22.14	0.040	0.886	0.040	0.886	0.030	0.664	0.020	0,443	0.000	6 168	0.000	0.000	0.050	1.033
White	#30	2.15	2.74	2.71	20.66	0.050	1.240	0.060	1.240	0.050	1.033	0.200	4,133	0.250	4 707	0.000	0.000	0.140	2.686
White	15	2.19	2.74	2.71	19,19	0.190	3.646	0.070	1,343	0.120	2.303	0.160	3,070	0.250	4.797 6.207	0.000	0.000	0.250	4.335
White	# 4	2.24	2.74	2.71	17.34	0.200	3.489	0.180	3.122	0.190	3.295	0.240	4,162	0.300	5,203	0.000	0.000	0.350	4.908
White	7/16	5.33	2.74	2.71	14.02	0.300	4.207	0.400	5.609	0.210	2.945	0.320 +	4,487	0.200	2.004	0.000	0.000	0.000	0.000
White	7/8*	2.40	2.74	2.71	11.44	0.100	1.144	0.100	1.144	0.250	2.850	0.080	0.915	0.000	0.000	0.000	A.7.74	Ime weighted	17 72
						Sma,weighted =	17.11	Sma,weighted +	16.77	Sma,weighted =	16.53	Sma,weighted =	19.96	oms,weignted +	21.02	ameteelõnen e		initia, - alginadi	

. -

.•

15

•

÷

Table 4. Micro Surface Voids - Pouring Test.

						Base (DOT)		Coarse Base	1	Fine Bese		Binder (DOT)		F Mix (DOT)		E Mix (DOT)		Coarse & Mix	
CHARRY	SIZE RET	0n	Gan	Gan	Sm	Weight Factor	Sm W.F.	Weight Factor	Smi W.E.	Weight Factor	Sm W.F.	Weight Factor	Sm W.F.	Weight Factor	Sm.W.E.	Weight Factor	Sm W.F.	Weight Factor	8mi W.E.
Athene	#80	1.84	2 73	2.68	1.26	0.160	0.201	0.150	0,109	0.150	0.189	0.110	0.138	0.200	0.251	0.180	0.226	0.150	0.189
Athens	#40	1.87	2 73	2.68	1.28	0.040	0.051	0.040	0.051	0.030	0.038	0.040	0.051	0.050	0.077	0.060	0.077	0.050	0.077
Athens	#30	1.96	2.73	2.68	1.34	0.050	0.067	0.060	0.080	0.050	0.067	0.050	0.067	0.060	0.080	0.040	0.054	0.050	0.067
Athena	#16	2.06	2.73	2.68	1.41	0.100	0.141	0.070	0.099	0.120	0,169	0.100	0,141	0.180	0.253	0.200	0.265	0.140	0.197
Athens		2.14	2 73	2 68	1 45	0.200	0.292	0.190	0.263	0.190	0.278	0.200	0.292	0.400	0.585	0.250	0.366	0.250	0.366
Athens	7/16	2.26 4	2.73	2.68	1.54	0.350	0.541	0.400	0.618	0.210	0.324	0.450	0.695	0.100	0.154	0.250	0,386	0.350	0.541
Athens	7/8*	2.30	2 73	2.68	1.63	0.100	0.163	0,100	0.163	0.250	0.408	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.000
Holena		0.00				Smi,weighted =	1.46	Sm,weighted -	1.46	Smi,weighted =	1.47	Snx,weighted =	1.38	Sm,weighted =	1.40	8m,weighted =	1.39	3 m, weighted +	1.44
																4.44		0.150	0.146
Bell Ground	#60	2.11	2.79	2.75	1,10	0.140	0.154	0.150	0.165	0.150	0.165	0.130	0.143	0.000	0.000	0.150	0.165	0.150	0.105
Ball Ground	#40	2.13	2.79	2.75	1,11	0.040	0.044	D.040	0.044	0.030	0.033	0.030	0.033	0.000	0.000	0.050	0.050	0.000	0.007
Batl Ground	# 30	1.72	2.79	2.75	0.90	0.050	0.045	0.060	0.054	0.050	0.045	0.060	0.054	0.000	0.000	0.060	0.054	0.050	0.045
Ball Ground	#16	2.08	2.79	2.75	1.08	0.120	0.130	0.070	0.076	0.120	0.130	0.130	0,141	0.000	0.000	0.140	0.152	0.250	0.752
Ball Ground	44	2.22	2.79	2.75	1.18	0.250	0.289	0.180	0.208	0.190	0.220	0.250	0.289	0.000	0.000	0.300	0.347	0.250	0.200
Beil Ground	7/16*	2.24	2.79	2.75	1.17	0.300	0.350	0.400	0.467	0.210	0.245	0.390	0.444	0.000	0.000	0.250	0.202	0.000	0.000
Ball Ground	7/8*	2.46	2.79	2.75	1.28	0.100	0.128	0.100	0.128	0.250	0.321	0.020	0.025	0.000	0.000	0.000	0.000	0.000	1.12
						Sm.weighted =	1,14	Smi,weighted -	1,14	Smi,weighted =	1.16	Sm, weighted =	1.13	Sm,weighted =		smi,weignteo ∸	1.07	sini,weighteo i	1.10
										0.160	0 202	0 170	0 224	0 220	0 297	0.220	0.297	0.150	0.202
Barin	# 60	1.96	2.72	2.67	1.35	0.190	0.255	0.150	0.202	0.150	0.202	0,170	0.070	0.070	0.097	0.050	0.070	0.050	0.083
Barin	#40	2.02	2.72	2.67	1,39	0.050	0.070	0.040	0.050	0.030	0.042	0.050	0.071	0.040	0.056	0.060	0.085	0.050	0.071
Barin	# 30	2.05	2.72	2.67	1.41	0.040	0.056	0.080	0.085	0.050	0.071	0.000	0.118	0.170	0 247	0.220	0 320	0.140	0.203
Barm	#16	2.11	2.72	2.67	1.45	0.120	0.174	0.070	0.102	0.120	0.174	0.000	0.362	0.300	0423	0.380	0.536	0.250	0.353
Barm	44	2.05	2.72	2.67	1.41	0.150	0.212	0.180	0.254	0.190	0.200	0.200	0.555	0.000	0 318	0.070	0 111	0.350	0.557
Beritt	7/16*	2.31	2.72	2.67	1.59	0.350	0.557	0.300	0.477	0.210	0.334	0.370	0.000	0.000	0.000	0.000	0 000	0.000	0.000
Barin	7/8*	2.40	2.72	2.67	1.65	0.100	0.165	0.100	0.165	0.250	0.413	0.030	149	Sam waveshind a	1 44	Smiwwaabled =	1.42	im weighted •	1.47
						Smi,weighted ≈	1.49	Smi,weighted +	1 34	2 mi'meiôuseo =	1.50	ami,weighted -	1,40	an,wegned -		0111,2 0 gi 100 -			
		2.01		2 4 4		0.110	0 1 1 2	0.150	0 153	0 150	0.153	0,160	0,163	0.210	0.214	0.000	0.000	0.150	0.153
Butord	* 6 D	2.01	2.05	2.61	1.02	0.110	0.112	0.150	0.040	0.030	0.030	0.040	0.040	0.030	0.030	0.000	0.000	0.060	0.060
Butord	40	1.96	2.05	2.01	0.99	0.090	0.069	0.040	0.040	0.050	0.050	0.040	0.040	0.060	0.060	0.000	0.000	0.050	0.050
Bulord	0.0	7.98	2.00	2.01	1,00	0.040	0.113	0.070	0.072	0.120	0.124	0.110	0,113	0.200	0.206	0.000	0.000	0.140	0.144
Butora	10	2.03	2.65	2.01	1.03	0.200	0.115	0.180	0.104	0 190	0.205	0.250	0.270	0.500	0.540	0.000	0.000	0.250	0.270
Butord		2.13	2.65	2.01	1.00	0.200	0.210	0.400	0.442	0.210	0 232	0.350	0.387	0.000	0.000	0.000	0.000	0.350	0.367
Butord	//18-	2.18	2.05	2.01	1.11	0.330	0.307	0.000	0.115	0.250	0.265	0.050	0.057	0.000	0.000	0.000	0.000	0.000	0.000
Butord	118	2.20	2.05	2.01	1.15	Smuwerchted •	1.07	Smu,weichted =	1.08	Smi,weighted =	1.09	Sm.weighted =	1.07	8m,waighted =	1.05	Smi,weighted -	•	≩mi,wenghted ⊨	1,06
Candler	# 60	2.05	2.64	2.61	0.89	0.200	0.179	0.150	0.134	0.150	0.134	0.170	0.152	0.150	0.134	0.230	0.205	0.150	0.134
Candler	#40	2.02	2.64	2.61	0.88	0.050	0.044	0.040	0.035	0.030	0.026	0,030	0.026	0.030	0.026	0.050	0.044	0.060	0.033
Candler	# 90	1.99	2.64	2.61	0.87	0.030	0.026	0.060	0.052	0.050	0.043	0.030	0.025	0.050	0.052	0.050	0.043	0.030	0.103
Candler	#16	2.01	2.64	2.61	0.88	0.080	0.070	0.070	0.061	0.120	0.105	0.100	0.088	0.220	0.199	0.180	0.140	0.140	0.123
Candler		2.08	2.64	2.61	0.91	0.190	0.172	0.180	0.163	0.190	0.172	0.270	0.245	0.440	0.398	0.270	0.245	0.250	0.220
Candler	7/16*	2.22	2.64	2.61	0.97	0.230	0.222	0.400	0.387	0.210	0.203	0.320	0.309	0.100	0,097	0.240	0.232	0.350	0.938
Candler	7/8*	2.39	2.64	2.61	1.04	0.220	0.229	0.100	0.104	0.250	0.260	0.080	0.083	0.000	0.000	0.000	0.000		0.000
						Smi,weighted =	0.94	Sm,weighted =	0.94	Smi,weighted =	0.94	Smi,weighted =	0.93	Smu,weighted =	0.90	Swi'nei@uteo ⊨	0.81	smi,weignæo.∙	0.92
										0.150	A 220	0.160	0.362	0.000	0 000	0.000	0.000	0,150	0,339
Cummings	#60	1.94	2.66	2.58	2.26	0.150	0.339	0.150	0.339	0.150	0.338	0.100	0.135	0.000	0.000	0.000	0.000	0.060	0.135
Cummings	#40	1.93	2.65	2.58	2.25	0.050	0.112	0.040	0.090	0.030	0.007	0.000	0.135	0.000	0.000	0.000	0 000	0.050	0.115
Cummings	# 30	1.97	2.66	2.58	2.30	0.040	0.092	0.080	0.138	0.050	0.115	0.000	0 201	0.000	0.000	0.000	0.000	0.140	0.339
Cummings	#16	2.08	2.66	2.58	2.42	0.110	0.267	0.070	0.170	0.120	0.291	0.120	0.207	0.000	0.000	0.000	0.000	0.250	0.371
Cummings	#4	2.22	2.76	2.71	1.48	0.160	0.237	0.180	0.267	0.190	0.282	0.200	0.469	0.000	0.000	0.000	0.000	0.350	0.468
Cummungs	7/16*	2.00	2.76	2.71	1.34	0.290	0.388	0.400	0.535	0.210	0.201	0.350	0.400	0.000	0.000	0.000	0.000	0.000	0.000
Cummings	7/8*	2.12	2.76	2.71	1.42	0.150	0.213	0.100	0.142	0.250	9.124	0.050	1 78	Sm weichted a		Sm.weighted +		Imi.weighted	1.77
						Smi,weighted =	1.65	Smi,weighted =	1.08	Smi,weighted *	1.73	am,wagmer -	1.70	0111,000,01100 -					
						0.120	0.044	0.160	0 205	0 150	0.305	0 110	0.224	0.000	0.000	0.000	0.000	0.150	0.305
Dalton	# 60	2.14	2.75	2.68	2.03	0.130	0.264	0.150	0.305	0.030	0.060	0.030	0.050	0.000	0.000	0.000	0.000	0.050	0.120
Dalton	#40	2.11	2.75	2.68	2.00	0.040	0.080	0.040	0.080	0.050	0.000	0.040	0.081	0.000	0 000	0.000	0.000	0.050	0.102
Datton	# 30	2.14	2.75	2.68	2.03	0.060	0.122	0.060	0.122	0.050	0.702	0.040	0.417	0.000	0.000	0.000	0.000	0,140	0.278
Dalton	∉16	2.09	2.75	2.68	1,99	0.140	0.278	0.070	0,139	0.120	0.230	0.210	0.332	0.000	0.000	0.000	0.000	0.250	0.213
Datton	#4	2.11	2.74	2.71	0.85	0.180	0.153	0.180	0.153	0.190	0.102	0.200	0.280	0.000	0.000	0.000	0.000	0.350	0.314
Detton	7/18*	2.22	2.74	2.71	0.90	0.370	0.332	0.400	Q.359	0.210	0.188	0.300	0.200	0.000	0.000	0.000	0.000	0.000	0.000
Datton	7/8*	2.34	2.74	2.71	0.95	0.180	0.170	0.100	0.025	0.250	0.236	0.05	0.044	0.000	A.AAA	Smi weichhad a	*	Im washted +	1.33
						Smi,weighted =	1,40	Sm,weighted =	1.25	Smi,weighted =	1.29	auu∻an eidu teq =	1.32	oni,weignned *		wishwei Stine G =			
						0.140	0 101	0 150	0 205	0 150	0.205	0.130	0.179	0.000	0.000	0.000	0.000	0.150	0.205
Den		1,94	2.69	2.04	1.37	0.140	0.191	0.040	0.064	0.030	0.041	0.040	0,054	0.000	0.000	0.000	0.000	0.050	0.082
Den	#40	1.93	2.69	2.04	1,30	0.000	0.000	0.040	0.094	0.050	0.070	0.050	0.070	0.000	0.000	0.000	0.000	0.050	0.070
Den	# 30	2.00	2.69	2.04	1,41	0.090	0.127	0.070	0.004	0 120	0.172	0.130	0.187	0.000	0.000	0.000	0.000	0.140	0.201
Den	#16	2.04	2.69	2.04	3,44	0.120	0.172	0.070	0.101	0 190	0.280	0.250	0.368	0.000	0.000	0.000	0.000	0.250	0.368
Den	84	2.09	2.59	2.64	1.47	0.200	0.294	0.100	0.203	0.210	0.322	0.350	0.537	0.000	0.000	0.000	0.000	0.350	0.537
Den	//16	2.18	2.69	2.04	1.53	0.200	0.304	0.400	0 185	0.250	0.412	0.050	0.082	0.000	0.000	0.000	0.000	0.000	0.000
Qen	7/8*	2.34	2.69	2.64	1.55	0.150	1 49	Em marchtart -	1 40	Sm weighted -	1.50	Sm weighted =	1.48	8mi,weighted =		Smi, weighted +	•	3 mi, weighted	1,46
						smt,weignted ■	1.40	aurin merchusso	1.40	2107,#BiQ1080 =	1.50							-	

16

•

-

Table 4. Micro Surface Voids - Pouring Test (continued).

						Base (DOT)		Coarse Base		Fine Base	0-0-5	Binder (DOT)	Par MALE	F Mix (DOT)	5~4V 5	E Mix (DOT) Weight Earthr	8	Course E Mit Weight Factor	8m W.F.
QUAREY	SIZE REI	⊈o	Gao	Gag	Smi	Weight Factor	Sim W.E.	Weight Factor	Sm W.F.	Weight Factor	SITT W.F.	Weight Factor	QUE VI.C.	HEIGHLFECK	BIR HLE	and the second distance	aurus	The second second	PC114
Dixie	#60		2.64	2.57	1 00	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.180	0.338	0.000	0.000	0.210	0.394
Dixie	#40	1.82	2.64	2.57	1.88	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.070	0,130	0.000	0.000	0.050	0.093
Dixie		1.60	2.04	2.57	1 88	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.200	0.376	0.000	0.000	0.140	0.263
Divie	* A	1.97	2.64	2.57	2.03	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.550	1.118	0.000	0.000	0.600	1.219
Dixie	7/18*		2.64	2.57															
Dixie	7/8*		2.64	2.57		Sm.weighted •		Sm.,weighted =		Smi,weighted -	•	Smi,weighted =	•	Sm,weighted =	1.96	Sm, unighted =	•	3mi,weighted +	1.97
																		A 16A	0.000
Griffin	#60	1.91	2.70	2.65	1.33	0.140	0.187	0.150	0.200	0.150	0.200	0.140	0.187	0.120	0.160	0.170	0.227	0.150	0.200
Griffin	#40	1.95	2.70	2.65	1.36	0.050	0.058	0.040	0.055	0.030	0.041	0.040	0.055	0.050	0.000	0.060	0.084	0.050	0.070
Griffin	# 30	2.01	2.70	2.65	1.40	0.050	0.070	0.050	0.084	0.050	0.070	0.110	0.161	0.230	0.336	0,180	0.283	0.140	0.204
Griffin	#16	2.09	2.70	2.65	1,48	0.110	0.151	0.070	0.270	0.190	0.265	0.300	0.451	0.400	0.601	0.300	0.451	0.250	0.376
Grettin		2.15	2.70	2.03	1.50	0.250	0.500	0.400	0.637	0.210	0.335	0.340	0.542	0.100	0.159	0.250	0.398	0.350	0.558
Grittin	7/9*	2.48	2.70	2.65	1 72	0:100	0.172	0.100	0.172	0.250	0.430	0.010	0.017	0.000	0.000	0.000	0.000	0.000	0.000
Groun	,,,,	2.40	2.70	1.00		Sm,weighted =	1.52	Smi,weighted .	1.52	Smi,weighted =	1.54	Sm,weighted =	1.50	Smi,weighted =	1.39	Smi,weighted =	1.48	3mi,weighted i	1.49
Kennese	#80	2 12	2.82	2.78	1.08	0.170	0.184	0.150	0.162	0.150	0.162	0.160	0.173	0.000	0.000	0,180	0.195	0.150	0.162
Kennesew	440	2.20	2.82	2.78	1,12	0.040	0.045	0.040	0.045	0.030	0.034	0.040	0.045	0.000	0.000	0.050	0.056	0.060	0.067
Kenhesew	#30	2.13	2.82	2.78	1.09	0.060	0.054	0.050	0.065	0.050	0.054	0.040	0.043	0.000	0.000	0.070	0.075	0.050	0.004
Kannesaw	\$15	2.18	2.82	2.78	1,10	0.120	0.132	0.070	0.077	0.120	0.132	0.110	0.121	0.000	0.000	0.150	0.705	0.250	0 279
Kennesew	. 4	2.19	2.82	2.78	1.12	0.170	0.190	0.180	0.201	0.190	0.212	0.190	0.212	0.000	0.000	0.300	0.301	0.350	0.421
Kennesaw	7/16*	2.36	2.82	2.79	1.20	0.320	0.385	0.400	0.492	0.210	0.253	0.420	0.050	0.000	0.000	0.000	0.000	0.000	0.000
Kennesaw	7/8*	2.43	2.82	2.78	1.24	0,130 Smi,weighted =	1,15	Snu,weighted =	1.16	Smu,weighted •	1.16	Sm,weighted =	1.15	Sm,weighted +		8m,weighted -	1.13	3m,weighted i	1, 14
									0 1 20	0.150	0 130	0.150	0.130	0.000	0.000	0.000	0.000	0.150	0.130
Lithie Springs		1.99	2.64	2.61	0.87	0.130	0.113	0.150	0.130	0.030	0.027	0.030	0.027	0.000	0.000	0.000	0.000	0.050	0.053
Limit Springt	40	2.04	2.04	2.01	0.09	0.050	0.054	0.060	0.054	0.050	0.045	0.050	0.045	0.000	0.000	0.000	0.000	0.050	0.045
Little Springs	#15	2.09	2.64	2.61	0.91	0.100	0.091	0.070	0.064	0.120	0.109	0.150	0.136	0.000	0.000	0.000	0.000	0.140	0.127
Lithus Springs		2.19	2.64	2.61	0.95	0.280	0.267	0.180	0.172	0.190	0.181	0.220	0.210	0.000	0.000	0.000	0.000	0.250	0.236
Lithis Springs	7/16*	2.22	2.64	2.61	0.97	0.380	0.367	0.400	0.387	0.210	0.203	0.250	0.242	0.000	0.000	0.000	0.000	0.000	0.000
Lithis Springs	7/8*	2.31	2.64	2.61	1.01	· 0.020 Smr,weighted =	0.94	0.100 Sr⊯,weighted =	0.94	8mi,weighted =	0.95	8m,weighted -	0.94	Smi,weighted =	*****	Smi,weighted =		3m,weighted +	0.93
								0.150	0 138	0.150	0.136	0.160	0.145	0.000	0.000	0.200	0.182	0.150	0.136
Lithonia	#60	2.09	2.64	2.61	0.91	0.160	0.146	0.150	0.036	0.030	0.027	0.040	0.036	0.000	0.000	0.070	0.054	0.060	0.055
Lithonia	420	2.09	2.04	2.61	0.01	0.050	0.045	0.060	0.055	0.050	0.045	0.040	0.035	0.000	0.000	0.060	0.055	9.050	0.045
Lithoout	#16	2.06	2.64	2.61	0.90	0.120	0,108	0.070	0.063	0.120	0.108	0.110	0.099	0.000	0.000	0.150	0.135	0.140	0.126
Lithonie	14	2.08	2.64	2.60	1.21	0.150	0.182	0.180	0.218	0.190	0.230	0.190	0.230	0.000	0.000	0.270	0.327	0.250	0.303
Lithonia	7/15*	2 28	2.64	2.60	1.33	0.480	0.638	0.400	0.531	0.210	0.279	0.460	0.811	0.000	0.000	0.250	0.332	0.000	0.400
Lithonia	7/8"	2.37	2.64	2.60	1.38	0.100 Smi,weighted =	0.138	0.1400 Smi,weighted =	0.138	0.250 Smi,weighted =	0.345	0.040 Sm,weighted =	1.21	Sm,weighted =	0.000	Smi,weighted =	1.09	≩mi,weighted +	1.13
						0.400	A 408	0.150	0.185	0.150	0 165	0 160	0.176	0.000	0.000	0.220	0.243	0.150	0.165
Mit View		1.98	2.70	2.00	1.10	0.160	0.190	0.150	0.044	0.030	0.033	0.030	0.033	0.000	0.000	0.030	0.033	0.050	0.066
MIT VIEW	40	2.00	2.70	2.00	1 1 1	0.050	0.067	0.060	0.067	0.050	0.056	0.040	0.045	0.000	0.000	0.060	0.067	0.050	0.056
Mit View	#18	2.02	2.70	2.66	1.13	0.120	0.135	0.070	Q.079	0.120	0.135	0.120	0.135	0.000	0.000	0.190	0.214	0.140	0.158
Mt View	14	2.09	2.70	2.66	1.16	0.200	0.233	0.180	0.210	0.190	0.221	0.250	0.201	0.000	0.000	0.300	0.349	0.250	0.291
Mt View	7/18"	2.27	2.70	2.56	1.26	0.250	0.316	0.400	0.508	0.210	0.265	0.350	0.442	0.000	0.000	0.200	0.253	0.000	0.000
Mt View	7/8*	2.40	2.70	2.66	1.34	0.150 Sms,weighted =	0.201	0,100 Sm⊨,weighted ⇒	0.134 1.20	0.250 Smi,weighted =	1.21	Smi,weighted =	1,19	Smi,weighted =	4.444	Smi,weighted =	1.16	3m,weighted -	1.18
Navasa		3.04	3 73	2.60	0.84	0 170	0.144	0.150	0.127	0.150	0.127	0.170	0.144	0.000	0.000	0.210	0.177	0.150	0.127
Norcross	#60 #40	2.06	2.72	2.09	0.04	0.050	0.051	0.040	0.034	0.030	0.028	0.040	0.034	0.000	0.000	0.090	0.077	0.050	0.051
Norrioss	0.30	2.11	2.72	2.69	0.87	0.040	0.035	0.060	0.052	0.050	0.043	0.040	0.035	0.000	0.000	0.040	0.035	0.050	0.043
Norcross	#16	2.12	2.72	2.69	0.87	0.130	0.113	0.070	0.061	0.120	0.104	0.120	0.104	0.000	0.000	0.160	0.139	0.140	0.122
Norcross	#4	2.28	2.73	2.69	1.24	0.200	0.248	0.180	0.224	0.190	0.236	0.200	0.248	0.000	0.000	0.250	0.370	0.250	0.456
Norcross	7/18*	2 39	2.73	2.69	1.30	0.250	0.325	0.400	0.521	0.210	0.273	0.350	0.450	0.000	0.000	0.000	0.000	0.000	0.000
Norcross	7/8*	2.34	2.73	2.69	1.27	0.150 Smi,weighted -	<u>9.191</u> 1.11	0.100 Sm∹,weighted ∞	1.15	9 mi,weighted =	0.91	Smx,weighted =	1.12	Sm,weighted •		Smi,weighted =	1.06	3m,weighted +	1,11
						0.170	A 407	0.160	0 172	0 150	0 172	0 180	0.205	0.000	0.000	0.230	0.263	0.150	0.172
Palmer Sta	# 60	2.04	2.69	2.65	1,14	0.170	0.195	0.150	0.172	0.030	0.035	0.040	0.046	0.000	0.000	0.050	0.069	0.060	0.069
Painer Sta	#40	206	2.69	2,65	1.16	0.050	0.058	0.060	0.070	0.050	0.058	0.040	0.046	0.000	0.000	0.080	0.093	0.050	0.058
Pelmer Ste	#16	2.10	2.69	2.65	1.18	0.110	0.130	0.070	0.082	0.120	0.141	0.110	0.130	0.000	0.000	0.130	0.153	0.140	0.165
Palmer Sta	14	2.22	2.69	2.85	1.25	0.220	0.274	0.180	0.224	0.190	0.237	0.230	0.287	0.000	0.000	0.250	0,311	0.250	0.311
Palmer Sta	7/16*	2.36	2.69	2.65	1.32	0.250	0.331	0.400	0.530	0.210	0.278	0.350	0.463	0.000	0.000	0.250	0.331	0.350	0.403
Palmer Ste	7/8*	2.47	2.69	2.65	1.39	0.150	0.208	0.100	0.139	0.250	0.346	0.05 Cerimenetter –	1.25	Rm weighted =	0.000	Smi.weichtert =	1.22	3 mi,weighted	1.24
						Smi,weighted =	1.25	sm,weighted =	1.25	ami,weighted =	1.27	ans,weigned =	1.60	ava's a di 190 a					

i

.

÷

Table 4. Micro Surface Voids - Pouring Test (continued).

						Base (DOI)		Course Base		Fine Base		Binder (DOT)		F Mix (DOT)		E Max (DOT)		Course E Max	
CT INCOM	CIZE DET	~	0	0-	C	Wardht Easter	S m "W F	Weight Factor	Sm"W.F.	Weight Factor	Sm W.F.	Weight Factor	Sm W.F.	Weight Factor	Smi W.F.	Weight Factor	Smi W.F.	Weight Factor	8m W.F.
GALPERTIE	SKE HEI	107	3.20	2.62	2 49	0.150	5 372	0.150	0.372	0.150	0.372	0,140	0.347	0.000	0.000	0.000	0.000	0.150	0.372
Potten	***	1.97	2.72	2.03	2.40	0.040	0 100	0.040	0.100	0.030	0.075	0.030	0.075	0.000	0.000	0.000	0.000	0.060	0.149
Posten	400	1.90	2.72	2.03	2.40	0.040	0.100	0.060	0.150	0.050	0.125	0.050	0.125	0.000	0.000	0.000	0.000	0.050	0.125
POSTER	- 30	1.99	2.72	2.03	2.50	0.100	0.205	0.070	0 179	0.120	0.305	0.180	0.457	0.000	0.000	0.000	0.000	0.140	0.356
Postell		2.02	2.72	2.03	2.34	0.120	0.503	0.190	0.476	0 190	0.502	0 200	0.528	0.000	0.000	0.000	0.000	0.250	0.651
Postell		2.10	2.72	2.03	2.04	0.200	0.720	0.400	1 102	0.210	0.579	0 300	0.827	0.000	0.000	0.000	0.000	0.350	0.984
Poster	7/10	2.19	2.72	2.03	2.70	0.200	0.069	0.100	0.206	0.250	0.739	0.100	0.298	0.000	0.000	0.000	0.000	0.000	0.000
Postell	//8-	2.35	8.72	2.03	2.80	Smi,weighted w	2.15	Sm,weighted -	2.67	Sma,weighted ⊨	2.70	Smi,weighted =	2.65	Smi,weighted =		Sm,weighted =	•	3 mi,we∘ghted ∙	2.63
D . Ani		2 00	2 78	2 71	0.80	0 130	0 104	0.150	0.119	0.150	0.119	0.140	0.111	0.180	0.143	0.200	0.159	0.150	0.119
Ruby		2.00	2.76	2 73	0.90	0.030	0.024	0.040	0.032	0.030	0.024	0.030	0.024	0.050	0.040	0.030	0.024	0.050	0.048
Duby	420	2.00	2.70	2 73	0.00	0.040	0.032	0.050	0.048	0.050	0.040	0.050	0.040	0.070	0.057	0.070	0.057	0.050	0.040
Dibi		2.03	2.70	2.73	0.07	0.150	0 123	0.070	0.057	0.120	0.098	0.130	0.107	0,200	0.164	0.200	0.164	0.140	0.115
HUCY	. 10	2.00	2.70	2.73	0.02	0.100	0.17#	0.180	0.155	0 190	0.165	0.200	0.174	0.400	0.347	0.250	0.217	0.250	0.217
HUCY		2.10	2.70	2.73	0.07	0.200	0.264	0.400	0.352	0.210	0.185	0.450	0,396	0,100	0.088	0.250	0.220	0.350	0.309
HUDY	7/16-	2.21	2.78	2.73	0.00	0.300	0.204	0.400	0.095	0.250	0.238	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.000
HUDY	118	2.39	2.70	2.13	0.93	Smi,weighted =	0.86	Smu,weighted •	0.96	Smi,weighted =	0.87	Smi,weighted =	0.85	8mi,weighted =	0.84	8m,weighted -	0.84	≩m,weighted +	0.85
Stockburdoa		2.03	2.65	2.61	1.17	0.170	0.200	0.150	0,178	0.150	0.178	0.150	0.176	0.000	0.000	0.210	0.247	0.150	0.176
Rockbudge	440	2.01	2.65	2.61	1.16	0.050	0.058	0.040	0.045	0.030	0.035	0.030	0.035	0.000	0.000	0.040	0.046	0.080	0.070
Storthudge	# 20	2.03	2.65	2.61	1 17	0.050	0.059	0.060	0.070	0.050	0.059	0.050	0.059	0.000	0.000	0.060	0.070	0.050	0.059
Stockbudge		2.05	2.65	2.61	1.19	0.130	0.154	0.070	0.083	0.120	0.142	0.170	0.202	0.000	0.000	0.170	0.202	0,140	0.155
Reekbudge		2.25	2.65	2 60	1.63	0.200	0.327	0.180	0.294	0,190	0.310	0.250	0.400	0.000	0.000	0.270	0.441	0.250	0.408
Stockbridge	7/18*	2.24	2 45	2.60	1.63	0.300	0.488	0.400	0.650	0.210	0.341	0.300	0.488	0.000	0.000	0.250	0.405	0.350	0.569
Nockbridge	7/9*	2.20	2.65	2.60	1 73	0 100	0 173	0.100	0.173	0.250	0.434	0.05	0.087	0.000	0.000	0.000	0.000	0.000	0.000
HOCKDINGG	110	2.34	2.03	2.00	1.70	Smr,waighted +	1.46	Sma,weighted =	1,49	Smi,weighted =	1.50	Sm,weighted =	1.45	Sm,weighted =	•	Smi,weighted =	1.41	3mi,weighted	1.45
Tyrone	#60	1.98	2.68	2.64	1,12	0.130	0.145	0.150	0.168	0.150	0.168	0.130	0.148	0,220	0.248	0.220	0.248	0.150	0.168
Tyrone	#40	2.01	2.58	2.64	1,14	0.040	0.045	0.040	0.045	0.030	0.034	0.040	0.045	0.040	0.045	0.046	0.045	0.060	0.069
Turone	8 30	2.07	2.68	2.64	1.17	0.050	0.070	0.060	0.070	0.050	0.059	0.060	0.070	0.070	0.082	0.070	0.082	0.050	0.059
Tyrone	#15	2.12	2.68	2.64	1.20	0.150	0.180	0,070	0.084	0.120	0.144	0.130	0.158	0.200	0.240	0.170	0.204	0.140	0.169
Tyrone		2.10	2.89	2.65	1.22	0.200	0.245	0.180	0.220	0.190	0.232	0.200	0.245	0.420	0.514	0.250	0.305	0.250	0.306
Tyrone	7/16*	2.25	2.89	2.65	1.26	0.220	0.278	0.400	0.505	0.210	0.265	0.400	0.505	0.050	0.063	0.250	0.315	0.350	0.442
Twone	7/8*	2.37	2.69	2.65	1,33	0 200	0.266	0.100	0.133	0.250	0.332	0.040	0.053	0.000	0.000	0.000	0.000	0.000	0.000
.,						Smi,weighted =	1.23	Sm,weighted =	1.23	Smi,weighted =	+ 1.23	8mi,weighted =	1.22	Sm,weighted P	1.19	Sm,weighted =	1.20	3ml,weighted +	1.21
White		2.09	2.74	2.71	0.84	0.110	0.093	0.150	0.127	0.150	0.127	0.120	0.101	0.120	0.101	0.000	0.000	0.150	0.127
White	\$40	2.11	2.74	2.71	0.85	0.040	0.034	0.040	0.034	0.030	0.026	0.020	0.017	0.050	0.043	0.000	0.000	0.000	0.051
White	# 30	2.15	2.74	2.71	0.87	0.080	0.052	0.060	0.052	0.050	0.043	0.200	0,174	0.250	0.217	0.000	0.000	0.050	0.104
White	#16	2.19	2.74	2.71	0.88	0.190	0.158	0.070	0.062	0.120	0.106	0.160	0.142	0.250	0.221	0.000	0.000	0.140	0.226
White	# 4	2.24	2.74	2.71	0.91	0.200	0.181	0.180	0.183	0.190	0.172	0.240	0.217	0.300	0.212	0.000	0.000	0.250	0 920
White	7/15*	2.33	2.74	2.71	0.94	0.300	0.282	0.400	0.377	0.210	0.198	0.320	0.301	0.200	0.188	0.000	0.000	0.000	5.000
													A 4 3 A						

. - * *

.

•

18

•

•

.*

SA = 1/4 [ab+bc+ca+6
$$\sqrt{a^2b^2+b^2c^2+c^2a^2}$$
] (2)

where

a = longest dimension of aggregate
b = average intermediate dimension of aggregate
c = average smallest dimension of aggregate

The TKH model has been found to give reasonably good results compared to the quantative stereology method described in Appendix A.

<u>Results</u>

The surface area for the following four particle size ranges was determined for aggregate from each of the 21 quarries included in this study: 1/2 in. to 3/8 in., No. 4 to No. 8 sieve, No. 8 to No. 120 sieve, and passing the No. 120 sieve.

For each asphalt concrete mix studied, the four surface area values were weighted according to the aggregate gradations used in each mix for each quarry. Specifically, the percentage of aggregate within each size range was multiplied by its respective surface area. Then the sum of these products was divided by the total percentage of aggregate within the four size ranges. For example, if the mix gradation had 10 percent of the total aggregate weight in each of the four measured size ranges, then the weighted surface area (S.A.,w) would be the sum of one-tenth the surface area of each size ranged divided by $\mathfrak{V}.40$. Both the surface areas for each size range and the weighted surface areas are given in Table 5.

SHAPE CLASSIFICATION

The shape classification values used in this study were reported by Kemp [7]. The shape of aggregate particles was determined using the general method proposed by Lees [1]. The digitizing techniques described

Table 5. Aggregate Surface Area.

			Surface Area	Base (DOT)		Coarse Base		Fine Base		Binder (DOT)		F Mx (DOT)		E Mix (DOT)		Course E Mx	
CLIMERY	SIZE PASS	SIZE RET	(in2/ib)	Weight Factor	SAWF.	Weight Factor	S.A.W.E.	Weight Eactor	S.A. W.F.	Weight Factor	S.A.W.F.	Weight Factor	S.A.W.E.	Weight Factor	8.A. W.F.	Weight Factor	5.A.W.F.
Athens	#120		1049687.00	0.070	73478.090	0.080	83974.960	0.070	73478.090	0.080	83974,960	0.090	94471,830	0.090	94471.830	0,090	94471.830
Athens		#120	12156.30	0.270	3282.201	0.220	2674.386	0.240	2917.512	0.250	3039.075	0.360	4376.268	0.360	4376.268	0.290	3525.327
Athens	14	48	557.25	0 080	44,581	0.090	50.153	0.100	55.726	0.090	50.153	0,180	100.307	0.140	78.016	0.130	72.444
Athens	1/2*	3/8"	151.17	0.110	16.629	0 060	9.070	0.070	10.582	0.100	15.11Z	0.040	5.047	0.130	19,652	0.130	19.652
				S.A., weighted .	144946.23	S.A.,weighted =	1926 85.71	S.A.,weighted -	159295.65	S.A.,weighted =	167460.20	S.A.,weighted -	147693.21	S.A.,weighted =	137424.68	3.A.,weighted	153264.46
Bell Ground	#120		1225590.00	0.080	98047 200	0.040	9804 7.200	0 070	85791.300	0.080	98047.200	0.000	0.000	0.100	122559 000	0.090	110303 100
Ball Ground	18	120	11115.00	0.270	3001.320	0 220	2445.520	0.240	2557.840	0.250	2779.000	0.000	0.000	0.350	3890 600	0.290	3223 640
Ball Ground			572.49	0 100	57 249	0.090	51.524	0.100	57.249	0.130	74.424	0.000	0.000	0 150	85 874	0 130	74 424
Ball Ground	1/2*	3/8*	169 17	0.070	11 842	0.060	10.150	0.070	11 842	0 150	25 376	0.000	0.000	0.140	23 694	0 130	21 002
				S.A.,weighted =	194456.94	S.A.,weighted =	223454.21	S.A. weighted =	184433.81	S.A.,weighted =	165452.46	S.A.,weighted +		S.A.,weighted =	171025.89	3.A.,weighted	177536.18
Barin	#120		827577.00	0.100	82757.700	0.090	65206.160	0.070	57930.390	0.090	74481.930	0,110	91033.470	0.110	91033.470	0.090	74481.930
Berin	48	#120	8300.00	0.250	2075 00G	0.220	1826.000	0.240	1992.000	0.240	1992,000	0.340	2822.000	0.340	2822 000	0.290	2407.000
Barin	14	#8	564 79	0.100	55.479	0 090	50,831	0.100	58.479	0.100	56.479	0.230	129,902	0.140	79.071	0 130	73.423
Berin	1/2*	3/8*	161.30	0.120	19.355	0.050	9.678	0.070	11,291	0.160	25.808	0.000	0.000	0.140	22 582	0.130	20.969
•				S.A.,weighted =	148962.34	S.A.,weighted >	151317.04	S.A.,weighted =	124979.50	S.A.,weighted -	129756.30	S.A.,weighted =	139213.78	8.A.,weighted =	128708.39	3.A.,weighted	120286.44
Buford	120		960009.00	0.090	86400.810	0.080	76800.720	0.070	67200.630	0.090	86400.810	0,100	95000.900	0.000	0.000	0.090	85400.810
Butord		120	9170.60	0 250	2292 650	0 220	2017.532	0.240	2200 944	0.240	2200 944	0.350	3209 710	0.000	0.000	0 290	2659 474
Buford		# 8	570 68	0.110	62 775	0.095	51.361	0 100	57.068	0 100	57.068	0.230	131.258	0.000	0.000	0 130	74 188
Butord	1/2"	3/8*	168.85	0.120	20.262	0.060	10 131	0.070	11 820	0.180	30.303	0.000	0.000	0.000	0.000	0.130	21.051
poloro		0/0	100.05	S.A.,weighted =	155748.24	S.A.,weighted =	175288.32	S.A.,weighted =	144730.13	S.A.,weighted =	145392.16	S.A.,weighted =	146090.98	S.A.,weighted =	4.000	3.A.,weighted	139305.91
Candler	#120		958371.00	0.110	105420 810	0.090	75659,680	0.070	67085.970	0.100	95837 100	0 120	115004 520	0 100	95837 100	0.090	86253 390
Candler		120	10805.00	0.230	2485 380	0.220	2377.320	0.240	2593.440	0.230	2485 380	0.330	3565,980	0.350	3782 100	0.290	3133 740
Candler		8 8	580.10	0 110	53 811	0.090	52 209	0 100	58.010	0.120	59 612	0.000	52 200	0 140	R1 214	0.130	75 413
Cender	1/2*	3/8*	196.61	0.100	18 681	0.050	11 197	0.070	13.063	0.070	13.063	0.000	0.000	0.160	20 858	0 1 30	24 259
		0,0	100.01	S.A.,weighted =	196343.02	S.A.,weighted -	175800.90	S.A. weighted =	145313.51	S.A.,weighted =	189240.68	S.A., weighted =	219571.68	S.A.,weighted =	132973.70	3.A.,weighted	139823.13
Cummings	#120		1059591.00	0.090	95363.190	0.090	84767.280	0.070	74171.370	0.090	95363.190	0.000	0.000	0.000	0.000	0.090	95363.190
Cummings	18	120	9129.10	0.260	2373.566	0.220	2008.402	0.240	2190,984	0.290	2647.439	0.000	0.000	0.000	0.000	0.290	2647.439
Cummings	#4		426.47	0.130	55,441	0.090	38.382	0.100	42.547	0.080	34,118	0.000	0.000	0.000	0.000	0,130	55.441
Cummings	1/2*	3/8*	181,45	0.110	19.960	0.060	10.887	0.070	12,702	0,120	21.774	0.000	0.000	0.000	0.000	0,130	23.589
-				S.A.,weighted =	165783.32	S.A.,weighted =	192944.34	S.A.,weighted -	169203.55	S.A.,weighted =	169080.21	8.A.,weighted =	•	S.A.,weighted =	•	3.A.,weighted •	153265.09
Daiton	#120		953017.00	0.080	76241.360	0.090	76241,360	0.070	66711.190	0.070	66711.190	0.000	0.000	0.000	0.000	0.090	85771.530
Dalton		\$120	11090.30	0.260	2883.478	0.220	2439.866	0.240	2661.672	0.2603	2883.478	0.000	0.000	0.000	0.000	0.290	3216.187
Daiton	84	€8	587.69	0.080	47.015	0 0 9 0	52.892	0.100	58,769	0,130	76.400	0.000	0.000	0.000	0.000	0,130	76.400
Datton	1/2*	3/8*	191.69	0.120	23.003	0.060	11.501	0.070	13.418	0.08	15.335	0.000	0.000	0.000	0.000	0.130	24,920
				S.A.,weighted =	146657.14	S.A.,weighted =	174990.27	S.A.,weighted =	144677.19	S.A.,weighted =	129048.89	S.A.,weighted =	•	S.A.,weighted =		3.A.,weighted	139201.62
Dan	#120		1510845.00	0.080	120857.600	0.090	120867.600	0.070	105759.150	0.070	105759.150	0.000	0.000	0.000	0.000	0.090	135978.050
Den	48	#120	7050.00	0.270	1906.200	0.220	1553.200	0.240	1694.400	0.260	1835.600	0.000	0.000	0.000	0.000	0.290	2047.400
Dan	14	#8	587.39	0.130	76.361	0.090	52.865	0.100	58,739	0.140	82.235	0.000	0.000	0.000	0.000	0.130	76.361
Den	1/2*	3/8*	180.44	0.060	10.825	0.050	10.826	0.070	12.631	0.120	21.653	0,000	0.000	0.000	0.000	0.130	23.457
				S.A.,weighted =	227520.35	S.A.,weighted -	272187.78	S.A.,weighted =	224010.25	S.A.,weighted =	182540.06	S.A.,weighted =	•	S.A.,weighted =	•	3.A, weighted +	215817.61
Dixie	120		1882183.00	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.100	188218.300	0.000	0.000	0.090	169395.470
Dine	# B	#120	8248.50	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.350	2886.975	0.009	0.000	0.290	2392,065
D:xie	44	# 8	585.37	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.000	0.130	76.098	0.000	0.000	0.130	75.098
Dixie	1/2*	3/8"	185.40	0.000	0.000	0 000	0.000	0.000	0.000	0.000	0.000	0.100	18.540	0.000	0.000	0.130	24.102
				S.A.,weighted +	•	S.A.,weighted =	•	S.A.,weighted =	•	S.A, weighted =	•	8.A.,weighted =	201175.34	S.A.,weighted =	•	3.A.,weighted -	268576.15
Griffin	#120		1134179.00	0.090	90734.320	0.080	90734.320	0.070	79392.530	0.080	90734.329	0.100	113417.900	0.100	113417.900	0.090	102076.110
Griffin	48	120	9850.50	0.260	2561.130	0.220	2167.110	0.240	2364,120	0.250	2452.825	0.350	3447.675	0.350	3447.875	0.290	2856.645
Griffin		#8	455.64	0.100	45.564	0.090	41 008	0.100	45.564	0.120	54.677	0.190	86.572	0.130	59.233	0.130	59.233
Griffin	1/2*	3/8*	169.39	0.100 S.A.,weighted =	16.939 172685.10	0.060 S.A. weighted -	10.153 206561.34	0.070 S.A.,weighted =	<u>11.857</u> 170445.98	0.140 S.A.,weighted =	23.715 158093.79	0.010 S.A.,weighted =	<u>1.694</u> 179928.99	0.150 S.A.,weighted =	25.409 160205.78	0.130 3.A.,weighted -	22.021 164084.39
K				0.100			116046 300				116046 000	0.000	0.000	0.000	144001 400	0.000	100408 410
Konnessw	49	4120	0060.60	0.100	144931,000	0.000	1005 315	0.070	0178 704	0.080	3367 400	0.000	0.000	0.100	9174 360	0.090	3830 184
Konnesaw		40	432 34	0.200	39.011	0.220	39 044	0.240	49 334	0.200	51 001	0.000	0.000	0.350	R4 061	0.290	58 304
Kernesaw	1/2*	3/0*	4 32.34	0.080	17 255	0.090	35.911	0.100	43.234	0.120	21.001	0.000	0.000	0.100	04.001	0.130	20.204
r.a mesd W	112	3/0	101.11	S.A.,weighted #	267736.85	S.A.,weighted =	262197.71	S.A.,weighted =	216006.46	S.A.,weighted =	22.000	S.A.,weighted =	81998	S.A.,weighted =	194994.81	3.A.,weighted +	208039.59
Lithis Spore	#120		963884.00	0.080	77110 720	0.080	77110 720	0.070	67471 880	0.080	77110 720	0.000	0.000	0.000	0 000	0 090	86749 560
Lithis Springs		120	12245 20	0.270	3306.204	0.220	2893.944	0.240	2038 848	0.250	3051.300	0.000	0.000	0.000	0.000	0.290	3551.109
Lithe Springs	14		681.85	0.130	88 644	0.090	61 369	0.100	68 188	0 120	A1.826	0.000	0 000	0.000	0.000	0 130	88.644
Lithia Springe	1/2*	3/8"	177.38	0.090	15.964	0.070	10 643	0.070	12.417	0.150	26.607	0.000	0.000	0.000	0.000	0.130	23.059
		510		S.A.waphied -	141265.85	S.A. watchter -	177503 72	S.A. weighted -	146856.94	S.A. weighted =	133800.75	S A weighted -	ALMAN.	S.A. wantied =		3.A. weighted -	141259.33
																	_ /

;

.

~

Table 5. Aggregate Surface Area (continued).

			Surface Ares	Base (DOT)		Coarse Base		Fine Base		Binder (DOT)	•	F Mix (DOT)		E Mix (DOT)		Coarse E Mix	
QUARRY	SIZE PASS	SIZE RET	(in 2/(b)	Weight Factor	S.A.W.F.	Weight Factor	S.A.W.F.	Weight Factor	9.A.W.F.	Weight Factor	8.A.W.F.	Weight Factor	8.A.W.F.	Weight Factor	8.A.W.F.	Weight Factor	5.A.W.F.
Lithenie	120		1454224.00	0.080	116337.920	0.080	115337.920	0.070	101795.680	0.080	116337.920	0.000	0.000	0.110	159964 640	0.090	130880.160
Lithonia	# A	120	8838.30	0 270	2386.341	0.220	1944 425	0.240	2121.192	0.250	2209.575	0.000	0.000	0.340	3005 022	0.290	2563 107
t dhona	14	4.8	427 79	0.080	34 223	0.090	38 501	0 100	42 779	0.080	34 223	0.000	0.000	0.120	61 335	0.130	55 819
Littionia	1/2*	3/8*	155.50	0.130	21 228	0.060	9 336	0.070	10 892	0 190	20 584	0,000	0.000	0 150	23 340	0 130	20.228
		0/0	100.00	C A wordblad a	212104.84	S A weighted -	262055.08	9 A weighted -	215805.20	S A watchind -	107895 47	S A wavebted -	<u> <u>v.v.v.</u></u>		228460 47	3.4 wavebbard	20.220
				S.A., weighted #	212104.04	S.A., weighted =	¥0×800.40	3.A.,#@gn@0 =	210605.30	a.r.,weighteo =	19/005.4/	a.A.,weighted =		S.A.,Weighted +	220400.47	3.A., weighted ·	208023.01
Mit View	120	-	1348489.00	0.090	121364.010	0.080	107879.120	0.070	94394.230	0.080	107879.120	0.000	0.000	0.110	148333,790	0.090	121364.010
Mt View	# 8	120	10204.30	0.250	2653.118	0.220	2244.946	0.240	2449.032	0.250	2551.075	0.000	0.000	0.340	3469.462	0.290	2959.247
Mt View	*4	#8	446.40	0.110	49.104	0.090	40.176	0.100	44.640	0.140	62.496	0.000	0.000	0.150	86.980	0.130	58.032
MI View	1/2*	3/8"	172.90	0.090	15.561	0.050	10.374	0.070	12,103	0.090	15.561	0.000	0.000	0.150	25.935	0.130	22.477
				S.A.,weighted =	225603.26	S.A.,weighted =	244832.49	S.A.,weighted =	201975.01	S.A.,weighted =	197336.18	S.A.,weighted =		S.A.,weighted =	202528.20	3.A.,weighted	194380.68
Norman	#1.20		1074599.00	0.080	95067040	0.090	95057.040	0.070	76204 180	0.000	08713 000	0.000	0.000	0.100	108050 580	0.000	
Alexandre		4100	11252.00	0.000	03901.040	0.000	0000 000	0.070	0707.000	0.090	90712.920	0.000	0.000	0.120	20950.500	0.090	90715.920
NUC: OSS		#120	11362.90	0.220	2499.838	0.220	2499.838	0.240	2121.080	0.260	2954.354	0.000	0.000	0.330	3/49.757	0.290	3295.241
Norcrosa			595.85	0.090	53.627	0.090	53.627	0,100	59.585	0.080	47.668	0.000	0.000	0,130	77.461	0.130	//.461
Norcross	1/2-	3/8-	174.97	0.160	27.995	0.050	10.498	0.070	12.248	0.150	25.246	0.000	0.000	0.150	26.246	0.130	22.746
				S.A.,weighted =	150997.27	S.A.weighted =	196735.56	S.A.,weighted =	162541.85	S.A.,weighted =	171967.58	S.A.,weighted =	•	S.A.,weighted =	181923.32	3.A.,weighted •	156419.32
Palmer Sta	#120		763091.00	0.070	53418.370	0.090	61047.280	0.070	53416.370	0.100 3	75309.100	0.000	0.000	0.100	76309.100	0.090	68678.190
Palmer Sta	#8	#120	10417.10	0.280	2916.788	0.220	2291,762	0.240	2500,104	0.230	2395.933	0.000	0.000	0.350	3645.985	0.290	3020.959
Palmer Sta		48	651.87	0.100	65.187	0.090	58,668	0,100	65,187	0,110	71,705	0.000	0.000	0,130	84.743	0.130	84,743
Patmer Sta	1/2*	3/8*	175.86	0.080	14 149	0 060	10.612	0.070	12,380	0.07	12 380	0.000	0.000	0 150	28 529	0 130	22 992
	-			S.A.,weighted .	106438.67	S.A.,weighted +	140907.38	S.A.,weighted =	116654.25	S.A.,weighted =	154468.47	S.A.,weighted =	<u></u>	S.A.,weighted =	109679.94	3.A.,weighted	112198.28
Postell	120		1124548.00	0.090	101209.320	0.080	89963.640	0.070	78718,360	0.080	89963.840	0 000	0.000	0.000	0.000	0.090	101209.320
Postell		120	9424.70	0.280	2450.422	0.225	2073.434	0.240	2261.928	0.250	2356.175	0.000	0.000	0.000	0.000	0.290	2733.163
Postell		• 8	639.19	0.140	89.487	0.090	57.527	0.100	63.91V	0.150	95.879	0.000	0.000	0.000	0.000	0.130	83.095
Postell	1/2*	3/8"	189.89	0.110	20.888	0.060	11.393	0.070	13.292	0.12	22.787	0.000	0.000	0.000	0.000	0.130	24.585
				S.A.,weighted =	172950.19	S.A.,weighted +	204680.43	S.A.,weighted =	168869.79	S.A., weighted =	154064.47	S.A.,weighted =	•	S.A.,weighted =	•	3.A.,weighted	162578.54
Ruby	#120		1020362.00	0.080	81628.960	0.090	81628.960	0.070	71425.340	0.080	81628.980	0.100	102036.200	0.110	112239.820	0.090	91832.580
Ruty	18	#120	9656.60	0.250	2414,150	0.220	2124.452	0.240	2317.584	0 250	2414.150	0.350	3379.810	0.340	3283.244	0.290	2800.414
Fluthy	84	18	591,18	0.100	59.118	0.090	53.206	0.100	59.118	0.100	59.118	0.180	106.412	0.150	88.677	0.130	76.653
Ruby	1/2*	3/8*	167.71	0.050	8.386	0.050	10.063	0.070	11.740	0.150	26.834	0.010	1.6ZZ	0.150	26,934	0.130	21.802
				S.A.,weighted =	175230.44	S.A.,weighted •	186259.29	S.A.,weighted =	153779.71	S.A.,weighted =	142591.63	S.A.,weighted -	164801.41	S.A.,weighted =	152156.02	3.A.,weighted -	148018.20
Stockburdge	120		972610.00	0 100	97261 000	0.040	77808 800	0.070	68082 700	0.090	87534 900	0.000	0.000	0 110	105997 100	0.090	87534 900
Stockbudge	4.8	#120	076240	0.240	2342 076	0.220	2147 729	0.240	2342 074	0.260	2539 224	0.000	0.000	0.340	3310 216	0.290	2831 098
Stockbudge		4.9	500 17	0.1.10	E4 010	0.000	63 116	0.100	50 017	0.140	00 824	0.000	0.000	0.140	82 824	0.120	78 722
Etechtudge		2/01	196.61	0,110	10 661	0.080	11.101	0.100	12.054	0.140	14.024	0.000	0.000	0.140	22.024	0.130	24.244
Brockenage	112	3/8	100.31	2.100 2.8 watchind	191260.00	C.000	177924 00	P A worklad -	146870 21	PA weekted +	159104 18	C.000	0.000	0.140	151353.40	J & weighted -	141364 83
				3.A.,#81gn@d =	181250.08	S.A. Weighted =	177824.08	s.rc,wegnieu =	140070.31	p.vc.weiGungo	(50194.10	a.A.,weignied =		S.A.,weignwa	101203.49	>.w'aeiðuæo .	141334.63
Tyrone	Ø120		1774556.00	0.070	124218.920	0.080	141964.480	0.070	124218.920	0.070	124218.920	0.110	195201.160	0.110	195201.160	0.090	159710.040
Tyrone	#8	#120	7724,70	0.270	2085.669	0.220	1699,434	0.240	1853.928	0.260	2008.422	0.340	2625.398	0.340	2626.398	0.290	2240.163
Tyrona	44	# 8	629.11	0.120	75.493	0.090	56.520	0.100	62.911	0.110	69.202	0.200	125.822	0.130	81.784	0.130	81.784
Tyrone	1/2*	3/8*	156.61	0.090	14.095	0.060	9.397	0.070	10.963	0.170	25.624	0.000	0.000	0.150	23.492	0.130	20.359
				S.A.,weighted =	229807.59	S.A.,weighted =	319399.85	S.A.,weighted =	262805.67	S.A.,weighted =	207087.16	S.A.,weighted =	304543,66	S.A.,weighted =	271140.87	3.A.,weighted +	253208.79
White	#120		1200546.00	0.080	103243 680	0.090	103243 680	0.070	90399 220	0.070	00338.220	0 100	120054 800	0.000	0.000	0.090	118140 140
White	40	#120	13450 70	0.000	3634 110	0.000	2061 124	0.070	20030.220	0.070	3330.220	0.100	4710 805	0.000	0.000	0.000	3003 312
Marke		4.0	5 8 4 0 7	0.270	73 100	0.220	2801.134	0.290	5230.320	0.240	JEJU. J28	0.330	-/10.085	0.000	0.000	0.200	39 330
Martin Car	1.01		304.07	0.130	14.010	0.050	0.041	0.100	50.407	0.120	10.000	0.170	90.092	0.000	0.000	0.130	23.369
44(1)(6	172	3/0	103.08	0.090	19.816	0.000	W.MTI	0.070	11.200	0.110	10.440	0.000		0.000	0.000	0.130	107200 10
				a.m.,weighted =	101009.72	a.A.,weighted -	230145.60	o.a.,weighted =	190076.15	o.m.,waighted «	1/3434.19	5. A., weighted =	£15892.46	a.m.,weighted =	-	2. weduge .	187730.19

.

٠,

in Appendix A were used to measure the length, width, and thickness of aggregate particles from each quarry. Then each particle in a representative sample was categorized as either a rod, blade, disc, or equidiemnsional. A shape classification varying from 1 to 9 was then calculated for each particle using equation (3) which was developed by Kemp [7]:

Shape Class = 10 x [(No. of Rods x 4) + (No. of Blades x 9) +
 (No. of Discs x 9) + (No. of Equid x 1)]/Sum
 of Particles. (3)

Similar to surface area, shape classes were assigned to aggregate size ranges of 1/2 in. to 3/8 in., No. 4 to No. 8, No. 8 to No. 120, and passing the No. 120. To determine a composite shape classification to represent a mix, the four shape class values were weighted according to the aggregate gradations following a similar procedure to that used for surface area and mica content. Shape classification results are given in Table 6. Surface Roughness

Surface roughness values are given in Table 7. The techniques used to measure surface roughness are summarized in Appendix A and described more fully by Sheffield [6]. As used in this study, surface roughness is defined as the true length of a very small segment of the surface profile divided by the length of the best fit line using linear regression analysis. Surface roughness varies from 1.13 for the Dixie quarry to 1.26 for the Kennesaw Quarry. The validity of the use of surface roughness is open to criticism because of the large variation of surface roughness along the surface of a single particle and also within a group of particles from the same quarry. However, the values of surface roughness tabulated in Table 7 should show general trends.

-

-

										,							
														E 14. (1931)		Inc. Course F M	
			Shape	Base (DOT)		Imp. Coarse Base		top Fine Base	8 C 344	Binder (DO1) Wardt Eactor	SC WE	Weight: Factor	S.C. W.F.	Weight Factor	S.C.WE	Weight Eactor	S.C. WI.
CLIMELY	SIZE PASS	SIZE RET	Glassification	Weight Lacia	S.C. W.L.	WHIGHL FACION	5.U. YUL		0 497	0.090	0.568	0 0 0 0	0 639	0 090	0.639	0 0 9 0	0 6 3 9
Athene	120		7.1	0.070	1.998	0 2 2 0	1 629	0 240	1.778	0.250	1 850	0.1460	2 864	0.360	2.664	0.290	2.148
Athens		#8	75	0 080	0 600	0 0 90	0 6 75	0 100	0 750	0 090	0 675	0 180	1.350	0 140	1 050	0.130	0 975
Athens	1/2*	3/8"	60	0.110	0.650	0 060	0.350	0 0 / 0	0.520	0.100	0.600	0 UAU 9 C monoblad a	7.3	SC watchted a	7.1	S.C.,weighted	71
				SC,weighted =	71	S.C .weighted =	72	S.C ,weighted +	1.2	SC, veigneu =	7.1	10., NBQ (81 -		0 0., 1 0 g			
Bet Ground	#120		73	0.090	0.584	0.080	0.584	0 0 70	0.511	0 080	0 584	0 000	0 0 0 0	0.100	0 730	0.090	0.657
Ball Ground		.120	4.6	0 270	1 242	0 220	1 012	0 240	1.104	0 250	1,150	0 000	0 000	0 350	1 155	0.290	1,001
Bell Ground	84		7.7	0.100	0.770	0 090	0 6 9 3	0 100	0.770	0.130	1,001	0 000	0.000	0,140	1.204	0.130	1.118
Bell Ground	1/2*	3/8*	8.6	0.070 5 C weighted a	0.002	0.060 SC wandbled a	6.2	SCweichted =	6 2	S C.,weighted +	5.6	S.C.,weighted =		S C.,weighted +	8.4	S C.,weighted i	6.4
				5 G., WE Bries -	0.2	0.0 , warg 100 -	••	•••••		•					0.716	0.090	0.585
Bern	120		8.5	0.100	0 850	0.080	0 520	0 0 / 0	0.455	0 090	0.585	0 110	1.496	0 140	1 496	0.290	1 276
Barin	8	120	4.4	0.250	1,100	0.220	0.968	0.240	1.056	0 240	0.710	0,230	1.633	0 140	0 994	0.130	0.923
Bern		# B	7.1	0,100	0 /10	0.050	0.639	0.070	0.497	0.160	1.135	0 0 0 0	0.000	0 140	0.994	0.130	0.923
Benn	1/2.	3/8*	<i>/</i> 1	S.C. weighted =	5.8	SC, weighted =	57	S C.,warghted =	5.7	S.C.,weighted =	5.9	S.C. weighter! •	5.7	S.C .weighted =	5.8	3 C .weighted	5.8
				2.0.,+0 g								0,000	0.630	0.000	0 000	0.090	0.477
Bu'ord	#120		» 5.3	0.090	0 4 7 7	0 080	0 4 2 4	0 0 70	0.371	0 090	0 840	0 350	1.225	0 000	0 000	0.290	1.015
Buford	# 8	1120	3.5	0.250	0 875	0 220	0 770	0 240	0 740	0.240	0 740	0 2 10	1.702	0 000	0.000	0,130	0.962
Buford		48		0.110	0.768	0.050	0 384	0 0 70	0.448	0.150	1.152	0.000	0.000	0.000	0.000	0 1 30	0.832
burnia	1/2	310	0.4	S C., weighted -	5.1	S.C. weighted =	50	S C ., weighted *	5.0	S C. weighted =	53	S.C. weighteit +	5.1	S.C.,weighted =	•	S G.,weighted	5.1
									0.6.84	0.100	0 / 20	0.120	0 924	0 100	0 / / 0	6 090	0 693
Cendler	120		7.7	0 110	0 847	0 0 0 0	0 616	0.240	0 864	0 2 10	0.628	0.1.0	1 184	0 150	1 260	C 290	1 044
Cendler		#120	36	0.230	0 990	0 0 90	0 810	0 100	0 900	0 120	1 080	0 090	0.810	0 140	1 260	0.130	1 1 70
Candler	1/2	3/8*	7.6	0.100	9.750	0 060	0.458	0 0 70	9.532	0 0 7 0	0.532	0.000	0.000	0 160	1.210	SC weighted :	6.1
	-			SC,weighted =	8.2	SC,weighted =	59	8.C ,weighted =	59	S.C.,weighted	6.2	S.C., weighted =	3.4	a C., wayney -	0.0	2.0 , rug	
6	** >>			0.090	0.578	0 080	0.512	0.070	0 448	0.090	0.576	0.000	0.000	0 000	0 000	0.090	0.576
Cumminge	18	#120	5.7	0.260	1.482	0 220	1 254	0 240	1.368	0.290	1.653	0.000	0 000	0.000	0 000	0.200	1 0 14
Cumminge		# 8	78	0.130	1.014	0 0 9 0	0.702	0 100	0 780	0 090	0.624	0 000	0.000	0 000	0.000	0 130	1.001
Cumminge	1/2-	3/8*	77	0 110	0.847	0 060	0.462	0 0 70 SC mm shimit m	0.539	SC weighted =	6.5	S.C.,weighterf	0.000	S.C.,weighted =	÷	3 C ,weighted	5 5
				s C , waighted =	0.0	a o tengonen -		4 6 ,55 9 10							0.000	0.000	0 4 7 7
Dalton	#120		53	0.080	0 4 2 4	0 0 10	0 424	0 0 7 0	0.371	0 0 / 0	0.371	0 000	0.000	0 000	0 000	0 290	1.624
Detton	# B	e120	58	0.260	1450	0 220	1 232	0 240	1.344	0 280	1 118	0.000	0.000	0.000	0.000	0.130	1,118
Detton		*8	8.6	0 080	0 488	0.090	0.450	0 070	0.525	0 08	0.600	0 000	0.000	0 000	0.000	0.130	0.975
Detton	114	3/8	1.5	S C., weighted -	6.4	S C .weighted +	5.4	S.C ,weighted -	6.5	S.C.,waighted =	6.6	S.C ,weighted +	•	SC,weighted =	•	3 C. weighted i	
								0.070	0.489	0.020	0 469	0.000	0.000	0 000	0.000	C 090	0.603
Den	#120		67	0 080	1 080	0 220	0 840	0 240	0.960	0 260	1 040 -	0.000	0.000	0.000	0.000	0 5 80	1 160
Den		4.8	81	0.130	1 053	0 090	0 729	0.100	0 810	0.140	1.134	0.000	0 000	0 000	0.000	0.190	1.053
Den	1/2*	3/8*	82	0 060	0.492	0 060	0.492	0.070	0.574	0.120	0.984	0.000	0.000	SC weather a	0.000	3 C. werahted -	6.1
				S.C.,weighted =	5.9	S.C ,weighted =	5.9	S.C.,weighted =	5.9	S.C.,weighted =	0.1	a C , wei ginen -		0.0.,00.0.00			
Divia			77	0.000	0 000	0 000	0 000	0.000	0.000	0.000	0.000	0.100	0.770	0.000	0.000	0.090	0.693
Dixie	08	#120	4.2	0.000	0.000	0.000	0 000	0.000	0 000	0.000	0 000	0.350	1.470	0.000	0.000	0.290	0.949
Diwis		#8	73	0 000	0 000	0 0 0 0	0 000	0.000	0.000	0.000	0.000	0.130	0.490	0.000	0.000	0.130	0.637
Dixie	1/2*	3/8"	4.9	0.000	0.000	0.000	0.000	0.000 SC weighted ⊨	0.000	S.Cwerdhted +		S.C.,weighted =	5.4	S.C.,weighted -	•	3.C ,weighted	5.5
				a.c.,weignied +		SC, eegned -		D.O., waighters -							0.440	0.000	0.812
Gutten	120		6.8	0.080	0.544	0.080	0.544	0.070	0.478	0.090	0.544	0.100	0.690	0,100	1,540	0 290	1.276
Guilin	Ø 8	#120	4.4	0.250	1,144	0.550	0.968	0.240	1 058	0.250	1.100	0, 550	1 691	0.130	1,157	0.130	1.157
Gutten	14		8.9	0.100	0 890	0 090	0.001	0.100	0.385	0.140	0.770	0.010	0.055	0 150	0.825	0 1 30	0.715
Quittin	1/2*	3/8-	55	SC,weighted =	6.8	SC,weightert =	59	S.C.,weighted =	5.8	S.C. weighted -	5.9	S.C.,weighted +	8 1	S.C.,waighted =	5.8	S.C.,warghted	5.9
								0.0.00	0 405	0.080	0 464	0.000	0.000	0.100	0.580	0 090	0.522
Kennesew	120	4100	5.8	0 100	1 125	0 250	1146	0.240	1 272	0 250	1.325	0.000	0 000	0.350	1.855	0 530	1.537
Kanress"			74	0 090	0 566	0 090	0 565	0 100	0.740	0.120	0.888	0 000	0 000	0.150	1.110	0 1 30	0.902
Kennesew	1/2*	3/8*	6.0	0.110	0.660	0 060	0.360	0.070	0.420	0.140	0.840	0 000	0.000	0150 SC warabled -	5.9	S C., weighted	5.9
				S.C.,weighted +	59	S.C ,weighted =	5.9	S.C.,weighted +	59	ts C.,waighted =	6.0	a.o., weignied =		0.0., waighted =			
	#120		5.9	0.080	0 472	0.090	0 4 7 2	0.070	0 413	0.000	0.472	0.000	0.000	0 000	0.000	0 090	0.531
Lithis Springe	18	#120	54	0 270	1.458	0.220	1188	0.240	1,298	0.250	1.350	0 000	0.000	0.000	0.000	0.130	0 910
Lithie Springe	14		7.0	0.130	0 910	0 0 9 0	0 630	0.100	0.700	0 120	1.140	0.000	0.000	0.000	0.000	0.130	0.988
Eithis Springs	1/2-	3/8	7.6	0.090	0.684	0.080 SC weathad -	0.420	SC weighted =	8.1	S C.,weighted -	6.3	S.C. weighted -		S.C ,weighted =	•	3.C.,weighted	8.2
				oriania de la constante de la	~ Z	2 C (2 - 1 3				-					

3

•

-

				Shana	Sem (001)		Into, Coatana Base		hip. Fine Bees		Binder (DOT)		F Mix (DOT)		E Mix (DOT)		Imp. Coarse E Mo	
	-	0176 D400	N 75 D 61	Classification	Weight Eactor	S.C.WE	Weicht Exctor	S.C.WI.	Weight Factor	S.C. W.F.	Weight Factor	S.C. W.F.	Weight Factor	S.C. WE.	Waight Eactor	S.C. WI	Weight Eactor	PLC ML
	CLETTO	SELENSS	akt or i	20	0.080	0 560	0.080	0 560	0.070	0 490	0 080	0.560	0.000	0 0 0 0	0 1 10	0.770	0.090	0.030
	Liboni	4.9	4120		0 270	1,188	0 2 2 0	0.968	0 240	1.056	0 250	1.100	0.000	0 000	0.340	1.495	0.290	1.270
	Littoria			77	0.080	0 515	0 090	0.693	0.100	0.770	0 080	0.616	0.000	0 000	0 120	0.924	0.130	0.729
	Lithonia	1/2	3/8	5.6	0.130	0.728	0 060	0.335	0.070	0.392	0 190	1.054	0 000	0.000	0.150	0.640	0.130	M.429
	(and an a		,,,,	0.0	S C ,weighted =	5.5	S.C ,weighted =	57	S C.,weighted +	58	S.C.,weighted =	5.6	S.C.,weighted -	•	S.C.,weighted •	3.6	S.C. Weighted /	3.4
	Mr. Minner	#1 30		67	0.390	0 603	0 080	0.534	0 070	0.469	0 080	0.536	0.000	0 000	0.110	0.737	6 090	0 60.)
	Mit View		#120	57	0.260	1.482	0 220	1 254	0 240	1.368	0 250	1 425	0 000	0 000	0 340	1 1 3 5	0 120	1 027
	Mt View		18	79	0 110	0 669	0.090	0.711	0 100	0.790	0 140	1 106	0 000	0 000	0 150	0.076	C 130	0.945
	Mit View	1/2	3/8*	8.5	0.390	0.585	0.050	0.390	0.070	0.455	0.090	0.585	0.000	0.000	0 150	W.W EG	2.C. another is	8.4
			0.0		S C ,weighted +	6 4	S.C.,weighted +	1 54	S C.,weighted =	6.4	SC, weighted =	8.5	S.C ,weighted =		B.C., weighted =	0.4	3.6 'seidured :	0.0
				• •			0.000	0 408	0.070	0.434	0.090	0 558	0 000	0 000	0 1 20	0.744	0 090	0.558
	Norcross	#120		6 2	0.080	0.490	0.080	1 364	0.240	1 488	0 260	1.612	0.000	0.000	0.330	2 046	0.280	1 798
	Norcross		120	5.2	0.220	1.364	0 000	0.649	0 100	0 720	0 080	0.576	0 000	0.000	0 130	0 976	0.130	0.936
	Nocross			1.2	0 090	1 344	0.090	0 4 74	0.070	0.553	0.150	1,185	0.000	0.000	0.150	1,185	C 130	1.027
	Norciona	1/2-	3/8-		S.C ,weighted =	6.9	S.C.,weighted +	6.6	S C.,weighted +	6.7	S C.,weighted -	6.0	S.C. weighted	•	S.C.,weighted •	6.7	3.C weighted	6.7
							0.000	0.360	0.070	0.315	0 100	0.450	0 000	0 000	0.100	0.450	0.090	0.405
	Paimer Sta	120		4.5	0.070	0.315	0.000	1 100	0 240	1 200	0 2 30	1 150	0.000	0.000	0 350	1 750	0.290	1.450
	Palmer Sta	18	#120	5.0	0.280	1.400	0 220	0 693	0 100	0 770	0 1 1 0	0.847	0 000	0 000	0.130	1.001	C.130	1,001
	Palmer Sta	14	# 8	1.7	0.100	0 770	0.040	0.035	0.020	0.525	0.07	0.525	0 000	0.000	0 150	1.125	0.130	0.975
	Palmer Sta	1/2	3/8-	7.5	0.0e0 SC,weighted =	5.8	S.C,weighted -	58	S.C.,waighted =	5.9	S.C. weighted -	58	S.C ,weighted +	•	S.C., weighted ~	5.9	SC,weighted	60
											0.000	0 660	0.000	0 000	0 000	0.000	060.0	0 621
	Postell	120		6 9	0.090	0 621	0 080	0.552	0.070	0.481	0.060	1 1 25	0 000	0 000	0.000	0 000	0.290	1.305
	Postell	e e	#120	4.5	0.260	1.170	0.220	0 990	0 240	0.060	0 250	1 275	0.000	0 000	0.000	0 000	0.130	1,105
	Postell			8.5	0.140	1.190	0.090	0.765	0,100	0.850	0150	0.899	0 000	0.000	0.000	0.000	C 130	0.962
	Postell	1/2"	3/8*	7.4	0.110	0.814	0 060	0.444	0.070	2.212	EC marchted a	6.4	SC weighted a		S.C. weighted =	•	3.C ,weighted -	6.2
• •					S C ,weighted =	6.3	S.C.,waighted =		S.C., weighted =	0.1	a.c., weighter -		0.0					0 604
\sim	B. Au	4120			0 080	0 528	0 080	0 528	0.070	0.462	0 000	0.528	0.100	0.660	0 110	0.726	0.090	1.421
+	Huby Batw	4.9	#120	4.9	0.250	1,225	0.220	1 0 7 8	0.240	1 1 78	0.250	1.225	0.350	1.715	0 340	1 000	0 1 20	0.068
	B. Aw		18	7.6	0.100	0.760	0 0 9 0	0.684	0.100	0.760	0.100	0 760	0 180	1 368 1	0.150	1 194	0.130	0.962
	B day	1/2*	3/8*	74	0.050	0.370	0 060	0.444	0.070	0.518	0 160	1.194	0.010	0.074	0.100	1.199	a C marchted	8.2
	7		0.0	,	\$ C.,weighted +	8.0	S C ,weighted =	51	S.C.,weighted +	6,1	8 C.,weighted =	63	SC,weighted -		S.C., weighted =	0.2	JC waynes	
	F				0 100	0.650	0 000	0 520	0 0 70	0.455	0.090	0.585	0 000	0.000	0110	0 /15	0 0 0 0	0 585
	Eterhoride		4120		0.240	1.224	0 240	1 122	0 240	1.224	0.280	1 326	0 000	0.000	0.340	1.7.14	0.290	1.014
	Stackbudge		4.9	7.8	0.110	0.858	0.090	0 702	0 100	0 780	0.140	1.092	0 000	0.000	0.140	1.092	0.130	1.037
	Rushbudge	1/2	3/8	7.9	0.100	0.790	0.080	0.474	0 0 70	0.553	0.08	0.632	0.000	0.000	0 140	1.190	3 C www.choled .	84
	Brockondge		5.0		S C ,weighted -	6.4	S.C .weighted -	6.3	\$ C.,weighted =	6.3	S.C.,weighted -	6.4	SC weighted +	•	S C., weighted +	9.4	2.0- Weith 1993 -	•.~
	1	#120		23	0 0 70	0.511	0 080	0 * #4	0 0 70	0.511	0.070	0.511	0.110	0 801	0 110	0 80 1	0 090	0.657
	Turing		#120	52	0 270	1 404	0 220	1 144	0 240	1.248	0.260	1 352	0, 140	1 768	0 340	5 /60	0.290	0.932
	Turner				0 120	0.768	0 090	0.575	0 100	0 840	0,110	0 704	0.200	1.280	0 1 30	0 8.12	0 130	0 76 3
	Extend	1/2	3/9"	6 1	0.090	0.549	0.060	0.364	0.070	0.427	0 170	1.027	0 000	0.000	0150	<u>V.¥</u> 13	C weighted -	5.0
			5.0	• •	SC, weighted +	59	S.C.,eaightert =	59	SC, weighted -	59	SC,weighted =	5.9	SC weighted -	5.9	SC, weighted =	5.8	3.0	
				13	0.080	0.584	0.080	0 584	0.070	0 511	0 070	0 511	0 100	0 7 30	0 000	0 000	0 090	0.657
	White	49		52	0 270	1.404	0.220	1 144	0.240	1.248	0 240	1 248	0.350	1 950	0.000	0 000	0.290	0.813
	White .		4.4		0 130	0.832	0.090	0.576	0 100	0 640	0.120	0.768	0.170	1.088	0.000	0 000	0,130	1 027
	White	1/2	3/8	7.9	0.090	0.711	0.060	2.474	0.070	0.553	0.110	0.869	0 000	0.000	0.000	0.000	2 C un abted .	8.3
	******	•••			S.C.,weighted -	62	S.C ,weighted +	6 2	S C.,weighted -	6.2	S.C.,weighted =	6.3	SC.,weighteit +	5.9	a.C.,wagnted =	-	3.0.,weighted i	0.0

.

.•

.

Table 7. Aggregate Surface Roughness.

Quarry	Surface
Name	Rough.
Athens	1.18
Ball Gr.	1.15
Barin	1.18
Buford	1.16
Candler	1.22
Cumm.	1.18
Dalton	1.13
Dan	1.16
Dixie	1.13
Griffin	1.18
Kenn.	1.26
Lith. Sp.	1.20
Lithonia	1.17
Mt. View	1.17
Norcros.	1.21
Palm. St.	1.16
Postell	1.17
Ruby	1.21
Stockbrg	1.24
Tyrone	1.18
White	1.14

v

~*

۰.

FREE MICA CONTENT

Free mica content values for each quarry were obtained for four size ranges using the techniques described in Chapter 3. The following U. S. standard sieve size ranges were used: No.16 to No.30, No.30 to No.50, No.50 to No.100 and No.100 to No.200. Weighted mica content values were then calculated for the fine aggregate portion of asphalt mix gradations. The fine aggregate size is defined as all particles passing the No.8 sieve.

To develop weighted free mica contents for the entire fine aggregate size, the mica content for aggregate passing the No.8 sieve and retained on the No.16 sieve was estimated by projecting forward the linear trend existing from the aggregate sizes passing the No.16 and retained on the No.30 sieve. For all quarries, a zero free mica content was estimated for the aggregate size range from the No.8 to the No.16 sieve. The free mica content for the fines (particles passing the No.200 sieve) was arbitrarily assumed to be equal to the mica content for particle sizes passing the No.100 and retained on the No.200 sieve.

Weighted free mica content values were calculated for specific aggregate gradations of the asphalt concrete mixes used in this study. Specifically, the percent of aggregate within each sieve size range is multiplied by the respective mica content. The weighted mica content for each grading is the sum of these products divided by the sum of the percents retained in each size range included. The free mica contents (M_i) for each size range and the weighted mica contents (Mi,w) for each mix are given in Table 8.

MARSHALL MIX DESIGN VARIABLES

The Marshall mix design variables considered in this study as potential indicators of rutting are as follows:

Table 8. Aggregate Free Mica Contents.

						Course Bana		Fine Base		B Binder (DOT)		F Mx (DOT)		E Mx (DOT)		Course E Mix	
			Mica	Base (DOT)		Coarse Dase	14 MAI 6	Weight Factor	M. W.F.	Weight Factor	M. W.E.	Weight Factor	M. W.F.	Weight Factor	M. W.F.	Weight Factor	M. W.F.
QUARRY	SIZE PASS	SIZE REI	Content (%)	Weight Factor	ME. DYLE.	A ARA	9.205	0 0 70	2,984	0.090	3.296	0.090	3.708	0.090	3.708	0.090	3.708
Athens	#100	\$200	41.2	0.070	2.884	0.030	1 1 1 9	0.050	2.238	0.050	2.238	0.070	2.611	0.070	2.611	0.050	1 965
Athens	#50	#100	37.3	0.070	2.011	0.030	1 604	0.070	2 807	0.060	2.408	0.100	4.010	0.080	3.208	0.070	2.807
Athens	#30	# 50	40.1	0.060	2.405	. 0.040	1.000	0.050	0.900	0.070	1,250	0.080	1.440	0.090	1.620	0.080	1.440
Athens	#16	# 30	18.0	0.060	1.080	0.000	0.000	0.090	0.000	0.050	0.000	0,110	0.000	0.120	0.000	0.090	0.000
Athens	* 8	Ø 16	0.0	0.080	0.000	0.090	0.000	the manaphord a	26.8	Mi weighted w	27.9	M., weighted =	26.2	M., weighted -	24.9	M.,weighted =	25.8
				Ma., weighted =	25.4	M., weighted	23.1	Martine Church	20.0								
								0.070	3 744	0.080	3.1.36	0.000	0.000	0.100	3.920	0.090	3 529
Ball Ground	#100	#200	39.2	0.080	3.136	0.090	3.136	0.070	1 506	0.040	1 064	0.000	0.000	0.040	1.064	0.050	1.330
Bali Ground	#50	#100	26.6	0.040	1.084	0.030	0.798	0.030	0.399	0.050	0.285	0.000	0.000	0.060	0.342	0.070	0.399
Bail Ground	\$30	#50	5.7	0.060	0.342	0.040	0.228	0.070	0.054	0.070	0.070	0 000	0.000	0.100	0.100	0.080	0.080
Bail Ground	#15	# 30	1.0	0.080	0.080	0.060	0.050	0.050	0.050	0.070	0.000	0.000	0.000	0.150	0.000	0.090	0.000
Ball Ground	# Ə	#18	0.0	0.090	0.000	0.090	0.000	0.080	0.000	the weighted a	13.8	Ma weighted w	•	Ma., weighted =	12.1	Ma., weighted =	14.0
				Ma., weighted =	1.3.2	M., weighted	14.1	M., weighted #	14.5	Merimengrined -	10.0						
								0.070	1 949	0.000	2 376	0,110	2.904	0.110	2.904	0.090	2.375
Barin	#100	\$200	26.4	0.100	2.640	0.090	2.112	0.070	0.000	0.050	2 2 3 8	0.080	2.984	0.080	2.984	0.050	1.855
Barin	#50	#100	37.3	0.060	2.238	0.030	1.119	0.050	2.230	0.000	2471	0.080	2.824	0.090	3.177	0.070	2.471
Barin	# 30	#50	35.3	0.080	2.824	0.040	1.412	0.070	2.471	0.070	0.500	0.070	0.700	0.070	0.700	0.080	0.900
Barin	#15	#30	10.0	0.050	0.500	0.060	0.600	0.050	0.500	0.050	0.000	0 110	0.000	0,100	0.000	0.090	0.000
Barin	*8	#16	0.0	0.060	0.000	0.090	0.000	0.080	0.000	the wavebted =	23.0	Ma we obted a	20.9	M., weighted -	21.7	Ma., weighted w	19.8
				M., weighted =	23.4	M., weighted =	17.5	M.,weighted =	£1.4	ans., weightero -	20.0	2 2., 4 2				-	
										0.000	2.061	0.100	3,290	0.100	3.290	0.090	2.961
8utord	#100	200	32.9	0.090	2.951	0.080	2.632	0.070	2.303	0.090	1 102	0,100	1 690	0.080	1.352	0.050	0.845
Buford	150	#100	16.9	0.050	1.014	0.030	0.507	0.050	1.014	0.070	0.056	0.040	0.056	0.080	0.112	0.070	0.099
Butord	#30	#50	1.4	0.080	0.084	0.040	0.058	0.070	0.098	0.040	0.000	0.040	0.297	0.050	0.165	0.080	0.254
Buford	#16	# 30	3.3	0.050	0.185	0.050	0.198	0.050	0.165	0.040	0.000	0.120	0.000	0.140	0.000	0.090	0.000
Butord	#8	#16	0.0	0.080	0.000	0.090	0.000	U.U.U	10.8	Ma weighted a	13.1	M. weighted -	11.9	M., weighted	10.9	M.,weighted -	11.0
				Ma. weighted =	12.4	W., weighted -	11.3	we.,weighten -	10.0	mart a subscript of the				•			
								0.070	0.081	0 100	1.230	0.120	1.476	0,100	1.230	0.090	1.107
Candler	#100	€200	12.3	0.110	1.353	0.080	0.984	0.070	0.501	0.050	0.552	0.080	0.736	0.090	0.829	0.050	0.450
Candler	€50	Ø100	9.2	0.070	0,644	0.030	0.276	0.000	0.352	0.040	0.252	0.050	0.315	0.090	0.567	0.070	0.441
Candlet	#30	₹50	6.3	0.070	0.441	0.040	0.252	0.070	0.941	0.040	0.040	0.090	0.090	0.060	0.060	0.080	0.090
Candler	#15	# 30	1.0	0.040	0.040	0.050	0.060	0.050	0.050	0.040	0.000	0.110	0.000	0.110	0.000	0.090	0.030
Candler	# A	#16	0.0	0.050	0.000	0.090	0.000	0.080	0.000	Manual and a	6.3	Ma we obted =	5.8	Ma., weighted =	5.0	M.C.,weighted +	5.5
				Mal, weighted =	7.3	Mi.,weighted =	5.2	wer weighted =	3.0	Marine and an and an	0.0						
								0.070	2 100	0.090	2 700	0.000	0.000	0.100	3.000	0.090	2.700
Cummings	#100	¢200	30.0	0.090	2.700	0.080	2.400	0.070	2.100	0.050	1 720	0.000	0.000	0.060	2.064	0.050	1.720
Cummings	#50	#100	34.4	0.040	1.375	0.030	1.032	0.060	2.004	0.000	1 6 3 0	0 000	0.000	0.090	1.530	0.070	1,190
Cummings	# 30	#50	17.0	0.070	1.190	0.040	0.690	0.070	0.050	0.030	0.350	0.000	0.000	0.090	0.450	0.090	0.400
Cummeds	Ø15	# 30	5.0	0.050	0.250	0.050	0.300	0.050	0.250	0.070	0.000	0.000	0.000	0,110	0.000	0.090	0.000
Cummings	48	#15	0.0	0.100	0.000	0.090	0.000	0.080	2.002	the weighted a	15.5	M weighted a		M. weighted >	15.7	M.C.,weighted +	15.8
,				M., weighted =	15.8	M. weighted =	14.7	Ma., weighted =	17.0	Workweichungen w	10.0	Marian Barres .		,			
										0.070	1 3 3 0	0.000	0.000	0.090	1.520	0 090	1.710
Dalton	#100	#200	19.0	0.080	1.520	0.080	1.520	0.070	1.330	0.070	0.309	0.000	0.000	0.030	0.462	0.050	0.770
Dation	\$50	#100	15.4	0 040	0.616	0.030	0.462	0.060	0.924	0.020	0.027	0.000	0.000	0.050	0.040	0.070	0.047
Datton	#30	#50	0.7	0.050	0.034	0.040	0.027	0.070	0.047	0.040	0.020	0.000	0.000	C.100	0.000	0.080	č.000
Danon	#15	# 30	0.0	0.070	0.000	0.060	0.000	0.050	0.000	0.070	0.000	0 200	0.000	C.180	0.000	0.090	0.000
Datton	# 8	#16	0.0	0.100	0.000	0.090	. 0.000	0.080	0.000	It weighted -	6.2	Ma we obted a	•	M. weighted =	4.5	M.C.,weighter: •	6.5
				Ma.,weighted =	6.4	Mal, weighted =	6.7	Mi, weighted =	7.0	war,weighted -	0.4	aat, weigenes					
								4		0.070	1 666	0 000	0.000	0.110	2.618	0.090	2.142
Dan	#100	#200	23.8	0.080	1.904	0 080	1,904	0.070	1,666	0.070	0.000	0.000	0 000	0.060	1.248	0.050	1.040
Dec	\$50	#100	20.8	0.040	0.832	0.030	0.624	0.050	1.248	0.040	1 340	0.000	0 000	0.090	2.070	0.070	1.610
Den	# 30	#50	23.0	0.050	1.380	0.040	0.920	0 070	1.610	0.050	0.460	0.000	0.000	0.090	0.603	0.080	0.535
Den .	#16	# 30	6.7	0.070	0.469	0.060	0.402	0.050	0.335	0.070	0,409	0.000	n 000	0.100	0.000	0.090	0.000
Dan	18	15	0.0	0.100	0.000	0.090	0.000	0.080	0.000	0.090	12.2	M weighted -	0.010	M weighted =	14.5	M., weighted -	14,0
				M.,weighted #	13.1	M.,weighted =	12.9	Ma.,weighted =	14.7	Ma., weighted =	13.2	Maria Merginieu -		MAIL			
										a aaa	0.000	0.100	0.240	0.090	0.215	0.090	0.216
Divie	Ø100	\$200	2.4	0.000	0.000	0.080	0.192	0.070	0.169	0.000	0.000	0.700	0.055	0.050	0.140	0.050	0 140
Dirie	150	#100	2.8	0.000	0.000	0.030	0.084	0.050	0.188	0.000	0.000	0.020	0.035	0.090	0.045	0.075	0.035
Divie	# 30	050	0.5	0.000	0.000	0.040	0.020	0.070	0.035	0.000	0.000	0.070	0.009	0.070	0.007	0.080	0.008
Dixe	115	# 30	0.1	0.000	0.000	0.000	0.005	0.050	0.005	0.000	0.000	0.170	0.000	0.150	0.000	0.090	0.000
Divie		.16	0.0	0.000	0.000	0.090	0,000	0.080	0.000	0.000	0.000	M wordstad -	0.8	M weighted -	0.9	M.,weighted =	1.1
Uskie	• •			M., weighted =	•	Mi, weighted =	1.0	Ma, weighted =	1.1	Ma, weighted =		W., Weighter -	0.0	and a start of the			
						4				0.000	3 464	0 100	4 330	0.100	4.330	0.090	3.897
Gutter	4166	€200	43.3	0.080	3.454	0.080	3.464	0.070	3.031	0.080	3.404	0.700	1.590	0.050	1.590	0.050	1,590
Gutte	150	100	31.8	0.040	1.272	0.030	0.954	0.060	1.908	0.050	1,590	0.050	1 370	0.070	1.379	0.070	1.379
Gatter	. 35	#50	19.7	0.060	1.182	0.040	0.788	0.070	1.379	0.040	0.798	0.070	0.979	0.100	0.830	0 080	0.664
Gutter	415	4 10	8.9	0.070	0.581	0.060	0.498	0.050	0.415	0.080	0.664	0.100	0.000	0.130	0.000	0.090	0,000
6	• 8	416	0.0	0.090	0.000	0.090	0.000	0.080	0.000	0.080	0.000	0.130	191	M watchted -	18.1	Mi., weighted -	19.9
QUILS			v.v	M., weighted =	19.1	M.,weighted =	19.0	Mi., weighted -=	20.4	M.,weighted =	19.7	Mi.,weighted =	18.1	mart mendanien z	10.1	"""," 	

٣

.

•

Table 8. Aggregate Free Mica Contents (continued).

-

						Course Base		Fine Base		8 Bindar (DOT)		FMx (DOT)		E Mix (DOT)		Coarse E Mix	
			Mica	Base (DOT)		Wardst Easter	14 W F	Weight Factor	44. "W.F.	Weight Factor	M. W.F.	Weight Factor	M. W.E.	Weight Factor	M. W.E.	Weight Factor	M. W.F.
CLIAREY	SIZE PASS	SIZE REI	Content (99	Weight Factor	A FOO	0.090	2 072	0.070	1,813	0.090	2.331	0.000	0.000	0.100	2.590	0.090	2.331
Kennessw	.00	.200	25.9	0.100	2.590	0.030	1 187	0.060	2.334	0.050	1.945	0.000	0.000	0.070	2.723	0.050	1.945
Kennesaw	\$50	100	38.9	0.050	1,943	0.030	0.649	0.070	0.959	0.060	0.822	0.000	0.000	0.080	1.095	0.070	0.959
Kennessw	#30	\$50	13.7	0.060	0.822	0.040	0.130	0.050	0.115	0.060	0,138	0.000	0.000	0.080	0.184	0.080	0.184
Kennesaw	#16	• 30	2.3	0.050	0.113	0.000	0.000	0.080	0.000	0.070	0.000	0.000	0.000	0.120	0.000	0.090	0.000
Kennezaw	• 9	#15	0.0	0.090	0.000	M weighted a	13.1	M.,weighted =	15.8	Mi.,weighted =	15.9	M.,weighted =	•	M.C.,weighted =	14.7	M., weighted =	14.3
				at., veighteta -	10.0										2.944	0.590	2 1 3 3
Lithin Source	#100	#200	23.7	0.080	1.896	0.080	1.895	0.070	1,659	0.080	1.895	0.000	0.000	0.120	1 0 3 0	0.050	1 385
Lithis Spings	450	#100	27.7	0.050	1.385	0.030	0.831	0.060	1.662	0.040	1.108	0.000	0.000	0.070	1.048	0.070	0.017
Line Springe	#30	#50	13.1	0.050	0.786	0.040	0.524	0.070	0.917	0.050	0.786	0.000	0.000	0.000	0.161	0.080	0.184
Lithe Spings	415	# 30	2.3	0.070	0.161	0.060	0.138	0.050	0.115	0.060	0.139	0.000	0.000	0.070	0.101	0.000	0.000
Little Springe	48	#16	0.0	0.090	0.000	0.090	0.000	0.080	0.000	0.090	0.000	0.000	0.000	N.C. marchited =	13 3	Mi weighted a	12.2
Citra opin gr				M., weighted =	12.1	Ma., weighted =	11.3	Ma. weighted =	13.2	M.,weighted =	11.9	M., weighted #		MILU., Walghied H	10.0	and a construction	
					1.840	0.090	1 648	0.070	1.442	0.080	1.648	0.000	0.000	0.110	2.255	0.090	1 854
Littionia	100	\$200	20.0	0.080	1.040	0.030	0.603	0.060	1.206	0.050	1.205	0.000	0.000	0.090	1.809	0.050	1.005
Lithonia	50	100	20.1	0.070	0.435	0.640	0.348	0.070	0.609	0.050	0.435	0.000	0.000	0.070	0.609	0.070	0.609
Littonia	00		0.7	0.050	0.400	0.080	0.102	0.050	0.085	0.060	0.102	0.000	0.000	0.070	0,119	0.080	0,136
Littonia	¢18	# 30	1.7	0.000	0.002	0.000	0.000	0.080	0.000	0.080	0.000	0.000	0.000	0.110	0.000	0.090	0.000
Limonia		#18	0.0	Mi.weighted =	10.3	Mi.,weighted =	9.0	Ma.,weighted =	10.1	Mi.,weighted =	10.3	Ma.,weighted -	•	Ma., weighted =	10.7	Mat, weighted =	8.5
									1.000	0.090	2 245	0.000	0.000	0.110	3.080	0.090	2 520
Mt View	Ø100	#200	28.0	0.090	2.520	0.080	2.240	0.070	1.960	. 0.070	2 310	0.000	0000	0.100	3.300	0.050	1.650
Mit View	#50	#100	33.0	0.070	2.310	0.030	0 990	0.060	1,980	0.070	0.471	0.000	000 0	0 040	0.628	0.070	1.099
Mit View	# 30	\$50	15.7	0.060	0.942	0.040	0.628	0.070	0.115	0.030	0.161	0.000	0.000	0.090	0.207	0.080	0.184
Mit View	#16	# 30	2.3	0.040	0.092	0.060	0.139	0.050	0.115	0.080	0.000	0.000	0.000	0,110	0.000	0.090	0.000
Mit View			0.0	0.090	0.000	0.090	133	Ma weighted =	15.6	Ma.,weichted =	15.7	M., weighted =	•		16.0	Mi., weighted =	14 4
				M., weighted .	16.0	Mart weighted -	10.5								2.240	0.000	2 4 30
		#200	27.0	0 100	2,700	0.080	2.160	0.070	1.890	0.090	2.430	0.000	0 000	0.120	3.240	0.090	1 5 2 5
North Crown	450	#100	30.5	0.060	1.830	0.030	0.915	0.050	1.830	0.050	1,830	0.000	0.000	0.080	2.440	0.030	0.910
Microsom Microsom	430	#50	13.0	0.070	0.910	0.040	0.520	0.070	0.910	0.070	0.910	0.000	0 000	0.090	0.190	0.090	0.240
Noveloes	416	# 30	3.0	0.050	0.150	0.060	0.180	0.050	0.150	0.040	0.120	0.000	0.000	0.060	0.160	0.000	0.000
Noverces		#16	0.0	0.070	0.000	0.090	0.000	0.080	0.000	0.090	0.000	0.000	0.000	the wounded a	15.6	M weighted a	13.4
	• •			My.,weighted =	16.0	M.,weighted =	12.5	Mi.,weighted -	14.5	Ma., weighted =	15,1	Mariantagutagu ∝		Well, weighted =	1510		
				0.070	1 764	0.080	2.015	0.070	1.764	0.100	2.520	0.000	0.000	0.100	2.520	0.090	2.268
Paimer Sta	Ø * 00	200	25.2	0.070	2.162	0.000	0.807	0.050	1.614	0.070	1,883	0.000	0.000	0.100	2.690	0.050	1.345
Paimer Sta	#50	#100	20.9	0.080	2.152	0.050	0.648	0.070	0.959	0.050	0.685	0.000	0.000	0.090	1.233	0.070	0.959
Paimer Sta	# 30	\$ 50	13.7	0.070	0.959	0.040	0.040	0.050	0.185	0.050	0.185	0.000	0.000	0.080	0.295	0.080	0.296
Parmer Sta		0.30	3.7	0.080	0.222	6,000	0.000	0.080	0.000	0.060	0.000	0.000	0.000	0.080	0.000	0 090	0.000
Parner Sta	e 9	16	0.0	Mrweichted =	14.6	Mi.,weighted =	12.0	Mi.,weighted =	13.7	M.,weighted #	16.0	M.,weighted =	•	M.,weighted #	15.0	M.,weighted =	12.8
										0.000	2 0 26	0.000	0.000	0.110	4.037	0.090	3.303
Posteli	#100	\$200	36.7	0.090	3.303	0.080	2.935	0.070	2.504	0.000	2.950	0.000	0.000	0.060	2.340	0.050	1,950
Postell	#50	#100	39.0	0.040	1.550	0.030	1,170	0.050	2.340	0.050	1.9,00	0.000	0.000	0.070	0.183	0.070	0.189
Postell	# 30	#50	2.7	0.050	0.135	0.040	0.108	0.070	0.189	0.040	0.108	0.000	0 000	0.080	0.054	0.080	0.054
Postel	#16	# 30 4	0.7	0.070	0.047	0.060	0.040	0.050	0.034	0.060	0.040	0.000	0.000	0.130	0.000	0.090	0.000
Posteli		115	0.0	0.100	0.000	0.090	0.000	0.090	0.000	0.100	15.2	M weighted #		M., weighted =	14.7	Mi.,weighted =	14.5
				Millweighted -	14,4	M.,weighted =	14.2	Mi.,weighted =	15.6	Mi, Weighted -	13.5	and stand and stand and stand and stand					
-				0.090	4 080	0.080	4.090	0.070	3.570	0.080	4.080	0.100	5.100	0.110	5.610	0.090	4.590
Huby	.00	#200	51.0	0.000	1 440	0.030	1.080	0.060	2.160	0.040	1.440	0 070	2 520	0.060	2.160	0.050	1.800
Huby	#50	100	30.0	0.040	0.315	0.040	0.252	0.070	0.441	0.050	0.315	0.050	0.378	0.050	0 315	0.070	0.441
HUDY	#30	.50	6.3	0.050	0.019	0.050	0.018	0.050	0.015	0.070	0.021	0.100	0.030	0.100	0.030	0.090	0.024
Huby	•16	30	0.3	0.000	0.010	0.090	0.000	0.080	0.000	0.090	0.000	0.120	0.000	0.130	0.000	0.090	0.000
RJCY	• 8	.10	0.0	Man.we⊛nted =	17.7	M.,weighted =	18.1	Mi.,weighted =	18.7	Mi., weighted w	17.7	Mt.,weighted -	17.8	Ma, weighted +	19.0	M., weighted *	18.0
										0.000	1 440	0.000	0 000	0.110	1.760	0.090	1.440
Stockbridge	#100	#200	18.0	Q.100	1.600	0.080	1.280	0.070	0.774	0.080	0.515	0.000	0.000	0 070	0.903	0.050	0 545
Stockbridge	#50	#105	12.9	0.060	0.774	0.030	0.387	0.050	0.774	0.040	0.138	0.000	0 000	0 080	0.184	0.070	0.161
Stockbridge	#30	# 50	2.3	0.050	0.138	0.040	0.092	0.070	0.101	0.050	0.050	0.000	0 000	0.090	0.080	0.080	0.080
Stockbr/dge	.10	# 30	1.0	0.070	0.070	0.050	0.080	0.050	0.000	0.090	0.000	0.000	0.000	0.090	0.000	0.090	0.000
StockLindge	#8	#15	0.0	0.050	0.000	0.090	0.000	Miweichted =	6.4	Mi.,weighted =	6.5	Ma, weighted -	•	Mi. weighted =	6,8	M., weighted =	5,1
				www.weignteo =	1.0	m., weigened	Q. 1						3 200	0.110	3 300	0.090	2.700
Transa	#100	.200	30.0	0.070	2.100	0,080	2.400	0.070	2.100	0.070	2.100	. 0.110	3.300	0.110	3.300	0.050	1.300
Tyrone	150	100	25.0	0.050	1,300	0.030	0.780	0.050	1.560	0.050	1.300	0.180	4 6 6 0	0 050	0.630	0.070	0.630
Terone	130	#50	9.0	0.050	0.450	0.040	0.360	0.070	0.630	0.050	0.450	0.070	0.000	0.070	0.320	0.080	0.320
Truce	115	# 30	4.0	0.080	0.320	0.060	0.240	0.050	0.200	0.080	0.320	0.080	0.020	0.110	0.000	0.090	0.000
Twrone	. 8	#16	G.0	0.090	0.000	0.090	0.000	0.080	0.000	0.080	0.000	U.UWU	16.8	Mi. weighted =	14.1	Ma., weighted =	13.0
11.00				Ma, weighted =	12.3	Me., weighted =	12.6	Ma.,weighted =	13.6	Mi., weighted w	12.0	wi,,weignad *	10.0	antenginen -			

.

•

	Table 8.	Aggregate	Free	Mica	Contents	(continued)).
--	----------	-----------	------	------	----------	-------------	----

Table 8.					ole 8.	Aggre	egate Fr	ee Mi	ica Cont	ents	(conti	nued)					-	
AFRY SIZ hte si hte r hte hte hte	ZE PASS #100 #50 #30 #16 #3	SZE RET # 200 # 100 # 50 # 30 # 16	Mica Content (%) 4.9 3.5 0.0 0.0 0.0 0.0	Base (DOT) Weight Factor 0.080 0.030 0.040 0.070 0.130 M.C., weighted =	<u>M. W.F.</u> 0.384 0.105 0.000 0.000 <u>0.000</u> 1.4	Coarse Base <u>Weight Factor</u> 0.080 0.030 0.040 0.060 0.090 M.C.,weighted =	4. W.F. 0.384 0.105 0.000 0.000 0.000 0.000 1.6	Fine Base <u>Weight Factor</u> 0.070 0.060 0.070 0.050 0.090 M.C.,weighted -	M . W.F. 0.336 0.210 0.000 0.000 0.000 1.7	B Binder (DOT) <u>Weight Factor</u> 0.070 0.030 0.040 0.070 0.120 M.C.,weighted =	M. W.F. 0.336 0.105 0.000 0.000 0.000 1.3	F Max (DOT) <u>Weight Factor</u> 0.100 0.030 0.050 0.180 M C.,weighted =	M. W.F. 0.490 0.105 0.000 0.000 1.3	E Mx (DOT) <u>Weight Factor</u> 0.120 0.070 0.060 0.090 0.110 M.C. weighted =	M. W.F. 0.578 0.245 0.000 0.000 0.000 0.000 1.8	Coarse E Max Weight Factor 0.930 0.050 0.070 0.080 0.080 Mt.C.,waighted =	M. TV.F. 0.432 0.175 0.000 0.000 0.000 1.6	

.

δ

.

. • · · · ·

;

- 1. Asphalt content (percent)
- 2. Air Voids (percent)
- 3. Mix Density (pcf)
- 4. Voids in Mineral Aggregate (VMA percent)
- 5. Marshall Stability (lbs).
- 6. Marshall Flow

Values for these asphalt mix design variables were taken from the Georgia Department of Transportation mix design data sheets for the 21 quarries. Conventional Georgia DOT mixes studied were as follows: base, B binder, surface E, and surface F mixes. In addition, the following rut resistant mixes, developed as a part of this study, were also considered: coarse and fine base mix, and Coarse E mix. The proposed rut resistant binder mix was essentially the same as the conventional Georgia DOT base mix. Therefore the conventional Georgia DOT base mix was compared with the conventional B binder mix. For the optimum asphalt content of the specimen, as determined from the Marshall mix designs, linear interpolation from the mix design was used to obtain percent air voids, mix density, voids in the mineral aggregate (VMA), stability, and flow. These mix design variables, in addition to aggregate gradation, uniformity coefficient (C_u) , and bulk specific gravity of the fine aggregate are all given in Tables 9 through 15.

INDIRECT TENSION TEST RESULTS

Indirect tension tests were performed on selected asphalt concrete mixes in accordance with ASTM D4123-82 (1987). The tests were performed on 4 in. diameter by 2.5 in. thick Marshall samples prepared by the Georgia D.O.T. Resilient modulus tests were only performed at 80°F. Testing

Table 9.	Marshall	Mix	Design	Variables	for	DOT	Base	Mix -
----------	----------	-----	--------	-----------	-----	-----	------	-------

Quarry Name	% Asp.	Air V. (\mathcal{G})	Y (nof)	VMA (%)	Bulk	Cu	Stab.	Flow
Athens	4.9	4.30	150.4	15.74	2.68	66.7	2552	11.64
Ball Gr.	4.8	4.32	151.8	15.60	2.75	50.0	2922	11.36
Barin	4.7	4.64	149.4	15.62	2.67	66.7	2324	12.18
Buford	4.9	4.54	146.2	15.68	2.61	76.5	2880	9.80
Candler	4.7	4.48	145.9	15.16	2.61	79.8	2716	9.80
Cumm.	4.8	4.36	148.8	15.60	2.80	50.0	2592	11.10
Dalton	4.5	4.40	152.1	15.10	2.68	46.9	2490	11.60
Dan	4.5	4.80	147.3	15.10	2.64	37.8	2580	9.30
Dixie	*	*	*	*	*	*	2872	11.74
Griffin	5.0	4.50	148.	16.00	2.65	43.8	3230	13.00
Kenn.	4.7	4.54	153.9	15.82	2.78	68.3	2926	10.54
Lith. Sp.	4.9	4.28	146.1	15.22	2.61	39.1	2940	11.08
Lithonia	4.4	3.04	148.5	14.28	2.61	55.7	3384	9.70
Mt. View	4.7	4.44	148.3	15.22	2.66	58.3	3122	10.56
Norcros.	4.7	4.64	152.0	15.76	2.69	80.0	2374	11.30
Palm. St.	4.7	4.48	149.2	15.50	2.65	43.8	2862	10.58
Postell	4.7	4.28	150.2	15.20	2.63	42.5	2776	10.96
Ruby	4.5	4.50	151.2	15.00	2.73	47.5	2350	13.30
Stockbrg	4.9	4.34	145.9	15.38	2.61	56.5	2688	9.50
Tyrone	4.8	4.46	147.7	15.44	2.64	38.9	3234	12.72
White	4.0	4.20	152.7	13.70	2.71	25.7	2550	13.44

Note: % Asp. Cont. = percent of asphalt in mix Air V. (%) = total air voids in mix γ (pcf) = mix density in pounds per cubic foot VMA (%) = percent voids in mineral aggregate Bulk S.G. = bulk specific gravity of fine aggregate C_u = coefficient of uniformity Stab. = stability in pounds

Quarry Name	% Asp. Con.	Air V. $(\%)$	Y (ncf)	VMA	Bulk S.G.	Cu	Stab. (lhs)	Flow
Athens	5.0	4 50	140.0	16.10	2.68	833	2660	11 10
Ball Gr.	4.5	3.10	155.8	13.90	2.75	83.3	3030	12.20
Barin	3.9	4.30	149.9	13.60	2.67	83.3	2560	11.30
Buford	4.4	4.58	148.1	14.72	2.61	83.3	1942	9.94
Candler	4.3	4.52	146.8	14.30	2.61	83.3	*	*
Cumm.	4.6	6.30	150.8	15.94	2.80	83.3	2150	9.70
Dalton	3.7	4.32	153.4	13.10	2.68	83.3	2340	11.52
Dan_	4.7	4.64	147.7	15.36	2.64	83.3	2240	11.30
Dixie	*	*	*	*.	*	*	*	*
Griffin	4.7	6.20	146.6	15.78	2.65	83.3	2850	12.00
Kenn.	4.8	5.66	152.1	17.00	2.78	83.3	2740	10.62
Lith. Sp.	3.7	5.10	146.8	14.20	2.61	83.3	2426	10.18
Lithonia	4.2	4.68	147.7	14.62	2.61	83.3	3332	9.22
Mt. View	4.2	4.42	149.7	14.20	2.66	83.3	2560	10.58
Norcros.	4.1	4.52	151.2	14.18	2.69	83.3	3244	10.40
Palm. St.	4.4	4.66	149.0	14.90	2.65	83.3	2954	11.78
Postell	4.3	4.84	152.5	15.02	2.63	83.3	2764	10.50
Ruby	4.3	4.44	152.6	14.62	2.73	83.3	2638	10.12
Stockbrg	4.1	4.38	147.5	15.26	2.61	83.3	3686	10.84
Tyrone	4.6	4.58	148.5	15.28	2.64	83.3	2870	10.70
White	3.8	3.70	153.1	13.20	2.71	83.3	3080	14.00

Table 10. Marshall Mix Design Variables for Improved Coarse Base Mix.

Note:

% Asp. Cont. = percent of asphalt in mix Air V. (%) = total air voids in mix γ (pcf) = mix density in pounds per cubic foot VMA (%) = percent voids in mineral aggregate Bulk S.G. = bulk specific gravity of fine aggregate C_u = coefficient of uniformity Stab. = stability in pounds

۰.

			and the second sec					
Quarry	% Asp.	Air V.	Ŷ	VMA	Bulk	Cu	Stab.	Flow
Name	Con.	(%)	(pcf)	(%)	S.G.		(1bs)	
Athens	*	*	*	*	2.68	75	*	*
Ball Gr.	*	*	*	*	2.75	75	*	*
Barin	*	*	*	*	2.67	75	3182	10.00
Buford	*	*	*	*	2.61	75	*	*
Candler	*	*	*	*	2.61	75	*	*
Cumm.	*	*	*	*	2.80	75	*	*
Dalton	*	*	*	*	2.68	75	*	*
Dan	*	*	*	*	2.64	75	*	*
Dixie	*	*	*	* 5.5	*	*	*	*
Griffin	*	*	*	*	2.65	75	*	*
Kenn.	3.8	5.40	154.3	14.90	2.78	75	3090	9.70
Lith. Sp.	*	*	*	*	2.61	75	*	*
Lithonia	4.1	4.90	148.2	13.92	2.61	75	*	*
Mt. View	*	*	*	*	2.66	75	*	*
Norcros.	4.1	4.28	152.0	14.18	2.69	75	* 1	*
Palm. St.	*	*	*	*	2.65	75	3320	11.00
Postell	*	*	*	*	2.63	75	*	*
Ruby	*	*	*	*	2.73	75	*	*
Stockbrg	*	*	*	*	2.61	75	*	*
Tyrone	*	*	*	*	2.64	75	*	*
White	3.7	4.06	153.4	12.88	2.71	75	3026	13.06

Table 11. Marshall Mix Design Variables for Improved Fine Base Mix.

Note:

% Asp. Cont. = percent of asphalt in mix Air V. (%) = total air voids in mix γ (pcf) = mix density in pounds per cubic foot VMA (%) = percent voids in mineral aggregate Bulk S.G. = bulk specific gravity of fine aggregate C_u = coefficient of uniformity Stab. = stability in pounds

Quarry	% Asp.	Air V.	Ŷ	VMA	Bulk	Cu	Stab.	Flow
Name	Con.	(%)	(pcf)	(%)	S.G.		(1bs)	
Athens	5.5	4.80	148.2	17.50	2.68	33.3	2960	12.10
Ball Gr.	4.7	4.14	152.5	15.34	2.76	43.8	2760	13.52
Barin	4.9	*	149.4	*	2.67	53.8	*	*
Buford	5.5	4.70	145.0	17.00	2.61	53.8	2460	10.80
Candler	5.1	4.62	144.6	16.06	2.61	56.8	2924	10.50
Cumm.	5.2	4.44	147.9	16.46	2.80	41.7	3346	<u>1</u> 1.58
Dalton	4.5	4.20	151.3	14.80	2.68	39.1	2050	11.30
Dan	5.0	4.70	147.0	16.10	2.64	32.0	2180	10.40
Dixie	*	*	*	*	* .	*	*	*
Griffin	5.2	4.88	146.8	16.66	2.65	37.5	2896	11.78
Kenn.	4.8	*	151.3	*	2.78	62.5	• *	*
Lith. Sp.	5.2	4.28	145.4	15.96	2.61	44.6	2736	12.22
Lithonia	4.9	4.26	146.5	15.34	2.61	50.0	2844	10.56
Mt. View	5.0	4.60	147.4	16.30	2.66	32.0	2800	10.80
Norcros.	4.7	4.18	151.6	15.36	2.69	58.3	2988	11.78
Palm. St.	4.6	3.04	148.5	14.90	2.65	58.3	2966	9.94
Postell	4.9	4.38	148.7	15.72	2.63	33.8	2718	12.82
Ruby	5.0	4.70	149.0	16.50	2.73	38.9	2300	10.60
Stockbrg	5.2	4.78	145.5	16.46	2.61	50.7	2302	10.88
Tyrone	5.0	4.50	146.9	15.90	2.64	35.0	2690	10.20
White	4.0	4.50	152.1	13.90	2.71	21.2	2900	11.50

Table 12. Marshall Mix Design Variables for DOT Binder Mix .

Note:

% Asp. Cont. = percent of asphalt in mix Air V. (%) = total air voids in mix γ (pcf) = mix density in pounds per cubic foot VMA (%) = percent voids in mineral aggregate Bulk S.G. = bulk specific gravity of fine aggregate C_u = coefficient of uniformity Stab. = stability

۰.

Quarry	% Asp.	Air V.	Ŷ	VMA	Bulk	Cu	Stab.	Flow
Name	Con.	(%)	(pcf)	(%)	S.G.	_	(1bs)	
Athens	*	*	*	*	2.68	*	2216	13.30
Ball Gr.	*	*	*	*	2.75	*	*	*
Barin	5.7	*	149.4	*	2.67	25.0	*	*
Buford	*	*	*	*	2.61	*	*	*
Candler	*	*	*	*	2.61	*	2780	9.70
Cumm.	*	*	*	*	2.80	*	*	*
Dalton	*	*	*	*	2.68	*	*	*
Dan	*	*	*	*	2.64	*	*	*
Dixie	5.0	129.1	21.0	2.57	5.00	31.6	1950	13.70
Griffin	*	*	*	*	2.71	35.0	*	*
Kenn.	*	*	*	*	2.78	*	*	*
Lith. Sp.	*	*	*	*	2.61	٠	*	*
Lithonia	*	*	*	*	2.61	*	*	*
Mt. View	*	*	*	*	2.66	*	* -	*
Norcros.	*	*	*	*	2.69	*	*	*
Palm. St.	*	*	*	*	2.65	*	2666	10.74
Postell	*	*	*	*	2.63	*	*	*
Ruby	*	*	*	*	2.73	*	2200	11.70
Stockbrg	*	*	*	*	2.61	*	*	*
Tyrone	*	*	*	*	2.64	*	2300	9.88
White	*	*	*	*	2.71	*	2470	12.50

Table 13. Marshall Mix Design Variables for DOT F Mix.

Note:

% Asp. Cont. = percent of asphalt in mix Air V. (%) = total air voids in mix γ (pcf) = mix density in pounds per cubic foot VMA (%) = percent voids in mineral aggregate Bulk S.G. = bulk specific gravity of fine aggregate C_u = coefficient of uniformity Stab. = stability in pounds

۰.

Quarry	% Asp.	Air V.	γ	VMA	Bulk	Cu	Stab.	Flow
Name	Con.	(%)	(pcf)	(%)	S.G.		(1bs)	
Athens	*	*	*	*	2.68	*	2294	12.40
Ball Gr.	5.3	3.1	152.62	16.98	2.75	33.3	2856	10.54
Barin	5.4	*	148.60	*	2.67	33.3	*	*
Buford	*	*	*	*	2.61	*	2196	12.16
Candler	*	*	*	*	2.61	*	3152	9.80
Cumm.	*	*	*	*	2.80	*	*	*
Dalton	*	. *	* .	*	2.68	*	*	*
Dan	*	*	*	*	2.64	*	*	*
Dixie	*	*	*	* ,	*	*	2106	10.60
Griffin	*	*	*	*	2.65	*	2460	12.00
Kenn.	3.8	5.4	154.30	14.90	2.78	31.7	3294	13.60
Lith. Sp.	*	*	*	*	2.61	*	2770	9.00
Lithonia	4.1	4.9	148.20	13.92	2.61	38.2	2892	9.24
Mt. View	*	*	*	*	2.66	*	3020	11.18
Norcros.	5.5	4.6	150.10	17.40	2.69	44.4	2810	10.70
Palm. St.	5.5	4.2	148.10	17.00	2.65	33.3	2750	10.10
Postell	*	*	*	*	2.63	*	2760	10.48
Ruby	*	*	*	*	2.73	*	2642	9.74
Stockbrg	5.5	4.0	145.60	16.50	2.61	20.7	3000	10.30
Tyrone	*	*	*	*	2.64	*	2510	10.20
White	3.7	6.3	149.50	16.80	2.71	31.7	2940	10.58

Table 14. Marshall Mix Design Variables for DOT E Mix.

Notes:

٠,

% Asp. Cont. = percent of asphalt in mix Air V. (%) = total air voids in mix γ (pcf) = mix density in pounds per cubic foot VMA (%) = percent voids in mineral aggregate Bulk S.G. = bulk specific gravity C_u = coefficient of uniformity Stab. = stability in pounds

Quarry Name	% Asp. Con.	Air V. (%)	γ (pcf)	VMA (%)	Bulk S.G.	Cu	Stab. (1bs)	Flow
Athens	*	*	*	*	2.68	*	*	*
Ball Gr	*	*	*	*	2.75	*	*	*
Barin	*	*	*	*	2.67	*	*	*
Buford	*	*	*	*	2.61	*	*	*
Candler	*	*	*	*	2.61	*	*	*
Cummin	*	*	*	*	2.58	*	*	*
g		<u> </u>						
Dalton	*	*	*	*	2.68	*	*	*
Dan	*	*	*	* '	2.64	*	*	*
Dixie	*	*	*	*	*	*	*	*
Griffin	*	*	*	*	2.65	*	e ² , *	*
Kenn,	4.8	4.04	155.04	15.60	2.78	38.4	3102	12.18
Lithia S	*	*	*	*	2.61	*	*.	*
Lithonia	5.0	4.60	145.80	15.90	2.61	38.4	*	*
Mt View	*	*	*	*	2.66	*	*	*
Noteross	4.7	4.46	150.30	15.54	2.69	38.4	2810	10.00
Palmer S	5.2	4.50	148.00	16.80	2.65	38.4	2598	9.58
Postell	*	*	*	*	2.63	*	*	*
Ruby	*	*	*	*	2.73	*	*	*
Stockbrg	4.4	4.44	148.20	14.58	2.61	38.4	3440	10.70
Tyrone	*	*	*	*	2.64	*	*	*
White	3.7	4,10	153.82	12.98	2.71	38.4	3910	11.58

Table 15. Marshall Mix Design Variables for Improved Coarse E Mix.

Notes:

% Asp. Cont. = percent of asphalt in mix Air V. (%) = total air voids in mix γ (pcf) = mix density in pounds per cubic foot VMA (%) = percent voids in mineral aggregate Bulk S.G. = bulk specific gravity of fine aggregate C_u = coefficient of uniformity Stab. = stability in pounds procedures and equipment used are described in detail elsewhere [8,10]. Resilient modulus test results are given in Table 16.

LABORATORY INDEX DENSITY

Introduction

The objective of the laboratory index density testing program was to define an optimum gradation, as determined by maximum density, that could be used in an asphalt concrete mix. Index density tests were performed by Ismail [12] on selected aggregate gradations which bound those that might be used for surface E and base asphalt concrete mix designs. Aggregate from 8 selected quarries were studied. Asphalt cement was not added to the dry aggregate used in establishing the index density.

The aggregate maximum densities for the two type mixes studied were evaluated for (1) the conventional Georgia DOT power curve gradation, and (2) the Georgia Tech interpretation of the power curve gradations. Talbot n-values of 0.35, 0.40, 0.45, 0.50, and 0.55 were used in the study.

Talbot Equation For Optimum Gradation

The Georgia Tech gradations used were calculated from the Talbot power curve equation

 $P = 100 (d/D)^n$ (4)

where

P = percent passing a given sieve size
d = the equivalent sieve opening size which P passes
D = maximum aggregate size in the gradation as defined
by equivalent size opening for which 100 percent of
the material passes

Note that the definition of the maximum aggregate diameter D used in equation (4) is the equivalent size for which all of the material passes.

Quarry Name	DOT Base Mix	Imp Crs Base Mix	Imp Fine Base Mix	DOT Bin Mix	DOT F Mix	DOT E Mix	Imp Crs E Mix
Athens	*	341121	*	*	*	*	*
Ball Gr.	*	688892	*	*	*	*	*
Barin	426111	458381	482172	402162	508278	524867	418066
Buford	*	400186	*	*	*	*	*
Candler	*	*	*	*	*	*	*
Cumm.	*	335413	*	*	*	*	*
Dalton	*	463624	*	*	*	*	*
Dan	Dan * 158811		* *		*	*	*
Dixie	*	*	*	*	453625	*	*
Griffin	*	440918	*	*	*	*	*
Kenn.	472684	384747	261701	251869	*	416253	*
· Lith. Sp.	*	307134	*	*	*	• ³	*
Lithonia	*	364984	438538	*	*	* .	*
Mt. View	*	346642	*	*	*	, *	*
Norcros.	*	441825	151846	*	*	*	356137
Palm. St.	*	274306	*	*	*	*	555696
Postell	*	519767	*	*	*	*	*
Ruby	*	443724	*	*	*.	*	*
Stockbrg	357513	223863	*	*	*	325054	439147
Tyrone	*	378344	*	*	*	*	*
White -	777364	336078	602431	685078	698719	*	682794

Table 16. Summary of Resilient Moduli Test Results.

.

٠,

This definition appears to be in agreement with that used in early work involving the development of the Talbot optimum density concept. The Georgia Department of Transportation apparently uses the next smaller sieve size opening (the nominal sieve size) than the maximum sieve size to define D. This definition gives a slightly finer gradation curve than when the 100 percent passing sieve size is used in equation (4).

The Talbot equation was developed to give a maximum density for a specific top size of aggregate. Although an n-value of 0.45 is frequently used in practice, past experience has shown that the optimum value of n is not a constant but depends upon the aggregate characteristics and also other factors such as method of compaction.

Test Results

The index density test results, which are based on unbound density of dry aggregate, indicate the following:

- E Mix Index Density. For the E mix gradations, the optimum density was usually achieved at a Talbot n- value of 0.4 or even 0.35 (Table 17 and Figure 3). Only 1 of the 8 sources (Kennesaw) exhibited the highest density at a Talbot gradation corresponding to n=0.45. For two other sources (Barin and Norcross), density for practical purposes was essentially constant for n-values between about 0.4 and 0.5.
- 2. <u>Base Mix Index Density</u>. For the 7 base mixes studied, maximum dry index density was achieved at either a gradation corresponding to Talbot's n = 0.4 (5 aggregate sources) or n = 0.45 for two aggregate sources. (Table 18 and Figure 4). For one source little difference was observed in density between n = 0.4 and n = 0.5 gradations. Thus the

.

Γ		Summary	of Index Density	y Test Resu	ilts for E-M	ix			
Γ									
Γ	MATERIAL SOURCE	TYPE	DESIGNATION			INDEX DE	NSITY (lb/cf))	
Γ					GT	GT Power Gradation			DOT Power
Γ				n = 0.35	n = 0.40	n = 0.45	n = 0.50	n = 0.55	
	Florida Rock Industries								
1	Mount View, Ga.	Granite Gneiss	#015		135.52	132.53	130.77		132.69
	Palmer Station, Ga.	Granite Gneiss	#017		135.88	134.46	134.10		131.73
2	Southern Aggregates								
	Postell,Ga.	Granite Gneiss	#028	134.20	131.56	127.81	128.65		127.78
3	Vulcan Materials							•	
	Barin, Ga.	Granite Gneiss	#044		132.54	132.42	132.51		132.61
	Kennesaw, Ga.	Granite Gneiss	#046		138.49	139.38	134.31		
	Lithia Springa, Ga.	Granite Gneiss	#047		135.60	129.53	129.14	126.15	129.23
	Norcross, Ga.	Granite Gneiss	#048		137.93	137.71	137.52		134.29
4	Stoneman								
	White, Ga.	Limestone	#067	140.60	139.16	135.93			134.28
			ľ						

• •

۶ · ·

÷



Figure 3. Index Density as a Function of n for Georgia Tech Power - E Mix Gradation: (After Ismail, Ref. 12).



Figure 4. Comparison of n as a Function of Index Density for Base Mix: (After Ismail, Ref. 12).

Γ	Summary								
	· ·		·						
	MATERIAL SOURCE	TYPE	DESIGNATION	•	INDEX DE	NSITY (lb/c	TTY (lb/cf)		
			·	GT	Power Gradat	ion	DOT Power		
				n = 0.40	n = 0.45	n = 0.50			
1	Florida Rock Industries								
	Mount View, Ga.	Granite Gneiss	#015	133.30	133.92	128.43	133.57		
	Palmer Station, Ga.	Granite Gneiss	#017	135.76	134.68	132.00	136.42		
2	Southern Aggregates								
	Postell,Ga.	Granite Gneiss	#028	135.24	133.67	127.97	132.91		
3	Vulcan Materials								
	Barin, Ga.	Granite Gneiss	#044	134.11	135.39	130.27	135.82		
	Lithia Springa, Ga.	Granite Gneiss	#047	133.43	131.11	127.59	130.40		
	Norcross, Ga.	Granite Gneiss	#048	136.42	132.49	130.71	135.72		
<u>4</u>	Stoneman								
	White, Ga.	Limestone	#067	140.24	137.48	134.07	137.96		
					1				

.

Table 18. Summary of Index Density Test Results for Base Mix Gradations (After Ismail, Ref. 12).

(

optimum gradation, based on dry index density, was in general obtained using similar n-values for both the E and base mixes.

3. Usually the index density obtained from the Georgia DOT power curve gradation (n = 0.45) was lower than the maximum index density obtained for the range of n-values studied. This statement was true for all the 8 sources investigated using the E mix except Barin. The Barin quarry E mix aggregate had about the same maximum density for the conventional DOT power curve gradation as compared to that for an n value between about 0.4 and 0.5. For the 7 base mix sources studied, the densities from the Georgia DOT power curve gradation were close for Barin and Norcross and slightly lower for Mt. View and Palmer Station.

These results indicate maximum unbound, dry density is generally achieved for a top size aggregate representative of an E mix at a finer gradation than that presently used by the Georgia DOT. For the maximum top size studied corresponding to a base mix gradation, maximum index density was achieved for a gradation only slightly finer or equal to that currently used by the Georgia DOT. These results also suggest that on the average the larger top size base material has a higher dry density for a slightly coarser gradation, as defined by n-value, than for the smaller top size E mix. Gradations used in the index density study are given in Table 19. Index Density Test Procedure

The index density was obtained by shaking a standard 6 in. diameter aluminum mold filled with material having the desired gradation. This material was vibrated for 8 minutes on an electro-magnetically driven

		E-MIX						BASE-MIX					
SIEVE SIZE	GT POWER n					DOT POWER	GT POWER n				DOT POWER		
	0.35	0.40	0.45	0.50	0.55		0.35	0.40	0.45	0.50	0.35		
% Passing 1.5" Sieve	100	100	100	100	100	100	100	100	100	100	100	100	
% Passing 1" Sieve	100	100	100	100	100	100	87	85	83	82	80	98	
% Passing 3/4" Sieve	100	100	100	100	100	100	78	76	73	71	68	86	
% Passing 1/2" Sieve	87	85	83	82	80	99	68	64	61	58	55	73	
%Passing 3/8" Sieve	78	76	73	71	68	84	62	57	54	50	45	64	
% Passing No. 4 Sieve	62	57	54	50	47	61	48	44	39	35	32	44	
% Passing No. 8 Sieve	48	44	39	35	32	45	38	33	29	25	22	34	
% Passing No. 16 Sieve							30	25	21	18	15	26	
% Passing No. 30 Sieve							23	19	15	12	10	20	
% Passing No. 50 Sieve	23	19	15	13	10	16	18	14	11	9	7	14	
% Passing No. 100 Sieve							14	11	8	6	5	9	
% Passing No. 200 Sieve	14	11	8	6	5	6	11	8	6	4	3	5	

Table 19. Aggregate Gradations Used for E and Base Index Density Tests (After Ismail, Ref. 12).

-* •

shaking table. The shaking table used was a Syntron Vibrating Table, (Model VP861) driven by a Syntron Vibra-Flow Vibrator (Model V86B1). The index density test was performed in accordance with ASTM Test Method D4253-83. A schematic of the apparatus used to obtain the index density is shown in Figure 5.

The shaker vertically vibrates the mold assembly, which was fixed to the vibrating table, at an average double amplitude (peak to peak displacement) of 0.013in. (+/- 0.002 in.) at a frequency of 60 Hz. or 0.019 in. (+/-0.003 in.) at 50 Hz. The vibrating table was carefully calibrated before testing to insure ASTM Test Method D4253-83 requirements were satisfied.

The material for each specimen was sieved into sizes and then reconstituted to give the desired aggregate gradation. The properly graded aggregate was then gently dropped into the mold. The mold was lightly tapped 4 or 5 times to eliminate large voids, and the surface was levelled off using a screed.

A plate was then placed on top of the aggregate in the mold and rotated several times by hand to level off the surface. Before testing, the mold was attached to the vibrating table by 4 screws. Finally, a 56.5 lb. surcharge weight was placed on top of the specimen which applied an equivalent uniform pressure of 2.0 psi.

After vibrating the specimen for 8 minutes, any fine material that accumulated on the surface of the base plate after vibration was blown off. The difference in height between the top of the mold and the base plate was measured and recorded to obtain the volume of the specimen after densification. The mold was then weighed and the gross weight of the specimen and mold was recorded. The index density was calculated by


Figure 5. Typical Mold Assembly for Vibratory Index Density Test.

dividing the net weight of the material by the volume after shaking.

CONCLUSIONS

Numerous aggregate characteristics were presented in this chapter for 21 aggregate sources. Techniques, described in Appendix A, were developed for measuring aggregate roughness, shape, and surface area using a digitizing tablet and personal computer. Although these techniques are efficient, the total time involved to characterize an aggregate source is great and requires a reasonable degree of electronic technology.

The pouring test, described in Appendix B, was therefore introduced as a straightforward method for measuring the influence of aggregate surface characteristics. Both macro- and micro surface characteristics can be evaluated using the results from this relatively simple to perform test. As discussed in Chapter 4, the pouring test offers considerable promise in helping to explain the different observed levels of rutting which occur in asphalt concrete mixes prepared using different aggregate sources.

Index density tests were performed using a shaking table on unbound, dry aggregate. The index density test results indicate that the optimum aggregate gradation, as defined by the Talbot equation, usually corresponds to an n-value of 0.4 to 0.45 or less.

Chapter 3

MEASUREMENT OF FREE MICA CONTENT

INTRODUCTION

The free mica content was determined for selected samples of aggregate from each of the 21 quarries studied. Free mica is defined as mica particles which are not attached to other minerals (i.e., not part of a bigger aggregate mass). The percent free mica was determined for each of the following sieve sizes:

Designation	<u>Sieve Size Range</u>		
Coarse	-16	to	+30
Medium	-30	to	+50
Fine	- 50	to	+100
Very Fine	-100	to	+200

Procedures were not developed for determining the mica content of the -200 sieve size fraction.

RESULTS

The free mica in the fine and very fine aggregate sizes shown above were determined by petrographic examination of sprinkle slides. The medium and coarse aggregate sizes were determined by stereo microscopic examination. Several other methods investigated for evaluating mica content were not considered as reliable. Free mica content results are summarized in Table 8, given in Chapter 2, for each aggregate size studied and also weighted gradations for fine size aggregate. The free mica content present was found to increase in magnitude from the coarse to fine and very fine aggregate sizes. For the fine and very fine sizes,

49

unweighted free mica content varied from 51 percent for Ruby and 43 percent for Griffin to 12 percent for Candler.

ELECTROMAGNETIC SEPARATION

Biotite mica exhibits magnetic properties. Therefore a Carpco Model M1H-13-111-5 electromagnetic separator was used in an attempt to develop a rapid, simple method for evaluating mica content. Three different samples for each of the four sieve sizes were separated using this method for each quarry. Microscope studies were later performed to evaluate the accuracy of this method and to correct the magnetic and nonmagnetic fractions for nonmica and mica "impurities", respectively. This study showed that magnetic separation could not be used alone as a reliable means for determining the free mica content. In general, the magnetic fraction had important amounts of nonmica materials and the nonmagnetic fraction had some biotitic (magnetic) mica and also muscovite (nonmagnetic) as well as other micaceous materials.

For this study, the fine (-50 to +100) and very fine (-100 to +200) sieve size ranges separated by the electromagnetic device were each corrected using the results obtained from the petrographic examination described in the next subsection. The free mica contents for the medium and coarse size fractions given in Table 8 were determined directly by stereomicroscopic examination as described subsequently.

In summary, the electromagnetic separation technique is simple and very easy to apply. Very consistent results were found between the samples tested. Corrections, however, are required to account for undesirable minerals being present in both the magnetic and nonmagnetic fractions. Because of the simplicity and reproducibility of results, electromagnetic

separation might be used to determine when the magnetic compared to nonmagnetic mineral composition of a quarry changes. The potential for use of the electromagnetic separation technique for this purpose was not investigated.

FINE AND VERY FINE FRACTIONS - PETROGRAPHIC MICROSCOPE METHOD

Sprinkle mounts for each specimen were prepared on glass sides for use under the microscope. To prepare these slides, a vibrating spatula was used to sprinkle grains across the surface of a molten, thermally-activated glue (Crystal-Bond and/or Permount) spread on a petrographic thin-section slide. Special care was taken to avoid the formation of clumps of particles on the slide. To protect the slide, a cover slip was glued over the grains. The grains were then "point-counted" using a petrographic microscope. A minimum of 400 grains were sought on the slide, although a few slides did not have that many grains. Point-counted means that the slide was fed across the focal point of the microscope's objective, similar to the way a typewriter moves across and down a page, until 400 grains appeared under the cross-hairs. The grains were identified and separated into non-mica and free mica categories.

Point counting using the petrographic microscope was performed on slides of both the "magnetic" and "nonmagnetic" fractions of the fine and very fine sizes from each quarry. The magnetic fraction of a sample typically contained about 40 to 79 percent mica. In the nonmagnetic fraction the typical mica content was about 8 to 30 percent. These percentages of mica were determined by the petrographic microscope method.

The petrographic microscope method proved to be relatively straightforward, easy to perform, and reproducible and is suitable to use

without electromagnetic separation. The disadvantage is that grains are counted and a percentage of mica is determined based on the percent of grains present rather than by weight.

MEDIUM AND COARSE FRACTIONS - STEREOMICROSCOPE METHOD

The medium and coarse size fractions had particles that were too large when mounted on a slide to place under a microscope. Therefore, the technique to determine free mica employed for the finer fractions was modified. The modified method used for the medium and coarse fractions consisted of careful inspection of the grains under incident light through a stereomicroscope. A predetermined number of grains were identified within the sample and placed in the following categories: muscovite, micaceous other than muscovite, and non-micaceous minerals.

Number of Grains to Count

To determine a suitable number of grains to count, a special study was conducted for Mt. View (015), Athens (023), and Griffin (077)quarries. This study consisted of determining the percent of mica, based on grain count, in a total of 100, 200, 300, 400 and 500 grains (Table 20). Using more than 300 to 400 grains in the count was found not to improve, from a practical viewpoint, the accuracy of the mica determination for quarries that had reasonably high mica contents, but significantly increased the time required to complete grain separation into the desired categories. Based on this study, the use of 300 to 400 grains in the count was found to give a practical procedure.

Table 20. Mica Content as a Function of Different Grain Counts and Methods.

÷

Quarry	Number Grains	MVSC ⁽¹⁾ Mica	Other Mica	<pre>% Mvsc of Total Mica (Grain Count)</pre>	Total % Mica (Grain Count)	Total % Mica (Weight)	Visual (Grain Count) (% total Mica)
	MT.	VIEW. GE	ORGIA - F	LORIDA ROCK IND	USTRIES (015)		
Med	ium: -30	to +50 Si	eve Size				
	200	-	-	-	-	25	-
	300	4	43	9.3	15.7	20	-
	400 500	13	42	30.9	11 0	16	-
	500	*3	74	30.9	11.0	19.2	8
Coa	rse: √ -16	i to +30 S	ieve Size	ł			
	200	2	٦	. 40	2.5	2 9	-
	300	ī	16	5.9	5.7	2.4	-
	400	3	10	23.1	3.25	2.2	-
	500	3	12	20	3.0	2.5	-
					3.6	2.5	3
	GRI	IFFIN, GEO	RGIA - FI	ORIDA ROCK INDU	ISTRIES (077)		
Med	lium: , -30	to +50 Si	eve Size				۰8
	200	e	22	15 0	10.0	16.3	_
	200	0	32 51	12.0	20.7	26.7	-
	400	11	68	11.9	19.8	28.1	-
	500	13	87	13.0	20.0	26.0	-
					19.9	24.3	15
Coa	arse: -16	to +30.Si	eve Size				
	200	2	12	14.3	7.0	15.2	- .
	300	2	23	8.0	8.3	14.0	-
	400	2	33	5.7	8.75	12.6	-
	500	3	42	5.7	9.0	12.8	-
					8.3	13.7	5
	AT	HENS, GEOP	RGIA - DA	VIDSON MINERAL	PROPERTIES (023)		
Me	dium: -30	to +50 S	leve Size				
	200	31	41	43.1	36.0	43.8	-
	300	34	88	27.9	40.6	37.7	-
	400	36	123	22.6	39.7	38.4	-
	500	59	124	32.2	36.6	32.2	
					38.2	37.5	25
Co	arse: -16	to +30 S.	ieve Size	b (1)			
	200	6	25	19.4	15.5	10.6	-
	300	14	40	25.9	11.3	13.0	-
	400	25	79	24.0	26.0	16.7	-
	500	37	92	28.7	25.8	14.1	7
					73.1	T2.0	1

.

To avoid the psychological tendency to bias the study by selecting big micaceous grains out of the undivided original sample, a pattern was rigorously adhered to of considering each grain in the undivided pile similarly to the way a typewriter moves across and down a page of paper. The technique for working with the sample under the stereomicroscope is essentially that used by micropaleontologists: a flat opaque pan contains the sample piles, and grains are manipulated for study and transfer to the categorical piles using a thin artist's brush.

Static electricity was a problem in early attempts to move the grains since the grains jumped erratically and were often lost. The use of plastic dishes and containers result in the most problems with static electricity. In early experiments, unreproducable results were obtained using these items. After these early problems were solved by using glassware, demonstratably reproducible mica content estimates were obtained.

Sample Splitting

A special technique was developed to avoid biasing of the sample by selecting a representative sample from the container. The aggregate particles sometimes segregated within the plastic sample bag in which they were stored. Segregation probably resulted during movement of the bags due to differential settling of the various constituents. Differences in specific gravity, size, and static electric charges on some of the particles resulting in their being attracted to the bag probably account for this segregation.

Initially, some of the samples were split using a micro-splitter. To accomplish splitting, samples were iteratively poured through the microsplitter several times until a sufficiently small, representative sample was obtained. This aliquot then became the undivided pile from which the grains were selected for transfer to the categorical piles under the stereomicroscope. The various processes used to treat the samples took too long to continue using the microsplitter for all of the samples. Therefore, another technique of obtaining representative samples from the bags was selected because the smaller samples could resegregate after being made up and transported from the splitter.

In other words, a sampling technique was required that allowed work to begin instantaneously after obtaining the aliquot. The technique developed to satisfy this requirement is based on the same principle as the microsplitter. Following this alternate procedure, the sample was poured out, mixed in a large pile to make it homogeneous, then sampled from several locations within the pile. The smaller samples were added together to form a smaller pile, which was remixed, then sectored by slicing radially through it as a round pizza pie is sliced. The sectoring continued until a small enough sector was obtained to serve as an aliquot. During trial runs of this sampling technique, it was found to be necessary to avoid articles made from plastic, such as soda straws, spoons, etc. The static electrical charges on these items can cause resegregation.

An experienced geologist skilled in mineral identification can identify 300 grains in about 1.5 hours. This estimate assumes that the sample has high percentages of muscovite and other types of mica. This was the actual time required for the Athens (023) coarse and medium samples.

Samples with lower mica contents can be analyzed in a shorter length of time.

Weighing

The most elaborate attempt to measure free mica content of coarse and medium sizes involved weighing the particles previously identified by the stereomicroscope method under incident light. The identified three categories of grains (muscovite mica, other mica, nonmica) were precision weighed. The grains were moved to separate piles using a thin artist's brush. The three categorical piles were then transferred to preweighed and labeled Size 1 "coin cameo envelopes" and weighed.

Weighing was conducted on a Satorius Model 1602 pan balance which was mounted on marble on a Brinkman table base. The balance has a maximum sample size of 200 grams and a nominal precision error of ±0.0001 grams. Although it is believed this technique still holds high potential for obtaining reproducible free mica fractions in the coarse and medium splits, techniques could not be developed to make weighing results reproducible. Supplementary studies indicate that static electricity and instrument drift is probably not the problem. The most likely explanation is adjustment of the sample-envelope combination to varying humidity.

Because the mica should not be very hygroscopic and because the envelope measurements showed drift when empty, the glue and the paper itself in the envelopes are perhaps the culprits. The use of envelopes made of glassine, in small stamp collector sizes, was found to reduce the drift but not enough to allow precise weight measurements.

VISUAL METHOD OF ANALYSIS

The free mica contents of the following five selected quarries were evaluated using the Visual method: Athens (023), Griffin (077), Ruby (054), Kennesaw (046), and Mt. View (015). Using this method, the free mica content was estimated using standard comparison charts for estimating percentage composition [14]. These charts are also available from the AGI as Data Sheet 15.1.

This study showed that the fine samples (-50 to 100) and very fine samples (-100 to 200) could not be classified by visual examination. For these two size ranges free mica could not be distinguished from combined mica, and biotite mica could not be distinguished from other dark minerals, or muscovite distinguished from clear feldspars.

A comparison of the Visual Method of Analysis with the Stereomicroscope Method for the coarse and medium sizes of the five selected quarries are shown in Table 21. The absolute value of the average error in the visual identification method was about 46 percent. For some practical applications, such as classification by mica content, the visual method might possibly be sufficiently accurate for low values of free mica. When the level of free mica is sufficiently high to be of importance, the recommendation is made to use the Stereomicroscopic Method of analysis for the medium and coarse sizes.

· · · · · · · · · · · · · · · · · · ·	Visual N	Method*	Stereomicroscope Method*	
	-16 to +30	-30 to +50	-16 to +30	-30 to +50
Athens (023)	. 7(1)	25(3)	18.0(4.7)	40.7(11.3)
Griffin (077)	5(0)	15(2)	8.3(0.7)	19.7(2.7)
Ruby (054)	0	1(0)	0.3(0)	6.3(0)
Kennesaw (046)	1(0)	15(Tr)	3(0)	13.7(0.3)
Mt. View (015)	3(1) .	8(1)	2(2)	14.3(14.3)

Table 21. Comparison of Visual Method with Stereomicroscope Method for Evaluating Free Mica in the Coarse and Medium Size Fractions.

* Numbers in parentheses give the percent free muscovite mica present.

Summary

Reliable techniques are developed in this chapter for measuring the free mica content for aggregate varying in size from the -16 sieve to the +200 sieve. For aggregate sizes varying from the -16 to +50 size, grains from a carefully split sample are mounted on a glass slide. Individual particles are carefully examined under incident light through a stereomicroscope. For aggregate sizes between the -50 and +200 sieve, sprinkle mounts are prepared on glass slides and particles are viewed under a petrographic microscope. A minimum of 300 and preferable 400 grains should be point counted under the microscope when using either method. The

methods proposed offer a reliable, reproducible method for evaluating free mica content. These methods, as presently developed, give mica content in terms of percent of total particles counted rather than by weight.

Ń

.

CHAPTER 4

RUTTING AND FATIGUE FINDINGS

INTRODUCTION

Rutting results, as evaluated by the Loaded Wheel Tester, and theoretical fatigue life predictions are presented in this chapter for Base, B-binder and E surface mixes. Rutting and fatigue life are compared between standard Georgia Department of Transportation mixes and coarse mixes developed at Georgia Tech and intended to reduce rutting.

During the early part of the rutting study, new asphalt concrete mixes having both a slightly coarser and a slightly finer gradation were developed and compared with the standard ones presently used by the Georgia Department of Transportation. Early Loaded Wheel Test rutting results indicated that the coarser mixes demonstrated the greatest potential, overall, for developing more rut resistant mixes. Therefore, use of the finer mixes was abandoned relatively early since the study was not designed to include the evaluation of two new gradations. For aggregates from some quarries, a gradation resulting in a finer mix might give greater rut resistance than presently used mix designs. Therefore this line of research should probably not be completely abandoned at this time.

Notation and Design Variables

The term "coarse" or "fine" base, B-binder, and E or F surface mixes refers to the mixes proposed in this study to develop more rut resistant mix aggregate gradations. In this report, unless specifically indicated otherwise, when two mixes are compared (such as a standard DOT base compared to a new coarse mix) both the aggregate and the asphalt cement used in these mixes are the same. The Marshall mix design procedure was

used to determine all mix characteristics. Therefore VMA, air voids, asphalt content, etc. varies with the aggregate gradation used.

Selection of Gradation

The more rut resistant gradations were developed using the Talbot gradation power curve considering past experience including coarser mixes used by selected state agencies and other organizations. A certain degree of judgment was also employed. The general premise was made that a larger top size mix having the maximum possible density should give improved rut resistance compared to a smaller top size mix. The results of this study indicate that this premise was indeed well founded.

The basic approach employed to develop a specific rut resistant gradation was to use the maximum aggregate size (not the nominal size) in the Talbot power curve equation. This equation is discussed in Chapter 2.

RUT TEST RESULTS

Introduction

The rut depths presented and discussed in this section and also elsewhere in this report were evaluated using the Georgia Tech Loaded Wheel Tester. The Loaded Wheel Test apparatus and test procedures are described in Appendix C. The loaded wheel test consists of subjecting a rectangular beam specimen of asphalt concrete 5 in. wide by 3.0 or 3.5 in. deep and 10 in. long (with 2.75 in. end blocks) to repeated passes of a hard rubber wheel. The rubber wheel exerts an average pressure of 124 psi on the surface of the asphalt concrete beam. A total of 8,000 wheel repetitions were applied to each beam with the wheel being moved in each direction (i.e., a two directional loading was applied). Tests were performed in a constant temperature chamber at 104°F.

Base Mixes

All of the experimentally observed rut depths for the standard Georgia Department of Transportation base mixes and the coarse base mixes developed as a part of this study are given in Tables 22 and 23. Table 22 gives just the values of rut depth measured over a short time period on companion specimens. In this series companion specimens of standard and coarse base mixes were prepared from the same sample of aggregate at the same time and then successively tested. These results are referred to as direct comparisons.

Tables 23 includes both companion specimen data and also data from specimens of standard and coarse base mixes prepared at separate times from, in some cases, samples of aggregate collected at different times from the quarry. These results are referred to as the cumulative test results.

In the early part of the study, preparation and testing of the standard base mixes were carried out first since, for most mixes, existing standard Georgia DOT mixes were used. Later, as special mix designs were developed for the coarse (or fine) mixes, they were prepared and tested. Tests performed later in the study were found to result in slightly greater amounts of rutting for apparently identical mixes. Possible explanations for this increase in rutting include:

- Change in aggregate characteristics from one section of the quarry to another.
- 2. Difference in properties with time of the asphalt cement.
- 3. Preparation and testing of specimens by different personnel (the second engineer to prepare and test specimens was, however, carefully trained by the first).

		BASE	COARSE BASE	PERCENT
OUARRY	SAMPLE	DOT MIN	Ga Tech Miv	of standt
NAME	NO	(in)		OL Scander
	1			(8)
DIXIE				
	AVG		water a strength of the	
	1	0-1087		
WHITE		0.1179		
	AVG	0.1133		
	1		0.2122	and the second second
BARIN	2		0.2588	
	AVG		0,2355	A. Mare .
	1		A REAL PROPERTY AND A REAL PROPERTY AND	
KENNESAW	2			
	AVG	the second second		
	1		0.1479	
STOCKBRIDGE	2		0.1141	
	AVG		0.1310	
	1	0.1467		
LITHONIA	2	0.1414		
	3	0.1937		
	4	0.1786		·····
		0.1651		
NOPCROSE		0.2/01		
HORCHUB3	2	0.2462		
		0.2170	0 1270	a second second second
PALMER		0 2147	0.1270	
STATION		0.2560	0.1024	
+ + + + + + + + + + + + + + + +	NVC	0.2000	0 1147	

Table 22. Wheel Track Test Rutting Results: Direct Comparison of Standard DOT Base with Coarse Base Mixes.

• •••

* Positive percentage denotes improvement ** Rut depth in inches

۰,

	SECO	NDARYC	UARRIE	5
OUARRY	SAMPLE	BASE DOT HIN	COARSE BASE	PERCENT.
NAME	No	(in)	(in)	(8)
	1	0.2884	0.1152	
CUMMINGS	2	0.3778	0.1238	[
	AVG	0.3331	0.1195	64.1
	1	0.1943	0.2271	
GRIFFIN	2	0.2235	0.3414	
	AVG	0.2089	0.2843	-36.1
- 1 1		0.1785	0.1165	
DAN	2	0.1792	0.1511	75 95
		0 2017	0.1420	
RUBY	2	0.12017	0.1573	
	AVG	0.2017	0.1497	25.8
	1	0.1020	0.0662	
DALTON		0.0766	0.0748	
	AVG	0.0893	0.0705	21.1
	1	0.3036	0.1201	
LITHIA	2	0.5376	0.1825	
SPRINGS	3	0.2471	0.2702	
	A NUC	0.2773	0.2031	1 43 2 24
GROUND				
GROOMD	AUG -		and an and a statement	
	1	0,1561	0.1459	
ATHENS	2	0.1418	0.1496	
	3	0.3026	0.2862	
	AVG	0.2002	0.1939	3.1
	1			
CANDLER	2			
	AVG	0.1161	0 2320	
UT UTEN		0.2640	0.2333	
MI. VILN	3	0.2364		
	4	0.4314		
	5	0.2263		
	6	0.2723		
	AVG	0.2578	0.2339	9,3
	1	0.2473	0.1909	
TYRONE	2	0.1998	0.1369	
	3	0.1950		
-	4	0.2050	0.1600	35 68
	AVG	0.2118	0.0630	24.D"
DUFORD		0 2199	0.1902	
		V.2177	0,1725	
			0.2176	
	keen land	- 10F2	0.3600	

63

		ANI QUA	<u>NRIES</u>	
,		BASE	COARGE BASE	PERCENT.
QUARRY	SAMPLE	DOT Mix	Mix	of Stand
NAME	NO	(in)	(in)	(%)
	1			
DIXIE	2 AVG			
	1	0.1243	0.0735	
HITE	• 2	0.1685	0.0663	
	. 3	0.1209		
	4	0.1087		
	5	0.1179		1
	AVG	0.1281	D.0699	45.4
	. 1	0.1826	0.1634	
ARIN	2	0,1863	0.1303	
	3		0.2122	
	4		0.2588	
	AVG	0.1845	0.1912	-3.6
	1	0.1012	0.1630	1
ENNESAW	2	0.0864	0.1188	
	AVG	0.0938	0.1409	-50.2
	1	0.1243	0.1479	
TOCKBRIDGE	2	0.1881	0.1141	
	AVG	0,1562	0.1310	16.1
	1	0.1467	0.1083	
ITHONIA.	2	0.1414	0.1442	1
	3	0.1937		
	4	0.1786	······································	
	AVG	0.1651	0.1263	23.5
	1	0.1537	0.2034	
IORCROSS	2	0.2133	0.1550	
	3	0.2701		
	4	0.2482		
	AVG	0.2213	0.1792	19.0
	1	0.2604	0.1270	
ALMER	2	0.1644	0.1024	
TATION	3	0.2170		1
	4	0.2147		
	5	0.2560		
	AVG	0.2225	0.1147	- 49.4

Table 23. Wheel Track Test Rutting Results: Cumulative Comparison of Standard DOT Base with Coarse Base Mixes.

Å

* Positive percentage denotes improvement ** Rut depth in inches

			20ANNIL	
QUARRY	SAMPLE	BASE Dot Mix	CUMBE BASE MIX	PERCENT. of Stand
RAT L.	NO	(1n)	(in)	(8)
GROUND		0.1681	0.1701	
		0.0948	0.0517	
	AVU .	0.1315	0.1109	15.6
ATHENS	1 :	0.1464	0.1459	I
		0.2361	0.1496	1
		0.1561	0.2862	1
		0.1418		
		0.3026		
	AVG	0.1966	0.1939	1.4
CANDIER		0.1274	0.2274	
CARDLER	Concerning and the second	0.1612	0.1937	1
······	AVG	0.1443	0.2106	-45.9
	1	0.2328	0.1433	
MT. VIEW	2	0.1140	0.2260	
,	3	0.1161	0.2339	
	4	0.2640	1	1
	5	0.2364	1	
÷	6	0.4314		
	7	0.2263	1	
	8	0.2723		
	AVG	0.2367	0.2011	15.π
	1	0.2473	0.1909	
TYRONE	2	0.1998	0,1369	
	3	0.1950		1
	4	0.2050		
	AVG	0.2118	1 10 Conserve 10 C	
	1	0,1900	0.1370	42.94
BUFORD	2	0.1968	0.0610	
	3	0.1715	0 1903	
	4	0.2199	0.1725	
.•	5		0.1/25	
	AVG	0.1946	0.1561	19.8
	1	0.1710	0.1152	
CUMMINGS	2	0.1286	0.1238	
	3	0.2884		
	4	0.3778	j i	·
	AVG	0.2415	0.1195	50.5
	1	0.1760	9.2271	
TRIFFIN	2	0.2199	0.3414	
	3	0.1943		
	4	0.2235		
	AVG	0.2034	0.2843	10 7
	1	0.2273	0.1165	
AN	2	0.1785	0.1511	
		0.1792		
	AVG	200 1950	A	3999 19997
	1	0.1521	0.1420	
NIRY		0.1021	0.1420	
		0.2017	0.13/3	
	AVO			ورودي الوسريون
	1	0.1031		(J.0 m)
ALTON		0.1020	0.0002	
		0.1020	0.0748	
		0.0/80		
	- AVU	0.0936	0.0705	24.7
		0.3036	0.1201	
DDTNCS		0.5376	0.1825	
F 13 L 19 L	1 3	0.2471	0.2702	
			0 3031	
	6	0.2773	0.2031	
	AVG	0.3414	0.1940 - 1.2	43.2 😔
	AVG 1	0.3414	0.1940 - 4.0	43.2 -
OSTELL	1 2	0.2773 0.3414 0.1360 0.1321	0.1940 0.1003 0.1265	43.2

 Change/wear of equipment used in preparation and/or testing the specimens.

A careful review of items 3 and 4 did not find any explanation for the observed differences in rutting with time.

A sufficiently large sample of aggregate to complete the study was initially obtained from each quarry. However, the polymer sample bags were stored outside and deteriorated with time resulting in the mixing of material from different bags. This mixing made it impossible to tell, in many instances, which quarry the material came from. Hence, additional samples of aggregate had to be obtained from many quarries at a much later time during the study. Thus, to minimize all of the problems described above, the approach of preparing companion specimens (direct comparison) was adopted later in the test program for not only the base mixes but also the E mixes.

<u>Base Test Results</u>. The most complete set of rutting performance data was developed for the standard and coarse base mixes. A total of over 70 beam specimens were used for the standard Georgia DOT base mixes and 50 specimens for the coarse base mixes (Tables 22 and 23).

Consider the rutting test results for the companion specimens which should provide the most reliable comparisons. For the companion specimens, the average rut depth was reduced by 23 percent when the proposed coarse base was used compared to the standard base mix presently employed by the Georgia DOT. This comparison is statistically significant at the 95 percent probablility level.

For both the standard and coarse mixes, Dalton quarry aggregate generally performed best. For the standard DOT base mixes, Kennesaw quarry performed next to best while for the coarse base mixes White performed

either about the same or slightly more poorly than Dalton. Lithia Springs performed the worst for the standard base mix while Griffin did the poorest for the coarse base mix.

Binder Mixes

All of the experimentally observed rut depth results for the standard Georgia DOT B-binder mixes as well as the standard DOT base mixes are summarized in Table 24 for the direct comparison mixes and in Table 25 for the cumulative results. The standard Georgia DOT B-binder mixes are compared with standard DOT base mixes because the proposed coarse binder mix was essentially the same as the standard DOT base mix. Using the rut test results for the standard base mix eliminated both the need to prepare new Marshall mix designs and to perform additional rutting tests.

Using all of the experimental data, the average rut depth was reduced by 14 percent in going from the standard binder to the standard base (an average rut depth of 0.2112 in. compared to 0.1825 in., respectively). This comparison is statistically significant at a probability level slightly greater than 85 percent. For the twelve out of the 20 quarries for which the standard base mix showed less rutting than the standard Bbinder mix, the average reduction in rutting is 27 percent.

Data from tests performed during the latter part of the study, which should be most reliable (Table 24), show an average reduction in rutting of 11 percent which is slightly less than for the cumulative test results. Average measured rut depths were 0.2133 in. compared to 0.2403 in. for the DOT base (which simulates a coarse B-binder mix) and the standard DOT Bbinder mixes, respectively. This comparison is statistically significant at the 80 percent probability level. The 6 quarries demonstrating the most improvement out of a total of 13 quarries show a 19 percent reduction in

PRIMARYQUARRIES				
	1	BINDER	BASE	PERCENT.
QUARRY	SAMPLE	DOT Hix	DOT Mix 77.	of Stand T
NAME	NO	(in)	(in)	(8)
	1			
DIXIE	2 AVG			
	1	0.1353	0.1087	
WHITE	2	0.0974	0.1179	
	AVG	0.1164	0.1133	2.6
and a second a reaction of a second	1	0.2816		
BARIN	2	0.3225		
	AVG	0.3021		
	1	0.3395		
KENNESAW	2	0.5168		
	3	0.3286		
	AVG	0.3950		
	1			
STOCKBRIDGE	2			
	AVG			
	1	0.4208	0.1467	
LITHONIA	2	0.2896	0.1414	
	3		0.1937	
	4		0.1786	
	AVG	0.3552	0.1651	53.5
	1	0.1468	0.2701	
NORCROSS	2	0.1998	0.2482	5 m m 22 m 200 m 200
	AVG	0.1733	0.2592	-49.5
		0.1996	0.2170	
PALMER	Z	0.2185	0.2147	
STATION	3		0.2560	here a se a parter
	I AVG	I D.2091	E 0.2292	2

Table 24. Wheel Track Test Rutting Results: Direct Comparison of Standard Georgia DOT Binder with Coarse Binder (DOT) Mixes.

.

* Positive percentage denotes improvement ** Rut depth in inches

.*

			JUARRIE	.
OUNDRY	CLUTTE	BINDER	BASE	PERCENT.
VARRI	SAMPLE	DOT MIX	DOF MIX	or Stand-
DATT	NO	(10)	(10)	(8)
CROUND		0.1/02	1	1
GROUND		0.3504		
	and the second	0.2297	names and an analysis of the	
	AVG	0.2321		
MUCHC		0.1900	0.1501	
AINENS		0.2329	0.1416	
	AVG	0.2115	0.2002	5.3
CANDLER	1 2			
01110 2011	AVO	101 C	. Turke and the states and the	render an error bei a er
		0.2122	0.1161	<u>,</u>
MT. VIEW	,	0,1129	0.2640	
		0.2786	0 2364	
		0.3209	0.4314	
		0.3203	0. 2263	
			0.2723	
	AVO	0.2312	0.2578	18 CT 18 CT 1
	1	0.2297	0.2473	
TYRONE	2		0.1998	
	1		0,1950	
			0.2050	
	AVG	0.2297	0.2118	7.8
	1	0,3206	0.1715	
BUFORD	2	0.3182	0.2199	
	AVG	0.3194	0.1957	38.7
		0.3978	0.2884	
CUMMINGS	2	0.3378	0.3778	
	AVO	0.3678	6.3331	9.4
	1	0.2135	0.1943	
RTFFIN	,	0.2216	0.2235	
	AVG	0.2176	0.2089	∛ ≤ 4. 0
	1	0.1413	0.1785	
DAN	2	0.1596	0.1792	
	AVG	0.1505	0.1769	-18.9
	1		0.2017	1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -
RUBY	2			
	AVG	A CONTRACTOR OF THE OWNER	0.2017	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1
	1	0.0901	0.1020	
DALTON	2		0.0766	
	AVG	0.0901	0.0893	0.9
	1	0.2470	0.3036	
LITHIA	2	0.2464	0.5376	
PRINGS	3	0.1785	0.2471	
	4		0.2773	
	AVG	0.2240	0.3414	-52.4
	1			
POSTELL	2			
			1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Sec. 1984

	PRIM	ARYQUA	RRIES	-
		BINDER	BASE	PERCENT.
QUARRY	SAMPLE	DOT Mix	DOT Mix	of Stand
NAME	No	(in)	(in)	(8)
	1			
DIXIE	2			
and the second secon	AVG	0 1151	0.1243	
		0.1151	0.1243	
WHITE		0.1353	0.1005	
		0.0974	0.1087	
		0.03/4	0.1179	
	AVG	0.1144	0.1281	-12.0
	1	0.1424	0.1826	
BARTN		0.1958	0.1863	
DRIVEN	3	0.2816		
	4	0.3225		
	AVG	0,2356	0.1845	21.7
	1	0.1627	0.1012	
KENNESAW	2	0.1472	0.0864	
	3	0.3395		
	4	0.5168		
	5	0.3286		
	AVG	0.2990	0.0938	66.6
,	1	0.1657	0.1243	
STOCKBRIDGE	2	0.1728	0.1881	
	AVG	0.1693	0,1562	7:1
	1	0.2169	0.1467	
LITHONIA	2	0.1601	0.1414	
	3	0.4208	0.1937	
	4	0.2896	0.1786	
	AVG	0.2719	0.1651	39.3
	1	0.2136	0.1537	
NORCROSS	2	0.2144	0.2133	
	3	0.1468	0.2701	
	4	0.1998	0.2482	
	AVG	0.1937	0,2213	-14.3
,'		0.2318	0.2604	
STATION	2	0.1786	0.1644	
STATTON	3	0.1996	0.2170	- · ·
	4	0.2185	0.2147	
	3		0.256	Contraction of the
	AVG	0.2071	0.2225	-7.4

* Positive percentage denotes improvement ** Rut depth in inches

	· · · · · · · · · · · · · · · · · · ·			
	SECO	NDARYO	UARRIE	S
		BINDER	BASE	PERCENT.
QUARRY	SAMPLE	DOT MIN	DOT HIS	of Stand+
NAME	No	(in)	(in)	(1)
BALL	1	0.1810	0.1681	
GROUND	2	0.2070	0.0948	
ļ	3	0.1762		
		0.3504	1	1
	N	0.2297	a new grant and and a	
	AVG	0.2289	0.1315	42.6
ATHENS		0.1900	0.1464	
		0.2329	0.1561	
			0.1418	
	5		0.3026	
	AVG	0.2115	N W 0.1966	7.0
	1	0.2616	0.1274	
CANDLER	2	0.2424	0.1612	1
	TAVO SAVO	0.25204244.58	20.0.1141	42.71.7
	1	0.1558	0.2328	
NT. VIEW	2	0.1922	0.1140	-
	3	0.2122	0.1161	
		0.1129	0.2640	
		0.2786	0.2364	
		0.3209	0.4314	
			0.2263	
	T 3 4 4		0.2723	
	NVG W	A 3161	A 2471	-11.6
TYRONE	2	0.2268	0.2473	
	5	0.2297	0.1950	
	4		0.2050	
-	DAY .	0.2252 244	23,0.2118 27.	6.0 K
	1	0.1847	0.1900	
BUFORD	2	0.1268	0.1968	
	3	0.3206	0.1715	
		0.3182	0.2199	
	AVG	0.2376 * 2.	0.1946	18.1
CITHATNES		0.3702	0.1710	
CURILING		0.3087	0.1200	
		0.3378	0.3778	
	AVG	0.3531	D.2415	11.6
	1	0.1930	0.1760	
GRIFFIN	2	0.1670	0.2199	
	3	0.2135	0.1943	
	4	0.2216	0.2235	
	AVG AVG	0.1988	0.2034	-2.3
	1	0.1913	0.2273	
DAN	2	0.1401	0.1785	
1	3	0.1413	0.1792	
	THE REAL PROPERTY.	0.1596		
	AVG de			-23.4
BITRY		0.1128	0.1521	
		V. 1210	0.1090	
	AND AND DA		SALETA TRAINERT	1
	1	0,1290	0.1021	
DALTON	2	0.0708	0.1020	
0	3	0.0901	0.0766	
	AVG	0.09664.4	10.0936 A.Z.	1.2 3.54
	1	0.2023	0.3036	
LITHIA	2 '	0.2470	0.5376	
SPRINGS	1 3	0.2464	0.2471	
	4	0.1785	0.2773	
	AVG	140.2186	10.3414	-56.7
	1	0.2511	0.1360	
FOSTELL	2	0.1950	0.1321	
	AVG	0.2231	0.1341	39.3.

.

.

.

rutting for the standard base mix (simulating a coarse B-binder) compared to the standard DOT B-binder mix.

Surface E-mixes

All of the experimentally observed rut depth results for the standard Georgia DOT surface E-mixes and coarse E-mixes are compared in Table 26(a) for companion specimens (direct comparison) and Table 26(b) for the cumulative results. For the cumulative results, Table 26(b), the scatter in the standard E-mix data for Kennesaw, Stockbridge, and Norcross quarries is too great to be considered reliable. Therefore, only the direct comparison specimen data given in Table 26 (a) is discussed in this section.

The average reduction in rutting of the seven sets of companion specimens tested was 13 percent (Table 26 (a)). The probability that the results are statistically significant is slightly less than 60 percent. Five out of the seven coarse E-mixes tested showed a reduction in rutting compared to the conventional DOT mixes. For these 5 quarries, the average reduction in rutting was 20 percent. The coarse E-mix from Palmer Station and Stockbridge performed best relative to the standard E-mix. The coarse E-mix prepared for Barin and Norcross quarries did not perform quite as well as the standard E-mixes.

STATISTICAL RUTTING CORRELATIONS

Introduction

A detailed statistical correlation study was performed on the very extensive rut depth data developed using the Loaded Wheel Tester on base, B binder, and surface E asphalt concrete mixes. The purposes of this study

Table 26. Wheel Track Test Rutting Results: Direct and Cumulative Comparison of Standard DOT E with Coarse E Mixes.

3

.

(a) Direct Comparison

		BHIX	COARSE E	PERCENT.
QUARRY	SAMPLE	DOT Mix	Ga Tech Mix	of Stand
NAME	No	(in)	(in)	(1)
	1			
DIXIE	2			
	<u> </u>	and the second second	The Part of the Star fur	the inter Bur Do
	1	0.1400	0.0977	
WHITE	2	0.1105	0.1209	
NAL	AVG	0.1253		all and 12.7 man
	1	0.2459	0.2364	
BARIN	2	0.1849	0.2181	
	AVG	0.2156	0.2273	-5.5
	1	0.4247	0.3101	
KENNESAW	2	0.3651	0.3430	
	AVG	0.3949	0.3265	17.3
	1	0.3652	0.2660	
STOCKBRIDGE	2	0.3433	0.2909	
	AVG	0.3543	0.2785	21.4
	1	0.2629	9.2112	
LITHONIA	2	0.3419	0.3007	
	AVG	0.3024	0.2560	15.4
	1	0.2692	0.2854	
NORCROSS	2	0.2499	0.2481	
	AVG	0.2596	0.2668	-2.8
	1	0.4650	0.2588	-
PALMER	2	0.3222	0.3465	
STATION	3	0.5380		×
	AVG	0.4617	0.3027	31.5

* Positive percentage denotes improvement ** Rut depth in inches

(b) Cumulative Comparison

· · ·	PRIM	ARYQU	ARRIES	
	T	BHIX	COARSE E	PERCENT.
QUARRY	SAMPLE	DOT MIX	Ga Tech Mix	of Stand
NAME	NO	(in)	(in)	(1)
	1	0.1400	0.0977	
WHITE	2	0.1105	0.1209	
	AVG	0.1253	0.1093	12.7
	1	0.1421	0.2364	
BARIN	2	0.3107	0.2181	
	3	0.2181		
	•	0.2459		
	5	0.1849		
	AVG	0.2203	0.2273	-3:1
	1	0.1740	0.3101	
KENNESAW	2	0.1249	0.3430	
	3	0.4247		
	4	0.3651		
	AVG	0.2722	0.3265	-20.0
	1	0.1201	0.2660	
STOCKBRIDGE	2	0.1461	0.2909	
	3	0.3652		
	4	0.3433		
	AVG 1	0.2437	0.2785	-14.3
	1	0.2637	0.2112	
LITHONIA	2	0.1414	0.3007	
	3	0.2629		
	4	0.3419		
	AVG .	0.2525	0.2560	-1.4
	1	0.1962	0.2854	
NORCROSS	2	0.1910	0.2481	
	3	0.2692		
	4	0.2499		
	AVG	0.2255	0.2663	-17.7
And an and a second	1	0.4817	0.2588	
PALMER	2	0.4636	0.3465	
STATION	3	0.4650		
	4	0.3222		
	5	0.5380		
	AVE	0.4541	0.3027	33.4

-

70

.

were to:

- Identify the most important variables that influence rutting in base, B-binder, and surface E mixes.
- Identify any cross correlations which exist between individual variables.
- 3. Develop general equations that can be used to predict rutting in proposed mixes or limiting criteria on certain variables that can serve to control rutting or to identify mixes having high rut potentials.

This section briefly summarizes the extensive statistical analyses carried out using the rutting data base. Both Marshall mix design variables and aggregate characteristics were considered as potential predictors of rutting. As many as 45 predictors were included in the statistical analyses.

To select significant variables as predictors, stepwise, forward selection, and backward elimination techniques were all performed on each set of rutting data analyzed. A detailed description of the statistical work is given by Siegel [11].

Base Mixes

Using the predictors selected from backward elimination, the rut depth prediction equations given in Tables 27 through 29 were developed for the DOT base, coarse base, and the combined DOT and coarse base rutting data. The general models given in these tables represent the statistical best fit of the data that could be obtained following accepted practices of statistics. That is, variables were dropped from the correlation when a reasonable level of uncertainty existed that the improvement of the correlation due to a specific variable might be due to random chance.

Table 27. Results of Regression on Backward Elimination Variables for DOT Base Mix.

The regression equation is

- Rutting = 2.21 0.0136 x Srv (pass. No.30/ret. No.40)
 - 0.00789 x Srv (pass. 1/4"/ret. No.4) 0.128 x Smi,w
 - +5.2E-7 x SA, w + 0.0156 x %Mi,w + 0.387 x % AC + 0.152 x % Air V.
 - + 0.0280 x Mix Dens. 0.189 x % VMA 1.72 x Bulk SG of fine aggr.

- 0.00151 x Cu - 0.513 x Roughness - 0.0150 x Flow

20 cases used I cases contain missing values

Predictor	Coef	Stdev	t-ratio	р
Constant	2.208	0.4967	4.45	0.004
Srv (40)	-0.014	0.0029	-4.67	0.003
Srv (4)	-0.0079	0.002404	-3.28	0.017
Smi,w	-0.1278	0.02463	-5.19	0.002
SA, w	5.2E-7	1.5E-7	3.46	0.013
%Mi.w	0.0156	0.00168	9.28	0.000
% AC	0.3875	0.08490	4.56	0.064
% Air V.	0.1515	0.02741	\$.53	0.001
Mix Dens	0.0271	0.006225	4.50	0.004
% VMA	+0.1885	0.04221	-4.47	0.004
SG bulk	-1.7247	0.2412	-7.15	0.000
Cu	-0.0015	0.000429	-3.51	0.013
Rough.	-0.5128	0.1800	-2.85	0.029
Flow	-0.0150	0.00477	-3.14	0.020

R-sq(adj) = 92.7% s = 0.01561 R-sq = 97.7%

Analysis of Variance

.

SOURCE	DF	SS -	MS	F	P
Regression	13	0.0616297	0.0047407	19.45	0.001
Error	6	0.0014622	0.0002437		
Total	19	0.0630919			
SOURCE	DF	SEQ SS			
Srv (40)	1	0.0020854			
Srv (4)	I	0.0148138			
Smi,w	1	0.0004548			
SA, w	1	0.0017428			
%Mi.w	1	0.0064836			
% AC	1	0.0011143			
% Air V.	1	0.0006965			
Mix Dens	1	0.0140231			
% VMA	1	0.0022477			
SG bulk	1	0.0083935			
Cu	i	0.0050193			
Rough.	1	0.0021588			
Flow	-1	0.0023959			

Table 28. Results of Regression on Backward Elimination Variables for Coarse Base.

The regression equation is

Rutting = 2.76 + 0.0149 x Srv (pass. 1/4"/ret. No.4) + 0.155 x Srv.w

- 0.160 x Sma, w - 0.287 Sma,w - 1.2E-7 x SA, w

- + 0.0510 x SC.w + 0.260 x % AC + 0.0439 x % Air Voids
- 0.0197 x Mix Dens. 0.113 x % VMA 0.950 x Bulk SG of fine aggr.

+ 2.08 x Roughness +2.9E-7 x Mr + 0.0295 x Flow

19 cases used 2 cases contain missing values

Predictor	Coef	F	Stdev	t-ratio	р	
Constant	2.763	4	0.1794	15.40	0.000	
Srv (4)	0.014	897	0.0023	6.61	0.003	
Srv,w	0.155	27	0.017	8.75	0.001	
Sma, w	-0.160	28	0.0186	5 -8.59	0.001	
Smi,w	-0.286	77	0.0352	-8.14	0.001	
SA, w	-1.2E-	7	3.0E-8	-3.57	0.023	
\$C,w	0.05	1013	0.0042	12.15	0.000	
% AC	0.259	56	0.025	8 10.05	0.001	
% Air V.	0.043	918	0.0040	10.90	0.000	
Mix Dens	-0.01	9713	0.002	5 -7.83	0.001	
% VMA	-0.112	67	0.0124	-9.05	0.001	
SG bulk	-0.949	8	0.2185	-4.35	0.012	
Rough.	2.078	5	0.1956	10.63	0.000	
Mr	2.9E-	7	2.0E-8	13.19	0.000	
Flow	0.029	9485	0.0040	7.32	0.002	
s = 0.0058	90 R	-sq =	99.7%	R-sq(ad	j) = 98.7%	
Analysis o	of Vari	ance	•			
SOURCE	DF	S	s	MS	F	P.
Rogression	14	0.048	9867	0.0034990	100.85	0.000
Error	4	0.000	1388	0.000034	7	
Total	18	0.04	91254			
SOURCE	DF	SEO	SS			
Srv (4)	1.	0.00	00661			
Srv.w	i i	0.00	06868			
Sma, w	1	0.00	00060			
Smi,w	I	0.00	24482			
SA, w	1	0.00	00435			
SC,w	1	0.00	00462			

Table 29. Results of Backward Elimination for Combined Base Mixes.

The regression equation is Rutting = 2.20 + 0.00476 Srv(7/8) - 0.0452 Smi,w + 0.00617 %Mi,w - 0.0134 Mix Dens - 0.115 Top Size +0.000067 Stab. -0.000466 Sta/Flow

41 cases used 22 cases contain missing values

Predictor	Coef	Stdev	t-ratio	P
Constant	2.1963	0.3434	6.40	0.000
Srv(7/8)	0.0048	0.0022	2.14	0.040
Smì,w	-0.0452	0.0198	-2.29	0.029
%Mi,w	0.0062	0.0010	5.78	0.000
Mix Dens	-0.0134	0.0024	-5.68	0.000
Top Size	-0.1151	0.0402	-2.87	0.007
Stab.	6.7 E-5	2.8E-5	2.42	0.021
Sta/Flow	-0.0005	0.0002	-2.09	0.044

s = 0.03413 R-sq = 70.8% R-sq(adj) = 64.6%

Analysis of Variance

¢

SOURCE	DF	SS	MS		F	p	
Regression	s 7	0.093293	0.013328	1	1.44	0.000	
Error	33	0.038436	0.0011	65			
Total	40	0.131728					
SOURCE	DF	SEQ SS					
Srv(7/8)	1	0.001146					
Smi,w	· 1	0.000236					
%Mi,w	1	0.033563					
Mix Dens	: 1	0.043790					
Top Size	1	0.007612					
Stab.	1	0.001850					
Sta/Flow	1	0.005096					
Unusual	Observ	ations					•
Obs.	Srv(7/8)	Rutting	Fit	Stdev.	Fit	Residual	St.Resid
12	12.5	0.34140	0.2822	0.02104	0.0	5920	2.20R
31	8.9	0.29430	0.2240	0.01411	0.0	7026	2.26R

R denotes an obs. with a large st. resid.

73 '

٩.

The statistical correlation equations developed to predict rutting give the rut depth that should occur in an asphalt concrete beam subjected to the Loaded Wheel Test used in this study. The values of predicted rutting can be used to directly compare one mix with another to evaluate rutting potential. No attempt was made to relate rut depths observed in the Loaded Wheel Test to field performance.

Statistics. The general base models given in Tables 27 and 28 for predicting rutting in specific base mixes show excellent correlation with the R squared (adjusted) values varying from 92.7 to 98.7 percent. The combined model (DOT and coarse base mix data combined) has an R-squared (adjusted) value of 0.646 (Table 29). The R squared (adjusted) value indicates the amount of variation explained by the model. The absolute value of the t-ratio, also given in the statistical summary tables, indicates the relative importance of the variable. A positive t-ratio indicates that rutting increases as the value of the variable increases. A negative value indicates rutting is inversely proportional to an increase in the predictor. The curve fit of the data for the three equations is illustrated in Figure 6.

The value of p given in the tables indicates the probability that the predictor is randomly related to rutting. Hence, if p = 0.04 in the table the probability is 4 percent that the predictor is randomly related to rutting, and hence has a 96 percent probability that the relationship is statistically significant.

<u>Simplied Models</u>. Simplified models were also developed for selected rutting data sets when the general model utilized several predictors that are relatively hard to evaluate. In the simplified models, an attempt was made to eliminate some of the harder to measure predictors. Simplified

74



(a) DOT Base





Laboratory Measured Rut Depths in inches

(c) Combined Base



models for the DOT and coarse bases are given in Table 30 which gives a general summary of all of the asphalt mix rutting models developed. The general model for combined DOT and coarse base mixes is considered sufficiently simple so that further refinement is not considered necessary. As a result of decreasing the number of variables, the accuracy of all of the simplified rutting models is reduced. The R square adjusted values are 0.424 and 0.754 for the simplified DOT and coarse base mix equations, respectively, (recall that R^2 indicates the amount of rutting that has been statistically explained). The simplified coarse base model ($R^2 = 0.754$) is much easier to use than the general model ($R^2 = 0.987$) but yet has good accuracy.

<u>Combined Base Model</u>. The combined base rutting model, summarized in Table 29, includes both the DOT and coarse mix data. This model explains about 64.6 percent of the rutting (R square (adj.) = 64.6 percent) which corresponds to a reasonable high correlation coefficient of 0.80. The statistical probability that the relation between a specific predictor in the equation and rutting is not random has a probability of 96 percent or higher (i.e., $p \le 0.04$). As illustrated in Figure 6 (c), the correlation between predicted and observed rutting is reasonably good. The plot of the standardized residuals values is also random which indicates a sound statistical model.

<u>Variables Affecting Rutting</u>. For the combined DOT and coarse base mix model given in Table 29, the most important aggregate properties influncing rutting are weighted mica content (t = 5.78), which is by far the most important aggregate related variable, and aggregate top size (t = -2.87). The importance of the variable increases as the absolute value of t. The most important mix design variable is mix density (t = 5.68) with mix

Table 30.	Summary	of	Rut	Depth	Prediction	Equations.

ţ

								•										
					1	1	1											
Eq	Ma Type	Analysia	Coel	<u></u>	St Nr.V.	<u>C</u> u	Elaw	%. Mi _11	00) <u>% Mi 1</u>	00 <u>*</u> Miu	Mix Den	n Mr	Bough	SA (120	BA.m	9C (1)	20) <u>SC - 1</u>	20
17	DOT Base	Stepwise	2.727	+	+	Į	·				-0.018					0.031		
18	DOT Base	Backward	E. 2 208	0 3875	0.1515	.0 0015	-0.0150	2	_	0.015	0 0.0271	- ,	-0 5128	1	5.2E-0	<u>, </u>		
9	DOT Bere	Simplified	1.224	0 0729		l	ļ				-0.0076	<u></u>						
0	Coarse Base	Stepwise	1 588		0 0214	₊	<u> </u>			0.003	0 -0 0224	2 0E-07	·	+			_	
21	Coarse Base	Backward	Ð. 2.783	0.2598	0 0439		0.0295	_			-0.0197	2.0E-07	2.0785	·	-1 2E-0	7		
2	Coarse Base	Simplified	2.597	0 1108	0.0832		+0.1187	·			-0.0206	!				_		
3	DOT Binder	Stepwise	-0.453	0 1104		I				_				-1.2E-0	5			
4	DOT Binder	Backward	El2.293	0.3428	-0 5710	t				-0.004	5 0.0108	+	+	- -	-9 0E-0	/	_	
5	DOT Binder	Simplified	-2.819	0.8817	0.0558		ļ				0.0208					_		_
8	Combined Base Mizer	Stepwise	1 005		 	ļ	<u> </u>			0.0000	0.1184	+	·	1.1E-05				_
7	Combrined Base Mixed	Backward	E. 2.196	J	L		·			0.000	0.0134				<u> </u>	_		
	Combined Base Mixed	Simplified	1.480	I	ļ		L	_			-0.0107	1		<u> </u>				
9	Combined Binder Mix	as Stepwise	1.629	1	 			0.0031						1	1		_	
0	Combined Binder Miss	e Beckward	E 2.607				0.0172	_		0 0073			- · · · · · · · · · · · · · · · · · · ·					
1	Combined Binder Mixi	es Simplified	1.127	0.0457	0.0145		0.0138					ļ		1				
2	Combined Surf (E) Mi	xes Stepwise	0.970									. L		1.9E-05			0.083	1
3	Cembined Surf (E) Min	res Simplified	-10 800	0.9627	0 4727								1					
	All Mixee	Stepwise	1.969		L					0 0063	-0.0098	1						
5	All Mass	Backward I	Ð -0.084	0.1278	0 0527		0.0149		0.0006								+0.025	1
5	Al Mixes	Simplified	0.444	0.0626	0.0187		0.0018											
		.	;										······		<u> </u>		1	1
	- Tuna	Analysis	SC	Sahut	Sme (40)	Sma w	Smi w	Sev (40)	Sev (18)	Sev (4)	Sev (7/8)	Srv e	Stab 5	teb/Flow	Ton Site	-	R.m. (adi)	+
~	A 1994	Classing			Collectory.			- W. L									0 483	t,
~	T Bace	Restment D		1 7747			.0 1278	0.0140		.0.0078			···· +·			-0 1885	0 027	
-		CLingd						a 0040	0.0178					+		-0.1003	0.474	
	ame Base	Gianmian		0.0441									<u> </u>				0.014	ŧ.
		Destanged Fi			┠	.0.1003	.0 2888			0 1400	<u> </u>	0 1883				.0 1127	A	+:
20		Curching El	0.5101	0 7407		0.1003	.4.1904	0.000		0.1480			0.0005	0.0048		-0.1127	0 357	H
-0	FTT CD00	Champing		0./00/					+			0.0000	0.0003			-4.4693	0 0 0 0	H.
~		Destaura E		ł	.0 0130	0.0004	0.0330						0.0001			.0 8224	0.000	ŀ:
2		Current El.	-0.0184	0.0700		0.0004	4.0729		0.0104			0.0178	0.0001	0.0010		-9.9230	0.000	ŀ:
		Simplined		.0.2/33					~~~~			0.01/5		0.0010	0.0747	-9.238/		H
	TENING COLO MAX 06	Diepwiee					0.45.20	··· ··	···	·ł	0.004	·	75.05	0.0008	A 1161		0.00	\vdash
0	manned Bass Mixes	Carcillard	·								0.0048		0.15.43	0.0005	0 1200		0 0 0 0	<u> </u>
	HUNDER DEVE MILES	Ciana and Ciana		0 0310	· •					+	0.0040				0 0903		0 370	-
0	TENTO STOCK MIXES	Destand Fl		-0 4184				.0.0120				<u>-</u>			0 0800		0.452	4
0	though Bundes Min	UNCAPATO E.							0.3660				0.0340		0.0578		10 981	
0	mbined Binder Mixes	Cimmilities of							0 0000 1	1	1		~ ~ ~ ~ ~ ~ (
000	mbined Binder Mixes	Simplified		-0.5079				t									0.818	•
0000	mbined Binder Mixes mbined Binder Mixes mbined Surt (E) Mixes	Simplified Stepwise		-0.5079						A 1920		0.0748				-0.3850	0.818	1
	mbined Binder Mixes mbined Binder Mixee mbined Surt (E) Mixee mbined Surt (E) Mixee	Simplified Stepwise Simplified		-0.5079				0 3715		0 1829		0.0748			0.0665	-0 3850	0.818	• 1 1 1 7
000001	nbined Binder Mixes nbined Binder Mixes nbined Surt (E) Mixes nbined Surt (E) Mixes Mixes	Simplified Stepwise Simplified Stepwise		-0.5079	-0 0074			0.3715	-0 0050	0.1829		0.0748		b 0000	-0.0695	-0.3850	0.818	1
	nbined Binder Mixee nbined Binder Mixee nbined Surf (E) Mixee Noned Surf (E) Mixee Mixee Mixee	Simplified Slepwise Simplified Stepwiss Beckward D.		-0.5079	-0 0074			0.3715	-0 0059	0 1829		0.0748		0.0006	-0.0695	-0.3850	0.818 0.592 0.405 0.462	1: 1: 71 7:

.

stability (t = 2.42) and stability/flow (t = -2.09) being considerably less important.

Variables found to be important for the DOT base and coarse mix models (individually) are as follows as summarized in Tables 27 and 28:

- <u>Mix Variables</u>: asphalt content, air voids, VMA, mix density, flow. Resilient modulus may also be very important but sufficient data was only available for the coarse base mix to identify this variable.
- Aggregate variables: mica content, specific gravity of fines, pouring properties, roughness, weighted surface area.

Of potential significance was the fact that the weighted mica content $(M_{i,w})$ was found to be correlated to the properties of the aggregate determined from the pouring test which is described in Appendix-D (rugosity, S_{rv} ; macro voids, S_{ma} ; and micro voids, S_{mi}). The highest correlation (R = 0.680 between weighted mica content (M_i , w) and surface macro voids (S_{ma}) was measured for the -30 to + 40 size particles. Several other correlations exist between mica content and pouring test properties having R-values almost as high. The fact that weighted mica content and the amount of macro voids are related (and also other surface aggregate properties) appears to indicate that the mica content affects the formation of the aggregate particle. From a geological viewpoint, this finding appears reasonable.

Binder Mixes

<u>DOT Binder Models</u>. Three statistical rutting models were developed for DOT B binder mixes. All of these models have excellent adjusted R square values varying from 93.9 percent for the simplified model to 96.8 percent

for the best general model. The most accurate DOT binder model is summarized in Table 31(a) and the correlation is shown in Figure 7(a). The simplified model is given in Table 31(b).

Coarse Binder and Combined Models. The proposed coarse binder had a gradation very similar to the DOT base mix. Therefore the DOT base mix, whose rutting test correlation results are given in Table 27, is used to represent the coarse binder mix. Combined DOT binder and DOT base (simulating a coarse binder mix) results are given in Table 32 and the statistical correlation is shown in Figure 7(c). The R square (adjusted) value for this correlation is 0.452 and the probability is equal to or greater than 96 percent that the variables used are related to rutting. Simplified models for all the binder mixes are given in Table 30. Important Binder Variables. The most important variables affecting rutting. in DOT binder mixes, as indicated by the simplied model given in Table 31(b), are stability/flow (t = 10.4), asphalt content (AC; t = 9.43), VMA (t = -8.28), mix density (t = 3.91) and the combined effects of four aggregate surface properties obtained from the pouring test (S_{rv} -16; t = 3.69). This rutting model was selected to examine the significant variables because it uses only Marshall mix design variables and predictors from the pouring test.

Mica content did not directly enter this equation but did enter the most accurate equation (Table 31(a)). Also, recall that mica content and rugosity (S_{rv}) - the combined surface properties of the aggregate, are related.

Very important variables from the other two rutting DOT binder models are as follows:

1. <u>Mix design variables</u>: Stability and asphalt content.

(a) General Model

, w

18 cases used 3 cases contain missing values

Predictor	Coef	Stdev	t-ratio	р
Constant	-2.2934	0.5559	-4.13	0.004
Sma, w	0.009559	0.0019	5.12	0.000
Smi,w	0.022918	0.0072	3.17	0.0164
SA, w	9.0E-7	1.5E-7	6.06	0.000
SC,w	-0.018379	0.0088	-2.09	0.075
%Mi,w	-0.004483	0.0012	-3.76	0.007
🛠 AC	0.34284	0.0418	8.21	0.000
% Air V.	-0.05710	0 .0130	-4.40	0.003
Mix Dens	0.010646	0.0031	3.41	0.011
% VMA	-0.06236	0.0216	-2.89	0.023
Stab.	0.0001034	0.0000	1 9.97	0.000

s = 0.01093 R-sq = 98.7% R-sq(adj) = 96.8%

Analysis of Variance

SOURCE	DF	S S	MS	F	р
Regression	10	0.0617248	0.0061725	51.71	0.000
Error	7	0.0008355	0.0001194		
Total	17	0.0625603			
SOURCE	DF	SEQ SS			
Sma, w	1	0.0000590			
Smi.w	1	0.0034715	•		
SA, w	1	0.0087709			
SC,w	i	0.0020912			
%Mi.w	1	0.0052015			
% AC	1	0.0073870			
% Air V.	1	0.0170370			
Mix Dens	1	0.0012418			
% VMA	1	0.0045902			
Stab.	1	0.0118747			

(b) Simplified Model

The regression equation is

Rutting = - 2.82 + 0.0164 x Srv (pass. No.12/ret. No.16)

- 0.00900 x Srv (pass.1/4"/ret. No.4)
- 0.00412 g Srv(pass. 1 1/4"/ret. 7/8")
- + 0.0175 x Srv, w + 0.662 x % AC + 0.0558 x % Air V.
- + 0.0208 x Mix Dens. in pcf
- 0.239 x % VMA 0.273 x bulk SG of fine aggregate
- + 0.00178 x Sta/Flow

18 cases used 3 cases contain missing values

Predictor	Coef	Stdev	t-ratio	P
Constant	-2.8187	0.5758	-4.89	0.000
Srv (16)	0.0164	0.0044	3.69	0.008
Srv (4)	-0.0090	0.0027	-3.28	0.013
Srv(7/8)	-0.0041	0.0025	-1.65	0.144
Srv,w	0.0175	0.0039	4.50	0.000
% AC	0.66173	0.0701	9.43	0.000
% Air V.	0.05576	0.0160	3.49	0.010
Mix Dens	0.020837	0.0053	3.91	0.006
% VMA	-0.23873	0.0288	-8.28	0.000
SG bulk	-0.2733	0.2122	-1.29	0.239
Sta/Flow	0.0018	0.0002	10.38	0.000
s = 0.0145	7 R-60 =	97.6%	R-sa(adi)	= 94.2%

Analysis of Variance

SOURCE	DF	SS	MS	F	P
Regression	10	0.0610741	0.0061074	28.77	0.000
Error	7	0.0014862	0.0002123		
Total	17	0.0625603			
SOURCE	DF	SEQ SS			
Srv (16)	1	0.0009100			
Srv (4)	1	0.0003206			
Srv(7/8)	1	0.0062107			
Srv,w	1	0.0017014			
% AC	1	0.0141253			
% Air V.	1	0.0094964			
Mix Dens	1	0.0003999			
% VMA	1	0.0029476			
SG bulk	1	0.0021075	۰.		
Sta/Flow	1	0.0228547			



(c) Combined Binder

Figure 7. Level of Fit for Predicted Compared to Measured Rut Depths - Binder Mixes.

۰.

Table 32. Results of Backward Regression Variables for Combined Binder Mixes.

The regression equation is Rutting = 2.61 - 0.0120 x Srv (pass. No.30/pass. No.40) + 0.00729 x %Mi,w 0.867 bulk SG of fine sggregate
0.0800 x Top Size of aggregate in inches + 0.0172 x Flow

44 cases used 19 cases contain missing values

Predictor	Coef	Stder	v t-ratio	р	
Constant	2.607	1 0.469	2 5.56	0.000	
Srv (40)	-0.0120	0.00	43 -2.76	0.009	
%Mi,w	0.007	3 0.00	20 3.64	0.001	
SG bulk	-0.867	0.17	68 -4.91	0.000	
Top Size	-0.080	0.02	56 -3.13	0.003	
Flow	0.01	72 0.00	81 2.14	0.039	
s = 0.05252	R	-sq = 51.6%	R-sq(adj)	= 45.2%	
Analysis o	f Var	iance		ĸ	
SOURCE	DF	SS	MS	F	p
Regression	5	0.111719	0.022344	8.10	0.000
Error	38	0.104799	0.002758		
Total	43	0.216518			
SOURCE	DF	SEQ SS			
Srv (40)	1	0.000123			
%Mi,w	1	0.020820			
SG bulk	i	0.057324			
Top Size	1	0.020851			
SOURCE Srv (40) %Mi,w	DF 1 1	SEQ SS 0.000123 0.020820			
Top Size	1	0.020851			

1 0.012601

Unusual Observations								
Obs.	Srv (40)	Rutting	Fit	Stdev.	Fit Res	idual	St.Resid	
58	23.4	0.45410	0.27186	0.01906	0.1822	4	3.72R	

R denotes an obs. with a large st. resid.

Flow

. .

2. <u>Aggregate characteristics</u>: Macro-surface voids (S_{mi}) obtained from the pouring test and weighted surface area.

Surface Mixes

<u>Combined Models</u>. Because there was relatively limited rutting data for the surface E mixes, both the DOT and coarse mixes were combined for the statistical analyses. The combined model and the statistical summary of results are given in Table 33 along with the correlation fit of the data. The observed adjusted R square value for the combined model is 81.6 percent with the probability that all variables are statistically significant being equal to or greater than 97 percent.

The simplified model for the surface E mix is given in Table 34 along with the accuracy of the correlation. The R square (adjusted) value is 0.582 (R = 0.763) and the probability that the variables used in this model are significant is equal to or greater than 91.9 percent. Significant Variables. The two most significant variables that influence rutting in surface E mixes, based on the general model, are surface area of the particles passing the No. 8 sieve and retained on the No. 120 and the shape classification of the particles passing the No. 120 sieve (R =0.868). These two variables constitute the general model for the relatively fine surface E mixes (refer to Table 33). This finding indicates that the top size of the aggregate plays a much smaller role in rutting of a surface mix than, for example, a base mix and that particle characteristics of the finer sizes are important. The surface E mix was the only type mix for which a single variable (shape classification of the particles passing the No. 120 sieve) showed a high degree of correlation with rutting.

Table 33. Results of Regression on Stepwise Variables for Combined Surface (E) Mixes.

The regression equation is Rutting = 0.970 -0.000019 x Surface Area (SA) in square inches per pound (pass. No.8/ret. No.120) - 0.0831 x Shape Classification (SC) (pass. No.120)

v14 cases used 28 cases contain missing values

Predictor	Coef	Stdev t-ratio	р
Constant	0.9698	0.0971 9.99	0.000
SA (120)	-0.0000	0.0000-2.54	0.027
SC <120	-0.0831	0.0130-6.40	0.000

$$s = 0.04179$$
 R-sq = 84.5% R-sq(adj) = 81.6%

s = 0.04179





۹.

Table 34. Results of Regression for the Simplified Combined Model for Surface E Mixes.

The regression equation is Rutting = - 10.8 + 0.372 x Srv (pass. No.30/ret. No.40) + 0.183 x Srv (pass. 1/4"/ret. No.4) - 0.0748 x Srv,w -+ 0.963 x % AC + 0.473 x % Air V. - 0.385 x % VMA

12 cases used 30 cases contain missing values

Predictor	Coef	Stdev t-ratio	Р
Constant	-10.841	3.100 -3.50	0.017
Srv (40)	0.3715	0.1110 3.35	0.020
Srv (4)	0.1829	0.0540 3.39	0.020
Srv,w	-0.0748	0.0343-2.18	0,081
% AC	0.9627	0.2720 3.54	0.017
% Air V.	0.4727	0.1192 3.97	0.011
% VMA	-0.3850	0.1195-3.22	0.023

R-sq = 81.0%

$$s = 0.06318$$

R-sq(adj) = 58.2%





8.5

The simplified model uses properties which are much easier to measure in the laboratory than surface area and particle shape. The simplified model (Table 34) has an adjusted R squared value of 58.2 percent with a 91.9 percent or greater probability that the variables used are significant. Air voids and asphalt content appear to be the most important variables in the simplified model. Aggregate variables that are almost as important and are obtained from the pouring test are as follows: rugosity $(S_{r,v})$ of particles from the No. 30 to No. 40 sieve, particles from the 7/16 in. to No. 4 sieve, and weighted rugosity $(S_{rv,w})$. Voids in the mineral aggregate (VMA) also plays a role in determining rutting in E mixes. Once again, the aggregate properties of the smaller size particles play an important role in rutting of the surface E mixes. <u>Variables Interactions</u>. Stability/flow showed a strong interaction (R = 0.687) with rugosity measured between the 1.25 in. and 7/8 in. sieves. Mix density also correlated reasonably well (R = 0.687) with the same value of rugosity. The percent mica in the aggregate passing the No. 100 sieve and the weighted mica content both show a high corelation with the value of Marshall Stability (R = -0.783 and -0.799, respectively). Stability and VMA (R = 0.778) and also mix density and flow (R = 0.770) also show reasonably good correlations.

FATIGUE LIFE

Introduction

Theoretical studies of the fatigue life of the base, B-binder, and surface E mixes were conducted to determine the influence on fatigue of going from a conventional mix to a slightly coarser mix. Two types of fatigue life analyses were conducted:

- <u>Direct Comparison</u>. A direct comparison was performed of the difference in fatigue life between the standard and coarse mixes using the Marshall mix design characteristics and the GTFATIGUE computer program (Appendix D).
- 2. <u>Detailed Analysis</u>. A detailed analysis was performed for a limited number of conditions using elastic layered theory, typical pavement structural sections, typical resilient moduli from the diametrical test, and the GTFATIGUE computer program.

The results of these two fatigue life studies are summarized in this section.

Direct Comparison

Following the direct comparison method, a tensile strain of 200 x 10⁻⁶ in/in. was assumed to exist in each asphalt concrete mix. Dynamic moduli for each mix were calculated using the RESMOD computer program (Appendix D) and the properties of the mix. Dynamic moduli, the given tensile strain level, and the Marshall mix design characteristics given in Chapter 2 for each mix were then used to calculate the expected fatigue life of each mix using the GTFATIGUE computer program described in Appendix D.

A summary of the fatigue lives predicted by the two theoretical fatigue models are presented in Tables 35 for the base, B-binder, and E surface asphalt concrete mixes. The fatigue life is given for both standard Georgia DOT mixes and the rut resistant coarse and fine mixes developed during this study. The coarse mixes have a slightly coarser gradation than standard DOT mixes and hence usually exhibit a slightly lower optimum asphalt content based on the Marshall mix design method.

			COADS	PED	FINE	RED	<u> </u>	COARS	RED.	FINE	RED.		COARS	RED.	
	AVG.	DAGE	DACE	(D)	BASE	(3)	RINDE	BINDE	(3)	BINDE	(3)	E-MIX	E-MIX	(3)	F-MIX
QUARRY	(2)	BASE	BASE 1 065	(3)	005	1902	1 133	1210	-7%			2,111	1,002	53%	2,221
WHITE	1,130	1,210	1,005	12%	335	1070	1,155	1579	47			2.023	2.040	-1%	2,450
BARIN	1,401	1,579	9/0	39%			1,035	1 207*	707	1 088	394	2 4 8 9	2.066	17%	,
KENNESAW	1,713	1,795	1,407	22%	1,034	42%	1,950	1,007	69	1,700	-370	2 589	1 134	56%	
STOCKBRIDGE	1,744	1,864	1,394	25%			1,974	1004	0/4			2,207	1 813	7100	
LITHONIA	1,491	1,386	1,207	13%	1,108	20%	1,881	1380	20/4			2,501	1,015	2702	
NORCROSS	1,668	1,967	1,178	40%	1,246	37%	1,859	1967	-6%			2,009	2,024	3270	
PALMER ST.	1,598	1,854	1,346	27%			1,595	1854	-16%			2,390	2,200	1570	
BALL GRD.	1.617	1,898	1,078	43%			1,876	1,596	15%	1,577	17%	2,334			
ATHENS	2.174	1.972	2,148	-9%			2,401	1972	18%						
CANDLER	1.536	1.614	1,102	32%			1,891	1614	15%						
MT VIEW	1 612	1.656	1.254	24%			1,925	1656	14%						
TYDONE	1 730	1,760	1.527	13%			1,902	1760	8%						
DUEODD	1 770	1 769	1 386	22%			2,182	1769	19%						
SUPORD	1,075	1 745	1 555	11%			2.176	1745	20%						
CUMMINUS	1,025	2025	1 427	3000			1.985	2025	-2%						
GRIFFIN	1,012	1 619	1 820	1204			2,602	1618	35%						
DAN	2,010	1,010	1,045	-1570			2 230	1530	31%						
RUBY	1,696	1,530	1,321	13%			1 624	1593	2%						
DALTON	1,389	1,593	949	40%			1,024	1831	16%						
LITHIA SP.	1,731	1,831	1,180	36%			2,182	1756	- 20%						
POSTELL	1,654	1,756	1,305	26%			1,900	.1120	0/4						4 486
DIXIE								1.005	100	1 703	001	2 2 9 0	1 709	2807	3.052
		1,721	1,332	23%	1,096	36%	1,945	1,702	12%	1,783	8%	2,300	1,700	20 /0	5,052

(1) Multiply values by 1000

- (2) Quarry averages represent the fatigue life average from base, coarse base, and binder mix designs only
- (3) Reduction in fatigue life in percent in going from DOT to Ga Tech mix
- (4) Actual proposed coarse grading as compared to the DOT base grading used for the other coarse mixes.

Primarily as a result of these differences, the theoretical fatigue life of the coarser mixes is usually lower than for the standard DOT mixes. <u>Base Mixes</u>. Assuming a constant tensile strain is developed in each mix under the applied wheel loadings, the average reduction in fatigue life for the coarse base mixes, compared to the standard base mixes, is 22 percent with a standard deviation of 11.5 percent. The calculated reduction in fatigue life varied from -13 percent (an increase in fatigue life) to +43 percent (a reduction in fatigue life). The 4 finer base mixes studied showed an average reduction in fatigue life of 29 percent. These findings suggest the presently used DOT mixes have a relatively high fatigue life compared to other possible aggregate gradings.

<u>Binder Mixes</u>. The coarse binder mixes exhibited a theoretical average reduction in fatigue life of 11 percent compared to the standard DOT binder mix. Note that all but 2 of the coarse binder mix fatigue lives given in Table 35 are actually DOT base mixes.

<u>Surface E Mixes</u>. The average reduction in the coarse E mixes, compared to the DOT E mix is 28 percent (Table 35).

Detailed Fatigue Life Analysis

Both the thin and thick pavement sections considered in the detailed fatigue life analysis are shown in Figure 8. Both of these sections were loaded with an 18 kip, single axle, dual wheel loading. Representative asphalt concrete moduli measured in the diametrical test and used in the analysis are also shown on this figure.

The tensile strain in the bottom of the E mix surface layer and also at the bottom of the asphalt concrete base were calculated using the ELSYM 5 computer program. All layers were assumed to be isotropic and linear elastic. The subgrade was assumed to be semi-infinite and have a resilient



Figure 8. Summary of Material Characteristics Used in the Detailed Fatigue Analysis.

.

۶.

modulus of 3000 psi which is reasonable for a micaceous sandy silt subgrade. Typical asphalt concrete mix designs were used for both the standard and coarse bases. Mix design properties are summarized in Table 36.

<u>Findings</u>. The influence on pavement response of replacing a standard DOT base with a coarse base mix is summarized in Table 37. The influence of this change is negligible for the DOT surface E mix on both tensile strain and fatigue life. The tensile strain in the bottom of the coarse base, however, is increased by about 11 percent for both structural sections. This modest increase in tensile strain, however, causes a theoretical reduction in fatigue life of 33 to 38 percent.

<u>Discussion</u>. This detailed theoretical fatigue life study was partially based on resilient moduli of the asphalt concrete mixes obtained from diametral laboratory tests. These resilient moduli are significantly less than the dynamic modulus values predicted using the modified Asphalt Institute equations which are based on a cyclic triaxial compression test. The diametrical test subjects the specimen to a state of tension which accounts for the smaller moduli compared to the triaxial test. Finally, predicting the actual fatigue life of an asphalt concrete mix under service conditions is extremely difficult due to many factors including (1) traffic compaction effects, (2) environmental effects, and (3) the inability to accurately predict, by theory, tensile strain. As a result, fatigue life estimations should be considered as being only a general indication of actual field performance.

	DOT	Rut Resistant	
Property	E Mix	Base Mix	Base
Asphalt Content (%)	5.4	4.7	4.2
Weight (pcf)	148.0	148.0	150.
VMA (%)	16.8	15.2	14.8
Absorption (%)	0.5	0.5	0.5
Air Voids (%)	4.2	4.4	4.5
R & B softening Point (*F)	122	122	122
Fatigue Constant (K)	46.06	46.06	46.06

Table 36. Mix Design Data Used in Faligue Analysis.

Table 37. Comparison of Fatigue Predictions for Standard Georgia DOT Mix with Rut Resistant Mix - Rut Resistant Results Given in Parentheses.

10

Pavement		Surface			Base		
Section	ε _t ⁽¹⁾	N _f ⁽²⁾	ΔNf ⁽³⁾ (Z)	ε _t	^N f	ΔNf (Z)	
Thin Section (Case I)	152 (151)	9.01 (9.25)	+3	295 (328)	0.54 (0.36)	- 33	
Thick Section (Case II)	119. (120)	24.6 (23.7)	-4	144 (160)	7.79 (4.81)	- 38	

Notes: 1. Analytically calculated tensile strain in the bottom of the layer.

۰.

- 2. Predicted number of repetitions to failure average of Nottingham and Asphalt Institute methods.
- 3. Change in fatigue life in going from a DOT base mix to rut resistant base mix (a negative number indicates a reduction in fatigue life).

GENERAL DISCUSSION

Asphalt Concrete Mix Design

The results of this study show that rutting in a standard Georgia DOT asphalt concrete base, B binder, and surface E mix can, on the average, be reduced by about 23, 14, and 13 percent, respectively by using a slightly coarser asphalt concrete mix. The observed beneficial effects of using a coarse mix, however, varies significantly with the type mix and quarry.

Some reduction in fatigue life of a coarse mix can generally be expected compared to the conventional Georgia DOT mixes. Considering all factors, the average reduction in fatigue life for the base, binder, and surface E mixes is hypothesized to be on the order of 22, 11, and 28 percent, respectively. The average reduction in fatigue life, similarly to reduction in rutting, varies greatly from mix to mix. An accurate estimate of the fatigue life of a mix in the field is not possible within the present state-of-the-art because of the complexity of the problem including densification under traffic compaction, hardening of the asphalt cement, and environmental effects.

<u>Design Recommendation</u>. The proposal is put forward to use the coarse mixes for only aggregate quarries where more than about 10 to 20 percent reduction in rutting is expected. This approach retains the generally higher fatigue life of the conventional DOT mix for cases where little or no reduction in rutting would be achieved by using a coarser mix.

Base Mixes

The most extensive laboratory rutting data is available for the base mixes studied from 20 quarries. Table 38 summarizes the performance of the coarse base mixes which showed the most reduction in rutting compared to

the conventional DOT base mixes. Eight of the 20 mixes studied were given a Class I designation. A Class I mix is defined as one having a high reduction in rutting (an average of more than 29 percent for the base mixes), and a relatively low reduction in fatigue life (an average of only 8 percent reduction as determined by the direct method). Using a slightly coarser gradation for Class I base mixes should significantly reduce rutting while sacrificing very little in terms of fatigue life. The use of slightly coarser mixes for these quarries has a high potential for providing much better overall gavement performance with respect to rutting.

The 9 Class II quarries given in Table 38 all exhibit important reductions in rutting (an average of 25 percent) while also exhibiting a relatively high reduction in fatigue life (an average of 31 percent) as calculated by the direct method. For these mixes an important reduction in rutting can be achieved, but only with some sacrifice in fatigue life of the base.

<u>B Binder Mixes</u>

Table 39 summarizes the rutting and fatigue findings for the best 11 Class I and Class II coarse B binder mixes. Actually Table 39 compares the DOT base mixes, which simulate a coarser binder mix, with the conventional DOT binder mixes. The 4 Class 1 coarse binder mixes showed a 41 percent average reduction in rutting and only a 11 percent reduction in fatigue life. The 41 percent reduction in rutting is probably higher than would actually occur. The 7 Class II coarse binder mixes showed an average of 23 percent reduction in rutting while only an average of 14 percent reduction in fatigue life. All of the 11 Class I and II mixes could be used to reduce rutting.

0	Rutting R	Fatigue Life		
Quarry -	Direct	Cumulative	Reduction (%)	
	CLAS	S I COARSE BASE		
White	_	45.4	• 12	
Lithonia	43.2	23.5	13	
Tyrone	22.6	22.6	13	
Cumming	64	50.5	11	
Dan	25	31.4	-13	
Ruby	25.8	3.0	13	
Average	36%	29%	8%	
	CLAS	S II COARSE BASE		
Palmer	50	48.4	27	
Buford	17.8	19.8	22	
Dalton	21.1	24.7	40	
Lithia Springs	-	43.2	36	
Stockbridge	-	16.1	25	
Norcross	-	19.0	40	
Ball Ground	<u> </u>	15.6	. 43	
Mt. View	9.3	15	24	
Postell	-	15.4	26	
Average	25%	24%	31%	

Table 38. Coarse Base Mixes Showing Most Potential For Use Compared to Conventional DOT Base Mixes.

.

.

.

۰.

Table 39. Coarse Binder Mixes Showing the Most Potential For Use Compared to Conventional DOT Binder Mixes.

"

X.

-

•

Quarry	Rutting	Reduction (%)	Fatigue Life Reduction (%)	
	Direct	Cumulative		
	CLASS	I COARSE BINDER MIXES		
Ballground	• ·	42.6	15	
Candler	-	42.7	15	
Postell	-	39.9	8	
Kennesaw	_	~39	7	
Average		41%	11%	
·	CLASS 1	II COARSE BINDER MIXES		
	CLASS I	II COARSE BINDER MIXES		
Lithonia	CLASS 1	II COARSE BINDER MIXES	26	
Lithonia Tyrone	CLASS 1 53.5 7.8	II COARSE BINDER MIXES 39.3 6.0	26 8	
Lithonia Tyrone Buford	CLASS 1 53.5 7.8 38.7	II COARSE BINDER MIXES 39.3 6.0 18.1	26 8 19	
Lithonia Tyrone Buford Cumming	CLASS 1 53.5 7.8 38.7 9.4	11 COARSE BINDER MIXES 39.3 6.0 18.1 31.6	26 8 19 20	
Lithonia Tyrone Buford Cumming Athens	CLASS 1 53.5 7.8 38.7 9.4 5.3	39.3 6.0 18.1 31.6 7.0	26 8 19 20 18	
Lithonia Tyrone Buford Cumming Athens Barin	53.5 7.8 38.7 9.4 5.3	39.3 6.0 18.1 31.6 7.0 21.7	26 8 19 20 18 4	
Lithonia Tyrone Buford Cumming Athens Barin Stockbridge	53.5 7.8 38.7 9.4 5.3	39.3 6.0 18.1 31.6 7.0 21.7 7.7	26 8 19 20 18 4 6	
Lithonia Tyrone Buford Cumming Athens Barin Stockbridge Average	CLASS 1 53.5 7.8 38.7 9.4 5.3 - -	39.3 6.0 18.1 31.6 7.0 21.7 7.7 19%	26 8 19 20 18 4 6	

E Surface Mixes

Five of the seven coarse surface mixes tested showed an average of 22 percent reduction in rutting (Table 40). The corresponding average reduction in theoretical fatigue life for these five mixes was 25 percent. Only the Palmer Station coarse E mix was a Class I type mix exhibiting a 33 percent reduction in rutting and only a 15 percent theoretical decrease in fatigue life. The Class II surface E mixes exhibited an average of 19 percent reduction in rutting and a corresponding 27 percent average reduction in theoretical fatigue life.

Target Aggregate Gradations

The target aggregate gradations used in the study are given in Table 41. The actual gradations achieved for specific quarries varied by \pm 1 to 2 percent on some sieves. This variation in gradation was due to blending standard aggregate sizes, using the produced gradation for the specific quarry, to obtain a gradation very close to the target.

Extrapolation of Test Results

The Loaded Wheel Tester rutting results can be readily extrapolated to other quarries for the type mixes studied using the equations given in the previous section on statistical relations (refer, for example, to summary Table 30) Using this approach, rut depths for the conventional DOT mixes and the coarse mixes would both be calculated using the appropriate statistical equation. For coarse mixes showing important potential reductions in rutting, the fatigue lives of the conventional and coarse mixes could then be calculated to further aid in deciding if the coarse mix should be used. This approach requires measuring the pertinent aggregate and mix characteristics indicated in Table 30.

0	Rutting I	Reduction (%)	Fatigue Life Reduction (%)	
Quarry	Direct	Cumulative		
Λ.	CLASS I CO	DARSE E MIX		
Palmer Sta.	31.5	33.4	15	
	CLASS II	COARSE E MIX		
White Kennesaw	12.7 17.3	12.7 -20	53 17	
Lithonia	15.4	-1.4	24	
Average	15	-	31	

•

,

Table 41. Target Aggregate Gradations Used in Study.

•.

.

.

	Percent Passing						
Sieve	Bas	Base		ler	Surface		
5126	Fine	Coarse	Fine	Coarse	Fine E	Fine F	
1-1/2	100	100	-		-	*	
1	85	85	100	96	100	-	
3/4	76	75	87	82	100	-	
1/2	64	60	73	73	88	100	
3/8	57	54	66	65	75	90	
4	43	39	· 52	47	51	60	
8	33	30	40	36	38	45	
16	25	21	30	28	29	. 29	
30	18.5	15	23	2 2	21	22	
50	14	in	17	18	14	15	
100	10	8	. 13	11	9	12	
200	7	6	8	6	6	7	
			·.				

The regression equation is

Rutting = 2.60 + 0.00993 x Srv (pass. No.30/ret. No.40) + 0.111 x % AC

- + 0.0631 x % Air V. 0.0206 x Mix Dens. in pcf 0.0883 % VMA
- + 0.761 x bulk SG of fine aggregate +0.000480 x Stab. 0.119 x Flow

N

- 0.00445 x Sta/Flow

19 cases used 2 cases contain missing values

Predictor	Coef	Stdev	t-ratio	р
Constant	2.5974	0.8550	3.04	.0.014
Srv (40)	0.009935	0.0037	2.69	0.025
% AC	0.11057	0.0496	2.23	0.053
% Air V.	0.06315	0.0161	3.93	0.003
Mix Dens	-0.020561	0.0036	-5.64	0.000
% VMA	-0.08827	0.0274	-3.22	0.010
SG bulk	0.7607	0.1943	3.92	0.004
Stab.	0.00048	0.0002	2.64	0.027
Flow -	-0.11872	0.0438	-2.71	0.024
Sta/Flow	-0.004450	0.0018	•2.43	0.038

s = 0.02591 R-sq = 87.7% R-sq(adj) = 75.4%

Analysis of Variance

SOURCE	DF	SS	MS	· F	p
Regression	9	0.0430854	0.0047873	7.13	0.004
Error	9	0.0060400	0.0006711		
Total	18	0.0491254			
SOURCE	DF	SEQ SS		,	
Srv (40)	1	0.0079628			
% AC	1	0.0002348			
% Air V.	1	0.0063318			
Mix Dens	1	0.0064494			
% VMA	1	0.0024460			
SG bulk	1	0.0119161			
Stab.	1	0.0013770	i i		
Flow	1	0.0023888	I		
Sta/Flow	1	0.0039788	1		

SUMMARY

Using a coarse surface E, B binder, and base asphalt concrete mix for many quarries results in important reductions in rutting on the order of 15 to 30 percent. The fatigue life of these coarser asphalt concrete mixes, however, is reduced by slight to moderate levels. Therefore, the benefits derived from the reduction in rutting achieved by using a coarse mix is partly offset, to varying degrees, by a loss in fatigue life.

Physical aggregate characteristics were found to be just as important as the Marshall mix design characteristics. The most important aggregate properties include mica content, or the properties from the pouring test which are correlated to weighted mica content, as well as aggregate specific gravity. Also, aggregate top size is important for both the base and B binder mixes.

The statistical equations presented in this chapter can be used to estimate relative levels of rutting in asphalt concrete mixes using basic aggregate properties and Marshall mix design characteristics. The rutting equations presented in this chapter show for each mix which aggregate properties are most important.

Many interactions between variables can be seen by studying the statistical results developed by Siegel [11] as an overall part os this study. The approaches summarized in Appendix D are appropriate for estimating relative fatigue life of different mixes prepared from aggregate obtained from the same quarry.

Chapter 5

CONCLUSIONS AND RECOMMENDATIONS

CONCLUSIONS

The following conclusions are presented based on the results of this study:

1. <u>Pouring Test</u>. The pouring test described in Appendix B involves

comparing the packing characteristics of spherical beads with those of aggregate particles. The pouring test does not require special equipment and is relatively easy to perform. Aggregate macro- and micro- surface properties obtained from the pouring test are statistically related to the rutting behavior of selected asphalt concrete mixes.

- 2. Free Mica Content Test. Reproducible techniques were developed for measuring the free mica content of fine aggregate. Free mica present in material passing the No. 50 sieve can be evaluated by the petrographic examination of sprinkle slides. Free mica in material passing the No. 16 sieve and retained on the No. 50 sieve can be evaluated using stereomicroscopic examination. The percent free mica obtained using these two methods of analysis is based on a particle count rather than weight. Weighted mica contents were determined for the fine aggregate portion of each asphalt concrete mix studied. Fine aggregate is defined as the material passing the No. 8 sieve.
- 3. <u>Free Mica and Aggregate Surface Characteristics</u>. Free mica content correlates reasonably well with selected aggregate

properties obtained from the pouring test. This finding suggests that the presence of mica influences the surface characteristics of aggregate particles.

- 4. <u>Aggregate Shape, Surface Area, Roughness</u>. Efficient techniques were developed for measuring the aggregate shape, surface area, and surface roughness. These techniques involved using a digitizer and microcomputer to collect data for individual aggregate particles. Even using a digitizer the measurement of aggregate shape and roughness characteristics are quite time consuming and require the use of a data acquisition system. The pouring test can be performed much more easily than aggregate shape, surface area, and surface roughness tests. The properties from the pouring tests also correlate well with rutting. As a result the pouring test is in general preferred over the shape, surface area, and surface roughness digitization techniques.
- 5. <u>Rutting</u>. Utilization of slightly coarser asphalt concrete mixes than presently used by the Georgia DOT show average reductions in rutting of 23, 14, and 13 percent for base, B binder, and surface E mixes, respectively. The percent reduction in rutting, however, varies significantly with the quarry. Theoretical mix fatigue life of a coarser mix is reduced on the average by 22, 11, and 28 percent for the base, B binder, and surface E mixes, respectively. Considering the variation in rut depth improvement and variable reduction in fatigue life, the selective use of

coarser gradation asphalt concrete mixes to reduce rutting appears to be the best approach.

RECOMMENDATIONS

The following recommendations are made based on the findings from this study:

1. <u>Rutting</u>. Consider the selective use of coarser base, B binder and E surface mixes for service conditions (environment, wheel loadings, etc.) where rutting is of concern. For well over half of the asphalt concrete mixes use of a coarser gradation has the potential for decreasing rutting by 20 to 30 percent or more. An alternative for at least the base mixes would be to use the coarse mix developed in this study for all mixes. Selection of this alternative should result in an average reduction in rutting of slightly more than 20 percent.

Extend the results of this study to other important quarries used by the Georgia DOT. Either additional Loaded Wheel Tests or the statistical equations developed in this study can be used to accomplish this recommendation.

2. <u>Measurement of Free Mica</u>. Use of the microscopic techniques developed in this study is recommended as standard techniques for measuring free mica content in aggregate. A weighted free mica content based on the gradation of the fine particle sizes (material passing the No. 8 sieve) can be used for many applications. Support for the use of the proposed microscopic techniques is provided by the frequent good correlation of mica content with observed rutting in the Loaded Wheel Test.

3. <u>Pouring Test</u>. The use of the pouring test should be further investigated as a standard laboratory technique for evaluating aggregate surface characteristics. The surface characteristics obtained from the pouring test together with Marshall mix design characteristics can be employed for many mixes to estimate potential relative rut depth.

REFERENCES

- Lees, G., "The Measurement of Particle Shape and Its Influence in Engineering Materials", <u>Journal</u>, British Granite and Whinstone Federation, Vol. 4, No. 2, 1964, pp. 1-22.
- Kalcheff, I.V. and Tunnicliff, D. G., "Effects of Crushed Stone Aggregate Size and Shape on Properties of Asphalt Concrete", <u>Proceedings</u>, AAPT, Vol. 51, 1982, pp. 453-483.
- Boutilier, D.O., "A Study of the Relation Between the Particle Index of the Aggregate and the Properties of Bituminous Aggregate Mixtures", <u>Proceedings</u>, AAPT, Vol. 36, 1967, pp. 157-179.
- McLeod, N.W. and Davidson, J.K., "Particle Index Evaluation of Aggregates for Asphalt Paving Mixtures", <u>Proceedings</u>, AAPT, Vol. 50, 1981, pp. 251-290.
- 5. Kandhal, P.S., Cross, S.A., and Brown, E.R., "Evaluation of Bituminous Paving for High Pressure Tires," Report No. 90-2, National Center for Asphalt Technology, Auburn University, Auburn, Alabama, 1990, 255 pp.
- Sheffield, W.J., "Measurement of Surface Roughness and Surface Area of Aggregates," MS Special Research Problem, Georgia Tech, Atlanta, Georgia, 1989.
- 7. Kemp, M.A., "Measurement and Classification of Surface Characteristics and Mica Contents of Aggregates," MS Special Research Problem, Georgia Tech; Atlanta, Georgia, 1990.
- Mirocha, T.J., "Resilient Modulus Testing of Asphaltic Concrete Pavements," MS Special Research Problem, Georgia Tech, Atlanta, Georgia, 1990.

- 9. Sheng, Jon, "Fatigue Life Estimation and Laboratory Rutting Test of Asphalt Concrete," MS Special Research Problem, Georgia Tech, Atlanta, Georgia, 1990.
- Moeller, S.J., "Loaded Wheel Test Rutting Results," MS Special Research Problem, Georgia Tech, Atlanta, Georgia, 1992.
- Siegel, T.C., "Statistical Study of Rutting In Asphalt Concrete Mixes," MS Thesis, Georgia Tech, Atlanta, Georgia, 1992.
- 12. Ismail, Hamid, "Selection of Aggregate Gradation For Maximum Index Density," MS Special Research Problem, Georgia Tech, Atlanta, Georgia, 1990.
- Ishai, I., and Gelber, H., "Effect of Geometric Irregularity on the Properties and Behavior of Asphalt Concrete," <u>Proceedings</u>, AAPT, Vol. 51, 1982, pp. 495-521.
- Terry, R.D., and Chillinger, C.V., "Comparison Chart for Estimating Percentage Composition", <u>Journal of Petrography</u>, Vol. 25, No. 3, September 1955, pp. 229-234.
- British Standards Institute, BS 812, Flakiness Index Test, United Kingdom, 1984.
- 16. "ASTM D-4791-89 Standard Test Method for Flat or Elongated Particles in Coarse Aggregate", Annual Book of ASTM Standards, Vol. 04.03, American Society for Testing and Materials, Philadelphia, PA., 1990.
- 17. "CRD-Cl19-53: A Method of Test for Flat and Elongated Particles in Coarse Aggregates", Handbook for Concrete and Cement, Corps of Engineers, U.S. Army Waterways Experiment Station, Vicksburg, MS.

- 18. Mather, B., <u>Significance of Tests and Properties of Concrete and</u> <u>Concrete-Making Materials</u>, "Shape, Surface Texture, and Coatings", ASTM STP 169-A, 1966, pp. 415-431.
- Aschenbrenner, B.C., "A New Method for Expressing Particle Sphericity", <u>Journal of Sedimentary Petrology</u>, Vol. 26, No. 1, 1957, pp. 15-31.
- 20. Kay, D., <u>Techniques for Electron Microscopy</u>, 2nd Edition, F.A. Davis Co., Philadelphia, 1965, pp. 136-144.
- 21. Hubbard, J.L., "Microscopy and Image Analysis", <u>Metals Handbook</u>, Ninth Edition, Volume 7, American Society for Metals, 1984, pp. 225-230.
- Underwood, E.E., "Chapter 2, <u>Quantitative Stereology</u>, Addison-Wesley, Reading, Mass., 1974.
- Carman, P.C., "Determination of the Specific Surface of Powders", <u>Transactions</u>, Institute Chemical Engineers, Vol. 57, 1938, p. 225.
- 24. Wright, P.J.F., "A Method of Measuring the Surface Texture of Aggregate", Magazine of Concrete Research, Vol. 7, No. 21, 1955, pp. 151-160.
- 25. Underwood, E.E., and Banerji, K., "Quantitative Fractography", <u>Metals Handbook</u>, Ninth Edition, Vol. 12, Park, Ohio, pp. 199-210.
- 26. McCool, J.I., "Relating Profile Instrument Measurements to Functional Performance of Rough Surfaces", Journal of Tribology, Vol. 109, April, 1987, pp. 264-270.
- 27. Tons, E., and Geotz, W.H., "Packing Volume Concept for Aggregates," Highway Research Record No. 236, Highway Research Board, Washington, D.C., 1968, pp.76-96.

- 28. Lai, J.S., "Development of A Simplified Test Method to Predict Rutting Characteristics of Asphalt Mixes, Georgia DOT Research Project 8503, Georgia Tech, 19--.
- 29. Finn, F.N., Saraf, C., Kulkarni, R., Nair, K., Smith, W., and Abdullah, A., "The Use of Distress Prediction Subsystems for the Design of Pavement Structures," <u>Proceedings</u>, Vol. 1, Fourth International Conference Structural Design of Asphalt Pavements, August, 1977, Ann Arbor, Mich., pp. 3-38.
- 30. Shook, J.F., Finn, F.N., Witczak, M.W., and Monismith, C.L., "Thickness Design of Asphalt Pavements - The Asphalt Institute Method", <u>Proceedings</u>, Fifth International Conference on the Structural Design of Asphalt Pavements, Vol. 1, 1982, pp. 17-43.
- 31. Pell, P.S., and Cooper, K.E., "The Effect of Testing and Mix Variables on the Fatigue Performance of Bituminous Materials," <u>Proceedings</u> AAPT, Vol. 44, 1975, pp. 1-37.
- 32. Epps, J., "Influence of Mix Variables on the Flexural Fatigue and Tensile Properties of Asphalt Concrete, Ph.D. Dissertation, University of California, Berkeley, 1968.
- 33. Brunton, J.M., Brown, S.F., and Pell, P.J., "Developments to the Nottingham Analytical Design Method for Asphalt Pavements," Sixth International Conference Structural Design of Asphalt Pavements, Vol. 1, 1987, pp. 366-377.
- 34. Shell Pavement Design Manual, Asphalt Pavements and Overlays for Road Traffic, Shell International Petroleum Co., Ltd., The Hague, Netherlands, 1977.
- 35. Kallas, B.F., and Shook, J.F., Factors Influencing Dynamic Modulus of Asphalt Concrete", <u>Proceedings</u>, AAPT, Vol. 38, 1969.

- 36. Witczak, M.W., "Development of Regression Model for Asphalt Concrete Modulus for Use in MS-1 Study," University of Maryland, College Park, Md., 1978.
- 37. Miller, J.S., Uzan, J., and Witczak, M.W., "Modification of the Asphalt Institute Bituminous Mix Modulus Predective Equations", Transportation Research Record 911, Transportation Research Board, Washington, D.C.

N

٩.

Appendix A

MEASUREMENT OF PARTICLE, SHAPE, SURFACE AREA, AND SURFACE ROUGHNESS

.

by

N

Richard D. Barksdale Michael A. Kemp William J. Sheffield and James L. Hubbard

MEASUREMENT OF AGGREGATE SHAPE, SURFACE AREA AND ROUGHNESS

INTRODUCTION

Asphalt mix designs are based on many factors including the type and amount of asphalt, air voids, aggregate characteristics, aggregate gradation and mineral filler. To investigate the effects of aggregate characteristics, which are usually not fully considered, the Georgia DOT initiated, through the Georgia Institute of Technology, a comprehensive research program. In the final phase of the study, the effects of these variables will be evaluated on the rutting performance of Georgia DOT asphalt mix designs. This paper describes the measurement of aggregate shape, surface area and roughness using modern digitizing techniques taking advantage of a micro-computer.

PARTICLE SHAPE

Introduction

The shape of the aggregate influences the gradation curve obtained by sieving [1]¹. Flaky particles tend to pass sieves having square holes diagonally. Also, the shape of the particle has a significant influence on the volume of particles retained on a specific sieve. For material retained on a given sieve size, Lees [1] has shown that rodshaped particles are about 2.5 times the size of disc-shaped particles. These differences in size affect the ability of the particles to properly fill voids of coarser size aggregate.

¹The numbers in brackets refer to the references given in the reference section of the main report.

Simple Classification Systems

The shape of fine and coarse aggregate particles can be divided into the following four general shape categories [1]: (1) Flaky, (2) Cuboidal, (3) Blade, and (4) Rod. British Standard BS 812 [15] separates the aggregate into the four rather broad categories given above. The method does not, however, define their exact location within each category. A special, simple gauge is used to measure the two indices required for shape classification.

ASTM [16] and the Corps of Engineers [17] also have a test method similar to BS 812 for evaluating flat and elongated coarse particles in aggregates to be used in concrete. These methods employ a specially designed caliper to determine particle shape ratios. Measurements are performed by hand to determine if particles have a certain length to thickness and width to thickness ratio; specific particle dimensions are not measured. Although simple, these methods are just classification schemes and do not permit determination of surface area. Different ratios separating aggregate classes have been proposed to describe an aggregate particle [18].

The four broad categories defined by these methods allow for quite a large range of particle shape characteristics within each classification. For research purposes these methods might give misleading results, affecting aggregate performance. Also, these classification tests are not suitable for measuring the shape of particles much finer than about the No. 12 sieve and surface area cannot be determined using the results. Classification systems which use just one aspect ratio are not suitable to define particle shape.

Generalized Classification Systems

Both fine and coarse aggregate particle shape can be determined by measuring the Flatness Ratio and Elongation Ratio [1]. The Flatness Ratio (p) is the ratio of the shortest length (c) divided by the intermediate length (b), and the Elongation Ratio (q) is the ratio of intermediate length (b) divided by the greatest length (a). By determining the actual Flatness and Elongation Ratios, a continuously varying classification can be developed. This approach also permits defining a Shape Factor F = p/q and Sphericity ψ . Sphericity ψ is the ratio of surface area of a sphere of the same volume as the particle divided by the surface area of the particle [1]. The proposed method is considerably more flexible for research purposes than the Corps or British classification schemes. The British and Corps classifications can be quickly obtained from the more general Flatness and Elongation Ratio method described by Lees.

Also, the surface area and sphericity of the aggregate can be determined using the more general shape classification method. The generalized shape classification concept is a method of tridimensional shape analysis where each grain is approximated by a tetrakaidekahedron [15,19]. Three mutually perpendicular particle dimensions (length, width, and thickness) are measured and used to calculate the ratio of surface area of the particle compared to that of an equivalent sphere, or else surface area is directly calculated.

Particle Shape Using a Digitizer

For shape classification, the aggregates studied in this investigation were divided by sieving into the following 4 size ranges:

1/2 in. to 3/8 in., No. 4 to No. 8, No. 8 to No. 120, and smaller than the No. 120 sieve. These size ranges were selected by a panel of engineers as being appropriate. For the two larger size aggregate ranges (the 1/2 in. to 3/8 in. and No. 4 to No. 8 sizes), an aggregate sample consisted of 150 particles of each size, with the number of particles being counted visually. In the smaller size ranges, microphotographs and special techniques were used to measure the aggregate shape. The number of particles in each sample of smaller size particles varied from 50 to 150, based on the number of particles captured in each photograph. At least three different samples were measured for each aggregate type This approach resulted in the use of a minimum of 450 particles for each of the coarser two sizes studied and a minimum of 150 particles for each of the finer two particle sizes studied; usually 250 or more particles were included. The use of more than 150 particles is desirable but was too expensive to achieve in all cases for the microscopic size particles.

Aggregate shape was determined and numerous plots and tables produced without a human hand ever working with the data. The procedure developed for particle analysis is completely automated and uses a relatively inexpensive digitizer which automatically feeds data into an IBM-XT micro-computer.

Aggregate Greater Than No. 8 in Size

For the aggregate greater in size than the No. 8 sieve, photocopies were made of the flattest profile of the particles. A Savin 7350 copying machine was used to provide an image of 50 particles at a time which were placed in a small box. The box had a clear plastic bottom and dividers so as to give 5 rows of 10 aggregates each. The

copy machine was found to not distort the photocopied image of the aggregate. By providing a profile view of the aggregates, the length and width were easily digitized directly from the photocopy using a Penpad digitizing tablet manufactured by Pencept, Inc. The digitizer has an accuracy of 0.0015 in. which is quite sufficient, particularly considering the relatively large observed variation in aggregate shape and dimensions. The length was digitized as the longest dimension of the aggregate, and the width as the average dimension, in the plane of the photocopied image, perpendicular to the length. The coordinates (x,y) of each point representing one end of a dimension were digitized, and the actual dimension was later calculated. If the original ordering of length, width, and thickness was not correct, a computer program later automatically reordered the dimensions correctly.

Shadows were created when trying to photocopy the profile of the aggregate to measure its thickness. Therefore aggregate thickness was not digitized directly from a photocopy. Instead, vernier calipers were used to measure the average thickness directly from the aggregate. The calipers, open to the proper width, were then laid on the digitizing pad and the tips of the calipers, representing thickness of the aggregate, were digitized. A pen type digitizer, as opposed to one with crosshairs, was used which made possible digitizing the vernier caliper measurements.

This method of measuring the dimensions proved to be very efficient. With experience, an operator can digitize the three dimensions of 150 aggregates in approximately 30 to 45 minutes. After digitizing the three perpendicular dimensions for all aggregates, the data are saved as an AUTOCAD DXF file in ASCII code.

Aggregate Smaller Than No. 8 in Size

Aggregates less than the No. 8 sieve in size require the use of specially prepared optical microphotographs. Similar to the large aggregate, aggregate length was digitized directly from the photograph as the longest dimension and the width as the average dimension, in the plane of the photograph, perpendicular to the length.

Since these particles are very small, the height cannot be measured directly using calipers. Therefore, a special technique was used relating a shadow length on the photograph to particle height. As the particles were prepared for the microscope, uniform reference spheres were added to establish the scale for vertical height. A thin film of metal was evaporated onto the surface at an angle to the substrate on which the particles set to create a shadow [16]. Since the evaporation source is a relatively long distance away, the angles at which it strikes the particles and reference spheres are approximately equal. Therefore, by geometry, a unique ratio exists between the shadow lengths of the reference spheres and the aggregate particles and their heights. A special technique, described subsequently, was used to capture the shadow on the photograph.

Similar to the large aggregate, all digitized dimensions were saved as an AUTOCAD DXF file in ASCII code. A set of microphotograph data can be digitized in 25 to 50 minutes depending on the number of aggregates in a sample.

Manipulation of Data Using AUTOCAD and Lotus 1-2-3

After digitization, all dimensions were stored in an AUTOCAD DXF file. An AUTOCAD DXF file contains all the formatting, scaling, size and other information that AUTOCAD uses when displaying and working with

a drawing. A BASIC program called DFXTRACT was used to remove all the unwanted formatting information and extract only the coordinates of the ends of lines defining the dimensions of the aggregates. This program then saved the data in a form that Lotus 1-2-3, or other spreadsheets, was able to readily use.

Once the endpoints of the lines representing the dimensions of the aggregates were extracted and stored in the Lotus 1-2-3 PRN file, the PRN file was imported into a Lotus 1-2-3 worksheet using the Lotus 1-2-3 import command. The lengths of the dimensions were then calculated using the coordinates of the end points and stored in a 1-2-3 worksheet file named WK1.

The conversion of endpoints to lengths defining the dimensions of the aggregate can be performed faster using BASIC as a part of the DFXTRACT program. Using the BASIC program requires about 30 sec. on an IBM-XT computer compared to 3 min. for the Lotus 1-2-3 macro. However, errors are sometimes made using the digitizer and AUTOCAD, such as adding a stray line or an extra point. The Lotus 1-2-3 worksheet approach allows examination of the data and in most cases the error can be corrected even after general processing of the data has been finished. A BASIC program would probably blow up or give useless results in the same situation. Typical results illustrating how the resulting shape measurement data can be readily presented using a spreadsheet are given in Figures A-1 and A-2.

Techniques for Three-Dimensional Measurements of Very Fine Aggregate Samples

The fine aggregate samples studied (smaller than the No. 8 sieve in size) have a broad size range which requires the use of both low and


Figure A-1. Typical Shape Classification Scatter Diagram for a Selected Georgia Specimen.



Figure A-2. Typical Shape Factor Histogram for a Selected Georgia Aggregate.

high magnification techniques which cannot be accomplished using one instrument. As a result, aggregate varying in size from the No. 8 to No. 120 sieve were treated differently than aggregate smaller than the 120 sieve. The larger fraction particle size (No. 8 to 120 sieve size) is great enough to present difficulties in direct optical measurements and especially in macro photography due to the very limited depth of field of optical techniques. If measurement of the thickness of these particles is required, a unique sample preparation problem exists.

Large Fraction - No. 8 to No. 120 Sieve Size Particles

Sample Dispersion. The solution for measuring aggregate shape of small particles is not to look at the particles themselves but to create flat silhouette representations of the particles from which measurements can be taken. If a shadow is added to the silhouette directly related to the particles' height, the three dimensions of length, width and height can easily be measured in one flat plane. The technique of vacuum evaporation of thin metal films, such as used in the preparation of samples for transmission electron microscopy (TEM), was used to prepare these flat, two dimensional representations of three dimensional samples [20]. To prepare fine aggregates so that silhouettes were obtained, aluminum was used instead of platinum which is employed in TEM preparation because of its ease of evaporation.

First, a glass microscope slide was cleaned with soap and water to insure good adherence of the evaporated film. A good dispersion of the sample particles was placed on this slide. Care was exercised to insure that the particle spacing was sufficient to allow for a shadow between the particles, and that the dispersion was representative of the true size distribution. Obtaining good sample dispersion is perhaps the

hardest but most important part of the sample preparation. A wide variety of dispersion techniques can be used depending on the nature of the particulate material being studied.

For the particles used in this study, the dispersion was prepared in the following manner. Each sample was placed in a plastic bag. The sample was then mixed by shaking the bag back and forth while turning it [21]. Shaking was carried out for a sufficiently long period of time to thoroughly mix the sample. A number of small subsamples were taken from different areas of the bag and mixed to further insure a representative sample. Because the mica consisted of relatively large flakes, an antistatic spray was not required to prevent sticking of these particles to the sides of the bag. A number of cleaned glass slides were placed on a flat surface and the extracted sample allowed to drop onto the slides from a height of about 1 ft. This was performed in an area which had no air movement. A small quantity of uniform glass spheres was also dropped onto the slides. The size of the spheres was later determined by measuring their diameter on the photograph and calculating the size knowing the scale of the photograph. One of the slides which visually appeared to have the best dispersion was selected for further processing.

Evaporation of Aluminum. The slide having the best dispersion of particles was placed in a vacuum evaporation unit in which two filaments had been set up for evaporation of aluminum. One filament was located directly above the slide while the other was placed off to the side at an angle of about 30° to the slide surface. The unit was evacuated to a pressure of at least 10^{-4} mm of mercury and the aluminum evaporated. The proper amount of aluminum evaporated was determined experimentally

to give the best contrast for both shadow and silhouette. For a single particle, two areas are present on the slide which may be coated by only one layer of aluminum, the shadow area and an area opposite the shadow if the particle is not square with the surface.

The slide is removed from the coating unit, and the particles are then removed from the slide by blowing them off with air. If the fine particles resist removal by blowing, the slide is placed in a beaker of water containing a small amount of wetting agent and then treated in an ultrasonic bath for a few seconds.

Fine Fraction Smaller Than No. 120 Sieve

Particle size measurements of the fine fraction less than the No. 120 sieve in size were made from micrographs taken using the scanning electron microscope (SEM). The particles were dispersed on a plastic substrate and the preparation coated with carbon by evaporation to prevent charging the SEM. The dispersion was then shadowed with aluminum as previously described. The particles were left in place on the slide since depth of field is not a problem in the SEM. The micrographs were taken using the backscatter signal which is very sensitive to elemental differences. Good contrast was obtained using this technique between the particle, shadow and background. Uniform glass or latex spheres were included in the dispersion for shadow/thickness determinations.

Estimation of Particle Thickness

After following the previously given procedures for sample preparation, all of the particle information is now represented in the single plane of the slide which can be photographed at any magnification

or viewed on a projection screen where direct measurements can be made. Figure A-3 is a drawing of the shadowed silhouette of a single particle where A is the particle length, B the width, and C the shadow length. The shadow length of the spheres can be used to convert shadow length to thickness using the formula:

$$T = Sh_p \{ \tan[2(\arctan r_{ap}/(Sh_{ap} + r_{ap}))] \}$$
(A-1)

where:

т

particle thickness Sh_p particle shadow length sphere radius rap Shap sphere shadow length.

For low shadowing angles the simpler formula

$$T = Sh_p (2r_{ap}/)Sh_{ap} + r_{ap}))$$
(A-2)

can be used as a close approximation.

SURFACE AREA

Introduction

The surface area of the aggregate for a given quantity of asphalt has a significant effect on the asphalt film thickness and as a result can influence mix performance. Surface area can be determined by a number of methods including the (1) tridimensional approximation described by Aschenbrenner [19], (2) quantitative stereology [22], (3) surface coatings including wax and paint [22], (4) air and mercury permeability [23], and (5) Gas adsorption. The tridimensional method described by Aschenbrenner [19] has been previously summarized. In addition to this approach, the quantitative stereology and perhaps the gas (usually nitrogen) adsorption methods appear at this time to





probably offer the best techniques for determining surface area. The gas adsorption method, however, indirectly measures the external surface area of the particle and also any pores greater in size than about 4A. This method requires several ideal assumptions to calculate surface area using thermodynamic principles.

Quantitative Stereology

Fundamentals

An interesting method for measuring surface area of aggregates is by using quantitative stereology [22]. Quantitative stereology is a direct measurement method and consists of preparing a random sample of N number of aggregates placed in a container of known volume. The aggregates are encased in a cementing agent such as an epoxy to form a solid block. The solid block is then sawed into several random pieces with the cuts oriented in different directions. A number of circles of radius R are inscribed on each saw cut surface, and the number of times (P) each circle intersects an aggregate boundary is counted. Now let P_L equal

$$P_{\rm L} = P/2\pi R \tag{A-3}$$

where R is the radius of the circle and P is the number of intersections. Next calculate the average value of P_L (i.e., \overline{P}_L) for all the circles drawn on all sections. The average surface area S of the particles inside the block of aggregate is then equal to

$$S = 2 \overline{P}_{L} V_{o}/N$$
 (A-4)

where: S = surface area

 \overline{P}_{L} = average number of particle intersections per circle

 V_{o} - volume of the sample

N = total number of particles in the sample

The above quantitative stereology approach makes no geometric assumptions concerning aggregate shape [22]. This method is statistically exact provided a sufficient number of measurements are performed. However, the sample must be statistically representative of the aggregate and a sufficient number of circles must be drawn on the cut faces. The best results are obtained if the particles are randomly positioned in the container, with the distribution being homogeneous. If a random distribution does not exist, more sampling planes cut through the block of aggregates at different angles are required and/or more sampling circles must be drawn on the cut faces. Even if the aggregates are not randomly oriented, the correct surface area can be obtained if a sufficient number of circles and sections are used together with a sufficiently large number of particles.

Sample Preparation

The procedure used for the quantitative stereology method is considerably more labor intensive than the computer method used to obtain aggregate shape and surface area. Approximately 500 aggregates from the 1/2 in. to 3/8 in. sieve size were counted for each sample from each of the seven selected quarries for which surface area was measured using this technique. Of these 500 aggregates, 100 were digitized in this study into the computer for analysis by the Aschenbrenner method to compare results. After digitizing was complete, these 100 aggregates were combined with the remaining 400 particles and later placed in a cylinder.

A two part epoxy glue, which was quick drying and strong, was used to bind the aggregates together. Plastic cylinders 5.25 in. high and 3 in. in diameter were used as molds. This size is convenient to work with and handle, and provides a sufficient volume to produce a representative sample of the size of aggregate studied.

After mixing, a small amount of epoxy was poured into the bottom of the mold. Several aggregates were then dropped into the mold. The mold was tapped for several minutes with a metal rod to move the aggregates into a <u>dense packing</u> and to drive any air bubbles present to the surface. When most of the air bubbles were out, more epoxy and more aggregates were added and tapping repeated. This preparation cycle was continued until all the aggregates were placed in the mold. Extra epoxy was also added to top off the mold and to act as a handle to hold the sample when it was cut. The mold was then placed in a warm location and allowed to harden for approximately 24 hours.

The mold was stripped away from the sample after hardening. The sample was then labeled with a permanent marker. Measurements were then taken of the height of the aggregate-epoxy specimen; the total height of the epoxy cylinder was not measured since the volume of actual aggregate is used in the formulas for calculating surface area. Next, the lower portion of the epoxy-aggregate sample from the bottom up was cut into disks approximately 1/2 to 1 in. thick. The remaining cylindricalshaped sample was split down the center, forming two long, semi-circular sections. One side of each of the three disks and one of the flat semicircular sides was photocopied. The data were taken from the photocopies and reduced to preserve the integrity of the original samples.

Measurements

Five circles were drawn on each cross section that was photocopied. The long flat side of the semi-circular section had twelve circles drawn on it. The number of intersections each circle made with the edges of aggregates was recorded. This large number of circles, 27 in all, was used to achieve a representative sample of the aggregates. The number of intersections per circle was then averaged and entered into equations (A-3) and (A-4) to calculate the surface area. The epoxy cylinder radius, volume of epoxy cylinder containing aggregate, and the total number of aggregates in the sample are also required. Either 3 or 5 aggregate filled specimens were studied from each quarry.

Comparison of Results

Table A-13 compares the results of the quantitative stereology method for evaluating surface area with the one described Aschenbrenner. For the stereology technique, the average standard deviation of the aggregate from the seven granite quarries included in this portion of the study is 0.030 in², which is 4.3% of the average measured value of 0.700 in² per aggregate. For the Aschenbrenner approach, the average standard deviation is 0.050 in² which is 6.7 percent of the average measured value of 0.749 in² per aggregate. The percent differences in average results vary for individual quarries from -10.7 percent to +9.2 percent. The algebraic average difference in surface area between the two methods for the 7 quarries is 2.2 percent. These results appear to indicate that the Aschenbrenner model is probably sufficiently accurate for at least most purposes, particularly considering its simplicity.

Table A-1. Comparison of	Surface	Area	by	Quantitative	Stereology	and	Computer	Surface
--------------------------	---------	------	----	--------------	------------	-----	----------	---------

		ž		
Aggregate	SA by Stereology(1)		Std.	-

Area Analysis - Selected Quarries.

Quarry	Sample	Aggregate Type	SA by Stereology(1) (in. ²)	Mean	Std. Deviation	SA by Computer(1) (in. ²)	Mean	Std. Deviation
Dixie Sand	CA1	Alluvial	0.636	1				
Chatt., TN	CA2	Alluvial	0.641	0.636	0.005	0.580	0.580	-
	CA3	Alluvia l	0.632					
Florida Rock	EA1-1	Granite	0.767			0.752		
Mt. View, GA	EA1-2	Granite				0.715		
	EA2	Granite	0.843	0.816	0.042	0.733	0.738	0.015
· ·	EA3-1	Granite	0.837			0.747		
	EA3-2	Granite				0.745		
Florida Rock	GA1-1	Granite	0.713			0.891		
Tyrone, GA	GA1-2	Granite				0.833		
-	GA2	Granite	0.801	0.767	0.048	0.841	0.850	0.025
•	GA3-1	Granite	0.788			0.830		
	GA3-2	Granite				0.853		
GA. Marble	IA1	Granite	0.809			0.823		
Buford, GA	IA2	Granite	0.827	0.821	0.010	0.747	0.759	0.059
	IA3	Granite	0.827			0.707		
GA. Marble	JA1	Granite	0.677			0.700		
Cumming, CA	JA2	Cranite	0.737	0.733	0.054	0.935	0.762	0.152
	JA3	Granite	0.784		·	0.651		
Vulcan Materials	RA1	Granite	0.815			0.763		
Kennesaw, GA	RA2	Granite	0.774	0.813	0.038	0.825	0.789	0.032
	RA3	Granite	0.849	-	_	0.780		·
Vulcan Materials	UA1	Granite	0.759			0.770		
	UA2	Granite	0.781	0.774	0.013	0.742	0.763	0.019
	UA3	Granite	0.782			0.777		
	and the second sec					_		

Note 1: The surface area (SA) is given for one aggregate.

SURFACE ROUGHNESS MEASUREMENT

Definition of Surface Roughness

Quantifying surface roughness is not easy, particularly for aggregates which have curved surfaces. Further, the value of surface roughness is dependent upon the magnification at which roughness is examined. Numerous definitions of surface roughness have been proposed [24,25,26]. For this study the definition developed for surface roughness (R) is as follows:

$$R = L_T/L_p \qquad (A-5)$$

where:

Ń

LT

 $\mathbf{L}_{\mathbf{p}}$

true length of the segment of surface being
analyzed
length of the line of best fit for the segment
of surface

This definition, which is slightly different than used for flat surfaces, was developed because using the line of best fit appears to contribute to the reduction of error caused by the curvature of an aggregate. Coupling this definition with evaluating small sections of the particle, the problems caused by curvature are minimized.

Methods of Measuring Surface Roughness

Most work in measuring microtexture has involved the roughness of flat metal surfaces. Techniques for measuring surface roughness of aggregates include [24,25]:

<u>Stylus</u>. A pen stylus is drawn over the aggregate surface.
 Optical, mechanical or electronic magnification is usually employed to enhance the profile and process the results.

- 2. <u>Cut Section</u>. The cut profile surface can be measured of an aggregate(s) embedded in an epoxy. The block of epoxy and aggregate is cut, polished and photographed at the desired level of magnification such as 15 to 125X. The surface profile is then directly measured by automatic measuring techniques.
- <u>Casting</u>. A casting of the surface is made. The magnified image of the casting is then examined to determine the profile.
- <u>Oblique Lighting</u>. Illuminating the surface by oblique lighting produces a shadow. A projection microscope is used to observe the shadow.

Stylus type equipment, which appears at first to be ideal, is made to measure surface roughness along a flat surface; deviation from this plane can cause measurement errors and even instrument damage. Also, a stylus-type instrument cannot follow indentations less than the radius of the stylus and cannot measure roughness where overhangs occur. Flat surfaces on an aggregate particle where measurement is possible is often limited.

Roughness Measurement

The cut section method, previously described, was used to measure surface roughness. Data were collected automatically with the same Pencept PenPad and IBM-XT computer that was employed to measure aggregate shape and surface area.

Specimen Preparation

A representative, random sample of thirty aggregate particles was taken from each source. The aggregate sample was then placed in a small plastic cylinder 6 in. high and 1-1/2 in. in diameter. A two part epoxy was used to bind the aggregate together within the cylinders. Magnolia Plastics Epoxy Compound 2014 and Curing Agent 346 were chosen because of their ability to hold the aggregate particles in place while cutting, good polishing characteristics, and the ability to harden within 24 hours.

Thirty particles 3/8 to 1/2 in. in size were dropped one at a time into the cylinder which was one-half full of epoxy. This technique was found to allow settlement of the particles to the bottom minimizing the number of air bubbles trapped during particle placement in the cylinder. No tapping of the cylinder was needed because the samples were small. After curing for 24 hours in a warm location, two to three rock saw cuts across the diameter were performed on each cylinder giving three or four cut aggregate surfaces suitable for measuring roughness on.

Surface Polishing

Number 120, 300 and 600 polishing grits were used to obtain a smooth aggregate surface and sharp contrast between the aggregate surface profile and epoxy. The No. 120 coarse grit was used to take out most of the unevenness due to the saw cut; at the same time it placed small grooves in the sample. The No. 300 grit was used to polish out the grooves placed by the coarse No. 120 grit. Finally, the No. 600 grit polished out any remaining tiny marks or grooves to provide a smooth, finished surface. The sample was polished a minimum of 5 minutes with each grit. The samples were washed between grit changes to prevent any contamination of the finer grit with the coarser ones.

Surface Photography

A photograph of the aggregate surface gives the surface profile in a form suitable to digitize. A scale was also photographed to accurately quantify the level of magnification used. For the purposes of this study, a magnification of approximately 20X was selected for the photo micrograph as being suitable to define the surface roughness characteristics (Figure A-4). The photographs were later blown up 50 percent using a photocopier. This procedure gave a 30X magnification of the surface while resulting in significant savings on printing costs compared with blowing the negative up to 30X during printing.

The use of other magnification levels of the surface would be expected to give different values of surface roughness. Wright, for example, suggested using 125X which perhaps is too much magnification to evaluate surface roughness of the gross surface. The appropriate value of magnification to use certainly deserves further study.

Kodak PX-125 black and white film was used for the photographs. Three aggregate particles from each quarry were evaluated for surface roughness. Pictures were taken of two different locations on the surface of each of the three particles, resulting in six photographs per quarry. In determining surface roughness, each photograph was broken into three smaller segments to minimize the curvature effects of the aggregates. This procedure resulted in 18 values of surface roughness from each quarry.

<u>Digitization</u>

A similar scheme of manipulating the data as employed for shape analysis was also used for roughness. A macro within LOTUS arranged the digitized points, calculated the true length of the digitized surface,



1/16 IN.

Figure A-4. Photograph of Polished Aggregate at Surface After 20X Magnification.

and calculated the line of best fit of the data. The macro also adjusted the length for magnification, calculated the surface roughness, and then created a graph of the real surface and the line of best fit or projected surface. Both the graph and the worksheet were saved on disk.

Calibration of Digitization Procedure

Several calibrations were performed to find any errors, problems, or limitations of the overall digitization methodology used to evaluate surface roughness. Calibrations were performed by simply comparing measured surface roughness with calculated surface roughness of surfaces having a simple, easily defined shape. The first surface used consisted of two semi-circles connected together as shown in Figure A-5. For all calibrations, points on the surface were digitized at distances on the photograph varying from 0.01 to 0.1 in.

Figure A-5 shows that an optimum spacing of digitized points of about 0.05 in. exists, which gives the minimum error for a surface consisting of two semi-circles. A closer spacing of digitization points, which intuitively would be thought to be more accurate, was actually found to be less desirable. The loss in accuracy was apparently due to very small levels of shaking of the hand (referred to as hand vibrations). A saw-tooth shaped surface was also used for calibration. The optimum digitization spacing was found to be 0.04 in. which was close to that found for the circular surface.

The calibration studies showed that a digitization increment of 0.05 in. gives good results. An average correction factor of +2.0 percent was used to correct calculated surface roughness to increase the accuracy based on the calibration studies.



Figure A-5. Calibration of Surface Roughness Digitization Using a Sine Wave Surface.

Reproducibility of roughness measurements on aggregate surfaces obtained by a single experienced operator was found to be good. In comparing the results from three digitizer operations, only one having a high level of experience, the standard deviation of roughness was found to be 0.023 for three quarries in a supplementary study. This study indicated that the operator should become experienced using the digitizer on reference surfaces such as shown in Figure A-5.

<u>Results</u>

As shown in Table A-2 and in another study found by Wright [25], surface roughness varies greatly both over the surface of a single particle and from one particle to another for the same quarry. Therefore, only general trends of surface roughness should be considered and as many measurements as practical performed. Observed variations in surface roughness were as follows: 1.16 to 1.26 for 15 granite gneiss quarries; 1.13 to 1.15 for 3 limestone quarries; 1.16 for an injection quartz; and 1.13 for an alluvial gravel.

CONCLUSIONS

The use of modern data acquisition procedures, which include a relatively low-cost digitizer and micro-computer, make possible the accurate and rapid acquisition of large quantities of data. In this study these devices were used together with AUTOCAD and LOTUS 1-2-3 spreadsheet, to acquire and process large quantities of data without ever touching the data after digitization. The use of a spreadsheet makes possible easy interpretation and presentation of the data. In this paper, sample preparation and data acquisition are described for

SAMPLE	ROUGHNESS PER SAMPLE	CORRECTED	AVG. RGH PER GROUP	AVG. RGH PER AGG.	AVG. RGH PER QUARRY
CA1051 2 3	1.16 1.10 1.09	1.18 1.12 1.11	1.14	1.12	
CA2051 2 3	1.09 1.07 1.07	1.11 1.09 1.09	1.10		
CA3051 2 3	1.07 1.12 1.09	1.09 1.14 1.11	1.12	1.15	1.13
CA4051 2 3	1.23 1.08 1.16	1.25 1.10 1.18 -	1.18		
CA5051 2 3	1.10 1.10 1.06	1.12 1.12 1.08	1.11	1.13	
CA6051 2 3	1.20 1.10 1.10	1.22 1.12 1.12	1.16		
Mean -	1.13	Standard Devi	ation -	0.50	
Roughness Corrected Avg. Rgh	s per Sample - d Roughness - . per Group -	True Length/Pr (1.0199) + Roug Average roughne	ojected Length shness per Samp ess of samples	ole from same pic	cture
Avg. Rgh	. per Agg	Average roughne same aggregate	ess of 2 group	s (pictures)	taken from
Avg. Rgh	. per Quarry-	Average roughn A or B	ess of 3 agg.	from each qua	rry sample,

v

Table A-2. Roughness Data Illustrating Variability for a Stream Deposit-

Digitization Increment of 0.05 in.; Aggregate 3/8 in. to 1/2 in.

shape, surface area and roughness of aggregates. These techniques can, however, also be applied to many other materials applications.

N

. .

٠.

APPENDIX B

POURING TEST

x

POURING TEST

Introduction

For this study, each complete pouring test required 1 to 2 hours to perform. A complete pouring tests includes tests for six aggregate size ranges. The additional time required for aggregate sieving, equipment preparation, and cleanup averaged 3 hours. Therefore, total time per aggregate source ranged from 4 to 5 hours depending on available aggregate and other variables. The calculations necessary to determine microsurface voids and macrosurface voids from the packing specific gravity, determined in the pouring test, were completed using the spreadsheet software Excel. Typically, this analysis requires about 1 hour. Therefore, a complete test, as performed for this study, takes about 5 to 6 hours including sieving, performing the pouring tests, and data reduction.

Theory of Specific Rugosity

The pouring test consists of comparing the packing characteristics of spherical glass beads with that of aggregate particles within selected narrow particle size ranges. The pouring test is based on the packing volume concept developed by Tons and Goetz [27]⁽¹⁾. The packing volume concept states that different shaped one-size particles, either smooth or rough, will compact to the same volume in bulk when they possess identical total packing volume (V_p) of the particles under identical compaction procedures. The packing volume is enclosed by an imaginary membrane

⁽¹⁾ The numbers in brackets refer to the references given in the reference section of the main report.

stretched along the peaks of the aggregate surface. One-size aggregates are defined by equation (B-1).

$$(d'/d)^2 \leq 2 \tag{B-1}$$

Where

- d' maximum particle size
- d = minimum particle size

The packing specific gravity (G_p) , which is also based upon the packing volume concept, is defined as $G_p = W/V_p$ in which W is the dry weight of the aggregate. Since V_p and ΣV_p are assumed constant for one-sized particles, then equation (B-2) is valid:

$$\Sigma V_p = \frac{\Sigma W_1}{\Sigma G p_1} = \frac{\Sigma W_2}{\Sigma G p_2} = \frac{\Sigma W_i}{\Sigma G p_i} = \text{constant}$$
 (B-2)

Where

$$W_i$$
 - weight of the ith aggregate (all particles are the same size range)

 G_{pi} - packing specific gravity of the ith aggregate

Using the pouring test, the packing specific gravity (G_p) of a onesize aggregate can be determined by correcting the packing specific gravity of glass beads. Because glass beads theoretically do not have macro- or micro surface voids, their packing specific gravity is equal to their apparent specific gravity. The absorption of glass beads is assumed to be zero. Therefore, an aggregate's packing specific gravity can be determined by:

$$G_{px} = \frac{G_{ps} \Sigma W_{x}}{\Sigma W_{s}}$$
(B-3)

Where

 G_{px} = packing specific gravity (G_p) of aggregate G_{ps} = packing specific gravity (G_p) of glass beads W_x = weight of aggregate in container after pouring W_g = weight of glass beads in container after pouring

Once the packing specific gravity has been determined, the micro surface voids, macro surface voids, and specific rugosity can be calculated. The equations for micro surface voids (S_{mi}) and macro surface voids (S_{ma}) are, respectively:

$$S_{mi} = 100 \ G_{p}[(G_{ap} - G_{ag})/G_{ag}G_{ap})]$$
(B-4)
$$S_{ma} = 100[(G_{ag} - G_{p})/G_{ag})]$$
(B-5)

Where

 G_{ap} = apparent specific gravity of aggregate as determined by ASTM C127 and C128 G_{ag} = dry bulk specific gravity of aggregate

The specific rugosity (S_{rv}) is the sum of the micro surface voids and the macro surface voids as given by the following equation:

 $S_{rv} = S_{mi} + S_{ma} \tag{B-6}$

Test_Procedure

<u>Overview</u>. The initial step in performing the pouring test is to adjust the funnel height and select the appropriate container and orifice for the aggregate particle sizes to be tested. The critical equipment dimensions used in this study are given in Table B-1 and illustrated in Figure B-1. The next two steps are to (1) close the orifice shutter and (2) fill the aggregate discharge storage bin to the specified aggregate head level. The

	Aggregate Passing	No. 45	No. 30	No. 20	No.12	1/4"	518"	1 1/4"
	Aggregate Retained	No. 60	No. 40	No. 30	No. 16	No. 4	7116"	7 8 "
	Bin Dia.(D)mm	93	93	93	93	102	155	205
x	OrificeDia.(a)mm	9.5	9.5	9.5	9.5	50	100	150 -
	Agg. Head (b)mm	110	110	110	110	125	80	140
	Pouring Ht.(H)mm	210	210	210	210	210	210	210
	Cont. Ht. (h)mm	72	72	72	. 72	95	150	175
	Cont. Dia. (ф) mm	72	72	72	72	95	105	153
	Glass Bead Dia.* mm.	0.30	0.50	0.71	1.5	5	12.7	25.4

Table B-1. Critical Dimensions Used in Pouring Test

.

* Average Value

.

+

۰.



٦......

Figure B-1. Pouring Test Apparatus.

container receiving the aggregate is placed directly beneath the orifice, and the shutter is removed. The aggregate is allowed to free fall into the receiving container and overflow the sides.

Next the aggregate is struck off at the top of the container using a metal rule. When testing larger aggregates, it is necessary to remove the excess particles by hand. The weight of the aggregate retained is then weighed using a scale having a 0.1 gram sensivity. An example data sheet used in the pouring test is given Table B-2.

The values for aggregate apparent (G_{ap}) and bulk (G_{ag}) specific gravity are obtained from standard tests performed on the aggregate. The apparent specific gravity for the glass beads used in this study was obtained from the manufacturer. The apparent specific gravity for beads of two sizes (1.5 mm and 5 mm) were verified by laboratory determination. Equipment. A schematic of the required pouring test apparatus is shown in Figure B-1. The pouring test apparatus consists of a support for the pouring bin having an adjustable clamp and height adjustments. The following additional equipment and containers are required:

1. A steel straight edge.

- Containers of various sizes to receive the aggregate (Table B-1).
- Funnels of various sizes from which to pour the aggregate.

4. A scale.

 Large container or bin to contain overflow of aggregate.

ATHENS 9/7/91	I			EQUATION:	Gpx=(Gps/A Gpx=Packin)	vg of Ws)*Avg 3 Specific Gra) of Wx avity of the A	lggregate		
					Gps=Packing	Specific Gra	vity of the B	eads		
					Wx=Weight	of Aggregate	•			
					Ws=Weight	of Beads				
4				w	EIGHT IN GRA	MS		AVG		
DESCR	PASS SIEVE	RET SIEVE	<u>W1</u>	W2	<u>₩3</u>	<u>W4</u>	<u>W5</u>	WI		
BEAD	#45	#60	452.3	451.8	451.2	454.5	451.7	452.3		
BEAD	#30	#40	465.0	464.7	464.7	467.6	463.7	465.1		
BEAD	#20	#30	469.0	467.8	470.4	469.1	474.1	470.1		
BEAD	#12	#16	487.9	493.6	492.8	488.7	486.9	490.0		
BEAD	.25*	#4	1002.0	1005.5	1004.4	1002.4	1005.9	1004.0		
BEAD	.625	.4375	1819.1	1839.7	1819.1	1815.7	1825.9	1823.9		
BEAD	1.25"	.875*	4465.8	4464.9	4507.9	4393.2	4485.7	4463.5		
				W	EIGHT IN GRA	MS		AVG	SPEC GRAV	РАСК
DESCR	PASS SIEVE	BET SIEVE	<u>W1</u>	<u>W2</u>	W3	W4	<u>W5</u>	WI	OF BEADS	GBAVITY

.

1

				WI	EIGHT IN GRA	MS	AVG	SPEC GRAV	PACKING SPECIFIC	
DESCR	PASS SIEVE	RET SIEVE	₩1	<u>W2</u>	W3	₩4	<u>W5</u>	WI	OF BEADS	GRAVITY OF AGGREGATE
AGGREGATE	#45	#60	334.6	335.7	335.1	334.8	334.3	334.9	2.48	1.84
AGGREGATE	#30	#40	349.6	350.0	350.4	349.6	349.3	349. 8	2.49	1.87
AGGREGATE	#20	#30	369.9	369.9	369.8	369.7	369.1	369.7	2.49	1.96
AGGREGATE	#12	#16	401.9	401.9	400.0	400.9	400.9	401.1	2.52	2.06
AGGREGATE	.25*	#4	854.3	858.2	854.4	856.1	850.0	854.6	2.52	2.14
AGGREGATE	.625"	.4375"	1681.2	1653.0	1678.9	1657.4	1696.1	1673.3	2.46	2.26
AGGREGATE	1.25	.875*	4097.5	4233.3	4061.7	4008.1	4077.7	4095.7	2.60	2.39

x

. • *

•

- 6. Glass beads of various sizes. The glass bead sizes used in this study and the combinations of container sizes and drop heights are given in Table B-1.
- Aggregate sieved into the desired size ranges. The sieve size ranges used for this study are given in Table B-1.

Step-by-Step Procedure

- Select and adjust the pouring apparatus to the appropriate height (refer to Table B-1).
- Fill the aggregate storage bin to the required head H with glass beads (refer to Figure B-1 and Table B-1).
- Position the receiving container directly beneath the orifice so that it will be filled by the falling glass beads.
- Carefully remove the orifice cover and allow the beads to fill and overflow the receiving container.
- Once all of the beads have fallen, carefully strike off the excess beads above the top of the container.
- 6. Weigh this volume of glass beads.
- 7. Repeat steps 2 through 6 four more times and use the average value in the mathematical relationships.
- Repeat steps 1 through 7 for each particle size range to be tested. In this study the 5 particle size ranges given in Table B-1 were tested.

APPENDIX C

RUTTING TESTS

е**5**-

N

٩.

C-1

RUTTING TESTS

INTRODUCTION

The Loaded Wheel Test has been used by the Georgia Department of Transportation for a number of years to evaluate the rutting behavior of asphalt concrete mixes. Lai [28] has described the modification of the Georgia DOT Loaded Wheel Tester (LWT) and the evaluation of asphalt mixes using this approach.

A Loaded Wheel Tester was used to perform rutting tests on selected asphalt concrete base, B binder, E and F surface mixes. Specimens were prepared from aggregate obtained from the 21 quarries included in this investigation. This chapter describes the Loaded Wheel Tester, preparation of asphalt specimens, and testing procedures. The results of the Loaded Wheel tests are given in Chapter 4.

LOADED WHEEL TESTER

A Loaded Wheel Tester (LWT) was designed, fabricated and used during the present laboratory investigation. This device operates on a different principal than the LWT used by the Georgia DOT. The Georgia DOT LWT employs a wheel that moves back and forth across a stationary asphalt concrete beam. For the LWT device used in this study, the asphalt concrete beam moves back and forth while the wheel, through which the load is applied, remains stationary.

Description of Loaded Wheel Tester

The Loaded Wheel Tester is shown in Figure C-1 and C-2. Load is applied to a rectangular asphalt concrete specimen by a 1.125 in. wide

C-2



Figure C-1. Loaded Wheel Tester.

Ň.



Figure C-2. Loaded Wheel Tester - Elevation View.

wheel having an 8 in. diameter. The wheel has a hard rubber cover. The asphalt concrete specimen moves horizontally back and forth on a flat steel plate. The steel plate is supported by 4 small ball-bearing wheels. A constant dead load weight is applied to the wheel through a lever arm arrangement as shown in Figures C-1 and C-2. The lever arm is attached to a test frame which is about 5 ft. long by 2 ft. wide by 3 ft. high.

The flat steel plate, and hence the asphalt concrete specimen, is pulled back and forth through a 12 in. long travel path by a 2.5 hp motor operating at a speed of 1750 rpm. The asphalt concrete specimen is driven back and forth at 50 cycles per minute by two belt driven pulleys which reduce the speed of the motor. The rate of specimen movement can be adjusted, if desired, by changing the diameter of the two pulleys.

Rut Depth Measurement Template

Since rut depth was measured at a number of load repetitions, a template was required that could be repositioned on the asphalt concrete beam specimens at exactly the same location each time. To accomplish this, a rectangular template is placed on top of an adjustable box, made from steel angles which holds the asphalt concrete specimen in place (refer to Figure C-3). The template, which is machined from aluminum, has 13 slots oriented perpendicular to the direction of the wheel movement. Each slot, which is 1 in. apart, is 1.5 in. long and 3/8 in. wide. To measure rut depth, a 0.001 in. dial indicator is placed successively in each slot and slowly moved across the transverse rut profile. The largest observed dial reading is recorded as the maximum rut depth. The transverse rut profile has been observed to be, at some locations, nonuniform due to the presence of aggregate particles near the surface. As a result, measuring the

C-4



(a) Plan Showing Measurement Template



Figure C-3. Rutting Profile Measuring Device (After Sheng, Ref. 9).

۰.
maximum rut depth in this manner tends to decrease the scatter in test results.

To very accurately reposition the template on the specimen after each series of load repetitions, both the template and the steel angles which hold the asphalt concrete specimen in position has notches in them so that the template fits into the notched angles exactly the same way each time.

SPECIMEN PREPARATION

The asphalt concrete beam specimens used in the rutting tests were 12 in. in length and 5 in. in width. The E and F asphalt concrete beams specimens were 3 in. deep to simulate the thickness of a typical E mix layer while the B binder and base specimens were 3.5 in. thick.

<u>Replicates</u>

During the first part of the rutting study, two identical asphalt concrete specimens were fabricated at a time for each mix tested (i.e., either a standard Georgia DOT mix or a proposed mix). This approach was followed since mix designs for the proposed coarse/fine mixes were not initially available. During the latter part of the rutting study it was realized that much more reliable comparisons could be made if two specimens each of both the standard Georgia DOT mix and the new mixes were prepared at the same time. This modified procedure eliminates any variation in aggregate quality, specimen preparation differences, etc. Aggregate property variation may have been a problem since additional material had to be obtained during the study.

Aggregate Gradation

The aggregate used to prepare the beams was sieved into the required sieve size ranges and the resulting sizes were stored separately according to their source. The weight of materials used for preparing the beam were calculated based on the density of each mix obtained from the Georgia DOT Marshall Mix Design sheets, and the known volume of the beam mold. The aggregate required to prepare each sample was carefully weighed from each size fraction and put into a container and thoroughly blended. This aggregate was then weighed into 3 batches sufficient to fill 1/3 of the beam volume. A total of 6 batches (two beams per mix) were prepared at a time.

Mix Preparation

The aggregate and asphalt were heated separately at 380°F and 330°F, respectively. Normally the aggregate samples were heated in the oven for 8 to 10 hours before mixing with asphalt, and the asphalt was heated in the oven for 2 to 4 hours. The mixing temperature was around 340°F. The mold, base plate, and loading lid were all heated to 380°F. All raw materials and equipment used in mixing the asphalt concrete were also preheated.

During mixing, the first batch of aggregate was removed from the oven, placed in a large stainless steel bowl, weighed, and the correct amount of asphalt added. The contents were then thoroughly mixed in the bowl. The same procedure was followed for the second and third batches. The three batches were then combined and thoroughly mixed together quickly. The temperature of the mix was measured during the mixing process. Materials and equipment were always kept in an oven except during the time of mixing.

Beam Preparation

The mold was removed from the oven, and the base plate was set down and covered by a piece of filter paper. The hot asphalt mixture was placed in the heated mold in three layers. Each layer was very lightly compacted by three to four passes of a spoon along the length of the beam. Another piece of filter paper was placed on top of the asphalt concrete, and a steel loading plate was placed on top of the filter paper.

The asphalt concrete beam was statically loaded for three cycles with each cycle going from 0 to 100,000 lbs and back to 0. Sometimes the maximum machine load of 120,000 was reached. After three cycles, the load was kept on the maximum level for 6 minutes before unloading. The mold was designed such that when the steel plate was flush with the top of the mold, the specimen was the correct height to achieve the desired density.

The beams were stored at normal room temperature for seven days, or slightly longer, on a surface ground steel plate. Just before testing they were placed in the constant temperature room for 24 hours.

RUT TEST PROCEDURE

Load Repetitions. A total of 8000 wheel passes were applied to each asphalt concrete specimen. Load was applied to the beam specimens with the wheel moving in each direction (i.e. two directional loading was used). A longitudinal rut depth profile was measured at the end of 0, 500, 1000, 2,000 and 8,000 load repetitions. An Eagle Signal programmable controller was used to automatically stop the test at the end of each load sequence. Use of the programmable controller greatly minimized the time required to moniter the test.

Rut Measurements

The maximum rut depth was measured at the middle 6 slot locations on the measurement template (refer to Figure C-3(a)). Since the spacing between slots is 1 in., rut depths were measured in the middle 5 in. of the beam. The maximum rut depth was determined at each slot location by sliding the dial indicator, while positioned in the appropriate slot of the template, across the rut transverse to the longitudinal axis of the beam.

The asphalt concrete filler blocks, which were 4 in. long, were placed on each side of the beam to allow the Loaded Wheel Tester to travel through its normal 18 in. of wheel travel. End effects due to the wheel starting and stopping, as well as the transition to the filler blocks, was found to influence the readings outside of the middle 6 slots.

An analysis of a large amount of rutting data also indicated that use of the maximum rut depths measured in the middle 3 slots gave slightly more consistent results than for the middle 6 slots. Hence average rut depths for the middle 3 slots were used throughout this report. Typical measured longitudinal rut profiles are shown in Figure C-4 and C-5. Typical comparisons between rut depths measured for the middle 3 slots and middle 6 slots are shown in Figures C-6 and C-7 as a function of the number of load repetitions.

Wheel Loading

The asphalt concrete beams were subjected to a 131 psi average tire pressure through a solid rubber tire. The rubber tire was dead loaded by means of 50 lbs. of lead weight suspended from a loaded hanger. The weight of the load hanger and lever arm which supported the load hanger was also included in determining the total weight applied to the specimen. Load on



Figure C-4. Rutting Profile Along the Longitudinal Centerline (After Sheng, Ref. 9).



Figure C-5. Rutting Profiles Along the Longitudinal Centerline (After Sheng, Ref. 9).



Figure C-6. Rut Depth as a Function of Load Repetitions - Athens B (After Sheng, Ref. 9).



Figure C-7. Rut Depth as a Function of Load Repetitions - Ball Ground Base (After Sheng, Ref. 9).

the specimen was accurately measured by temporarily replacing the wheel with a calibrated proving ring.

Temperature

The Loaded Wheel Tests were performed in a large constant temperature room. An electric heater with a precision Fenwell thermostat temperature controller was used to heat the room to $104^{\circ}F$ with a fluctuation of +/- $1^{\circ}F$. After a slight modification to the control system was made, the temperture was maintained at $104^{\circ}F$ (+/- $0.2^{\circ}F$) for the latter part of the study.

Placement of Specimen In Tester

The asphalt concrete beam (and filler blocks) were tightly held on the horizontally sliding plate by means of four removable 3.5 in. by 2.0 in. steel angles. The leg of each angle which rested on the horizontally sliding plate was slotted so that after adjustment the angles were screwed to the horizontally sliding plates. Using this arrangement, the angles were tightly pressed against the asphalt concrete specimen to provide lateral support during the test.

SUMMARY

The Loaded Wheel Tester proved to be an excellent method for measuring rutting in asphalt concrete specimens. This equipment is relatively inexpensive to fabricate, easy to use, and required very little maintenance throughout the extensive rutting test phase of this study. In addition, the test is easy to set up and complicated electronic instrumentation is not required. For best results, rutting specimens to be directly compared should all be prepared and tested at the same time. When

this procedure is followed, good reproduciblity of test results can be obtained.

.

÷

3

N

. •

.

۰.

.

APPENDIX D

FATIGUE LIFE PREDICTION

.

z,

٠

N

. .

۰.

¢

FATIGUE LIFE PREDICTION

INTRODUCTION

The development and use of a computer program is described for predicting the fatigue life of asphalt concrete mixes. A computer program is also described for estimating the dynamic modulus of asphalt concrete mixes when resilient modulus values are not directly evaluated in the laboratory as a part of the mix design process. The resilient modulus or the dynamic modulus for this type application, is one of the input variables used in the theoretical fatigue model.

FATIGUE MODELS

A commonly used relationship to define the fatigue life of an asphalt concrete mix has the general form

$$N = a[1/\epsilon_t]^{\mathbf{b}} \tag{D-1}$$

where

N = number of load applications to cracking

 ϵ_t = tensile strain repeatly applied by traffic loading

a,b = coefficients from laboratory fatigue tests often modified to reflect in-situ pavement performance

To predict fatigue life, the stiffness of the asphalt concrete mix must be known. The modulus of elasticilty is used to characterize mix stiffness. For dynamic pavement type loads, either the resilient modulus or the dynamic modulus, which are both forms of the modulus of elasticity, can be used in a fatigue analysis.

Modified Finn Fatigue Model

The fatigue life predicition model, originally developed by Finn et. al. [29] and later modified [30] for use by The Asphalt Institute, was used as one of the two theoretical fatigue models incorporated into the GTFATIGUE computer program developed as a part of this study. This fatigue model is expressed as follows:

$$N = 18.4 (C) [4.325 \times 10^{-3} (\epsilon_t)^{-3.291} (|E^*|)^{-0.854}]$$
(D-2)

Where

N = number 18,000 lb. equivalent single axle loads

 ϵ_t = tensile strain in asphalt layer (in./in. or mm/mm)

- [E*] = asphalt mixture stiffness modulus, (psi)
 - C = a material parameter which is a function of air voids, (V_v) , and asphalt volume, (V_b)

The above expression is similar in form to equation (D-1) but modificiations have been included for the effects of asphalt mixture stiffness, asphalt content and air voids [30]. This expression is applicable to mixes prepared using either asphalt cements or cured asphalt emulsions. Equation (D-2), without the factor C, was obtained from laboratory fatigue test data [29,30] adjusted to provide an indication of approximately 20 percent or greater of fatigue cracking observed in selected pavement sections of the AASHO Road Test. Fatigue cracking is based on total pavement area.

The correction factor C is determined from:

$$C = 10^{M} \tag{D-3}$$

Where

$$M = 4.84 [(V_{b}/(V_{v}+V_{b})) - 0.69]$$
(D-4)

 $V_{\mathbf{b}}$ - volume of asphalt (percent)

 $V_v = volume of air voids (percent)$

The term M in equation (D-4) was obtained from laboratory fatigue data developed by Pell and Cooper [31] and Epps [32]. The value of C is equal to one when V_b -11 percent and V_b -5 percent. Figure(D-1) compares, for reasonably similar mixes, the fatigue life predicted by the modified Finn fatigue model (V_b -11%, V_v -5%) with the Shell fatigue model for mixes with moderate asphalt and air void contents.

University of Nottingham Model

Pell and his associates at the University of Nottingham conducted a large number of laboratory fatigue tests on a wide range of mixes during approximately the last 25 years. These fatigue test results have been incorporated into the following general fatigue life prediction model for use in flexible pavement design [33]:

$$\log \epsilon_{t} = \frac{14.39 \log V_{b} + 24.2 \log SP_{1} - K - \log N}{5.13 \log V_{b} + 8.63 \log SP_{1} - 15.8}$$
(D-5)

Where

K = 46.06 for load repetitions to fatigue failure

- ϵ_t = tensile strain in the asphalt concrete mix (in microstrain)
- V_b = volumetric propotion of binders in percent (refer to Figure D-2)
- SP_i = initial softening point of binder (°C).
 - N number of load applications (in millions) to fatigue distress



(After Finn, Shook, Witczak, and Monismith, 5th Int. Conf. Structural Design of Asphalt Pavements, Vol. 1, pp. 17-42)

Figure D-1. Tensile Strain Criteria for Fatigue.

.



W = Weights, subscripts have same meaning as above

Figure D-2. Representation of Weights and Volumes in a Compacted Asphalt Specimen (Reference 38). The above equation, although based on laboratory fatigue test results, has been empirically adjusted to give better agreement with observed fatigue behavior of pavements. A nomograph solution of equation (D-5) has also been developed.

FATIGUE COMPUTER PROGRAM

Introduction

The GTFATIGUE computer program was developed to provide a rapid solution for predicting fatigue life (load repetitions to fatigue failure) by the Finn and Nottingham methods. A users manual for the program is given at the end of this Appendix. The GTFATIGUE program is written in Microsoft advanced basic language (BASICA) and can be used on a personal computer operating under the MS DOS disk operating system. The program is interactive, and the required input data is requested by the program as it runs.

In the Nottingham method, use of a fatigue condition constant of K=46.06 is suggested which corresponds to a failure condition in the asphalt concrete mix. A fatigue failure condition is a more severe fatigue condition (i.e., requires a greater number of repetitions to failure) than for K=46.82 which can also be used in the fatigue analysis as an option.

Input Tensile Strain

Either a calculated or assumed value of the tensile strain in the bottom of the asphalt concrete layer for which fatigue life is being estimated must be input to the GTFATIGUE Program. Note that the tensile strain input to the program is in micro strain. Hence, if the actual strain is 0.000200in./in., a value of 200 must be input into the program. Theoretically, the tensile strain in the asphalt concrete mix should be

computed using layered theory which requires determining appropriate resilient or dynamic moduli for each layer. As a convenient but perhaps less accurate alternative, two mixes can be compared more readily using the same assumed tensile strain level. In the fatigue analyses conducted for this study 200 microstrain was used when this alternative was followed.

RESILIENT MODULUS PREDICTION

To predict fatigue life using the modified Finn model given by equation(D-2), the resilient modulus (M_r) or else the dynamic modulus $|E^*|$, must be known. These moduli can be experimentally determined from laboratory tests such as the diametral or triaxial test, or estimated using empirical expressions based on statistical correlations with laboratory experimental results.

Shell Method

The Shell Nomograph [34] and the Asphalt Institute Method [35] are probably the two most commonly used approaches for estimating the stiffness of asphalt concrete mixes. The Shell method, which was developed first, involves estimating the stiffness of the asphalt cement from the well-known Shell Nomograph. The stiffness of the asphalt is then corrected using another nomograph for the influence of the aggregate in the asphalt concrete mix by considering the volume percentage of aggregate present in the mix. The Shell method uses the asphalt cement content, softening point, and penetration, the temperature, and frequency of load application.

Asphalt Institute Method

The Asphalt Institute method for predicting the dynamic modulus $|E^*|$ was originally developed in 1969 by Kallas and Shook [35] and greatly improved by Witczak [36] in 1978 and by Miller, Uzan, and Witczak in 1983

[37]. The 1978 version of the equation was used in the Asphalt Institute MS-1 pavement design guide. The 1983 version of the equation is as follows [37]:

$$\log_{10} |\mathbf{E}^*| = C1 + C2 P_{ac} - P_{opt} + 4.0)^{0.5}$$
 (D-6)

where

 $|E^*| = dynamic modulus (10^3 psi)$ $(1 = 0.553833 + 0.028829(P_{200}/f^{0.17033}) - 0.03476V_v, +0.070377n_{(10}{}^{6},_{70}) + (0.931757/f^{0.02774})$ $(2 = 0100005T exp(1.3 + 0.49825 log_{10}f) - [0.00189T exp(1.3 + 0.49825 log_{10}f)f^{1.1}]$ $P_{200} = percentage passing the No. 200 sieve$ f = loading frequency (Hz) $V_v = volume of voids (\chi)$ $\eta(10^6, 70^\circ) = viscosity of asphalt cement at 70^\circ F$ (megapoises) T = temperature of pavement (°F) $P_{ac} = percentage of asphalt cement by weight of mix$ $P_{opt} = Marshall optimum asphalt cement$

For equation (D-6) to be valid, the following restrictions should be observed on the asphalt content of the mix:

 $P_{ac}-P_{opt} \ge -1.5(\text{minimum})$ (D-7a) $P_{ac}-P_{opt} \le -2.5 \text{ (maximum)}$ (D-7b)

The above equation can be used to estimate the dynamic modulus $|E^*|$ for asphalt concrete mixes comprised of the following types of aggregates: crushed stone, gravel, slag, and sand. For this range of aggregate types, the predicted mean square error of the dynamic modulus varies from 13 to 29 percent with the average being 21 percent. The value of r^2 , which indicates the amount of explained variation in results, varies from 0.856 to

0.947. The data base from which the expressions were developed had 810 data points.

RESMOD Computer Program

The RESMOD computer program makes possible the rapid calculation of the dynamic modulus using equation (D-6). The users manual for the RESMOD computer program is given at the end of this appendix. Three methods are given in the program for calculating the dynamic modulus. Method 2, which uses an equation (D-6) type solution, or Method 2, which considers the aggregate gradation, should give the most reliable predictions of dynamic modulus [37].

COMPUTER PROGRAMS

x - 2 . ĸ

·····

٠.

SIMPLIFIED USERS INPUT GUIDE

PROGRAM: GT FATIGUE

- BY: Richard D. Barksdale Jon Sheng
- PURPOSE: Estimate the fatigue life of asphalt concrete mixes subjected to a constant level of load repetitions
- COMPUTER: HP Vectra 486/25T BASICA Program Language
- **METHOD:** Fatigue in terms of repetitions N to failure are estimated by the Asphalt Institute Method and the University of Nottingham fatigue equation.

TO RUN GT FATIGUE PROGRAM:

- 1. Boot the PC system up from the hard drive (drive C) or else place a DOS Disk in drive A and turn the power supply switch on.
- 2. If an IBM or other compatible IBM identical computer is booted up from the hard drive, type "BASICA" (or "BASIC") to bring up the BASIC operating environment. The BASIC operating environment is active when the prompt displays "OK".
- 3. After entering the BASIC environment, place the disk on which GT FATIGUE is located in the A drive of the computer.
- 4. Press the special function key "F3" and then type: A:GTFATIGUE
- 5. To run the program type: RUN and the program will start asking the user to enter data into the computer. After typing the data in, remember to press the RETURN key.

ENTER THE FOLLOWING DATA AND PRESS THE RETURN KEY:

1.	Input General Accounting Information:	
	Number of Mixes to be Analyzed: _	
	Month, Day, Year:,	;
	Quarry Name:	
	Quarry Number:	<u></u>
	Mix Design Number:	
2.	Asphalt mix properties:	
	Asphalt Content:	%
	Asphalt absorption into aggregate:	%
	Unit weight of asphalt mix:	pcf
	Voids in mineral aggregate (VMA):	%
	Calculated or assumed tensile strain in pavement or mix-in microstrain (Example 200):	microstrains
	Modulus of elasticity (M _R) of mix (calculated or measured):	psi
	- Ring and ball softening point of binder:	°F
	Fatigue Condition Constant K: For repetitions to failure K = 46.06 For repetitions to critical	46.06
	condition $K = 46.82$	

.

·•

RESMOD PROGRAM

- APPLICATION: Calculate the dynamic resilient modulus of asphalt concrete at various temperatures and vehicle speeds. Three methods are used requiring different input data.
- SOURCE: Programmed for the IBM PC in compiled form. Program uses the Asphalt Institute Equations by Witczak.

To get RESMOD going on IBM PC:

- 1. Boot IBM system up by placing DOS Disk in drive A and turning power supply switch on.
- Remove DOS Disk from the A drive and replace with the RESMOD disk. Type in "RESMOD"

Required Input Data for Each Method:

.

Method 1

Fines (%) *	
Volume of Voids (%)	
Viscosity of Asphalt at 70°F	(Millions of Poises)
Loading Frequency (h ₃)	
Inplace Temp. of Asphalt Concrete	(^o f)
Asphalt Content (%)	
Optimum Asphalt (%)	
Method 2	
Volume of Voids % Total Vol.	
Aggregate Retained on 3/4" Sieve	% Total wt. of Agg.
Aggregate Retained on 3/8" Sieve	% Total wt. of Agg.
Aggregate Retained on #4 Sieve	% Total wt. of Agg.
Aggregate Passing #200 Sieve	% Total Wt. of Agg.
In-Place Temp, of Asphalt Concrete	° _F

Effective Asphalt Content _____ % Vol. of Mix Asphalt Absorbed by Agg. _____ % Wt. of Agg. Viscosity of Asphalt at 70⁰F _____ Millions of Poises Loading Frequency _____ Hertz

Method 3

Temperature ^oF

Method 1

Specify the desired aggregate in the mix.

- 1 = TAI Crushed Stone (Asphalt Institute)
- 2 = UM Crushed Stone (University of Maryland) (see references)

٠.

- 3 = Gravel
- 4 = Slag
- 5 = Sand 1 ow P200
- 6 = Sand high p200

Shook, et al., 5th ICSDAP, p.23

Mean Annual Air Temp.	AC to Use
7 [°] C 45 [°] F	AC-5; AC-10
15.5 [°] C 60 [°] F	AC-10; AC-20
24 [°] C 75 [°] F	AC-20; AC-40

Asphalt Grade	n 70 [°] F 10 [°] Poises	
AC-5	0.3	
AC-10	1.0	
AC-20	2.5	
AC-40	5.0	

٦.

See Ref. (26)

Shook uses $p_{200} = 5\%$ and f = 10 hz

Mix	$\underline{v_v}$	Vb
Surface Course	4	11
Base	7	11

A fixed percentage of p = 200 = 5% and f = 10 hz were used.

 $V_{\rm b}$ = % volume of asphalt

APPENDIX E

THIN SECTION AND X-RAY SAMPLE DESCRIPTIONS

`

۰.

e

Thin Section and X-Ray Sample Descriptions

Sample

<u>Description</u>

FLORIDA ROCK INDUSTRIES, TYRONE, GA. (014)

<u>General Description:</u>

014-57A Light colored medium grained granite with biotite disseminated throughout. Quartz and alkali feldspars predominate although percentages vary. Quartz grains <5mm, Alkali feldspars <10mm. Rare reddish brown rounded grains, possibly garnet. Muscovite generally not distinguishable in hand specimen.

Rock Type: Muscovite Biotite Granite Gneiss with Amphibolite

014-57A-1 Quartz 38% - Fractured grains ranging from 0.1-5mm. Alkali feldspars 29% - Large, irregularly shaped grains up to 6 mm.

Plagioclase 18% - Grains smaller than alkali feldspars, 2-3 mm and less irregularly shaped.

Biotite 10% - Occurs in clusters of crystals 1-2 mm in size. Little or no foliation noted.

Muscovite 5% - Associated with the biotite clusters though not as common. Also occurs as very fine grained sericite associated with alteration of plagioclases.

014-57A-2 Quartz 18% - Occurs as very coarse grains, approximately 5 mm or much smaller grains of 0.5-1 mm. Large grains are often highly fractured.

Alkali feldspars 23% - Few grains present but those that are are relatively large, 3-4 mm.

Plagioclase 50% - Medium to coarse grains, 1-5 mm, showing moderate alteration and some zonation.

Biotite 8% - Medium grained, 1-2 mm, occuring in a few relatively large clusters.

Muscovite 1% - Very highly eroded crystals approximately 1 mm in size associated with biotite.

014-57A-3 Quartz 41% - Highly fractured medium to large grains 1-6 mm. Alkali feldspars 17% - Anhedral crystals, few in number but relatively large 3-5 mm. Pericline twinning predominates with some Carlsbad. Plagioclase 33% - 2-3 mm crystals showing Albite twinning, often altered to sericite. Alteration concentrated in centers of crystals indicating some zoning of crystals. Biotite 9% - Crystals approximately 0.5 mm occur in

clusters throughout the sample. Very small amounts of muscovite associated with these clusters along with some sericite.

014-57B Light colored medium grained with biotite throughout. Some samples show relatively high biotite content > 10%. There is some very light green staining possibly from the biotite weathering. Muscovite is present only in very small amounts.

Rock Type: Muscovite Biotite Granite Gneiss

Dark gray to black, dark minerals > 60%, fine grained, thinly foliated. Foliation not perfect. Hornblende and biotite dominate.

Rock Type: Biotite Hornblende Amphibolite

014-57B-1 Quartz 46% - Crystals range from 0.05-5 mm but avg 2-3 mm. Fracturing less intense than 014-57A but still present throughout.

Alkali feldspars 21% - Occurs as small, irregular grains with occasional larger grains up to 2 mm.

Plagioclase 21% - Anhedral grains, 1-2 mm, showing zoned crystals whose centers are frequently fractured and altered to sericite along cleavage planes.

Biotite 6% - Crystals, <1 mm, occur in clusters sometimes associated with larger 2-3 mm muscovite and accessory calcite and hornblende.

Muscovite 4% - Larger crystals, 2-3 mm often associated with biotite clusters.

Epidote 1% - Occurs as single grains distributed sparsely throughout.

Opaque Trace

014-57B-2 Quartz 30% - Unfractured grains up to 0.2 mm but usually <0.1 mm. Size varies somewhat with location in sample, larger grains toward center. Plagioclase 3% - Very small grains <2 mm dispersed throughout sample. Hornblende 56% - Anhedral to euhedral crystals 0.02-0.5 mm. Some foliation defined by larger crystals in center of sample. Biotite 11% - Crystals up to 0.5 mm help define foliation along with hornblende.

FLORIDA ROCK INDUSTRIES, MT. VIEW, GA. (015)

General Description:

015-57A Light colored fine to medium grained. Biotite content varies widely within sample from < 5% to about 15%. High biotite samples exhibit good foliation and schistose texture, low biotite samples show no foliation and granitic texture. Hornblende content varies between 0-20%. Substantial muscovite content in several samples. Some samples show contact between rock types.

Rock Type: Biotite Granite Gneiss with Schist Stringers

015-57A-1 Quartz 38% - Anhedral, unfractured grains <1 mm. Alkali feldspars 24% - Anhedral grains showing polysynthetic twinning, up to 2mm located primarily at one end of sample Plagioclase 27% - Small to medium size grains 0.5-2 mm, albite twinned, present throughout sample. Biotite 4% - Present throughout sample in very small laths, <0.5 mm. Muscovite 7% - Uncommon but relatively large grains, 1-2 mm, with some embayed grains present.

- 015-57A-2 Quartz 45% Anhedral, unfractured grains <1 mm, similar to 015-57A-1 but with higher percentage of finer grains.
 - Alkali feldspars 20% Irregularly shaped grains disseminated throughout showing polysynthetic twinning.

Plagioclase 28% - Small to medium sized grains 0.5-2 mm showing pericline twinning and less ordered albite twinning.

Biotite 7% - More abundant and slightly larger grains than 015-57A-1 but with very rare muscovite. Epidote Trace.

015-57A-3 Quartz 36% - More common on one half of slide, <1 mm rounded grains.
Plagioclase 30% - Small to medium sized grains 0.5-2 mm showing albite twinning.
Hornblende 20% - Present throughout but much more common in dark half of slide. Small to medium grains 0.5-2 mm.
Biotite 11% - Present throughout but concentrated along with the hornblende.
Opaques 3% - Fine grained 0.05-0.5 mm present primarily

in dark half of sample.

015-57B Light colored fine to medium grained quartz rich with some accessory pyrite and garnet. Biotite content varies considerably from 1-10%. Biotite rich samples show some foliation. One biotite rich sample contained approximately 5% of a light green glassy mineral, possibly epidote. Others show same as rare grains. Some samples contain significant hornblende, up to 20%.

Rock Type: Biotite Hornblende Granite Gneiss

015-57B-1 Quartz 43% - Anhedral unfractured grains, 0.5-2 mm dominate sample.

Alkali feldspars 20% - Small to medium size grains 1-2 mm showing pericline twinning. Most grains rounded with occasional irregular shapes.

Plagioclase 31% - Fine grained, disseminated throughout sample. Albite twinned with little or no alteration. Biotite 6% - Crystals up to 1 mm common throughout sample. Some foliation present but not well defined.

015-57B-2 Quartz 47% - Quartz dominates sample with fine to medium grains, 2-3 mm common. Some fracturing present but not severe.

Alkali feldspars 9% - Small to medium grains 0.5-2 mm showing mostly pericline twinning.

Plagioclase 36% - Uncommon, fine grained < 1 mm. Albite twinning dominates. Little alteration present. Biotite 8% - Similar to 015-57B-1 but slightly more abundant and showing slightly better foliation. Opaques < 1% - Very fine grained accessory opaques present but very rare.

FLORIDA ROCK INDUSTRIES, PALMER STATION, GA. (017)

<u>General Description:</u>

017-57A In the light-colored bands: Light colored medium grained rock with a very low, <5%, dark mineral content. Grain size varies considerably from approximately 1 to 5 mm. No foliation noted. Small amounts of accessory titanite appear in some specimens.

In the dark-colored bands: Dark colored fine grained biotite and hornblende rich rock. The amount of dark minerals varies from approximately 20 to 50%. Quartz usually occurs as rounded grains, <1 mm, although the percentage varies substantially. Accessory garnet and epidote present in small amounts.

Rock Type: Biotite Granite Gneiss with Amphibolite Stringers 017-57A-1 Quartz 35% - Occurs as large elongate crystals up to 6 mm in length. More rounded grains occur up to 4 mm. Some minor fracturing.
Alkali feldspars 15% - Few grains but those present are 2-5 mm in size.
Plagioclase 45% - Size ranges from 0.5-3 mm. Alteration slight to moderate.
Biotite 5% - Occurs as a large cluster of grains approximately 1 mm in size with single grains distributed sparsley throughout.
Muscovite <1% - Traces found associated with biotite.

017-57A-2 Plagioclase 48% - Small rounded grains, 0.5-1 mm distributed throughout with no fractures or alteration. Biotite 10% - Primarily small laths of approximately 0.5 mm. Some larger crystals of up to 1 mm. No foliation exhibited. Hornblende 42% - Crystals average 0.5 mm with some up to 2 mm. Some fracturing present.

Epidote <1%

017-57A-3 Quartz 14% - Crystals of 2-3 mm common. Fracturing generally light with occasional exceptions. Alkali feldspars 72% - Dominates specimen. Crystals of up to 10 mm with 4-5 mm common. Plagioclase 12% - Crystals of 2-3 mm showing moderate alteration along twin boundaries. Biotite 2% - Rare small grains, < 1 mm with traces of muscovite associated.

FLORIDA ROCK INDUSTRIES, GRIFFIN, GA. (077)

<u>General Description:</u>

077-57A Light to medium gray, medium to coarse grained granite. Most specimens are very rich in biotite with crystals up to 2-3 mm often occurring in relatively large clusters that are easily broken from the surface. No foliation noted. Some specimens are very coarse grained relative to most with quartz and alkali feldspars crystals of up to 10 mm.

Rock Type: Biotite Granite Gneiss

077-57A-1 Quartz 20% - Medium grains, 1-2 mm, dominate with very few smaller grains present. Moderate fracturing present. Alkali feldspars 29% - Crystals of 2-3 mm common throughout. Plagioclase 28% - Crystals, 2-3 mm, often substantially altered. Alteration products muscovite and calcite are much coarser grained than the sericite common in other altered plagioclase.
Biotite 21% - Crystals of between 1-1.5 mm common, often in clusters with random orientation. Many crystals have irregular shape.
Muscovite 2% - Occurs as relatively large, 1 mm, single crystals or as alteration product within plagioclase crystals, 0.05-0.2 mm.
Calcite <1% - Occurs as fine grained, up to 0.2 mm alteration product within plagioclase crystals.

- 077-57A-2 Quartz 37% Irregularly shaped grains up to 5 mm, sometimes highly fractured. 2-3 mm grains most common.
 Alkali feldspars 37% Grains of 2-3 mm common with occasional alteration.
 Plagioclase 13% Grains of 1-3 mm showing light to heavy alteration in a manner similar to 077-57A-1.
 Biotite 6% Crystals of approximately 1 mm occuring in clusters showing some degree of foliation.
 Muscovite 8% Occurs as alteration product and as medium sized, up to 1 mm, single crystals. Some larger crystals are present but are highly eroded.
 - Calcite <1%

077-57A-3 Quartz 48% - Very coarse grained. Several crystals in excess of 10 mm. Crystals of 2-5 mm are more common. Most crystals are highly fractured.

Plagioclase 40% - Crystals of 2-4 mm showing light to heavy alteration similar to 077-57A-1.

Biotite 6% - Crystals of up to 2 mm usually occurring singly though sometimes in small clusters. No foliation noted.

Muscovite 4% - Occurs as single crystals of up to 1.5 mm sometimes associated with biotite and as alteration product. The larger crystals are sometimes eroded somewhat.

Calcite 2% - Occurs as an alteration product.

DAVIDSON MINERAL PROPERTIES, INC., ATHENS, GA. (023)

<u>General Description:</u>

023-57A Medium grained light to dark gray rock often rich in plagioclase and biotite. Quartz often is not very common. Biotite often occurs in relatively large clusters and has been weathered to a dark brown. Foliation is sometimes found in the finer grained specimens although it is never very well developed.

Muscovite occurs in some specimens as relatively large flakes, 2-3 mm in size. Pyrite is a common accessory mineral. Rock Type: Biotite Granitoid Gneiss with Schist Stringers 023 57A-1 Quartz 35% - Crystals of 0.5-2.5 mm often with irregular sawtooth boundaries when bordering other quartz grains. Alkali feldspars 19% - Occurs as rare but large grains, 3-5 mm. Some alteration present. Plagioclase 32% - 2-4 mm grains commonly altered though not severely. Alteration usually concentrated at grain boundaries. Biotite 11% - Crystals up to 1 mm occur singly or in small clusters. No foliation noted. Muscovite 2% - Crystals up to 1 mm associated with biotite. 023-57A-2 Quartz 37% - Crystals up to 5 mm though generally 1-2 mm. Slight fracturing. Alkali feldspars 4% - Very rare. Present only at one edge of specimen. Plagioclase 36% - Crystals of 1-3 mm. Fractures common. Alteration varies from none to moderate and is more common on one end of specimen. Biotite 19% - Occurs in med to large clusters of 0.5-1 mm crystals. Muscovite 4% - crystals of up to 2 mm common in clusters with biotite. little or no foliation. Opaque <1% 023-57A-3 Quartz 39% - 0.1-0.5 mm rounded, unfractured grains common. Plagioclase 41% - Size and shape similar to quartz. Light alteration exhibited throughout. Biotite 18% - Small crystals 0.1-0.3 mm occur singly throughout. Crystals show some foliation though not well developed. Muscovite 2% - Similar size and shape as biotite but not as common.

DAVIDSON MINERAL PROPERTIES, INC., CANDLER, GA. (024)

General Description:

024-57A Light colored generally fine grained rock with some specimens containing larger, 3-4 mm orthoclase grains. Some specimens show some foliation though it is not well developed. Muscovite is usually the dominant mica. Some quartz rich specimens appear to have been metamorphosed slightly and have a quartzitic texture. Very few accessory minerals present with the exception of very rare garnets.

Rock Type: Biotite Granite Gneiss

024-57A-1 Quartz 44% - Rounded grains 0.1-0.2 mm dominate though grains of 0.5-1 mm are relatively common. Rare grains up to 2 mm. Little or no fracturing. Larger grains occur in poorly developed bands.

Alkali feldspars 38% - Smaller grains 0.1-0.2 mm dominate with some grains up to 1 mm.

Plagioclase 13% - Unaltered grains up to 0.3 mm usually occur in small clusters.

Biotite 1% - Small crystals up to 0.2 mm occur singly throughout.

Muscovite 1% - Crystals slightly larger than biotite but not as common.

Opaque <1%

024-57A-2 Quartz 52% - Rounded grains 0.1-0.2 mm dominant though larger grains up to 2 mm occur. Some banding occurs among larger grains similar to 024-57A-1. Alkali feldspars 33% - Fine grained, 0.1-0.2 mm, with occasional grains up to 1 mm. Plagioclase 10% - Grains up to 0.3 mm showing little or no alteration. Biotite 2% - Small laths up to 0.2 mm occur singly and in occasional small clusters. Muscovite 2% - Crystals up to 0.4 mm sometimes associated with biotite but not very common. Opaque 1%

VULCAN MATERIALS COMPANY, DALTON, GA. (013)

Rock Description: Dark Dolomitic Limestone

013-57A-1 X-ray - Dominant minerals are calcite and dolomite in roughly equal percentages along with quartz. Very small amounts of chlorite also present. The insoluble residue comprised a very large percentage of the total, approximately two thirds.

013-57A-2 X-ray - Dominant minerals are calcite and dolomite with calcite being much more common than the dolomite. Quartz and chlorite also present although in much smaller quantities than Dalton-013-571-1, approximately 10%. 013-57A-3 X-ray - Dominant minerals are calcite and dolomite with calcite being much more common than the dolomite. Quartz and chlorite also present and again in relatively small quantities, approximately 10%.

VULCAN MATERIALS COMPANY, BARIN, GA. (044)

General Description:

044-57A Light to dark gray medium grained rock with a relatively low quartz content. Banding is sometimes noticeable and some of the more biotite rich specimens exhibit a schistose texture while others show no foliation. The crystal size of the biotite tends to increase with the amount of biotite present in the specimen. Accesory minerals include garnet and epidote in very small amounts.

Rock Type: Biotite Granite Gneiss

044-57A-1 Quartz 29% - Medium grained, 1-2 mm, showing a moderate amount of fracturing.

Plagioclase 54% - Grains commonly 1-2 mm showing some fractures and minor alteration. Alteration is often more severe near grain boundaries when in contact with biotite crystals.

Biotite 17% - Occurs singly and in small clusters of crystals, 0.5-1 mm. Crystals are somewhat aligned within the clusters but not over the entire slide.

044-57A-2 Quartz 38% - Large irregularly shaped grains of 2-4 mm common. Some fracturing noted, especially in the larger grains.

Alkali feldspars 1% - Occurs in very small amounts as small crystals, <1 mm.

Plagioclase 54% - Medium grained, 2-3 mm, often showing light fracturing and alteration.

Biotite 6% - Single crystals of moderate size, up to 2
 mm occuring disseminated throughout.
Epidote <1% - Trace.</pre>

044-57A-3 Quartz 24% - Most crystals are approximately 1 mm in size with occasional grains up to 2.5 mm. Larger grains exhibit a moderate amount of fracturing. Alkali feldspars 33% - Most grains 1-1.5 mm with occasional

large grains up to 5 mm.

Plagioclase 41% - Medium grained throughout, 2-3 mm, usually showing large numbers of small fractures and some alteration along the fractures although not severe. Biotite 2% - Small laths occurring singly averaging 0.5
 mm in size.
Opague 1% - Occurs as irregular crystals <1 mm.</pre>

VULCAN MATERIALS COMPANY, KENNESAW, GA. (046)

General Description:

046-57A Dark gray fine to medium grained relatively homogeneous sample. Quartz content comparatively low. Biotite content relatively high, approximately 10%, hornblende common throughout. Accessory epidote and rare garnets present. Some foliation evident but not well developed.

Rock Type: Biotite Hornblende Granitoid Gneiss

046-57A-1 Quartz 25% - Generally fine grained, approximately 1
 mm, exhibiting some fracturing though not severe.
 Plagioclase 43% - Fine grained 0.5-2 mm grains showing
 light to moderate alteration and moderate fracturing.
 Hornblende 20% - Anhedral, highly fractured crystals, 1-2
 mm common throughout sample.
 Biotite 11% - Commonly occurring in clusters with
 crystals approximately 1 mm.
 Muscovite < 1% - Small amounts associated with
 clusters of biotite.</pre>

046-57A-2 Quartz 27% - Fine grained, 0.5-1 mm. Larger grains often have very irregular shapes.

Plagioclase 43% - Coarser grained than quartz with 1-2
 mm grains common. Alteration is light to moderate.
Hornblende 21% - Anhedral crystals to subhedral
 crystals 1-2 mm.

Biotite 8% - 1 mm crystals occurring in some clusters and disseminated throughout sample. Epidote 1%

046-57A-3 Quartz 37% - Unfractured grains of approximately 0.5 mm dominate though grain sizes of .05-3 mm are common throughout.

Plagioclase 38% - Mostly fine grained, 0.5-1 mm, with some grains up to 3 mm. Little or no alteration evident.

Biotite 12% - Crystals up to 2 mm in size often eroded occur in clusters usually associated with hornblende. Hornblende 13% - Anhedral to subhedral crystals up to 2 mm. Usually fractured and eroded.

VULCAN MATERIALS COMPANY, LITHIA SPRINGS, GA. (047)

<u>General Description:</u>

047-57A Medium to coarse grained, light colored rock containing quartz, white alkali feldspars, muscovite and biotite. Most specimens exhibit fairly well developed banding except those containing pink orthoclase alkali feldspars which are unbanded. Muscovite and biotite occur together in crystals of 1-2 mm.

Rock Type: Mica Granite Gneiss

- 047-57A-1 Quartz 41% Grain size ranges from 0.1-4 mm with 1-2 mm most common. Minor fracturing occurs mostly in larger grains.
 - Alkali feldspars 40% Occurs mainly as large clusters of irregularly shaped smaller grains, 1-2 mm in size. Occasional grains up to 3 mm.
 - Plagioclase 15% Occurs throuhgout as unaltered grains 1-2 mm. Albite twinning common with some carlsbad. Biotite 3% - Primarily occurs as small, <1 mm, single crystals or in small clusters associated with muscovite. Muscovite 1% - Occurs with biotite in slightly larger though less common crystals. Calcite <1%</pre>
- 047-57A-2 Quartz 42% Moderately fractured grains of 1-2 mm dominate with some up to 4 mm. Alkali feldspars 35% - Occurs in clusters of 1-2 mm grains. Plagioclase 19% - 1-2 mm crystals showing slight alteration of some grains. Biotite 3% - Small laths up to 1 mm occur singly or in small clusters similar to 047-57A-1. Muscovite 1% - Uncommon crystals up to 1 mm usually occur with biotite. Calcite <1%</pre>
- 047-57A-3 Quartz 54% Medium to coarse grained, 2-5 mm, with some smaller grains. Larger grains are concentrated in several bands running across the slide. Fracturing is light.
 - Alkali feldspars 22% Several large grains, up to 5 mm, and large groups of small grains dominate. Banding similar to that shown by the quartz.
 - Plagioclase 15% Occurs as smaller grains of 0.5-1 mm with some slight alteration.
 - Biotite 5% Crystals of 0.5-1 mm are foliated parallel to the larger quartz and alkali feldspars bands. Muscovite 3% - Occurs as masses of very small crystals usually associated with biotite.

Epidote 1%

VULCAN MATERIALS COMPANY, NORCROSS, GA. (048)

General Description:

048-57A Light to medium gray fine to medium grained with occasional plagioclase grains up to 5 mm. Banding generally not well developed. Some specimens contain large, up to 4 mm, hornblende crystals. Epidote present throughout in small quantities. Accessory garnets also common in small amounts. Muscovite is present though rare.

Rock Type: Biotite Granitoid Gneiss

048-57A-1 Quartz 30% - Rounded grains of all sizes up to 1 mm with rare larger grains of 2-3 mm. Moderate fracturing noted in larger grains. Plagioclase 42% - Grains of 1-2 mm dominate with some light alteration. Biotite 9% - Often associated with hornblende in crystals up to 1 mm. Hornblende 16% - Occurs as medium sized, up to 2 mm, highly fractured crystals or as masses of eroded and embayed crystals, also highly fractured. Epidote 2% Opaque 1% 048-57A-2 Quartz 42% - Medium size grains, 1-3 mm, showing only minor fractures. Plagioclase 47% - Crystals of 1-2 mm are often rounded somewhat and show slight alteration. Biotite 9% - Occurs as small irregularly shaped masses or as small laths up to 1 mm. Hornblende <1% - Trace Epidote 2% - Small rounded crystals occuring in small groups.

048-57A-3 Quartz 51% - Wide size distribution, 0.1-3 mm common. Larger grains tend to cluster together and are often elongated. Very little fracturing noted.

Plagioclase 40% - Grains are more uniform in size, 1-2
 mm, and are evenly distributed. Very litle fracturing
 or alteration.

Biotite 8% - Crystals up to 1 mm occur singly and in small clusters associated with muscovite. Some clusters show some alignment parallel to elongated quartz crystals although this is not well developed. Muscovite 1% - Crystals up to 1 mm usually occur with
biotite though much less common. Epidote <1% - Trace. Opaque <1% - Trace.

VULCAN MATERIALS COMPANY, STOCKBRIDGE, GA. (050)

General Description:

050-57A White to medium gray, fine to medium grained. Biotite common in most specimens though almost completely lacking in a few. Some foliation evident in biotite rich samples though not well developed in most. In many specimens the alkali feldspars have undergone substantial weathering and generally have a chalky feel. Accessory garnet and epidote are sometimes present.

Rock Type: Bioite Granite Gneiss

050-57A-1 Quartz 53% - Grain sizes of 0.1-5 mm occur throughout. Larger grains are often irregularly shaped and exhibit greater fracturing than smaller grains.

Alkali feldspars 17% - Irregularly shaped grains 0.5-1 mm, occasionally up to 2 mm.

Plagioclase 26% - Very similar to the alkali feldspars but somewhat more common and showing slight alteration. Biotite 3% - Very small crystals of 0.1-0.3 mm occuring singly throughout.

Hornblende <1% Epidote <1%

050-57A-2 Quartz 33% - Medium to coarse grains of 1-4 mm with moderate to heavy fracturing especially on the larger grains.

Alkali feldspars 18% - Primarily rounded grains of 1-3 mm. Plagioclase 34% - 1-2 mm grains common showing moderate to heavy alteration with calcite, muscovite and

sericite as alteration products.

Biotite 6% - 0.1-0.5 mm crystals occur singly for the most part with some small clusters.

Muscovite 8% - Occurs as larger grains, up to 2 mm, usually associated with biotite and often highly eroded. Calcite <1%

Opaque <1%

050-57A-3 Quartz 18% - Fine grained, < 1mm, showing some fracturing though not severe. Some alteration noticeable. Quartz sometimes difficult to distinguish from plagioclase. Plagioclase 41% - Albite twinned, 0.5-1mm, usually alterered to some degree though not severe. Sericite
present along fractures and sometimes follows twin
boundaries. No zoning apparent.
Biotite 26% - Present throughout in laths up to 1 mm.
Crystals generally occur singly and show no foliation.
Hornblende 12% - Crystals slightly larger than biotite,
1-1.5 mm, disseminated throughout.
Epidote 3%

MARTIN MARIETTA AGGREGATES, RUBY, GA. (054)

General Description:

054-57A Dark colored fine grained rock with a greenish tint. Most specimens are very biotite rich. The green color is possibly due to alteration of biotite to chlorite. Several specimens are coarser grained with an abundance of orthoclase alkali feldspars and a very low quartz content. Titanite is common as an accessory mineral. No foliation noted.

Rock Type: Biotite Granite Gneiss

054-57A-1 Quartz 20% - Primarily very small crystals of 0.05-0.5 mm. Some crystals up to 1 mm.

- Alkali feldspars 18% Few crystals but quite large, up to 5 mm, showing some very slight alteration.
- Plagioclase 45% Crystals up to 3 mm. showing some zonation. Alteration and fracturing range from light to extreme. Extreme alteration occurs mostly in one half of the slide and involves almost total replacement of plagioclase with sericite.

Biotite 13% - Occurs mostly in clusters of small crystals, up to 1 mm. Some grains show evidence of alteration to chlorite.

Titanite 1% - Euhedral to anhedral crystals up to 1 mm usually occuring with biotite.

Muscovite <1% - Trace amounts of small crystals associated with biotite.

054-57A-2 Quartz 32% - Fine grained, 0.05-0.5 mm, with little or no fracturing.

Alkali feldspars 3% - Small grains, up to 1 mm distributed sparsley throughout.

Plagioclase 54% -Grains of 1-1.5 mm common. Alteration varies from moderate to extreme. Heavier alteration occurs near edges of slide.

Biotite 5% - Very small single crystals of up to 0.5mm Hornblende <1% - Small rounded grains up to 0.5 mm occuring singly.

Opaque <1%

Chlorite 5% - Occurs in elongate masses up to 2 mm long composed of very small crystals. Titanite <1% Opaque <1%

054-57A-3 Quartz 23% - Occurs in clusters of very small crystals, 0.1-0.2 mm, with some up to 1 mm.
Alkali feldspars 41% - Coarse grained with crystals of 3-5 mm common. Some slight alteration present.
Plagioclase 32% - Crystals of 1-2 mm showing moderate to heavy alteration. Some zoned plagioclase crystals present show substantially less alteration than most others.
Chlorite 3% - Mostly small grains of less than 0.5 mm formed as alteration product of biotite.

GEORGIA MARBLE COMPANY, LITHONIA, GA. (011)

General Description:

011C-57A Fine to medium grained light colored granite very rich in alkali feldspars. Biotite content is generally quite low. Some specimens show poorly developed banding with small amounts of pyrite concentrated in the dark bands. There is very little variation within the sample in contrast with other samples.

Rock Type: Muscovite Biotite Granitoid Gneiss

011C-57A-1 Quartz 37% - Medium grained throughout, 1-2 mm with some larger grains up to 6 mm. Fractures common though not severe. Smaller grains ,0.2 mm, disseminated throughout. Alkali_feldspars 43% - Medium to coarse grains, 1-3 mm, common. Some fracturing present though not as severe as in the quartz. Plagioclase 16% - Fine grained, 0.1-1.5 mm with some fracturing and slight alteration. Biotite 2% - Small laths, 0.2-0.5 mm with some larger flakes of approximately 1 mm. Generally occuring separately and showing no foliation. Muscovite <1% - Very rare with grains up to 0.2 mm. Epidote <1% Opaque 1%

011C-57A-2 Quartz 28% - Finer grained, 0.5-1.5 mm, with few fractures. Alkali feldspars 33% - Unfractured grains of 1-2 mm. Plagioclase 31% - 1-2 mm grains exhibiting very slight
 alteration
Biotite 4% - Small to medium sized grains and laths,
 0.5-1 mm occuring singly or in small clusters
 showing no foliation.
Muscovite 2% - Associated with biotite in clusters with
 small grains up to 0.2 mm.
Epidote 1% - Occurs in small clusters.
Opaque 1%

011-57A-3 Quartz 30% - Grain sizes range from 0.1-2 mm with larger grains showing some fractures.

Alkali feldspars 34% - Somewhat larger grains than quartz, evenly distributed 0.5-2 mm.

Plagioclase 30% - Grains of 0.5-1 mm common. Little or no alteration, some fractures though not severe. Biotite 5% - Occurs singly or in small cluster of 2-3 crystals 0.5-1 mm in size.

Muscovite 1% - Uncommon, occurs as occasional large crystals up to 2 mm or as very small thin laths. Epidote <1%</pre>

011C-57B-1 Quartz 18% - Somewhat rounded grains of 0.5-2 mm with smaller grains <0.1 mm common. Larger grains show some fracturing.

Alkali feldspars 40% - Medium to coarse grains of 1-4 mm. Plagioclase 32% - Mostly small crystals, <1 mm, with occasional larger crystals up to 2 mm. No alteration and little or no fracturing.

Biotite 5% - Small laths, <0.5 mm, sometimes intergrown with muscovite.

Muscovite 1% - Small laths, <0.5 mm.

Opaques 2% - One large crystal, 3 mm, and one smaller crystal, 1 mm.

011C-57B-2 Quartz 22% - Mostly smaller grains, < 1 mm with occasional larger grains, approximately 3 mm. Some fracturing but not severe.

Alkali feldspars 46% - Very common in one-half of specimen as 2-3 mm crystals occuring with smaller grains of less than 1 mm. Alkali feldspars is less abundant in the other half occurring as crystals of less than 1 mm.

Plagioclase 18% - Occurs mostly in the alkali feldspars rich zone though it is not very abundant. Moderate alteration in some grains.

Biotite 12% - Occurs in large clusters of grains up to 1 mm. Some clusters show good alignment though not throughout the specimen. Biotite occurs primarily in the alkali feldspars poor zone.

Muscovite 2% - Occurs in clusters along with biotite. Crystals usually somewhat larger than biotite, up to 1 mm. Opaque <1%

GEORGIA MARBLE COMPANY, CUMMING, GA. (038)

General Description:

038-57A Light to medium gray, medium to coarse grained. Biotite content from 1-10% or more. Biotite rich samples approaching schistose texture. Most alkali feldspars grains <5mm though some large, > 1cm, alkali feldspars grains present. Relatively fine grained muscovite present in varying amounts 1-9%. Some samples contain accessory garnet.

Rock Type: Biotite Granite Gneiss with Schist Stringers

- 038-57A-1 Quartz 40% Very fine grained quartz <0.1 mm often surrounds large alkali feldspars grains. Elsewhere size distribution is more random 0.05-2 mm. Grains are for the most part unfractured.
 - Alkali feldspars 29% Wide size distribution, 0.1-7 mm with larger grains dominating but fine grains common. Plagioclase 23% - Fine grained, <1 mm, and rare. Albite
 - twinning common, unaltered.
 - Biotite 5% Fine grained, <0.5 mm. Sparse but present throughout. Some alignment of grains though less noticeable than in muscovite due to small grain size. Muscovite 3% - Coarser grained than biotite, up to 1 mm. Occurs less randomly than biotite, primarily as long thin grains or masses of smaller grains.
- 038-57A-2 Quartz 48% Quartz in one half of sample occurs as long linear grains approximately 1 x 5 mm, aligned parallel to one another. Elsewhere quartz occurs as fine rounded grains <0.5mm.
 - Alkali feldspars 1% Present only in coarse end of sample in 1-2 mm grains
 - Plagioclase 13% Fine grained <1 mm, present
 - throughout sample. Unaltered showing albite and some pericline twinning.
 - Biotite 1% Fine grained uncommon. Found primarily in fine grained portion of sample.
 - Hornblende 32% Occurrence and character very similar to quartz. Coarse grains define foliation, fine grains occur elsewhere.
 - Opaque 4% Occurs as small grains, <0.5 mm, distributed throughout the specimen.

038-57A-3 Quartz 33% - Occurs in all sizes from 0.1-3 mm. The larger grains are usually elongated and aligned parallel to one another. Alkali feldspars 29% - 1-2 mm grains are most common with

occasional grains up to 6 mm. Most grains are rounded though others show some elongation.

Plagioclase 28% - Rounded grains of 1-2 mm common showing moderate to heavy alteration with calcite and fine grained muscovite as alteration products.

Biotite 5% - Fine grained, occurs in small clusters sometimes associated with muscovite.

Muscovite 9% - Present as medium sized grains, 1-2 mm as well as very fined grained sericite in areas of alteration.

Calcite <1% - Accessory mineral associated with plagioclase alteration zones.

GEORGIA MARBLE COMPANY, DAN, GA. (041)

General Description:

DAN-041C-57A-1 Quartz 33% - Two large quartz veins dominate top portion of slide. Veins are composed of small to medium grains up to 4 mm in length with 1-2 mm grains common. Also large numbers of very small, 0.05-0.1mm, grains present throughout. The larger grains tend to be elongated parallel to one another and to the long axes of the veins.

Alkali feldspars 60% - Dominant mineral except in the quartz veins. Grain size ranges from 1-5 mm. Some grains show perthitic texture though usually not well developed. Several rounded alkali feldspars grains present within the quartz veins.

Plagioclase 7% - Present as small grains of approximately 1 mm located primarily at the upper end of slide in the region of the quartz veins.

Rock Type: Highly Variable - probably quartz-injected granitoid

- DAN-041C-57A-2 Quartz 30% Occurs primarily in parallel quartz rich veins as elongate grains of 1-2 mm and very small grains <0.1 mm. The veins are generally much smaller than those in DAN-041C-57A-1.
 - Alkali feldspars 58% Predominantly fine grained, 0.5-1 mm, showing some weathering and occasional sericite along fractures.
 - Plagioclase 4% Occurs as fine grains, <1 mm
 distributed sparsely throughout.</pre>
 - Hornblende 7% Occurs as small grains of approximately 0.5 mm and sometimes as clusters of fine grains.

Biotite 1% - Occurs rarely as fine grains similar to hornblende.

DAN 041C-57A-3 Quartz 69% - Medium grains of 1-2 mm surrounded by more abundant fine grains of approximately 0.2 mm with indistinct boundaries. Some flow patterns evident. Alkali feldspars 23% - Medium grains of 1-2 mm showing substantial weathering and rounding. Muscovite 6% - Wide size range from thin shreds of 0.2 mm to crystals of 2mm. Crystals are aligned in the direction of apparent flow. Opaques 2% - Occur as relatively small irregularly shaped crystals.

GEORGIA MARBLE COMPANY, BALL GROUND, GA. (112)

<u>General Description:</u>

112-57A Light to dark gray fine-grained marble. Bands of white calcite alternate with darker biotite-rich bands, but the size of the bands is such that fragments in this sieve split are normally all within one band.

Rock Type: Biotite Marble

- 112-57A-1 Plagioclase 39% Altered to blebs of quartz,
 - calcite, and epidote. Mostly in ovoids and augen that sometimes show faint twinning and zonation in the distribution of the alteration products. Mica and calcite swirl around the ovoids. From 0.05 mm to 2 mm.
 Calciate 26% Ubiquitous, but also segregated into pure bands, wherein the grain size is distinctly larger, by about 5X. From 0.03 mm to 2 mm.
 - Biotite 21% Red to pale yellow-pink pleochroic. Fresh mostly, except for a few grains that are chloritized. Concentrated with feldspar. From 0.01 mm to 0.6 mm.
 - Quartz 11% As blebs in altered plagioclase (finest grains - <0.01 mm) and as independent fine (to 0.1 mm) grains.

Muscovite 2% - Independent flakes - infrequently in optical alignment with biotite. 0.2 mm to 0.5 mm. Epidote 1% - Same distribution and size as quartz. Pyrite Trace - 0.01 mm to 0.25 mm.

112-57A-2 Calcite 49% - Ubiquitous, but also segregated into pure bands, wherein the grain size is distinctly larger (by about 2X) and also more nearly equant. Outside the pure bands, the grains are elongated, with the long dimension 0.05 mm to 1 mm.

- Plagioclase 23% Altered to blebs of quartz, calcite, and epidote. Mostly in ovoids and augen that sometimes show faint twinning and zonation in the distribution of the alteration products. Mica and calcite swirl around the ovoids. From 0.05 mm to 1 mm.
- Biotite 16% Red to pale yellow pleochroic. Fresh mostly, except for a few grains that are chloritized. Concentrated with feldspar, but to a lesser degree than in 112-57A-1. From 0.01 mm to 0.6 mm.
- Quartz 7% As blebs in altered plagioclase (finest grains <0.01 mm) and as independent fine (to 0.1 mm) grains.

Muscovite 4% - Independent flakes - infrequently in
 optical alignment with biotite. 0.2 mm to 0.5 mm.
Epidote 1% - Same distribution and size as quartz.
Pyrite 1% - 0.01 mm to 0.25 mm.

112-57A-3 Calcite 65% - Essentially as in 112-57A-1 and 112-57A-2, except banding is slightly less obvious.

Plagioclase 11% - Altered blebs of quartz, calcite, and epidote. Mostly in voids and augen that sometimes show faint twinning and zonation in the distribution of the alteration products. Mica and calciate swirl around the ovoids. From 0.05 mm to 1 mm.

Biotite 10% - Red to pale yellow-pink pleochroic. Fresh mostly, except for a few grains that are chloritized. Concentrated with feldspar, but to a lesser degree than in 112-57A-1. From 0.01 mm to 0.6 mm. Muscovite 8% - Independent flakes - infrequently in optical alignment with biotite. 0.2 mm to 0.5 mm. Quartz 5% - As blebs in altered plagioclase (finest grains - <0.01 mm) and as independent fine (to 0.1 mm) grains. Epidote 1% - Same distribution and size as guartz.

Pyrite Trace - In bands parallel to foliation.

Apparently there is no particular association with other constituents. 0.01 mm to 0.25 mm.

GEORGIA MARBLE COMPANY, BUFORD, GA. (102)

General Description:

102-57A Light to medium gray, primarily fine grained granite with some larger, >5 mm orthoclase grains present in some specimens. Some banding noticeable. Schistosity noted on some surfaces although it does not dominate due to

insufficient mica content. Both muscovite and biotite present. Some specimens contain accessory opaques magnetite and pyrite. Epidote also present in small amounts.
Rock Type: Biotite Granite Gneiss
102-57A-1 Quartz 51% - Present throughout primarily as very fine grains, 0.021 mm with some bands containing larger grains, 1 mm. Grains gererally unfractured and show little or no-alteration.
Alkali feldspars 36% - primarily fine grained with coarser grained band similar to quartz. Maximum grain size approximately 2 mm.
Plagioclase 2% - Crystals,<0.5 mm, rare, usually altered somewhat and fractured.
Biotite 6% - Thin laths 0.5-1.5 mm long ocurring singly. Muscovite 4% - Larger crystals than biotite, 2 mm, and usually deeply embayed.
Epidote 1%
<pre>102-57A-2 Quartz 40% - primarily occurs as fine grains, 0.05-0.2 mm, up to 0.5 mm common. Sparse larger grains up to 2 mm also present. Some fracturing noted in larger grains. Alkali feldspars 41% - common throughout mostly as 0.1-1 mm grains, occaisional larger grains up to 2 mm. Plagioclase 9% - Poorly twinned, altered grains up to 0.5 mm. Biotite 5% - common as thin laths, 0.3-1mm in length distributed singly throughout. Some foliation evident, though not well developed. Epidote <1%</pre>
 102-57A-3 Quartz 28% - Primarily fine grains, 0.01-0.2 mm dispersed in a fine grained alkali feldspars rich groundmass. Rare larger grains of 2-3 mm also present. Alkali feldspars 40% - Dominant both in groundmass and as phenocrysts. Crystals generally 0.5-1 mm with some slightly larger. Plagioclase 4% - Rare, somewhat altered grains, poorly twinned in most cases. Biotite 1% - Rare as very small laths, <0.2 mm. Muscovite 3% - Singly occurring, often embayed grains up to 0.5 mm. Groundmass 24%

1

THE STONE MAN, INC., WHITE, GA. (067)

<u>Rock Description:</u> Dark Limestone

- 067-57A-1 X-ray Calcite dominates with traces of dolomite and small amounts of quartz, chlorite and muscovite present. Insoluble residue accounts for about 5% of the total. Hand samples are covered with a thin coating of fine grained rock dust.
- 067-57A-2 X-ray Very similar to 067-57A-1 with calcite and small amounts of dolomite, quartz, chlorite and muscovite. Insoluble residue of <5% and similar fine grained coating on hand samples.
- 067-57A-3 X-ray Very similar to 067-57A-1 with calcite and small amounts of dolomite, quartz, chlorite and muscovite. Insoluble residue of approximately 4% with fine grained coatings on hand samples.

SOUTHERN AGGREGATES, INC., POSTELL, GA.- Auxiliary (028)

<u>General Description:</u>

028-5A-1-P-AUX Quartz 20% - Primarily fine grained 0.1-0.5 mm with some grains up to 1 mm. Alkali feldspars 25% - Occurs in medium to coarse grains of

2-3

mm with with some grains up to 8 mm. Some weathering is evident though not severe.

Plagioclase 40% - Medium grained 2-3 mm crystals
showing some weathering and alteration to sericite.
Some crystals are zoned and alteration is
concentrated in these zones.

- Biotite 13% Occurs in clusters of small crystals of approximately 0.5 mm. Very small amounts of chlorite are also present. No foliation evident. Titanite 1% - Occurs rarely as euhedral crystals of
- approximately 1 mm.

Opaques 1% - Occur rarely as small irregular crystals.

Rock Type: Biotite Granite Gneiss

028-5A-2-P-AUX Quartz 23% - Disseminated throughout as small crystals 0.1-0.5 mm, occasionally up to 1 mm.

Alkali feldspars 14% - Occurs in masses of poorly formed and weathered crystals of <1 mm.

Plagioclase 48% - 1-2 mm crystals common with some up to 3 mm. Somewhat weathered and altered and frequently fractured. Some larger crystals are zoned. Biotite 1% - Occurs rarely as very small grains scattered throughout.
Hornblende 5% - Relativelý common in on half of the sample as small, 0.5-1 mm, fractured crystals.
Chloritized hornblende 9% - Associated with unaltered hornblende - anomalous blue color - wispy stringers leading from and around hornblende grains.

028-5A-3-P-AUX Quartz 32% - Ranges in size from 0.1-0.5 mm with the smaller grains more common. Plagioclase 58% - Dominant mineral present in all sizes from 0.2-3mm common. Some weathering noted. Larger grains are fractured parallel to cleavage planes. Some zoning of crystals noted though not common. Biotite 10% - Relatively common in small clusters of fine laths up to 0.5 mm. Some foliation noted.